{y orano 1001

tEl T BFK
Cutting Tools Catalog

SOLID CARBIDE

Endmill | Thread Milling
Drills | Anti-vibration Boring Bar

3aigdvd alnos

g
fad
o
s
2




FERHT ( ““{ GRAND TOOLS
Square Endmill -t

# YAS52M BARUNERT (2F)

YAS552M Micro Diameter End Mill For Aluminurr “'—’

MG \ N i
B2 8/ Technology Parameters 5 = #
i _ _ EUSEEBER (S&He / 0ERE)
HER/AZH S8/ TH | 88N IR HEE HEE i AR A8 [ o e - RS
Commee | e | s | e | mew | o | e | cme | e | | e
s456. 550 50m| sascskroo | sescexrero | swrswo SKT.SKD FGFCO US04
HRC<20 | HRC<20-30 | HRG=3040 | HROS45-55 | HROSS5-60 g = : - =
s Dk DI Wi 21
(Specification) (CED) (CEL) (sD) (0AL)
D0.170.2*D4™50L*2T @0.1 0.2 4 50
D0.15%0.3*D4*500L"2T 0.15 03 4 50
D0.2%0.4*D4*50L"2T p0.2 04 4 50
D0.21%0.42*D4*50L*2T 90.21 0.42 4 50
D0.2270.44*D4*50L*2T 90.22 0.44 4 50
D0.23*0.46*D4*50L*2T 0.23 0.46 4 50
D0.24*0.48*D4*50L*2T 00.24 0.48 4 50
D0.25"0.5*D4*50L"2T 0.25 05 4 50
D0.2670.52*D4*50L*2T ©0.26 0.52 4 50
D0.27*0.54*D4*50L*2T @0.27 054 4 50
D0.2870.56"D4*50L*2T 90.28 0.56 4 50
D0.2970.58"D4*50L*2T 0.29 0.58 4 50
DO0.3*0.6*D4*50L*2T ¢0.30 06 4 50
D0.3170.62*D4*50L*2T 90.31 0.62 4 50
D00.32*0.64*D4*50L*2T 90.32 0.64 4 50
D0.3370.66"D4*50L 2T 90.33 0.66 4 50
D0.3470.68*D4*50L"2T p0.34 0.68 4 50
D0.35%0.7*D4*50L"2T 90.35 0.7 4 50
D0.36%0.72*D4*50L"2T @0.36 0.72 4 50
DO0.37*0.74*D4*50L*2T @0.37 074 4 50
D0.38*0.76*D4*50L*2T p0.38 0.76 4 50
D0.3970.78*D4*50L*2T ¢0.39 078 4 50

A0D2



< ":} GRAND TOOLS

Tetk)

Square Endmill

FReikT]

Square Endmill

| { '3 GRAND TOOLS

AQ03

# YAS552M BARNEHRT (2F)

# YAS552M BRAR/NEHT (2F)

ML P
YA552M Micro Diameter End Mill For Aluminum (2F) ‘ . YAS552M Micro Diameter End Mill For Aluminum (2F) ‘ s
AL harat -
5l iR Tl .Ij_:"?""” = ‘ A A
iR 28l Technology Parameters = Bt Z 8/ Technology Parameters & i =
HUMHERES (RfEe / cillH) | FIMHEERE (BRfife /clA)
mEEaeR 2R/ I8 | a2R/I8 REE HME i F i a8 Sas & |  mma BEE/cTE SR/ I8 | aRR/IE E ] HME & e /488 et .
Carban Stee Aoy Sieel Aoy Sieed Fardened Hamened Conlin Slamess Copper Tranwm e Heal Resstant Carbon Seed’ Aby Sl Aloy Sieel Hartened Hardened e Saniess Copper Tranum Hickel Heal Resistant
Aligy Sioel Too Steed Tool Sheel Sieet Slesd Sheel Alminym Ay Sieed Allgy Steed Tood Sieet Too Seed Steed el Sleet Adgmamum. Aoy Seel
|545C,550C.50M| 5450, 5KT.5KD | 545C.5KT.5KD SKT.SKD SKT.5KD FCIFCD SUS304 - - = 54505500, 50M | S45C.5KT.5KD | S45C,5KT.SKD SKT.EKD SKT.SKD FGFCD SLIE304 3 =
HRC 20 |[ HRC=20-30 HRC-<C30-40 HRC=C45-55 HRC<55-60 HRC=20 HRC- 2030 HRC=30-40 HRC-C45-55 HRC-55-6(0
- | -
7z DIE'S Wiz Bic s 74z UIE'S Wiz 21
(Specification) (CED) (CEL) (sD) (0AL) (Specification) (CED) (CEL) (SD) (DAL)
D0.4*0.8*D4*50L*2T ©0.40 0.8 4 50 D0.66%1.32*D4*50L*2T ©0.66 1.32 4 50
D0.41*0.82*D4*50L*2T ©0.41 0.82 4 50 DO0.67*1.34"D4"50L*2T p0.67 1.34 4 50
D0.4270.84*D4*50L*2T ©0.42 0.84 4 50 D0.68"1.36"D4*50L 2T 90.68 1.36 4 50
D0.43*0.86*D4*50L*2T 0.43 0.86 4 50 D0.69%1.38"D4"50L"2T ¢0.69 138 4 50
D0.44%0.88*D4*50L™2T 90.44 0.88 4 50 DO.771.4D4*50L"2T 90.70 14 4 50
D0.45*0.9*D4*50L*2T 0 45 09 4 50 DO0.71*1.42*D4*50L"2T 90.71 1.42 4 50
DO0.4670.92*D4*50L"2T 90.46 0.92 4 50 D0.72%1.44*D4*50L"2T ©0.72 1.44 4 50
D0.4770.94*D4"50L"2T 90.47 0.94 4 50 D0.73%1 46*D4*50L*2T ©0.73 1.46 4 50
D0.48*0.96*D4*50L*2T 90.48 0.96 4 50 D0.74%1.48*D4*50L*2T ©0.74 1.48 4 50
D0.49%0 98*D4*501 *2T 90.49 0.08 4 50 D0.75*1.5*D4*50L*2T @0.75 15 4 50
D0.5%1*D4*50L*2T 050 4 50 D0.76%1.52*D4*50L*2T ©0.76 1.52 4 50
D0.51*1.02*D4*50L*2T 90.51 1.02 4 50 D0.77%1.54*D4"50L*2T @0.77 1.54 4 50
DO0.52*1.04*D4"50L"2T 0052 1.04 4 50 D0.78%1.56*D4*50L*2T @0.78 1.56 4 50
D0.53"1.06"D4"50L"2T 00,53 106 2 50 D0.79%1.58*D4*50L*2T ©0.79 1.58 4 50
1 REMATEQ] * 4
D0.54"1 08" D4 50L°2T 00.54 108 p 50 D0.8%1.6"D4*50L*2T ©0.80 16 50
D0.81*1.62"D4*50L*2T 0.81 1.62 4 50
D0.55*1.1*D4*50L*2T ©0.55 1.1 4 50 .
D0.56*1.12°D4*50L"2T 00,56 112 p 50 D0.82%1.64*D4*50L*2T ©0.82 1.64 4 50 !
D0.83"1 66"D4"50L*2T ¢0.83 1.66 4 50 3
D0.57*1.14*D4*50L*2T ¢0.57 1.14 4 50
D0.8471.68"D4*50L"2T ©0.84 1.68 4 50
D0.58*1.16*D4*50L"2T 0.58 1.16 4 50
D0.85*1.7*D4*50L*2T 90.85 1.f 4 50
D0.59%1.18"D4*50L*2T 0.59 1.18 4 50
D0.86%1.72*D4*50L*2T ©0.86 1.72 4 50
D0.6%1.2*D4*50L*2T ©0.60 12 4 50
R ¥ 5 3 = D0.87*1.74*D4*50L*2T ¢0.87 1.74 4 50
- - %0 - D0.88*1.76"D4*50L*2T ©0.88 1.76 4 50
D0.62%1.24*D4*50L*2T ©0.62 1.24 4 50 D0.89°1 78°D4*50L°2T 90,89 178 4 50
i e L 80 i 4 4 D0.9"1.8*D4*50L"2T ©0.90 1.8 4 50
D0.64*1.28*D4*50L*2T ©0.64 1.28 4 50 D0.95%1 9°D4*50L*2T 9095 19 4 50
D0.65*1.3*D4*50L*2T $0.65 13 4 50 T

ADD4



{’:}; GRANDTOOLS | FREE) FREHT] | (’:}, GRAND.TOOLS

Square Endmill Square Endmill

# YAS52A BsARERSRT (2F) # YAS552D #BRiERN=#7] (2F)

YAS52A Standard Square Endmill For Aluminum (2 YAS552D Decimal Point Size Endmill For Aluminum (2 b = 4

.50
!

ﬂ@ e ; E e e —— f
& (?’-L‘?_n [@:‘
T Z 8/ Technology Parameters - el BiMZ B Technology Parameters
| EUALEAES (RARe / o@H) | [ RUATHBEE (RERe / cEA)
mER/cfE o8R8/ I8 | 888/ I8 R WM i +#E 8/ a2 & R BERaeE ofR/ I8 | aRR/ I8 R HEE e TR #/48 pas & e
Carhon Sleel Afoy Sieel Alicry Sieed Harened Hamened Slaness Copper Trantum Heat Resstant Carbon Sieed Alioy Slee! Aligy Sieel Hardened Hastened Saress Copper TRanum Heal Ressstant
Aoy Steel Tool Steal Tool Steal Steel Stec Lo Seal Abgminum Aoy i Steel Adoy Stoal Toal Steed Tool Steel Steet Steel Lomon Steel Abamenum Aoy s Steel
SA5C.550C.5CM) 3430 5KT SKD | 545C,5KT 5D SKT,5KD SKT.SKD FCIFCD SUSI0NE - - - - 5450, 550C,5CM| 3450 5KT.5KD | 545C SKT SKD: SKT.5KD SKT.SKD FGIFCD SUSI04 -
HRC=20 HRC-C20-30 HRC- 30-40 HRC<C45-55 HRC=I55-80 :: = - - ;- = HRC=C20 HRC=20-30 HRC=C30-40 HRC=C45-55 HRC-C55-80 <
' . . | . | |
. s DAEC DIRS wz fSE:S M DIEES 7% miz SE'S
3 (Specification) (CED) (CEL) (sD) (0AL) [Zhechication: (CED) (CEL) (sp) (0AL)
%
D1%2*D4*50L*2T 1 2 4 50 D1.1%3.2"D4*50L"2T 1.1 33 4 50
A D173Da"50L"2T 1 3 4 50 D1.2*3.6"D4*50L"2T 1.2 36 4 50 4
P — 15 5 % - D1.3%3.9"D4*50L*2T 13 39 4 50
THl D1.4%4.2"D4*50L"2T 1.4 42 4 50
o D1.5%4.5"D4*50L"2T 15 45 4 50
| D1.6%4.8"D4"50L"2T 16 48 4 50
ol ol s : i g D1.7°5 1"D4*50L"2T 17 51 4 50
. mee g £ & i = D1.8"5.4D4*50L"2T 18 54 4 50
. D2.55*D4*50L*2T 25 5 4 50 R1.95 7*D4*50L*2T 19 57 4 50
5 D2.5%7.5*D4*50L*2T 25 75 4 50 D2.176.3"D4*50L"2T 21 6.3 4 50
T — ” 8 F = D2 276 6"D4*50L"2T 22 66 4 50
D2.3%6.9"D4*50L*2T 23 69 4 50
D3*9*D4*50L*2T 3 9 4 50
D2.4*7.2*D4*50L"2T 24 7.2 4 50
- BRERERL et b e $ - D2.6°7.8'D4"50L"2T 26 78 4 50
' D4710°D4750L2T 4 10 4 50 D2.7+8.1*D4*50L"2T 27 81 4 50 r -
,' D4*12°D4"50L*2T 4 12 4 50 D2.8"8.4*D4*50L"2T 28 84 4 50
D5*15"D650L*2T 5 15 6 50 D2.9%8 7*D4*50L*2T 29 87 4 50
i D6*12*D6*50L"2T 6 12 6 50 D3.179.3"D4*50L"2T 3.1 93 4 50
o D3.2*9.6"D4*50L*2T 3.2 96 4 50
4 D6*18"D650L*2T 6 18 6 50
ki | D3.3"9.9"D4"50L"2T 33 9.9 4 50
i i i " a . . D3.4710.2°D4"50L"2T 34 102 4 50 -
ii‘l"; 2 D10*25*D10*T5L"2T 10 25 10 75 D3.5%10.5*D4*50L*2T 35 105 4 50 I‘i
Riidl D3.6%10.8*D4*50L*2T 36 10.8 4 50 #
D3.7*11.1*D4*50L*2T 37 111 4 50
7] 7]
i D3.8*11.4*D4*50L*2T 38 114 4 50 4
=l D3.9%11.7°D4*50L"2T 39 17 4 50

AQ05 ADDB



FIRBET)

Square Endmill

FIEHT)

Square Endmill

{3GRAN9199LS | (j}, GRAND TOOLS

# YASS53F sRstnNu7% (3F)
YAS53F Double Cutting Lip For Aluminum Endmill (3F) L. i

# YAS53S BA#NIe7NH (3F)
YAS53S Single Cutting Lip For Aluminum Square Shape Endmill (3F')

B | e
M B Technology P Lz B E 8/ Technology Parameters
T W EDAMEREE (BEAs  c2f) | BUMMEREE (E8He / cBA)
-:‘-‘ i BER S8 =2/ I8 | 52818 snEA HEs 41 T8E /8 uass i maE WEEesE oEE I8 | 58RIE nEE =sE8 wE FmE /e HaE " mE
i S| el || Vel ||| S gt castron sk sk el me | PIE Sty || depedl || Beveme | || ik e Gastron e eain i et || S
n B45C 550C SCM| S45C 5KT,5KD SHSC\SKT,S'KD SKT,SKD SKT,SKD FCFCD BUSIM - - - B45C 550C SCM| S45C SKT.SKD | S45C SKT SKD SKT SKD SKT.SKD FC¥FCD SUS304 = -
* ¥ HRC<I20 HRC20-30 HRC< 30-40 HRC<C45-55 HRC<55-60 HRC+<220 HRC=C20-30 HRC=C30-40 HRC<C45-55 HRC< 5560
@ . g
71
4 i DikES DIRS Wiz B DI DIRS Wiz Bk
(Specification) (CED) (CEL) (sD) (0AL) (Specification) (CED) (CEL) (sp) (0AL)
D1*3*D4*50L*3T 1 3 4 50 D1*3*D4*50L*3T 1 3 4 50
D1.5%4.5°D4*50L°3T 15 45 4 50
D1.5*4 5*D4750L*3T 15 45 4 50
D2*6*D4*50L*3T 2 6 4 50
D2.5*7 5*D4*50L*3T 25 75 4 50 D276"D4"50L"3T 2 6 4 50
D3*9*D3750L*3T 3 9 3 50 D2.5%7 5"D4"50L"3T 25 75 4 50
D3*9*D4*50L*3T 3 4 50 D3*9*D3*50L3T 3 g 3 50
D4*12"D4*50L*3T 4 12 4 50
D379*D4*50L*3T 3 9 4 50
D5*15*D6*50L*3T 5 15 6 50
D6*18*DE*50L*3T 6 18 6 50 D4"12°D4"50L"3T 4 12 4 50
D6*20"D6750L73T 6 20 6 50 D5*15*D6*50L*3T 5 15 6 50
D7*21*D8*60L"3T 7 21 8 60 D6*18°D6°50L"3T 6 i 6 50
D8*24*D8*60L*3T 8 24 8 60
4 D10*30*D10°75L*3T 10 30 10 75 Ll sl ¥ &0 9 2
71 D12*36"D12*75L"3T 12 36 12 75 D7*21*D8*60L"3T 7 21 8 60
D4*14*D4*T5L*3T 4 14 4 75 D8*24*D8*60L*3T 8 24 2] 60
i IR = i
£ DA 20D 000 31 4 5 4 109 D10*30"D10*75L*3T 10 30 10 75 =
D5*20*D6*100L*3T 5 20 6 100
S = = = = D12*36"D12*75L*3T 12 36 12 75
D6*25"D6*100L*3T 6 25 6 100 ”l
D6740"D6*100L*3T 6 40 6 100 1
- D8*35*D8*100L*3T 8 35 8 100 -
D10%40*D10°100L*3T 10 40 10 100
i D12745°D127100L"3T 12 45 12 100 3
D16745*D16*100L"3T 16 45 16 100
7) D8*50*D8*150L*3T 8 50 8 150 7
D10755"D107150L"3T 10 55 10 150 M
D12*60°D12*150L"3T 12 60 12 150
D16*70°D16*150L*3T 16 70 16 150

AD07

A008



('3. GHR TR0 )

FIEHT)

Square Endmill

FEikT)

Square Endmill

| {Zy sranp 1001

# YAS53HL Sx#EsA#%n (3F)
YAS553HL Fine Finish Endmill For Aluminum (3F)

# YAS53HE S8@BA#TI (3F)
YAS53HE High Efficiency And Fine Finish EndMill For Aluminum (3F)

MM E B/ Technology Parameters

HTHHEEEE (REHe / EH)

7
|
“ — .
BB I/ Technology Par
| BONHERAE (BEHe | EH)
BEEm e SZR/1E |2eA/IR| ®ER EAR T X T W waE = ARE
Camon Stesl Aoy Saees Aoy Steed Hardenest Hardenest Ea Stainess Copper Teankm Vi Heat Resisiant
Adoy Steel Toot Steel Too Steel Steel Stes| Stes| AbstrNUM Aloy Seel
S45C S550C SCM| S45C SKT SKD | S45C SKT.SKD SKT SKD SKT 5HD FCFCD SUS04 = = L
HRC<20 HRC 20-30 HRC 1040 HRC45-55 HRC- 6560
L]
74& DIE'S Wz Sk
(Specification) (CED) (GEL) (sD) (0AL)
D1*3*D4*50L*3T 1 3 4 50
D1.5*5*D4*50L*3T 1.5 5 4 50
D2*6*D4*50L*3T 2 6 4 50
D2.5*8*D4*50L*3T 25 8 4 50
D3*9*D4*50L*3T 3 9 4 50
D4*12*D4*50L*3T 4 12 4 50
l DS5*15*D6*50L*3T 5 15 6 50
D6*18"D6"50L*3T 6 18 6 50
D7*21*D8*60L*3T T 21 8 60
D8*24*D8™60L*3T 8 24 8 60
— D9*27*D10*75L=3T Q 27 10 75
- D10°30°D10°75L*3T 10 30 10 75
D11*33"D12*75L*3T 11 33 12 75
D12*36"D12*75L™3T 12 36 12 75
D14*45*D14*100L=3T 14 45 14 100
D16*50*D6*100L*3T 16 50 16 100
D20750"D20*100L*3T 20 50 20 100

AQ09

|y Stee Too sl Too Sl =) e o e Aumim Aoy i i
5450 550C SCM| S45C SKT.SKD | S45C SKTSKD SKT.SKD SKT SKD FOFCD SUS04 - i
HRC-<20 HRC<20-30 HRC~30-40 HRC-C45-55 HRC-55-60
:
nE 7 Wiz 21
(Specification) (CED) (CEL) (sp) (0AL)
D1*3"D4*50L"3T 1 3 50
D1.5%5*D4*50L*3T 1.5 5 4 50
D2*6*D4*50L"3T 2 6 4 50
D2.5*8*D4*50L*3T 25 8 4 50
D3*12*D6™50L"3T 3 12 6 50
D3*8*DE*50L*3T 3 8 6 50
D4*11*D6"50L*3T 4 1 6 50
D4*16*DB™55L*3T 4 16 6 55
D5*13*D6™50L*3T 5 13 6 50
D5*20"D6%60L*3T 5 20 ] 60
D6"16™D6"50L"3T 6 16 6 50
D6*24*D6™65L"3T 6 24 6 65
D8*20"D6"60L*3T 8 20 8 60
D&*32*D8"90L*3T 8 32 8 90
D10725"D10772L"3T 10 25 10 72
D10*40*D10*100L*3T 10 40 10 100
D12*30"D12*75L"3T 12 30 12 75
D12%48*D12*110L*3T 12 48 12 110
D14*35"D16™100L*3T 14 35 16 100
D16*40*D16%100L*3T 16 40 16 100
D16*64*D16"1400L"3T 16 64 16 140
D18%40*D20"1000L*3T 18 40 20 100
D20740*D20"100L"3T 20 40 20 100
D20*80"D20"160L*3T 20 80 20 160

]

lis o &
= B

| 93 =
i =

oW



S

GRAND TOOLS | FJE#t7)

Square Endmill

FEskT)

Square Endmill

| {Zy oranp 1001

# YAS53YC B8sBART (3F)

YAS553YC High Efficiency Endmills For Aluminum (3F)

A011

M BB Technology Parameters

EUHHNBEE (BEfe / 0#H)

# YA-DLC3A HiBERFEHT (3F)

YA-DLC3A Coated Square Comer Endmill For Copper And Aluminum (3F)
e

BERALE S8R/ I8 | aRR/IR R WEE F-1 FiEs /88 Sas " fsE
Aday Steel Too! Steel Took Steel Sl Shesl Steed Amaus Adny Steal
450 900 S0M | 545C5KTSKD | S45CSKTSKD | SKT.SKD SKT5KD FCIFCD SUSI04 : E -
HRC<20 | MRC<20-30 | HRC<M0-40 | HROZ45-S5 | HRC<S58D
.
DAEES DIES |z Bk
(Specification) (CED) (CEL) (sD) (0AL)
D3*9*D4*50L*3T 3 9 4 50
D4*12°D4*50L*3T 4 12 4 50
D3*9*DE*50L*3T 3 9 6 50
D4712*D6*50L*3T 4 12 6 50
D5*15*D6=50L*3T 5 15 6 50
D6*18*D6*50L*3T 6 18 6 50
D8*24*D8*60L*3T 8 24 8 60
D10*30*D10*75L*3T 10 30 10 75
D12*36*D12*75L*3T 12 36 12 75
D16*50*D16*100L*3T 16 50 16 100
D20*60*D20*120L*3T 20 60 20 120

R Z 8/ Technology Parameters
! FURUNERE (BAfe AR
HER ofE oF8E/ TR | a%8/I8 WHE WEE Wi ] 648 HEs ] @R
e | T | Teoe | me | e sastion il At il o | PG
‘S45C 5500, 50M| S45C,5KTSKD | S4SCSKTSKD | SKTSKD SKTSKD FCFCD 5S04 : = =
HAC<20 | HRC<20-30 | HRC<CAD-40 | HAC<45-55 | HAGS5-80
L]
P 7] DIE:S #HE B
(CED) (CEL) (sp) COAL)
DO.5*1"D4*50L*3T 05 1 4
DO0.8*2*D4*50L*3T 08 2 4
D1*3*D4*50L*3T 1 3 4
D1.5*5*D4*50L*3T 15 ] 4
D2*6*D4*50L"3T 2 (] 4
D2 5*8*D4*500L*3T 25 a8 4
D3*8*D4*50L"3T 3 8 4
D3*9*D4*75L*3T 3 9 4
D3*12*D4*1000L*3T 3 12 4
D4*12°D4750L*3T 4 12 4
DA*12*D4*75L*3T 4 12 4
D4*16*D4*100L*3T 4 16 4
D5*15*D5*50L*3T 5 15 5
D5*15*D6*50L*3T 5 15 6
D5*15*D6*75L*3T 5 15 (5]
D5*20*D6*100L*3T 5 20 ]
DE6*18*D6*50L*3T 6 18 6
D6*24*D6*T5L*3T 6 24 6
D6*24*D6™100L"3T 6 24 3]
D8*24*D8*60L"3T 8 24 8
D8*24*DB*75L*3T a 24 a8 75
D8*32"D&8*100L"3T 3] 32 8 100
D8*32*D8*150L*3T 8 32 8 150
D10*30*D10~75L*3T 10 30 10 75
D10*30"D10"100L=3T 10 30 10 100
D10%40*D10*150L*3T 10 40 10 150
D12736*D12*75L=3T 12 36 12 75
D12*36*D12*100L*3T 12 36 12 100
D12748"D12*150L"3T*3T 12 48 12 150
D16*48*D16100L*3T*3T 16 48 16 100
D16"64*D16150L"3T 16 64 16 150
D20*50*D20*100L*3T 20 50 20 100
D20760"D20™150L=3T 20 60 20 150

A012



{ ":) GRAND TOOLS | FJE#H FERH%N | { j GRAND TOOLS
Square Endmill Square Endmill

# YA-DCL3HL BAS8HwiA#T (3F)
YA-DCL3HL Coated Glossy Square Endmill For Copper
And Aluminum (3F)

A013

_ﬂ T Y/ Technoloav Parameters i - -
RUSHEERE (REHe / B8
Pl ||y (|| e s i o [P
Aoy Sieel Toa Stesl Tool Stesl Stesl Stasl Caion Eleel Ay s Gleal
|S45C S50C SCM| S45C SKTSKD | SASCEKTSKD | SKTSKD SKTSKD FEFED SUs304 2 :
HRC<20 | WRC<20-30 | HRAC<I0-40 | HRCZ4S-55 | HRC<S5-60
i 7z DIE'S w/iE B
(Specification) (CED) (CEL) (sD) (0AL)
D1*3*D4*50L™3T 1 3 4 50
D1.5%4.5"D4*50L*3T 1.5 45 4 50
D2*6*D4*50L"3T 2 4 50
D2.5%7 5*D4*50L*3T 25 75 4 50
D3*9*D3*50L*3T 3 3 50
D3*9*D4*50L*3T 3 4 50
D4*12*D4*50L*3T 4 12 4 50
D4*14*D4*75L*3T 4 14 4 75
D4*20*D4*100L*3T 4 20 4 100
D5*15*D6*50L*3T 5 15 6 50
D5*20*D6*100L*3T 5 20 6 100
D6"18"D6"50L*3T 6 18 6 59
D6*20*D6*50L"3T 6 20 6 50
D6*25*D6*100L*3T 6 25 6 100
D6*30"D6*75L"3T 6 30 6 75
D640*D6*100L*3T 5} 40 6 100
D7*21*D8"60L"3T 7 21 8 60
D8*24*D8*60L*3T 8 24 8 60
D8*35*D8*100L*3T 8 35 8 100
D8*50*D8*150L*3T 8 50 8 150
D10*30*D10*75L*3T 10 30 10 75
D10*40*D10*100L*3T 10 40 10 100
D10*55*D10*150L*3T 10 55 10 150
D12*36*D12*75L*3T 12 36 12 75
D12*45*D12*100L*3T 12 45 12 100
D12*60"D12*150L*3T 12 60 12 150

# YP552M SMAUVIMEIISET (2F)

YP552M Micro Diameter End Mill (2F)

28 Technology Parameters

[ BINHEBEE (RETe  (ER)
FEWEEN BSWIN SSWIR| WAR | MR | WA | i8R | BWE [ uez | 8 | EAm
|y Steed ToolSteed Tool Sieed et e Yorimai el A Ay = Stcet
S45CS60C SCM | S45C SKT SKD | S45C SKT SKD SKTSKD SKTSKD FCFCD SLS304 = + :
HRC 20 HRC=<20-30 HRC=I30-40 HRC=/45-55 HRC=/55-60
L] - - L] o |
A DAL DIES Wz B
(Specification) (CED) (CEL) (sD) (0AL) B
D0.1%0.2*D4"50L*2T 0.1 02 4 50 =
DO0.15%0.3*D4*50L*2T 90.15 03 4 50 7
D0.270.4*D4*50L*2T 90.2 04 4 50
DO0.21%0 42*D4"50L*2T 9021 0.42 4 50
D0.22%0.44*D4"50L*2T ©0.22 0.44 4 50
D0.23%0.46*D4*50L*2T 00.23 0.46 4 50
D0.24*0.48*D4*50L*2T 00.24 0.48 4 50
D0.25%0.5*D4*50L*2T 90.25 05 4 50
D0.26*0.52*D4*50L*2T 00.26 052 4 50
D0.27%0.54*D4750L*2T 90.27 0.54 4 50
D0.28*0.56*D4*50L*2T ©0.28 0.56 4 50
D0.29%0.58"D4*50L*2T ©0.29 0.58 4 50
D0.3%0.6*D450L"2T ©0.30 06 4 50
D0.3170.62"D4*50L2T 9031 0.62 4 50 7]
D0.32%0 64*D4750L*2T ©0.32 0.64 4 50 =
D0.33%0.66"D4"50L"2T 0033 066 4 50
D0.34*0.68*D4*50L*2T ©0.34 0.68 4 50 I
D0.35%0.7*D4*50L*2T 00.35 07 4 50 !r
D0.36%0.72*D4*50L*2T ©0.36 0.72 4 50 n
DO0.37%0.74"D4*50L*2T 90.37 0.74 4 50
D0.38°0.76*D4"50L*2T 00.38 0.76 4 50
D0.39%0.78*D4*50L*2T ©0.39 0.78 4 50

A014



D!

GRAND TOOLS | EE#7]

Square Endmill

FheekT]

Square Endmill

I { ’3 GRAND TOOLS

# YP552M SRGUVNZHT (2F)

YP552M Micro Diameter End Mill (2F)

A015

N
i

&

5
R Z 8/ Technology Parameters L L =
[ BUSHERES (R&Me / oBH)
BERATE S2¥/ IR | 52818 HER HEE W FamE #a/8 #aE - e
e | o [ [ ) e | e | | s | oms | e | e
B45C,5500,50M| S45C.SKT.SKD | S45C,SKTSKD | SKTSKD SKT,5KD FGFCD SUSH4 S E
HRC<20 | HACS20-30 | HRC<30-40 | HROS45-55 | HRC-SS-60
. . . . e
N 7% e Bk
(Specification) (CED) (CEL) (sD) (0AL)
D0.470.8"D4"50L*2T 0.40 08 L 50
D0.4170.82*D4*50L"2T p0.41 0.82 4 50
D0.4270.84*D4"50L*2T p0.42 0.84 4 50
D0.43*0.86*D4*50L*2T 0.43 0.86 4 50
D0.44%0.88"D4"50L"2T @0.44 0.88 4 50
D0.450.9*D4*50L*2T 90.45 0.9 4 50
D0.46%0.92*D4*50L*2T (0.46 0.92 4 50
D0.4770.94*D4*50L"2T ©0.47 0.94 4 50
D0.4870.96*D4*50L*2T 90.48 0.96 4 50
D0.49%0.98*D4*50L*2T 90.49 0.98 4 50
D0.5*1*D4*50L*2T 0.50 1 4 50
D0.51%1.02*D4*50L"2T ©0.51 1.02 4 50
D0.52*1.04*D4*50L*2T 0.52 1.04 4 50
D0.53%1.06*D4"50L"2T 0.53 1.06 4 50
D0.54%1.08"D4*50L*2T 90.54 1.08 4 50
D0.55*1.1*D4*50L*2T 0.55 11 4 50
DO0.56%1.12*D4*50L=2T 0.56 1.12 4 50
D0.57%1.14*D4*50L=2T 0.57 1.14 4 50
D0.58%1.16*D4*50L* 2T 0.58 1.16 4 50
D0.59*1.18*D4*50L*2T ©0.59 1.18 4 50
D0.6%1.2*D4*50L*2T (0.60 1.2 4 50
D0.61%1.22*D4*50L*2T 0.61 1.22 4 50
D0.62%1.24*D4*50L*2T ©0.62 1.24 4 50
D0.63%1.26*D4*50L*2T 0.63 1.26 4 50
D0.64%1.28"D4*50L*2T p0.64 1.28 4 50
D0.65*1.3*D4*50L*2T ®0.65 13 4 50

# YP552M S#AUVNMZEBET] (2F)

YP552M Micro Diameter End Mill (2F)

ﬁﬂ‘& ﬂa" Technology Parameters

[ BOENEERE (BEfe / cERA)
BEREacE o8/ 18 | o8/ 18 WES HEE W T#E 58 HEE @
Toroen | teoe | tees | een i oation =y ol ey Nkl
B45C.550C,5CM | S45C5KT.5KD | 545C,5KT.SKD SKT.SKD SKT SKD FGFGD SIS0 -
HRC<Z20 HRC=20~30 HRC=Z30-40 HRC=45-55 HAC 585-60
- - - - [
g Ji4z Uik Wiz Eic
{Specification) (CED) (CEL) (sp) (0AL)
D0.66™1.32"D4*50L=2T 90.66 1.32 4 50
D0.67*1.34"D4*50L"2T 90.67 1.34 4 50 £
D0.68%1.36°D4*50L*2T 90.68 1.36 4 50
D0.69*1.38"D4*50L=2T 0.69 138 4 50
DO0.7*1.4"D4*50L"2T 90.70 14 4 50
DO0.71%1.42°D4*50L*2T 0.71 1.42 4 50
D0.72*1.44"D4*50L2T 90.72 1.44 4 50
D0.73%1.46°D4*50L=2T 90.73 1.46 4 50
D0.74%1.48°D4*50L=2T 90.74 1.48 4 50
D0.75%1.5"D4*50L*2T ©0.75 15 4 50
D0.76"1.52"D4"50L"2T 90.76 152 4 50 -
D0.77*1.54*D4*50L*2T 0.77 1.54 4 50
D0.78"1.56"D4*50L*2T 90.78 1.56 4 50 &
D0.79%1.58"D4*50L*2T 90.79 158 4 50 ”
D0.8*1.6*D4*50L"2T 90.80 16 4 50
D0.81%1.62*D4*50L*2T ¢0.81 162 4 50 L
DO0.82*1 64*D4*50L*2T 0.82 1.64 4 50 —
D0.83%1.66°D4*50L=2T 0.83 1.66 4 50 e
D0.84*1.68"D4*50L*2T ¢0.84 1.68 4 50
D0.85*1 7*D4*50L*2T ©0.85 17 4 50 e
DO0.86%1.72°D4*50L=2T ©0.86 1.72 4 50 i
D871 74"D4"50L2T 90,87 174 4 50 7
D0.8871.76"D4*50L=2T 90.88 1.76 4 50 4
D0.89*1.78*D4*50L*2T ©0.89 178 4 50
D0.971.8*D4*50L"2T ©0.90 18 4 50 i
D0.95%1.9°D4*50L*2T 90.95 19 4 50 [l

A016



<3GRAN‘D( TOOLS l FlEitT)
p e Square Endmill

FIRHT) | C’:} GRAND TOOLS
Square Endmill s

# YP552D fsilbriEsx7 (2F)

YP552D Standard Size Square Shape Endmill (2F)

HEM Z 8/ Technology Parameters

BHEZE

|

EUMEHEERS (REHe

WER/AeE 82R/ IR | d83R/IR

HHEE HER i FisE /8 s & ER
e || wibd || bl || D oy il i i ek mw | e
| S45C S50C SCM| S45C SKT SKD | S45C SKT SKD ST SKD ST SKD FCIFCD SLS304 = =
| o< | wre<am | wro<ao-w | wRo<usss | Heo<ss-m
. . . . °
7z DIRS mz 2
(Specification) (CED) (CEL) (sp) (0AL)
D1*2*D4*50L*2T 1 2 4 50
D1°3*D4*50L=2T 1 3 4 50
D1.573*D4=50L"2T 15 3 4 50
D1.5%4.5*D4750L"2T 1.5 45 4 50
D2*4*D4*50L*2T 2 4 4 50
D2°6"D4*50L=2T 2 6 4 50
D2 5%5*D4*50L"2T 25 5 4 50
D2.5%7.5*D4*50L7°2T 25 75 4 50
D3"6"D4*50L=2T 3 6 4 50
" D3*9"D4*50L*2T 3 9 4 50
f : D4*8"D4*50L*2T 4 8 4 50
£ D4*10"D450L"2T 4 10 4 50
‘i D4*127D4"50L=2T 4 12 4 50
D5*15"D6™50L"2T 5 15 6 50
D6*12"D6E*50L"2T 6 12 6 50
D6*187D650L*2T 6 18 6 50
- D8"207D8*60L=2T 8 20 8 60
D10%25*D10°75L*2T 10 25 10 75

A017

# YPS552D {SMiEfNS =% (2F)

Y¥P552D Decimal Point Size End Mill (2F)

77 il 5
HE &8/ Technology Parameters = [ N~
| BRI EEES (BEEe | AA) ®
BER/2oH 228/ 1R | 2@/ 1R | @RR aEE i FER @/ U E i Eg
Ay Steed Took Sleal Tool Stesd Sleel Stesd Steat Aluminum Ay el 8
S45C,S50C,SCM | S45C,SKTSKD | S45CSKTSKD | SKTSKD SKT SKD FOFCD SUsIM = N
HRC<20 | HAGS20-20 | HRGZX-40 | HRC<4555 | HRC<E5-G0 ¢ g
. . . . o (ikIE
gT.IzF
iE N 7% & Bk 3
( Specification) (CED) (CEL) (sD) (0AL)
D1.1*3.3*D4*50L*2T 1.1 33 4 50
D1.2*3.6*D4*50L*2T 1.2 36 4 50
D1.3*3.9*D4*50L*2T 13 39 4 50
D1.474.2*D4*50L*2T 14 4.2 4 50
D1.6*4 8*D4*50L*2T 16 48 4 50
D1.7*5.1"D4*50L*2T 1.7 5.1 4 50
D1.8*5.4*D4*50L*2T 1.8 54 4 50
D1.975.7*D4*50L*2T 19 5l 4 50
D2.1*6.3*D4*50L*2T 21 6.3 4 50
D2 2*6.6"D4*50L*2T 22 6.6 4 50
D2.3%6.9*D4*50L*2T 23 69 4 50
D2 477 2*D4*50L*2T 24 7.2 4 50
D2 6*7.8*D4*50L*2T 26 7.8 4 50
D2.7*8.1*D4*50L*2T 27 81 4 50 .
D2.878.4*D4*50L*2T 2.8 8.4 4 50 =
D2.9*8.7*D4*50L*2T 29 87 4 50 —
D3.1"9.3"D4™50L*2T 31 93 4 50
D3.2*9 6*D4*50L*2T 32 96 4 50
D3.379.9*D4*50L*2T 33 99 4 50
D3.4%10.2*D4*50L*2T 34 10.2 4 50
D3.5*10.5*D4*50L*2T 35 105 4 50
D3.6*10.8*D4*50L*2T 36 108 4 50
D3.7%11.1*D4*50L*2T 3.7 1.1 4 50 7]
D3.8%11.4*D4*50L*2T 38 114 4 50 "
D3.9%11.7*D4*50L"2T 39 11.7 4 50
AD18



{Zyoranp 1o0is

FIRET)

Square Endmill

FIRkT)

Square Endmill

| { j GRAND TOOLS

# YP554A SiliRi#EBT (4F)

YP554A Standard Size Square Shape Endmill (4F)

A019

sy Technology Parameters

[

EHOMHEERE (REHe / oll)

WER SEE SER IA |88 1A | SHE aEe f ] AR #'8 Has @ e
| s | Madmer | Gowss | e | e castron e Ak hirs mw | o
5450 S50C,56M | S456,5KT SKD | SISCEKTSKD | SKT SKD SKT SKD FERCD SUS304 : : = |
HRG<20 HRC<20-30 | HRCC30-40 | HRC<45-55 | HRG<S5-60 |
- - - - - @
pakeS DIR'S wE 24€
(Specification) (CED) (CEL) (sp) COAL)
D1*3*D4*50L*4T 1 3 4 50
D1*3*D4*75L*4T 1 3 4 75
D1.5*4"D4*50L"4T 15 4 4 50
D1.54.5*D4*75L*4T 1.5 45 4 75
D2*5"D4*50L"4T 2 5 4 50
D2*6"D4*75L"4T 2 6 4 75
D2.5%6.5"D4"50L"4T 2.5 6.5 4 50
D2 .5%7 5*D4*T5L*4T 25 5 4 75
D3*9"D3*50L"4T 3 9 3 50
D3*9"D4*50L"4T 3 9 4 50
D3*9*D4*75L*4T 3 9 4 75
D4*12°D4*50L*4T 4 12 4 50
D4*20"D47100L"4T 4 20 4 100
DA*20"D4*75L*4T 4 20 4 75
D5*12.5*D5*50L*4T 5 125 5 50
D5*12.5"D6"50L"4T 5 12.5 6 50
D5*30"D6*100L™4T 5 30 6 100
D6*15"D6"50L*4T 6 15 6 50
D6*20"D6~T5L"4T B 20 6 75
D6*30*D6*100L*4T 6 30 6 100
D8*20*D8"60L"4T 8 20 8 60
D8*20"D8*75L*4T 8 20 8 75
D8&*32"D8*150L"4T 8 32 8 150
D8*40"D8"100L"4T 8 40 8 100
D10725"D10~75L"4T 10 25 10 75
D10*40*D10*100L*4T 10 40 10 100
D10"45"D10"150L"4T 10 45 10 150
D12°30°D12*75L"4T 12 30 12 75
D12*45*D12*100L*4T 12 45 12 100
D12*60"D12*150L"4T 12 60 12 150
D16*50L*D16"100L"4T 16 50 16 100
D16*70*D16*150L*4T 16 70 16 150

# 814F BWISMH7 (4F)

814F High Efficiency Tungsten Steel Endmill (4F)

Eﬂti ﬂa" Technology Parameters

S0

HUAHEEEE (REHe /.

BEESEE SER/1E | 5ER/I8 WEE wWEH EE BN w8 e = ifiE ]
G Rl = B e el S T i
545, 5500 5CM | 5450 KT SR | 5450 5KT.5KD SKT.3KD SKT.EKD FCIFCD SUEING - -
HRC<20 HRC-<20-30 HRC=730~20 HRC-<45-55 HRC-C55-60
s e 7% iz Bk
(Specification) (CED) (CEL) (sD) (0AL)

D1*3*D4*50L*4T 1 3 4 50
D1.5*5*D4*50L*4T 1.5 ) 4 50
D2*6*D4™50L"4T 2 6 4 50
D2.5*8*D4*50L*4T 25 8 4 50
D3*8*D4™50L"4T 3 8 4 50
D4*11*D4750L"4T 4 1 4 50
D3*8*D6*50L*4T 3 8 6 50
D4*11*D6*50L*4T 4 1 6 50
D5*13*D6™50L*4T . 13 6 50
D6*16*D6*50L"4T 6 16 6 50
D&*20*D8*60L*4T 8 20 8 60
D10*25"D10*75L"4T 10 25 10 o
D12*30"D12*75L*4T 12 30 12 75
D14*32*D14*90L*4T 14 39 14 90

D16*40*D16*100L"4T 16 40 16 100

D18*40"D18*100L*"4T 18 40 18 100

D20*40*"D20*100L™4T 20 40 20 100




":}GRAND‘ TOOLS I FREHT
A Square Endmill

i | {7} orano 1001

Square Endmill

i# 824F SitaElMBT (4F)

824F High Performance Tungsten Steel Endmill (4F)

s/ Technology Parameters

[ BUANEREE (RAfe | cBE)

BER SR o2RA/18 | a8/ IR HEE HHE W FRRE /@8 OE # s
Cartion Steelf Alloy Steel Aoy Stesl Hardened Hardened i Staini=ss Copper Teanum i Heat Resstant
Ay Sies Tool Sheet Too! Stesl Saenl Gtend. Steed AbgTInm Algy Steed
545G 5500, 50M | 5450 5KT.SKD | 5450 SKT.SKD KT SKD SKT.GKD FCIFCD BUSIM = >
HRC=C20 HRC=20-30 HRC=30~40 HRC=Z45~56 HRC-C86-60 = 2 -
- - - - - - -] o o
- & 7% e g%
(CED) (CEL) (sD) (0AL)
D3*9*D6*50L*4T 3 9 6 50
D4*12*De*50L* 4T 4 12 5] 50
D5*15*D6*50L*4T 5 15 6 50
B D6*18*DE*50L* 4T 6 18 6 50
’T‘LI D8*24*D8*60L*4T 8 24 8 60
D10*30*"D10*75L*4T 10 30 10 75
D12*36*D12*75L"4T 12 36 12 75
D16*50*D16*100L*4T 16 48 16 100
D20*60*D20*100L*4T 20 60 20 120
B -
%
i

A021

# 834F BHUSMXIICH (4F)

834F High Efficiency Tungsten Steel Endmill Chamfer (4F)

—5

al

ceo |

T 2
‘E*gﬂf Technology Parameters St
| BONINBRE (B8 | EH)
MERS2H a8H/ IR &a8R/ IR HEE HHE i FER /e HEE # [EE-
Carvon Stee Ay Stoel Alkry Steet Hardeneg Hardengd Chstma Btainkss Copper Titandum ket Heat Resistant
Alioy Steel Tool Stesl Tool Steel Sheel Sieel Steel Aluminum. Aoy Senl
545C,550CSCM| S45C.SKT.SKD | S4CSKTSKD | SKT.SKD SKT.SKD FCFCD SUSI04 -
HRC<20 HRC<20-30 | HRC30-40 | HRO<I45-56 | HRC<E5-80 :
A 7= VRS Wi B
(Specification) (CED) (CEL) (sb) (0AL)
D4c0 1%117D4*50L"47T 4 11 4 50
D5¢0.2*14*D6*50L*4T 5 14 6 50
D6c0.2*15*D6*50L*4T 6 15 6 50
D8c0.3*20*D8*60L*4T 8 20 8 60
D10c0.4*23*D10*75L*4T 10 23 10 i
D12c0.5*28"D12*75L."4T 12 28 12 75
i
: ..4.'
REFHE

A022



C’:)GRANQ TOOLS | FEHEI] R C GRAND TOOLS

Square Endmill Square Endrmill
# YP554LA METHNFHBE (4F) # YP554D SliFwINS=BE7) (4F) - _
YP554LA Long Flutes Endmill (4F) - YP554D Decimal Point Size Endmill (4F) L I ‘. il
gl .
e h =
o e
M EBH Technology Parameters = E == B2 5/ Technology Parameters
ROSHERAE (28He c8E) [ RN HERES (REHe |
[ ARy pasey ey [ ey [T e gl nny o ek o e et | o [ Lot [T e | el
‘ISI.E:!..:;;H.SCN smm::.:m S&S::KTSHSKD Ma‘,e:m ﬁ:’:@ FCIFCD SLED::IM m “.w e S‘TH : Sd-&z;:?sﬁﬂ 3452::::@ SAE‘:.:K;I'SHM SK?I".!QSKD SKT*:KD FCFCD Sxﬁnl m
‘. HRC=220 HRG=220-30 HRC-=30-40 HRC-45-55 HRC-55-60 - - - - - - HRC-Z20 HRC-=20~30 HRG=_30-40 HRC=45-55 HRG 8560
. | . . . . o . . | . . . o
s Dj kS DIRS = 2 g 7]z DIE-S Wiz
(Specification) (CED) (CEL) (sD) (OAL) (Specification) (CED) (CEL) (sD)
~ D1*4*D4*50L"4T 4 4 50 D1.05*3.15*D4*50L*4T 1.05 315 4
n Di757D4750L74T 1 5 4 50 D1.1*3.3*D4*50L"4T 1.1 3.3 4
D176"D4*50L"4T 6 4 50 D1.15%3.45"D4*50L~4T 1.15 3.45 4
D178"D4750L~4T 8 4 50 D1.273 6"D4"50L"4T 12 36 4 50
D1.276"D4"50L"4T 12 6 4 50 D1.25%3.75"D4*50L"4T 1.25 3.75 4 50 5
D1.2787D450L"4T 8 4 50 D1.33.9"D4”50L"4T 13 3.9 4 50 -
0150400 4F 13 5 k. 50 D1.35%4 05"D4"50L™4T 1.35 4.05 4 50 J
D1.3°6°D4"500 4T 8 4 50 D1.4%4 2°D4"50L"4T 14 42 4 50 =
D1 _4:6:04:50L:4T 6 4 50 D1.45*4 35*D4*50L*4T 1.45 435 4 50
L "t g *m *50" :‘T 1 g 3 20 D1.55%4 65*D4*50L74T 155 465 4 50
T g : = o1 ¢ 0T s T ; s
D1.65%4.95*D4*50L*4T 1.65 495 4 50
L 2 - . o D1.7*5.1*D4*50L"4T 1.7 5.1 4 50
D1.5*10~D4*50L*4T 10 4 50 ——
— D1.6%8"D4*50L"4T 16 8 4 50 Sl : : -
s epTTT————— 30 % % D1.85%5 55*D4*50L=4T 1.85 5.55 4 50 o
| D1.8°6-Da*50L"4T 6 2 50 D1.9%5.7"D4*50L"4T 1.9 57 4 50
— D1 678" DA*50L 4T 18 P 2 50 D.95%5.85*D4*50L *4T 1.5 585 4 50
D1.8*10"D4*50L~4T 10 4 50 D2.05%6.15"D4"50L~4T 2.05 .15 4 50
D2*8"D450L 4T Py 4 50 D2.1%6.3"D4"50L"4T 7 6.3 4 50
= 3 D2*10*D4*50L*4T 2 10 4 50 D2.15%6.45"D4*50L"4T 215 6.45 4 50 *
' D2%12*D4*50L*4T 12 4 50 D2.2%6 6°D4"50L"4T 22 6.6 4 50 "
D2.5*10*D4*50L*4T 10 4 50 D2.25%6.75"D4~50L"4T 2.25 6.75 4 50 E_:_.
D2.5"12"D4"50L"4T 25 12 4 50 D2 36 9°D4"50L"4T 23 6.9 4 50 -,
D2 5*15*D4*50L*4T 15 4 50 D2.35°7 05" D4*50L"4T 2.35 7.05 4 50 T
n D3*12°D4*50L*4T 12 4 50 D2 4*7 2*D4*50L*4T 2.4 72 4 50 7
" D3*14°D4*50L"4T 3 14 B 50 D2.45%7.35"D4*50L"4T 2.45 7.35 4 50 o
- D3*16*D4*50L"4T 16 4 50 D2 55*7 B5*D4*50L*AT 255 7.65 4 50 S
D4*20*D4*50L*4T 4 20 4 50 D2 6*7 8*DA*50L*4T 26 78 4 50

A023 AD24



{ ’3 GRAND TOOLS

FRET)

Square Endmill

FEHkT)

Square Endmill

{ j GRAND TOOLS

#YP554D S8/ E=#T] (4F)

YPS554D Decimal Point Size End Mill (4F)

FME Y[ Technology Parameters

[ BIAMERAE (RAfe / oEEH)
WEE/aTE c2E/ I8 | aRE/ 18 HWEE e i FiEE R8 £ Y i fifnE
ool | et L | el o e B el o il - e
SA5CS50C.SCM| S45C.5KT SKD | S45CSKTSKD | SKTSKD SKT.SKD FCIFCD SUSI04
HRC<20 HRC<20~30 HRC<30~40 HRC<C45~55 HRC-Z55~80 =
L - . L] L] o
g J1E=E 71 iz B
= (Specification) (CED) (CEL) (sD) (DAL)
' D2.7°8.1*D4*50L*4T 27 81 4 50
*f D2 75%8 25*DA4=501 *4T 275 825 4 50
- D288 4D450L°4T 28 84 p 50
D2.85%8 55"D4~50L*4T 285 855 4 50
D2.9*8.7"D4*50L~4T 29 87 4 50
D2.95%8.85*D4~50L*4T 295 8.85 4 50
D3.05%9.15*D4*50L*4T 3.05 915 4 50
D3.179.3*"D4=50L 4T 3.1 a3 4 50
D3.15%9.45"D4=50L"4T 315 9.45 4 50
D3.2*9 6*D4*50L"4T 32 96 4 50
D3.25"0 75"D4*50L"4T 3.25 9.75 4 50
D3.3%9.9"D4*50L*4T 33 99 4 50
D3.35%10.05"D4*50L~4T 3.35 10.05 4 50
D3.4710.2"D4750L74T 3.4 10.2 4 50
D3.45%10.35"D4*50L*4T 3.45 1035 4 50
as D3 5°10.5"D450L"4T 35 105 4 50
D3.55%10.65"D4"50L"4T 3.55 1065 4 50
D3.6%10.8"D4=50L=4T 3.6 10.8 4 50
D3.65%10.95"D4*50L 4T 365 10.95 4 50
D3.7"11.1"D4"50L74T 37 1.1 4 50
D3.75%11.25"D4*50L"4T 375 11.25 4 50
D3.8%11.4*D4=50L=4T 38 11.4 4 50
— D3.85%11.55*D4*50L*4T 3.85 11.55 4 50
in D3.9%11.7°D4*50L4T 39 1.7 4 50
= D3.95"11.85"D4"50L"4T 395 11.85 4 50
i D4 1712 3*D6*50L*4T 41 12.3 6 50
D4.2*12.6"D6*50L4T 42 12.6 6 50
7] D4.3712.9"D6°50L4T 43 12.9 6 50
D4.4%13 2*DB*50L"4T 4.4 13.2 6 50
— D4.5%13.5"D6=50L"4T 45 135 6 50
D4 6713 8"D6=50L"4T 46 13.8 6 50

A025

# YP554D SBMiR/NS=5kT] (4F)

YP554D Decimal Point Size End Mill (4F)

B E ¥lf Technology Parameters

HUHEEBHEE (BEfe / EH)
mEE/aeE ofE/ I8 | AfR/TIE WEE WEE Wi B i/ 23
s | Toose | Twses | sea | ser | cmwe | TER | Sem | he
|S45C,550C,50M| S45C SKTSKD | SASCSKTSHD | SKTSKD SKT.SHD FCFCD SUSIA
HRC 20 HRC= 2030 HRC=30~40 HRC-45~55 HRC- 5560
- L] L L] - o
bR 711z DIR:S Wiz
(Specification) (CED) (CEL) (sp)

D4.7%14.1*D6"50L"4T 4.7 14.1 6
D4 8*14 4*DE*501 *4T 4.8 14.4 8
D4.9714.7°D6™50L"4T 4.9 14.7 6
D5.1*15.3*D6"50L*4T 5.1 153 6
D5.2%15.6"D6™50L"4T 52 15.6 6
D5.3"15.9*D6"50L"4T 53 15.9 6
D5.4%16.2*D6*50L*4T 54 16.2 6
D5.5%16.5*D6*50L"4T 55 16.5 6
D5.6%16.8"D6™50L"4T 56 16.8 6
D5.7*17.1*D6*50L*4T 5T 17.1 6
D5.8%17 4*D6*50L"4T 58 17.4 6
D5.9717.7"D6"50L"4T 59 17.7 6
D6.1718.3*D8"60L=4T 6.1 18.3 8
D6.2718.6"D8™60L™4T 6.2 18.6 8 60
D6.3*18.9"D8"60L*4T 6.3 189 8 60
D6.4719.2"D8"60L"4T 6.4 19.2 8 60
D6.5%19.5"D8"60L"4T 6.5 19.5 8 60
D6.6*19.8°D8"60L"4T 6.6 19.8 8 60
D6.7*20.1*D8"60L*4T 6.7 201 8 60
D6.8%20.4"DB"60L"4T 6.8 204 B 60
D6.9*20.7"D8"60L"4T 6.9 207 8 G0

D7*21*D8"60L*4T 7 21 8 60
D7.1*21.3*D8"60L*4T 71 213 8 60
D7.2721 6"D8"60L"4T 7.2 216 8 60
D7.3%21.9"D8*60L"4T 7.3 219 8 60
D7.4722 2"D8"60L"4T 7.4 222 8 60
D7.5%22.5*D8"60L"4T 7.5 225 8 60
D7.6*22.8*D8"60L"4T 7.6 228 8 60
D7.7*23.1*D8*60L"4T 7.7 23.1 8 60
D7.8723 4”D8™60L"4T 738 234 -4 60
D7.9*23.7°D8"60L=4T 79 237 a8 60

AD26



{Zyoranp oois

FEikT)

Square Endmill

FJEHtT]

Square Endmill

{Zy oran Toois

# YP554D SimiEtNgR5t) (4F)

Nk

L
E:
i
g
{5
|
Ea
3

7

b oll=

o

A027

YP554D Decimal Point Size Endmill (4F)

RiMEBE/ Technology Parameters

50

HOMHEEEE (RiEHe /

# YP554 T&7] (4F)

YP554 T Type End Mill (4F)

REWSew SR TA [SSNTN| WES | AMW | WA | tew | WE | #2s | @ | wem
oy Stees Tool Stest Tool Stesi Stest Stest Ly Slesl Al Ay i Seel
S45C 550C SCM| 5450, SKT.5KD | S45C SKT SKD SKTSKD SKT.SKD FCIFCD SUS304 - = =
HRC<20 HRC 20-30 HRC=30-40 HRC< 45-55 HRC<55-60
. . . . . °
MR DJkES DIES RS 58S
(Specification) (CED) (CEL) (sD) (0AL)
D8.1*24.3*D10*75L*4T 8.1 243 10 75
DB.2724.6"D10°T5L°4T 8.2 246 10 ™
D8.324.9*D10*75L"4T 8.3 249 10 75
D8.4*25.2*D10"75L*4T 8.4 252 10 75
D8.5*25.5*D10*75L*4T 8.5 25.5 10 75
D8.6*25.8*D10*75L*4T 8.6 25.8 10 75
D8.7*26.1*D10*75L*4T 8.7 26.1 10 75
D8.8*26.4*D10*75L*4T 8.8 26.4 10 75
D8.9*26.7*D10*75L*4T 8.9 26.7 10 75
D10.1*30.3*D12*75L"4T 101 303 12 75
D10.2*30.6*"D12*75L*4T 102 306 12 75
D10.3730.9*D12*75L74T 103 309 12 75
D10.4*31.2*D12*75L*4T 10.4 312 12 75
D10.5"31.5*D12°75L"4T 105 35 12 75
D10.6*31.8*D12*75L*4T 106 318 12 7L
D10.7732.1*D12*75L"4T 10.7 321 12 75
D10.8*32.4*D12*75L*4T 108 324 12 75
D10.9732.7"D12*75L"4T 109 327 12 75
D11*33*D12*75L™4T 1 33 12 75
D11.1733.3"D12775L"4T 1.1 333 12 75
D11.2*33.6"D12*75L"4T 1.2 336 12 75
D11.3733.9"D12775L"4T 1.3 339 12 75
D11.4*34.2"D12775L"4T 114 342 12 75
D11.5%34.5"D12*75L74T 115 345 12 75
D11.6734.8"D12775L"4T 116 348 12 75
D11.7735.1"D12775L"4T "7 351 12 75
D11.8"35.4"D12775L74T 118 354 12 75
D11.9*35.7*D12*75L"4T 119 357 12 75

% 7 [ &
BiE 8/ Technology Parameters L b it
[ BOMHHEEE (R8T / oHE)
EE® S2@| oEB/IE | 22B/IE | 2E# T i FEE as vae & BEY]
Carvon Steel! Aloy Stee| Aoy Sieel Harnered amenea A Saness Copper Tranus i Fes Resstant
Alioy Slesl Tool Stest Tool Steet Steel Stesd Stesd Abanum N_‘IW Slest
[545C.SEOC.SCH. SA45C SKT SKD | S45C SKT SKD SKT,SKD SKT SKD FCIFCD SUSI04 % 2
l HRC- 20 HRC=20-30 HRC-30-40 HRC=45-55 HRC-C55-30
i . . . . . o |
iz BE oz IS wiE Bk
(Specification) (CED) (THK) {ND) (NL) (sp) (oAL)
D2°0.5°d173*D4"50L 05
D2°17d1"3"D4"50L 1
D2%1.5°d1"3"04750L i.5
D272°d1737D4"50L 2
D2'2.5°d1°3"D4"50L 9ra 25 . . § -
D273°d173"D450L 3
D273 5°d173°D4"50L 35
D274°d1737D4"50L a
D3"0.3°d1.54"D4"50L 03
D3%0.4°d1.5"4"D4"50L 04
D370.5"d1 574"D4"50L 05
D370.6°d1.5"4"D4"50L 06
D3°0.7°d1.5"4"D4"50L 07
D3°0,6°d1 574"D4"50L 08
D3°0.9°d1 574"D4"50L 09
D3717d1.5"4"D4"50L 1
D371.1°d1.574"D4"50L 11
D3°1.2°d1 5°4"D4"50L 12
D3"1.3°d1.54"D4"50L 13
D3°1.47d1.5°4"D4"50L 14
D3%1.5%d1.5*4"D4™50L 15
D371.6°d1 5°47D4"50L 16
D3"1.7°d1 5°4"D4"50L 17
D3%1.87d1 5°4"D4"50L 18
D3*1.9"d1.5*4*D4*50L 1.9
D372°d1.5"4"D4"50L 2
D3"2.1°d1.54"D4"50L 2.1
D3°2.27d1 5°4"D4™50L o 22 e 4 * -
D3"2.3°d1 574" D4"50L 23
D3"2.4°d1 5°4"D4"50L 24
D3%2.5°d1.5°4"D4"50L 25
D3°2.6°d1.5°4"D4"50L 26
D3°2.7°d1.5°4"D4"50L 27
D3°2.6°01 54"D4"50L 28
D3°2.9°d1 574°D4"50L 29
D3°37d1.5°4"D4"50L 3
D3"3.17d1.5"4"D4"50L 31
D3"3.2°d1.5"4"D4"50L 32
D373.3%d1.5"4°D4"50L 33
D373.47d1.5°4"D4"50L 34

AD28



{ j GRAND TOOLS | ER#ET] Ed=373)) { '3 GRAND TOOLS
BUILD IT SMARTER Square Endmi-" Square Endmill BUILD IT SMARTER |
# YP554 T®7] (4F) # YP554 T&7 (4F)
YP554 T Type End Mill (4F) N YP554 T Type End Mill (4F) i
—— | ——
| !r 4

amibg

$.
&
7
7
*k‘.
@
e
£

SRS

&

-

o

onE

w Od%

i = M

A029

Em#ﬂ! Technology Parameters
[ ETHEEREE (RERe ( oER)
wES AeE CEWIE |G2W I8 | BER wE#A ey Faa 58 HAT = ARE
Caron Steel ARGy Shet Aoy Stest Hardened Hardened Castran Slaimess Copper Tianum ket Heat Resstant
ﬂm Tool Sheel Tool Sieel Stesl Stesl Seal Admnum Hﬂr Seel
SA5C S50C, SCM| 5450 SKT SKD | S45C,5KT SKD SKT SKD SKT S5KD FOFCD SUSI4 - -
HRC=(20 HRC= 2030 HRC=]30-40 HRC<45-55 HRC-I55+60 - - - - -
- - - - - o
g shiE EE iz i Wz B
(Specification) (CED) (THK) (ND) (NL) (SD) (DAL)
D3°3.5°d1.5°4*D4*50L 35
D373.67d1.5°4"D4"50L 36
Ud 2.0 ULa 9 Us GUL a0
D3%3.67d1 5°4"DA 501 o 38 o ' ¢ -
D3°3.9°d1.5°4"D4*50L 39
D3°4°d1.574"D4"50L 4
D4%0.3°d2*8*D4*50L 03
D4*0.4*d278"D4"50L 0.4
D4"0.5"d2"8"D4"50L 05
D470.6°d2°8"D4"50L 06
D470.77d2*8"D4"50L 07
D470.87d2*8"D4"50L 08
D4*0.9°d2*8"D4"50L 09
D4*17d2°8"D4"50L 1
D4%1.17d2*8"D4"50L 11
D4*1.27d2*8"D4"50L 12
D4*1,3°d2*8"D4"50L 13
D4"1.4°02"8"D4"50L 14
D471 57d278"D4"50L 15
D4*1.6°d2*8"D4"50L 16
D4"1.7"d2"8"D4"50L 4.0 17 2 8 4 50
D4"1.8°d2°8"D4"50L 18
D4%1.97d2*8*D4"50L 19
D4*2-d2*6"D4~50L 2
D4*2.17d2"8"D4"50L 21
D4"2 2°d2"8"D4"50L 22
D472.37d2"8*D4"50L 23
D4*2.4°d2°8"D4"50L 24
D4*2.5°d2"8"D4"50L 25
D4%2 6°d2*8"D4"50L 26
D4*2 77d2787DA"50L 27
D4"2 8"d2"8"D4"50L 28
D4"2.97d2"8"D4"50L 29
D4*3"d278"DA50L 3
D4*3.17d2*8°D4*50L 31
D4*3.2*d2*8"D4*50L 3.2
D4"3.37d2"8"D4"50L 33
D473.4°d2°8"D4"50L 34

=
M E B Technology Parameters
| HIEHEEREE (BERe / cER)
HEE SR ﬁ‘ﬁﬁr:’l-ﬁ- BaER TE HER WER Bl TR /8 HEE &
Carbon Stees Ay Sl Aoy Steel Harganed Harganad Rt Gk Copper Tiamium Nt
Allary St Tk Stoed Tool Steed Steed Stesa el ARmaraim Aby
S45C 5500 5CM| S45C SKTSKD | S45C,SKT,SKD ST SKD SKT SKD FCFCD SUS304 - -
HRC<20 HRC=20~30 HRCC30~40 HRC-245-55 HRG=55-60 - - - -
- - - - - o
g iz EE oz ER S Wiz
(Specification) (CED) (THK) (ND) L) (sD)
D473.5°d2"8°D450L 35
D43 6"d2*8"D4"50L 36
0473, 7"d2"8 047501 3T
D473.87d276"D4"50L 38
D473 9°d2"8°D4"50L 39
D4 470278 D4 50L 04.0 a 2 8 4
D4*4 5*d2*8*D4*50L 45
D4*5"d2*8*D4*50L 5
D4*5.5%d2*8"D4*50L 55
D4%6"d2"8"DA™50L 6
D670.3"d3*10"DE"50L 03
D60.4*d3"10°D6*50L 0.4
D670,5"d3"10"D6E"50L 05
D6&*0.6*d3*10*D6*50L 0.6
D6%0.7"d3*10"D6"50L 07
D6"0.8"d3* 10" D650 08
D670.9"d3"10"D6°50L 0.9
D6717°d3*10°D6~50L 1
D6*1,1*d3*10"D6*50L 14
D6°1.2°d3*10"D6"S0L 12
D6*1.3*d3"10*D6"50L 13
D61 4*d3*10"D6"S0L 14
D6"1.5"d3"10"D6"50L 15
D671.6d3"10"D6°50L 16
D6*1.77d3"10"D6"50L e 1T > o o
D61 8°d3*10°D6"50L 18
D6%1.9°d3"10"D6"50L 19
D6°27°d3710°D6™50L 2 :
D6*2.1d3*10"DE50L 21 i1
D62,2°d3*10"DB"50L 22 ;1
D6°2,3d3"10"D6"50L 23 i
D6*2.4°d3*10*D6*50L 24
D6*2 5"d3*10"DB"50L 25 2
D672.67d3*10"DB"50L 26 : 7
D6%2.7°d3*10*D6*50L 2y Al
D672 8°d37107D6"50L 28
D&*2 9*d3*10"D6"50L 29
D6*3*d3*10"D6"50L 3
A030



{'j, GRAND TOOLS | FIEEf) TR GRAND TOOLS
Square Endmill Square Endmill

# YP554 T&7] (4F)

YP554 T Type End Mill (4F)

b

=8k

b d
&
&
n
.5
]
T
2

b 1

HEEA
=

BE S5

wE
S

A031

FM B/ Technology Parameters

BUAHERER (BiEfe /o)

RS ARE GRE/I8 | %R/ TA it HES i FHRE h/8 b Yagd 3 of ]
Carban Steel Aoy Stesl Aty Steel Hatened Hamkned I Stariess Copper Thanim i Heat Resstan
Aoy Steel Tool Stest Tool Steel stesl Steet Sheal Asgminum Aoy Stesl

S45C,S50C.50M| S45C.5KT.SKD | S4SCEKTSKD | SKTSKD SKTSKD FLFCD SUS4 = = =
HRC<20 HRC<20-30 | HRC<30-40 | HRC<45-55 | HRO<55-60 - L =

. . . . . @
i BEE Mz ik A B
(Specification) (CED) (THK) (ND) (NL) (8D) (0AL)
DE™3.1"d3"10"DE"S0L 31
D673.27d3*10"D6*50L 32
DE"3.3"d3"10"DE"S0L 33
D63.4"d3*10"D6™50L 34
DE*3.5*d3*10"D6*50L 35
D6*3.6"d3*10"D6*50L 36
D6*3.7*d3"10"D6"50L 37
D6*3.87d3710"D6*50L i 38 ¥ e 0 -
D6*3.9*d3*10*D6*50L 39
D6*4*d3*10*DE*50L 4
DE*4.5*d3*10*DE*50L 45
D6*5"d3*10"D650L 5
D6*5.5"d3*107D6"50L 55
D6*6*d3*10"D6*50L 6
D8"0.3"d4*12*D8™50L 03
D&*0.4*d4"12"DB*50L 0.4
D8%0.5"d4*12"D8"50L 0.5
D8"0.6"d4*12"D8"50L 06
D8"0.7"d4*12"D8™50L 0.7
D&"0.8"d4*12"D8"50L 08
D8*0.9*d4*12*DB*50L 09
D8*1*d4*"12"D8"50L 1
D8*1.1"d4712*D8*50L ; )
D&*1.2"d4712"D8"50L e
D8*1.3"d4*12*D8*50L 13
D&*1.4*d4*12"D8™50L 14
D8*1.5"d4*12*DB"50L w©e 1.5 ¥ L ¥ =
D&*1.6*d4*12*DB*50L 16
D8*1.7"d4*12*D8*50L 13
D&*1.8"d4"12*DB"50L 18
D8&71.9"d4™12"D8"50L 1.9
Dg*2*d4*12*D8*50L 2
D&"2.1*d4*12*D8*50L 21
D8*2.2"d4*12"D8"50L 22
D&"2.3"d4*12"D8"50L 23
D8%2.4%d4*12*D8*50L 24
D8*2.5"d4*12*D8*50L 25
D8"2.6"d4*12"D8"50L 26

# YP554 T&7] (4F)

YP554 T Type End Mill (4F)

BB #/ Technology Parameters
[ BORAESEE (REfe / oARA)
WFW GaE CER/IR | ARRM/IE| BER R Bk T a8 waE & wRE
Carbon Steel’ Asgy Steal Aoy Stoel Hartenad Hamdaned Stankess Copper Teanum Heal Resstant
Allery Steed Tiood Steel Tool Steet Steel Sheal Lo Stesl Alymiram Aloy i Steel
5450 550C SCM| 545C 5KTSKD | 545C SKT SKD SKTSKD SKT.SKD FCFCD SUS304 -
HRC<I20 HRC<!20~30 HRC=I30~40 HRC~45-55 HRC<55-60 - ~
- - . - - @
E BE MEF ;i weE Bk
(Specification) (GED) (THK) (ND) (L) (s) (0AL)
D82 7704*12"D8"50L 27
D82 8"d4*12"D8"50L 28
D872 9"04"12"D8"50L 29
D83%d4”12°D8"50L 3
D8*3.1*d4*12*D8"50L 31
D83.2°d4"12"D8"50L 3.2
D8°3.3°d4"12"D8"50L 33
D83 4"04°127D8"50L 34
D8*3.5*d4*12*D8*50L 35
D8'3.6'04" 12' D& 50L we 36 * ¥ . i
D8*3.7"d4*12"D8"50L AT
D83.8"04"12"D8"50L 38
D873 0°d4~127D8"50L 39
D874"d4127D8"50L 4
D84 5°d4*12"DB"50L 45
D8*5*d4*12*D8*50L 5
D8"5.5'd412"D8"50L 55
D876"d4"12"D8"50L 6
D10°0.3"d5715"D10760L 03
D100 4°d5*15"D10760L 04
D10*0.5*d5*15*D10*60L 05
D10°0.6%d515"D10°60L 06
D10%0.7*d5"15*D10"60L [
D1070.87d515"D10°60L 08
D10°0.9"d5"15"D10"60L 09
D10"17d5"15°D10°60L 1
D10*1.1*d5%15*D10"60L 11
D10°1.2*d5"15"D10°60L it 12 5 s i -
D10*1.3*d5"15*D10"60L 1.3
D10°1.47d5"15"D10760L 14
D10°1.57d5"15°D10760L 15
D10*1 6*d5*15*D10*60L 1.6
D10*1.7"d5"15"D10°60L 1.7
D10*1.8*d5"15"D10"60L 18
D10"1.9"d5°15"D10"60L 19
D10°27d5"15°D10°60L 2
D10*2.1*d5*15*D10*60L 21
D10°2.2°d5°15°D10760L 22

wAnks
SE

ST

AHET

A032



{Zyomamoo0s | R wrnn | {7y oranp Toots

Square Endmill Square Endmill |
# YP554 T&7 (4F) # YP554 T&7] (4F)
YP554 T Type End Mill (4F) . YP554 T Type End Mill (4F) . LS = .:-_‘

DAL

DAL

7 2 & &

g ™
FERE 8/ Technology Parameters

JEMEH Technology P
[ BOHEEREE (BERs / oBR) [ BUREEEEE (BEfe | cER) T
WEE ocH CER/ 18 | GEM/IE| @BEE EEE] B T @8 HaE o L wEE ctE AER/ 1A | AEWIE | #AES RE& S FHRE /8 vaE # waE £E
el W ol B - P B B ol B [ e rwses | omem | come || Priemis || e )| o || e | o || St | [l | Y
G45C B50C SOM| BAGC SKT SKD | S45C SKT SKD ST SKD SKT.SKD FCOIFCD SUSI04 - - - - S450 5500 5CM| 5450 SKTSKD | S45C 5KT SKD SKTSKD SKT.SKD FGFCD SUS304 n
HRC<20 HRC=20~30 HRCC30-40 HRC<45-55 HRC<55-60 - - - - - - HRC<20 HRC=20~30 HRC=30-40 HRC=C45-55 HRC- 5560 - - - - - -
- - - - - ] | - - - - - o
g shE EE iz E8S wmE Bic HAE iz BE Bz i< ke Sk
(Specification) (CED) (THK) (ND) (NL) (sD) (OAL) (Specification) (GED) (THK) (ND) (NL) (SD) (0AL)
D10%2.3"d5"15"D10"60L 23 D12*1 7*d6*15*D12*60L 17
D1072.4*d5*15"D10"60L 2.4 D12*1.8*d6*15*D12*60L 18
Di0°2 57d5%15°010°60L 25 D12%1.9°d6%15"D12*60L 1.9
D10°2.6d5*15°D10"60L 26 D12%2°d6*15°D12760L 2
D1l3’2.?:d5:: SID:D‘GUL 27 D122 1746"15°D12°60L 21
T T 2 D220 {5 DIZ60 22
e 3 D1272.3°d6*15*D12760L CT
D1073.17d5*15"D10°60L 31 L s ol 24
T 500 = D12°2 5°d6*15"D12*60L 25
D1073.3%d5*15*D10"60L 33 D1272.6°d6™15*D12"60L 26
D10°3.47d5*15"D10°60L 34 E;i;;ﬁg:::g:;;“i i; L &
31 3:2':;:-:2-312:% D : 2 5 15 1o 60 D1272 9°d6"15"D12°60L 29 o
A i ENE
D1073.77d5715"D10760L 37 D12"3"d6"15"D12"60L 3 F 8
D1073.87d5*15°D10"60L 3.8 D1273.17d6™15"D12"60L 3.1
ot D10°3.97d5"15°D10"60L 39 D12°3 2°d6°15"D12760L 32
g D10%4*d5"15°D10°60L 4 D123 .3°d6*15*D12*60L 33
;"] D10%4 5d5*15"D10"60L 45 D12*3.4*d6*15*D12°60L po 34 8 i 2 0
D10757d5"15"D10%60L 5 D1273 5°d6*15"D12760L 35
5 D10*5.5%d5*15"D10*60L 55 D123 6*d6*15*D12*60L 16 &
33 D10767d5"15"D10760L 6 D12°3 7°06"15°D12°60L 37 )
D1076.5%d5*15*D10*60L 65 D12°3 8°06"15°D12"60L o) |
x| ASCEN virs oD
i - - D12747d6715°D12760L 4  w
K BTS00 EOL g D12%4 5*d6*15"D12*60L 45 7
S D1270.5%d6*15°D12*60L 05 ey ey g Y
o3 LS i D125 5°d6*15*D12"60L 55
i D12°0.7*d6*15"D12760L 07 L : = i
=i D12°0.8"d6"15°D12760L 08 D1276706*15"D12"60L 6 =
\;I }J D120 9%d6*15"D12760L 09 D12"6.5"d6™15"D12"60L 6.5 7]
D12*1°d6"15"D12*60L 1 D12*7*d6*15*D12*60L T !_Hv-
D1271.1°d6"15"D12"60L #1=o 11 8 ¥ = &0 D12°7.5°d6*15"D12°60L 75 |
7: D1271.27d6*15"D127°60L 12 D12°8%d6"15"D12"60L 8 71
L D12%1.3*d6*15°D12*60L 13 D127107d6%15°D12760L 10 £
D1271 4%d6*15"D12°60L 14 D127127d6%15*D12760L 12
D12*1.5"d6*15°D12*60L 15
D1271.67d6715"D12°60L 16

A033 A034



{Zy oranp To0is

TRt

Square Endmill

FEHkT)

Square Endmill

(0]e] )

| {Zyorano e

TER

# YP554R WR7] (4F)

YP554R Inner R End Mill (4F)

I“I::EIJ

P [t
FME M/ Technology Parameters o
[ EARERAE (REfe / @)
WERE/aEE egE/ 18 | A%RA/I8 mEE EHEE iR TE&E EfE ] %o 3 @ R
‘Carbon Stesl/ Aoy Steat Ay Stest Hargened Hardened Stainkss Coppar Thanum ‘Heat Resstant
Aoy Sheed Tooi Steal Tooi Steal Sheel Sheal e Steal Alminim Aoy L Steel
S45C 550C.5CM | S45C.5KT,5KD | S45C,5KT SKD SKT.SKD ‘BKT.BKD FCFCD SUSI4 - -
HRC< 20 HRC<20~30 HRC+ 30~40 HRC<(45-55 HRC<I55~60
- L] - - . @
AIRT] LEERE wiz e
(Specification) (R) (CED) (SD) (0AL)
R0.2%d3.6*D4*50L RO.2 36 4 50
R0.5%d3.5"D4*50L R0.25 35 4 50
R0.3*d3.4*D4*50L RO.3 34 4 50
RO0.4%d3.2*D4*50L RO.4 32 4 50
R0.5*d3*D4*50L RO.5 3 4 50
R0.75%d2.5*D4~50L RO.75 25 4 50
R1*d2*D4*50L R1 2 4 50
R1.25%d1.5*D4"50L R1.25 15 4 50
R1.5*d1*D4*50L R15 1 4 50
R1.5*d3*D6*50L R15 3 6 50
R1.75%d2.5*D6750L R1.75 25 6 50
— R2*d2*D6*50L R2 2 6 50
R2.25%d3.5"D8%50L R2.25 35 8 50
R2.5*1*D6*50L R2.5 1 6 50
f R2.5*d3*D8*50L R25 3 8 50
’; R3*d2*D8~50L R3 2 8 50
R4*d2*D10"60L R4 2 10 60
R5*d2*D12*60L RS 2 12 60

A035

# YP554T ®E7] (4F)

554P Dovetail End Mill (4F)

KM E !/ Technology Parameters

| BUAREMER (BiEfe  off)
WEE coE SREN/1E | ARR/IE | BES nEE T T #/8 HaE # ARE
et e e DS I s A i e s
5450 550C SCM| S45C SKT.SKD | 545C SKT.SKD SKT.5KD SKTSKD FOFCD SUSI04 - - =
HRC<20 HRC<20~30 HRC<I30~40 HRC<45~55 HRC-55~80
- - . L] - ©
NE | pLAE nE Ek e Eink S L 21
(Specification) (CED) (A (ND) (NL) (sD) (DAL}
D1760°0.43°d0 52.5"D4*50L 1 043 05 25 4 50
D1.5%60°*0.65%d0.75°3.2°D4*50L 1.5 065 0.75 3.2 4 50
D2*60°*0.87*d1*4*D4"50L 2 0.87 1 4 4 50
D2 5°60°*1 1*d1 255" D4*50L 25 11 125 5 4 50
D3%60°*1.3"d1.5°7°D4"50L 3 13 15 7 4 50
D4*60°*1.73°02°8"D450L 4 60° 173 2 8 4 50
D5"60°*2.17*d2.5*10*D6*50L 5 217 25 10 1] 50
D&*80°*2.6%d3*11*D6*50L 6 26 3 11 i} 50
D8*60°*3.46*d4*14"D8"50L 8 346 4 14 8 50
D10"60°"4.33"d5"20"D10"60L 10 433 5 20 10 60
D12*60°*5.2"d6"21"D12"60L 12 52 L] 21 12 60
DO0.8*45°*0.2*d0.4*2*D4*50L 0.8 02 04 2 4 50
D0.9%45°*0,25"d0.4*2*D4*50L 09 0.25 04 2 4 50
D1745°70.25°d0 5°2.5"D4*50L 1 025 05 25 4 50
D1.1"45%0.25°d0.6*D2.5*D4*50L 1.4 0.25 06 25 4 50
D1.2745°°0,37d0.6"D2.5"D4*50L 1.2 03 06 25 4 50
DA1.3°45°°0.35°d0.6°D2.5°D4"50L 13 035 06 25 4 50
D1.4%45°0.4%d0 6°D2.5"D4*50L 14 45° 04 06 25 4 50
D1.5%45°*0.38*d0.75*2.8*D4*50L 1.5 0.38 Q.75 28 4 50
D1.6%45°%0.45%d0, 7*3*D4*50L 186 045 07 3 4 50
DA1.77457%0.57d0.7*3*D4"50L 17 05 07 3 4 50
D1 8%45°*0 55%d0.7*3*D4*50L 18 055 07 3 4 50
D1.9%45°°0.6"d0.7*3*D4*50L 1.9 06 07 3 4 50
D2745°%0.5"d173.5°D4"50L 2 05 1 35 4 50




C}GRAN!?I?QLS ERHT) PRI | C’;}GRANDLS

Square Endmill Square Endmill |
#YPS54T ®E7 (4F) # YP554G Wih#EE7 (4)
YP554T Dovetail End Mill (4F) l- i - YP554G Bilateral Dovetail End Mill (4F)

oo
/A
ke
- 50 -
g_’_

| GEL s

A . A . <P
R 28l Technology Parameters ki Ll =2 Kls B E M/ Technology Parameters La =2 hle
| HMEEEEE (BEEe / oEE) | | EAEEEER (Rfifle / clA)
[RR G A#%/TH | AfR/THR R BEE i TR #E Man " gt MEE/atE S8R/ 1R | AER/ TR MR WEE i Fin /8 Has i maE
Carton Steall Adoy Sieel Aoy Sheal Hamdened Harmdened adon Stareess Capper Tanium ikt Heat Hesstant Carton Steed’ Moy Steal Alioy Stos! Hartenad ‘Hardaned oo Staniess Capper Tranum kel Heal Fesistant
| Aoy Steel Tool Stesl Took Stesl Sheal Sheal Steal Auminum Aoy Stesl Ay Steel Toot Steel Toaol Steat Steed Saeal Stesl Alymiram Aoy Brewt
ESJSC.SEIC.SCM S45C.SKT SKD | 545C SKTSKD SKT.SKD SKT.SKD FCIFCD BUS3I04 - - - - | S45C 550C 5CM | S45C SKT.SKD | S45C SKT.SKD SKT.SKD SKT.5KD FGFCD SU5304
| HRC<C20 HRC<20~30 HRC<!30~40 HRC<45-55 HRC<55-60 - - - - - - HRC<C20 HRC<20~30 HRCZI30~40 HRC<45-55 HRC<55-60 - -
L - L] - | - @ L] - | . . L @
Hig 7z BinfmE T Hiz ik wE Bl 45 DAEES mE UJE:S iz ERIS e B
(Specification) (GED) [0} Al (ND) (NL) (sD) (0AL) (Specification) (CED) A (CEL) (ND) (LN) (sD) (0AL)
D2.1°45°*D.55*d1"4*D4*50L 21 055 1 4 4 50 D2760°0.647d0.9°2 5" D4750L 2 064 09 25 4 50
02 2745°*1.6°01 1" D450 22 1.6 5 4 4 50 3760°70.92701.473.5"D4750L 3 55z 14 3.5 4 50
D2.3*45°%0 85°d1*4*D4*50L 23 0.65 1 4 4 50 D4760°*1 24°d1.85*4"D4*50L 4 1.24 1.85 4 4 50
D2.4%4550 7*d1*4*D4*50L 24 07 1 4 4 50 D560°1.56°02 3*5*D6"50L 5 1.56 23 5 6 50
60°
s D2.5%45°%0.63%d1.25%4 7*D4*50L 25 063 1.25 47 4 50 D6760°*1.9°2.7°6°D6*50L 6 19 27 6 G 50
D2.6745°70.7"d1.2°5"D4"50L 26 07 12 5 4 50 DB8*60°*2 54*d3 6*8"Da*60L 8 254 36 8 8 60
D2.7745°70.75701.2°5°D4"50L 27 0.75 1.2 5 4 50 DA0°60°*3, 18*d4. 5-10°D10°75L 10 318 45 10 10 75
D2.8%45°0.8"d1.2*5"D4"50L 28 08 12 5 4 50 D12*60°*3.81*d5.4*11*D12*75L 12 g 54 11 12 75
D2.9745%%0.85%01 2°5°D4"50L 29 0.85 12 5 4 50 D2%90°*1 1%d0.9"3*D4*50L 2 11 09 3 4 50
D3*45°*0.75*d1.5"6*D4*50L 3 075 15 6 4 50 D3*00°%1 6*d1 4*4*D4*50L 3 16 14 4 4 50
D3.1745°%0.8%d1.5"6"D4"50L 31 0.8 15 6 4 50 D4*90°*2.157d1.85"5"D4*50L 4 215 1.85 5 4 50
D3.2*45°*0 85*d1 5*6*D4*50L 32 0.85 15 6 4 50 D5%00°*2 7*d2 3"6°D6"50L 5 27 23 ] 6 50
a0°
[03.3745°70.9*d1 56" D4*50L 33 09 1.5 6 4 50 DE*a0°*3.3d2 7*7"D6"50L B 33 27 T 6 A0
1 | D3.4*45°%0.95%d1.5"6"D4*50L 34 45° 095 15 (] 4 50 Da*a0°*4 4*d3 6*10* D860 a 44 16 10 8 &0
D3.5%45°"1"d1.5°6"D4"50L 35 1 15 § 4 50 D10°90°*5 5%d4 512" D10°75L 10 55 45 12 10 75 o
D3 6745°*1.05%41.5"6°D4*50L 16 108 15 6 4 50 D1290°6 605 414" D12 751 = 66 54 14 12 75 st
D3.7°45°*1 1*d1 5*6*D4*50L 37 1.1 15 8 4 50 D2*12071.6°00.9°4"D450L 2 10 09 A 4 50 |-
D3 87457*1 1501 5°6°D4*50L 38 115 15 8 4 50 Da12072 77°1.4°5" D4 50L 3 277 o 5 3 50 g
D3.9°45°"1.27d1.5°6"D4"50L 3.9 1.2 1.5 6 4 50 D4*120°*3.72"01.85°7"D4*50L 4 372 1.85 7 4 50 T
— D4745°1.1"d2'7"D4"50L 4 1 2 7 4 50 D57120°%4 67742 3°8"D6"50L 5 467 23 8 6 50 e
I T 120° 3
L D5°45°*1 25°d2 5'9°D6"50L 5 125 25 g & 50 D SRS TR T A G5O 8 571 27 10 8 50
n DB"45°*1 5%d3°9.5*D6"50L 6 15 3 95 6 50 D8*120°7 6203 6*13°D8"60L. a 762 18 3 a 50 -
DU OIS 4 4 i 12 s il D10°120°"9.53"d4 5*16"D10"75L 10 9.53 45 16 10 75
.| PG e DI il 50 2 1679 £ % D12*120°*11.43°d5 4"19°D12°75L 12 11.43 54 19 12 75 n
e D12°45°*3*d6*16"D12°60L 12 3 & 18 12 60 %0
| | D14%45°3 5'D7°23 5*D14"80L 14 35 7 235 14 80 |
D16%45°47d8"24*D16°80L 16 4 8 24 16 80

A037 AD38



{Zyoranproots |

FEkT]

Square Endmill

FERT)

Square Endmill

| Ly oranp ro01s

# 804F FAEMEABET] (4F)

B04F Squre Endmill For Stainless Steel (4F)

A039

[ BOAHEBRE (RAfe / GEE)
fFE ooE| AER IR |AEE/IR | mEER aEE F FHEA s iae # wRE
il e e [ el | [l | e | D Sl o ) B
\;SJSC.SMC.SCM SA5C SKT SKD | 545C SKT SKD SKT.5KD SKT KD FC/FCD SUS3M - - -
HRC<I20 HRC<20~-30 HRC<30~40 HRC<45-55 HRC=I55-60
(] | o L] ] L] L]
Specifications CED CEL sSD OAL
D1*2.5H*D4*4T*50L 1 3 D4 50
D1.5"4H"D4*4T*50L 1.5 4 D4 50
D2°5H*D4*4T-50L 2 5 D4 50
D2.5%6.3H*D4*4T*50L 25 8.3 D4 50
D3*7.5H*D4*4T*50L 3 8 D4 50
D3*8H"D4°4T*50L 3 8 D4 50
D3*7.5H*D4"4T*75L 3 8 D4 75
D3.5"9H"D4*4T*50L 35 9 D4 50
D4*10H*D4*4T*50L 4 10 D4 50
D4*10H*D4*4T*75L 4 10 D4 75
D4*10H*D4*4T*100L 4 10 D4 100
D5*12.5H*D5%4T*50L 5 12.5 D5 50
D5*12.5H"D5"4T*75L 5 12.5 DS 75
D5*12.5H*D5*4T*100L 5 125 D5 100
D5*12.5H*D6*4T*50L 5 125 D6 50
D6*15H*D6*4T*50L 5} 15 D6 50
D6*15H*D6*4T*75L 6 15 D6 75
DE*15H*D6*4T*100L 6 15 D8 100
D8*20H*D8"4T*680L 8 20 D8 60
D8*20H*D8*4T*75L 8 20 D8 75
D8"20H"D8*4T*100L 8 20 D8 100
D8*24H"D8"4T*60L 8 24 D8 60
D10*25H*D10*4T*75L 10 25 D10 75
D10*25H*D10%4T*100L 10 25 D10 100
D10*25H*D10*4T*150L 10 25 D10 150
D10*30H*D10°4T*75L 10 30 D10 75
D12*30H*D12*4T*75L 12 30 D12 75
D12*30H*D12*4T*100L 12 30 D12 100
D12*30H*D12*4T*150L 12 30 D12 150
D14*35H"D14*4T*100L 14 35 D14 100
D16*40H*D16%4T*100L 16 40 D16 100

# YP602M fUIMEINE@II$k7] ( 2F )

YP602M Micro Diameter Endmill For Hard Material (2F)

OAL

P72 8/ Technology Paramaters i —

[ ROAANBER (RAfRe /(AR

BES/Aa2E A88E/ I8 | 488/ I8 BEE HHEE Wik FirE /48 sag # il i

] s el e R N e R = P S e e
SA5C.S50C,5CM| S45CSKTSKD | S45CSKTSKD | SKTSKD SKTSKD FGFCD SUS304 3 : -
HRC-20 HRC=20~30 HRC=I30~40 HRC-45-55 HRC- 5560
. | . . . . o
& 71 W 58S
(Specification) (CED) (CEL) (sD) (0AL)

D0.170.2*D4*50L*2T 0.1 02 4 50
D0.15*0.3*D4*50L"2T ©0.15 03 4 50
D0.2*0.4*D4*50L"2T 0.2 04 4 50
D0.2170.42"D4*50L*2T 90.21 0.42 4 50
D0.2270.44*D4*50L*2T ©0.22 0.44 E 50
D0.23%0.46*D4"50L*2T ©0.23 0.46 4 50
D0.24%0.48*D4"50L"2T ©0.24 0.48 4 50
D0.25*0.5*D4*50L*2T 90.25 05 4 50
D0.2670.52"D4*50L*2T ©0.26 0.52 4 50
D0.2770.54*D4*50L"2T ©0.27 0.54 4 50
D0.2870.56"D4*50L"2T ©0.28 0.56 4 50
D0.29%0.58*D4*50L"2T 90.29 0.58 4 50
D0.370.6"D4*50L"2T ©0.30 06 4 50
D0.3170.62*D4*50L*2T ©0.31 0.62 4 50
D0.32%0.64*D4"50L*2T ©0.32 0.64 4 50
D0.33%0.66*D4*50L*2T ©0.33 0.66 4 50
DO0.3470.68"D4*50L"2T $0.34 0.68 4 50
D0.35*0.7*D4*50L*2T ©0.35 0.7 4 50
D0.3670.72*D4*50L"2T ©0.36 0.72 4 50
D0.37*0.74*D4*50L*2T ©0.37 0.74 4 50
D0.3870.76"D450L"2T ©0.38 0.76 4 50
D0.3970.78*D4*50L*2T ©0.39 0.78 4 50

AD40



{ GRAND TOOLS | FE#tT] FEREET] | { ‘:} GRAND TOOLS
Square Endmill Square Endmill

#YP602M RUINMEMREILHT] (2F ) ‘ " F_J # YP602M fUNEMEIIHT ( 2F )

YP602M Micro Diameter Endmill For Hard Material (2F) YP602M Micro Diameter Endmill For Hard Material (2F)

| o |
r‘ = * = r
L — - ﬁ
7 7 B B Y
| = L 1 || =4 ] . | L

M 28/ Technology Parameters = FiftZ 8 Technology Parameters I e ~

[ EUAREREEE (REM ( oBE) [ BUAMEREE (BEHe / cRA)

BER/SEE SR/ 18 |ss8/ 18 E=E] EEE B o /38 HEE ] WRE BEREzE o8/ 18 | ogR/ I8 #sEr | sEm 1 FitE /8 WoE
Carbon Shesl! Ay St Ay Eteel Harsened Hard=ned Stainiess Copper Tanwm . Heat Resistant Carbon Steed’ Aoy Stesl Ay Steel Hardened Hardened Stariess Copper Thankm
Ay Siee Toct Steel Tool Stee! Bteod Gtesd o Stenl Arminum Algy Hickel Seel Alky Steed Tool Siee! Tool Steed Sieel | Steed i Stenl AlEnum Ay

5450 550G 5CM | 5450, 55T 5KD | 545C,5KT 5KD SKT.3KD SKT.SKD FCFCD BUSI4 - - - - H45C 5500, 5CM | S45CEKTSKD | S45C.5KT.SKD SKT.SKD SKT.SKD FCFGD US4
HRC=Z200 HRC=720-30 HRC 30-40 HRC=745~55 HRCZ55~60 = E E = 2 = HRC=220 HRCX0~30 HRC=C30~40 HRC=C 4556 I HRC-C86~60

- - . - - e - - - - - ) |
ik 7] DIRS ERES 2K i & UIES e

: (Specification) (CED) (CEL) (sD) (OAL) {Specification) (CED) (CEL) (sD)

DO0.4*0.8°D4*50L*2T ©0.40 0.8 4 50 D0.66™1.32"D4"50L"2T @0.66 1.32 4 50
DO0.4170.82*D4*50L"2T ©0.41 0.82 4 50 D0.6771.34"D4750L2T @0.67 1.34 4 50
D0.4270.84*D4*50L*2T ©0.42 0.84 4 50 D0.68%1.36°D4*50L2T ©0.68 1.36 4 50
D0.4370.86*D4*50L*2T ©0.43 0.86 4 50 D0.69*1.38"D4"50L"2T @069 138 4 50
D0.44%0.88"D4*50L*2T ©0.44 0.88 4 50 D0.71.4"D4"50L*2T @0.70 1.4 4 50
D0.45%0.9°D4*50L*2T 00.45 09 4 50 D0.71%1.42°D4*50L2T 90.71 142 4 50
D0.4670.92*D4*50L*2T ©0.46 0.92 4 50 D0.72*1.44*D4*50L"2T ©0.72 1.44 4 50 ik
DO0.4770.94*D4*50L"2T ©0.47 0.94 4 50 D0.73%1.46°D4*50L*2T 90.73 1.46 4 50
D0.48%0 96*D4*50L*2T 0.48 0.96 4 50 D0.74*1.48*D4*50L*2T @0.74 1.48 4 50

&7 D0 .49%0.98*D4"50L"2T ¢0.49 098 4 50 D0.7571.5"D450L"2T 90.75 15 4 50

. D0.51%1.02"D4°50L"2T 90.51 1.02 4 50 D0.77*1.54"D4°50L"2T ®0.77 154 4 50
D0.52*1 04"D4"50L"2T 90.52 1.04 2 50 D0.78"1.56"D4"50L"2T ©0.78 1.56 4 50
D0.53°1.06°D4"50L"2T 0053 106 2 50 D0.79%1.58"D4*50L*2T ©0.79 1.58 4 50
D0.54*1 08"D4"50L"2T 00.54 108 2 50 D0.8+1.6"D4*50L*2T ©0.80 16 4 50
DO0.55"1 1°DA"50L"2T 9055 11 2 50 D0.81%1.62°D4*50L"2T @0.81 162 4 50

- D0.56%1 12°D4"50L"2T 90.56 1.12 P 50 D0.82*1 84*D4*50L*2T @0 82 164 4 50
00_5?11 _14'D‘!501_!2T ¢0_5? 1'1 4 4 50 DD.83’1 66'[)4'50!_‘2’{ @D.Sa 1.% 4 5(]
D0.58%1 16°D4*50L"2T 90.56 116 4 50 D0.84%1 68*D4*50L*2T ©0.84 1.68 4 50

i D0.59%1.18"D4*50L"2T ©0.59 118 4 50 b DRl 9085 L 8 L

DO 671 2°D4"50L"2T 00 60 12 4 50 s R e} RO i 4 3 T
R R 2061 T 5 = D0.87%1.74*D4*50L2T ©0.87 1.74 4 50 71
T ——— 00,62 oy r = D0.88%1.76"D4*50L2T ©0.88 1.76 4 50

D0.89%1.78°D4*50L"2T ©0.89 178 4 50 :
D0.63*1 26"D4*50L*2T ©0.63 1.26 4 50 7]
D0.91.8"D4*50L*2T ©0.90 18 4 50 fi

D0.64*1 28*D4*50L*2T ©0.64 1.28 4 50

] D0.951.9*D4"50L*2T ©0.95 19 4 50
D0.65%1.3*D4*50L*2T ©0.65 13 4 50

A041 AD42



{73 eranp ToOLS

TRt

Square Endmill

Eetk7)

Square Endmill

=

GRAND TOOLS

BUILD IT SMARTER

# 604F BER8tT] (4F)

604F Die Set Milling Cutter (4F)

s odmmE

ks

-
7

A043

BEne u," Technology Parameters
] WUMEEERE (REfe / EA)
R atH S%E/ I8 [ 888/ 18 HsER WEE s e #/8 $ER ® HRE
GCarton Steeit iy Steet Aty et Hamened Harened IR Stminicss Copper Tranium s Heat Resisiant
Ay Steel Tool Steel ool Steel Stewt stost Stest Aamnum Ay Steal
5450, 550C,50M | S45CSKTSKD | S45CSKTSKD | SKTSKD SKT.SKD FOIFGD SUS304 = = -
HRC<20 HRO<C20-30 | HRC<CS0-40 | HRC<45-55 | HRC<S5-60
. . . . . a @ o o o
s niz PR S Wi B2
(Specifications) (CED) (CEL) (SD) (OAL)
D6*18*D6*50L*4T 6 18 5] 50
D8*24*D8*60L*4T 8 24 8 60
DB*35*DB*7T5L"4T 8 35 8 75
D8*45"D8"100L4T 8 45 8 100
D10*35*D10*75L"4T 10 35 10 75
D10*30*D10*75L"4T 10 30 10 75
D10*45*D10*100L*4T 10 45 10 100
D10*50*D10*100L*4T 10 50 10 100
D12*36°D12*75L"4T 12 36 12 75
D12*50*D12*100L*4T 12 50 12 100
D12*55*D12*100L*4T 12 55 12 100

# YH634A B@EiBM#kT (4F)

YH634A High Hard Tungsten Steel Endmill (4F)

&p

ﬁm#&;‘ T gy Parameters
[ i BOMARHEES (BEHe / (HE)
EEE AR 88/ I8 | 688/ I8 HuE wEE aE FEH #/8 Has #® EHE
Carbon Steel Alicy Stee! Aliy Sieet Hartened Hamened askiron Staress Copper Trankum Hickel Heal Resistant
Aoy Stoal Tool Skeal Tool Steal Steet Steal Sheal AlurEnum Aoy Sheed
S45C,S50C.50M| 545CSKT.SKD | S45CSKTSKD | SKTSKD SKT,SKD FOFCD SUSI0H = 3 <
HRC<20 HRC<20-30 | HRC<30-40 | HRC<45-55 | HRC<55-80
L 3 L 3 - - - o o o o o
s NE 7 iz 24
{Specification) {CED) CCEL) (sD) (OAL)
D1*3*D4*100L*4T 1 3 4 100
D1°3°D4*50L"4T 1 3 4 50
D1*3"D4"TSL"4T 1 & 4 75
D1.5"4"D4"50L"4T 1.5 4 4 50
01.5%4.5"D4100L"4T 15 45 4 100
D1.5%4 5*D4™75L"4T 1.5 45 4 75
D2*5*D4*50L"4T 2 5 4 50
D276 D4*100L74T o 6 4 100
D2 6"D4™T5L™4T 2 ] 4 75
D2.5%6.5"D4"50L"4T 25 6.5 4 50
D2.5*7 5"D4*100L*4T 25 75 4 100
D2.5%7 5*D4*75L"4T 25 75 4 75
D2040"D20*100L*4T 20 40 20 100
D20*75*D20* 1501 *4T 20 s 20 150
D3*9*D3*50L"4T 3 9 3 50
D3*9°D4*100L"4T 3 9 4 100
D39 D4"50L"4T 3 9 4 50
D379 D4TT5L74T o 9 4 75
D4=12*D4*50L=4T 4 12 4 50
D4*20"D4*100L*4T 4 20 4 100
D4*20"D4*75L74T 4 20 4 75
D5™12 5"D550L"4T 5 12.5 5 50
D512 5"DE"50L"4T 5 125 6 50
D5"30"D6*100L"4T b 30 8 100
DE*15*D650L4T 6 15 8 50
D6=20"DE*75L"4T (5} 20 L] 75
D6"25"DE*150L"4T 8 25 8 150
D6*30"D6*100L"4T 6 30 6 100
DE"20"DE"60L"4T 8 20 8 B0
D&"20"DE"75L"4T 8 20 8 75
D8*32*D*150L"4T 8 32 8 150
D8*40"D8*100L*4T 8 40 8 100
D10°25*D10"75L*4T 10 25 10 75
D10740° D10~ 100L"4T 10 40 10 100
D10°45*D10*150L*4T 10 45 10 150
D12°30"D12*75L"4T 12 30 12 75
D12745"D12*100L"4T 12 45 12 100
D12760"D127150L."4T 12 60 12 150
D16750L"D16=100L"4T 16 50 16 100
D16*70* D 16%150L*4T 16 70 16 150

We gt

RN

71

wf
=i

A044



C GRAND TOOLS | FJE#T) FEHT) ( GRAND TOOLS
A Square Endmill Square Endmill s
# YAS52C sHEIm (2F) # YP552C BileEm7 (2F)
YAS552C Chamfer Endmill For Aluminum (2F) YP552C Chamfer Endmill (2F) L._CE‘_j_r

S0

S N —

[ d
| DAL |
== o
}iﬂt#ﬂu‘ Technology Parameters | & |£6_’: If//
* | WHAHERRE (REfe / )
e R aeR S%8 18 | a2R/ 18 EEE WHEE o F#a #/8 WEE " #gE
i el B ||t e i castinn Sy e Ty Mok i
n SASC 5500, 5CM | 545C SKT SKD | 545C 5KT SKD SKT5KD SKT.5KD FCIFCD SUS304 -
E HRC-C20 HRC<C20-30 HARC-C30~-40 HRC<C45-55 HRC-55-80
iR .
=
3 JE RmE 7H& W 21€
- (Specification) (CED) ) (CEL) (sD) (0AL)
} D1760°3"D4*50L=2T 1 3 4 50
?t D2*60°*6"D4*50L"2T 2 G 4 50
71 D2.5"60°"7 5'D4"50L"2T 25 75 a 50
D3*60°*9"D3*50L*2T 3 9 3 50
D3*60°*0*D4*50L*2T 3 o 4 50
D4=60°=12*D4*50L"2T 4 60° 12 4 50
D5*60°"15*D5*50L"2T 5 15 5 50
D6°60°"18"D4*50L"2T 6 18 6 50
D8"60°"24-D4°60L"2T 8 24 8 60
D10*60°*30°D107T5L 2T 10 30 10 5
D12"60°"36°D12*75L"2T 12 36 12 75
D1°00°3"D4*50L*2T 1 4 4 50
DZ2=00°*6"D4*50L=2T 2 (] 4 50
D2.5%00°*7 5*D4*50L=2T 25 75 4 50
D3"90°*9"D3*50L"2T 3 9 3 50
D3°00°9"D4"50L72T 3 o 4 50
D3.5°90°"10.5"D4"50L"2T 35 &b 105 4 50
D4*90°"12*D4*50L*2T 4 12 4 50
D5"90°"15°D5"50L"2T 5 15 5 50
D6790°*18"D6-50L"2T 6 18 6 50
D800°*24°D8"60L"2T 8 24 8 60
D10°90°*30°D10°75L"2T 10 30 10 75
D12°90°*36"D12"75L"2T 12 36 12 75
D17120°*3°D4°50L°2T 1 3 4 50
D1 57120°%4 5-D4*50L"2T 15 45 4 50
D27120°*6*D4*50L72T 2 6 4 50
D2.5%120°*7 .5*D4*50L*2T 25 1.5 4 50
D3°120°"9°D3°50L"2T 3 9 3 50
D4*120°*12"D4*50L"2T 4 120° 12 4 50
ik D5*120°*15*D5*50L"2T 5 15 5 50
fi D6*120°*18*D6*50L*2T 5] 18 L] 50
D8"120°"24"D8"60L"2T 8 24 8 60
D107120°*30°D10°75L"2T 10 30 10 75
D12120°*36"D12°75L"2T 12 36 12 5

A045

[t &2
ﬁmsH}‘T t gy Parameters -

[ i EORMEEET (BERe / HA) 5
%% oe@ OEE/IE | cne/I8 | ®ES T an Faa w/E Haw ® EEE o
Sl || el i el gl Gastron - it Tt ! e gﬁ

13‘5C.WC.SCM S45C SKT.SKD | S45C.SKT SKD SKT.SKD SKT SKD FCIFCD SUSIM - = 73
HRC<C20 HRC<C20~30 HRC<C30-40 HRC=C45-55 HRC-C55-80 = . ‘ &

. . . . o ° fﬁg
F
g NE aE Tk e Bk (e
( Specification) (CED) (A (GEL) (sD) (0AL)
D1760°*3°D4*50L"2T 1 3 4 50
D2760°*6"D4*50L"2T 2 6 4 50
D2.5760°"7 5°D4*50L"2T 25 75 4 50 7]
D3°60°*9°D3*50L*2T 3 9 3 50
D3*60°*9°D4*50L*2T 3 9 4 50
D4760°*12"D4"50L"2T 4 60° 12 4 50
D5%60°*15°D5*50L72T 5 15 5 50
DE%60°*18°D4"50L"2T 6 18 6 50
DE"60°"24*D4™B0L=2T 8 24 8 0
D10760°*30°D10°75L72T 10 30 10 75 n
D12°60°"36"D12"75L°2T 12 36 12 75
D1790°*3"D4*50L"2T 1 3 4 50
D2*90°"6"D4750L"2T 2 6 4 50
D2.5700°%7 5°D4*50L=2T 25 75 4 50
D3"90°"9°D3"50L"2T 3 9 3 50 P
D3700°*0*D4750L72T 3 9 4 50 _ i‘
D3.5790°710,5"D4"50L*2T 35 i 105 4 50 o
D4790°*12°D4"50L*2T 4 12 4 50 —
D5°90°*15°D5"50L"2T 5 15 5 50 ¢
D6790°*18*D6"50L"2T 6§ 18 6 50 2.
D8%90°*24"DE"BOL™2T 8 24 8 60
D10790°"30°D10775L=2T 10 30 10 75 - g
D12*90°%36*D12*75L*2T 12 6 12 75 i
D17120°"3*D4"50L*2T 1 3 4 50 13
D1.57120°°4 5*D4*50L"2T 15 45 4 50
D2*120°"6°D4"50L"2T 2 6 4 50
D2.5*120°7.5°D4*50L"2T 25 75 4 50
D3"120°"9*D3"50L"2T 3 9 3 50
D47120°*12°D4*50L"2T 4 120° 12 4 50
D5%120°*15"D5"50L"2T 5 15 5 50 -
D6*120°*18*D6*50L*2T 6 18 6 50 i
D8%120°"24*D8*60L"2T 8 24 8 60
D10120°*30°D10°75L°2T 10 20 10 75
D12*120°736"D12°75L"2T 12 36 12 75

AD46



=

GRAND TOOLS

BUILD IT SMARTER

KIMFRT]

Long Neck Square Endmill

KMERERET)

Long Neck Square Endmill

o

GRAND TOOLS

BUILD IT SMARTER

# YAS52LG BAKMETHT] (2F)

YAS552LG Long Neck Endmill For Aluminum (2F)

———

Eﬂtgﬂf Technology Parameters

# YAS552L.G BAEmEBEuBN (2F)

YAS552LG Long Neck Endmill For Aluminum (2F)

BUSHEREE (RiEM / oFH)

EER cow SuR/1R | G=AIR| =ZEA ETE] Wi TEH an Has wRE
el i e I Castron T, i ey e
S45C 550C SCM| 545C SKT SKD | 545C SKT SKD SKT,5KD SHT SKD FCIFCD SUS304 =, =
HRC< 20 HRC20-30 HRC30-40 HRC<45-55 HRC<55-60. -
-
i 7Ic iz BHKKE i Bi
(Specification) (GED) (GEL) (ND) (EL) (sD) (0AL)
D0.2%0.4*d0.175*1*D4*50L*2T 1
D0.2%0.47d0.175*1 5*D4=50L*2T g0.2 04 0.175 15 4 50
D0.270.4%40.175"2"D4*50L"2T 2
D0.3%0.6"d0.275*1*D4*50L*2T 1
D0.3%0.67d0.275™1 5"D4*50L*2T 15
D0.3%0.6"d0.275"2°D4"50L"2T 2
D0.3°0.67d0. 2752 5°D4750L*2T 903 06 0.275 25 4 50
2 D0.3%0.6"d0.275"3*D4"50L"2T 3
7 D0.3*0.67d0.275"3 5*D4=50L"2T 35
D0.3%0.67d0.275*4*D4*50L*2T 4
D0.4%0.87d0 3751 5"D4*50L*2T 15
D0.4%0.8"d0.375"2D4"50L"2T 2
D0.470.8740.375*3*D4750L*2T - i p— 3 : -
D0.4%0.8740.375"4"D4"50L"2T 4
D0.4*0.8"d0.375"5°D4*50L"2T 5
D0.4%0.8740.375%6*D4*50L*2T 3
—— | D05*1*d0.47*1 5°D450L*2T 15
o DO0.5*1°d0.47"2*D4"50L"2T 2
= D0.5*17d0 47*3*D4"50L72T 3
M | D0.5"1°d0.47"4*D4"50L*2T 4
905 1 0.47 4 50
i D0.5*1°d0.47*5*D4*50L*2T 5
fﬁ 0 D0.5*17d0. 47"6*D4*50L*2T 5
53 D0.5717d0.47°8"D4"50L=2T 8
DO0.5*17d0.47*10°D4*50L*2T 10
in D061 2°d0 57°2°D4*50L°2T 2
=t DO0.6*1.2°d0.57*3*D4*50L*2T 3
H DO0.6*1.2°d0.57*4*D4"50L*2T 4
DO.6"1.2700 57°5"D4"50L*2T <t & i 5 4 &
7) DO0.6"1.2"d0.57*2*DE*50L*2T 6
u D0.6*1.2*d0 57°2°D8*50L*2T 8
| | D06*1.2°d0.57*2*D10*50L*2T 10
D0.671.2"d0.57"2"D12°50L"2T 12
A047

) OAL -
e — y |
—— ./
3 = I
B2 8/ Technology Parameters S [L_lb I\:&/
WTHREBAEE (REHe / oEE)
mER 2@ SER/IR | SE8/IR HEHE EEE i FER B8 BvE # mmE
spusel| fwen [ mrwe | e el e D el e | Dt B i | e
S45C 550C 5CM| S45C.SKTSKD | S45CSHT.SKD | SKTSKD 5K, SHD) FCFCD 5U5304 =
HRC<20 HRC<20-30 | HRC<30-40 | HRC<45-55 | HRACCS5-60 z L
L]
ik 7z DIE:S Hifz |AUHKKE mi Bic
(Specification) (CED) (CEL) (ND) (EL) (8D} (0AL)
D0.7%1.47d0.67"3*D4*50L"2T 3
D0 7*1 4*d0 67*4*D4*50L*2T 4
DO0.7*1.4*d0.67*3*D6"50L*2T Q0.7 14 0.67 G 4 50
D0.7*1.4"d0.67*3"D8*50L"2T 8
DO0.7%1.4"d0.67"3*D10"50L"2T 10
D0.8*1.67d0.77*2*D4"50L"2T 2
D0.8*1.6*d0.77*3*D4*50L*2T 3
DO0.8%1.6°d0.77°4*D4*50L"2T 4
DO0.8%1.6°d0.77*5*D4*50L*2T 008 16 017 9 i 50
D0.8*1.6"d0.7776"D4*50L"2T 6
D0.8*1.6%d0.778*D4*50L*2T 8
D0.871.6"d0.77*10"D4750L*2T 10
D0.8%1.67d0.77*12"D4750L*2T 12
D0.9%1.8d0.8773*D4*50L=2T 3
D0.9%1.8"d0.87"4*D4*50L"2T 4
D0.9%1.8°d0.87"6"D4"50L"2T 90.9 18 0.87 6 4 50
D0.9%1.87d0.87~8"D4*50L"2T 8
D0.9%1.8*d0.87*10"D4*50L*2T 10
D1*2*d0.97*4*D4*50L*2T 4
D1*2*d0.97°5*D4*50L*2T
D1*2°d0.97"6*D4"50L"2T
D1*2°d0.97"8"D4"50L"2T
D1*2*d0.97*10*D4*50L*2T 10
D1*2*d0.97"12"D4"50L"2T 12 50
D1*2*d0.97*14*D4*50L*2T 1.0 2 0.97 14 4
D1*2%d0.97*15"D4"50L"2T 15
D1*2%d0.97*16*D4*50L*2T 16
D1727d0.97*18"D4"50L*2T 18
D1*2*d0.97*20"D4*50L"2T 20
D1*2%d0.97*25"D4™60L*2T 25 5
D1*2%d0.97*30"D4760L*2T 30

A048



{ GRAND TOOLS | KIFEHTI KIMEREHRT ‘ { GRAND TOOLS
bR Long Neck Square Endmill Long Neck Square Endmill o |

# YAS52LG BRAKIMEUHT (2F)

YAS552LG Long Neck Endmill For Aluminum (2F)

S

b7, 641 Technology Parameters
¥ ENHHERESE (REHe / oBH)
LN wEE/saE S=2W/IR [==@/1R | BRA B T FER /88 P EET]
m E Camon Stes Aoy Stest Aoy Slesd Harsened Hardened AR Slainess Copper Titanm Heal Resistant
- Aoy Stest Too Skeel Tool Sieel St Stes) Seal Anrsnum Ay Simel
7 S45C S50C SCM| S45C,5KT SKD | S45C SKT.SKD SKT.56D SKT SKD FCFCD SUS304 =
K HRC=20 HRC20-30 HRC- 30-40 HRC= 45-55 HRC<55-80
X ]
ik =
1
i 71 7% HE | EMKKE| #®82 B
(Specification) (CED) (GEL) (ND} (EL} (sD) (0AL)
D1.1*2.2%d1.065"6"D4*50L"2T L]
D1.1"2.2*d1.065"8"D4"50L"2T 8
D1.172 2*d1.065*10°D4*50L*2T 10
D1.172,2*d1.065™12"D4"50L2T 12
Q1.1 2.2 1,085 4 50
D1.1*2.2%d1.065%14*D4*50L*2T 14
D1.172.27d1.065"16"D4"50L2T 16
D1.1*2.2"d1.065*18"D4"50L*2T 18
D1.172.2%d1.065"20"D4"50L*2T 20
D1.2*2 4*d1.165"D6*D4*50L"2T i
D1.2°2.47d1.165"D8"D4*50L"2T 8
D1.2*2 4*d1.165°D10°D4*50L*2T 10
D1.2°2.47d1,165"D12°D450L"2T 12
91.2 24 1.165 4 50
D1.2*2 4°d1.165"D14"D4"50L"2T 14
D1.2*2 4d1.165"D16"D4"50L™2T 16
D1.2*2 4*d1.165°D18*D4*50L*2T 18
D1.2°2 47d1.165"D20"D4750L"2T 20
I D1.3*2 6*d1.265*6*D4*50L*2T (i}
D1.3*2.6°d1.265°87D4"50L=2T
D1.3"2.6"d1.265*10"D4*50L*2T 10
D1.3%2.6%d1.265"12"D4"50L2T 12
— 1.3 26 1.265 4 50
~y D1.3*2 6*d1.265"14"D4*50L"2T 14
7 D1.372.6%d1.26516"D4"50L"2T 16
EY D1.3*2 6*d1.265*18*D4750L*2T 18
- D1.372.67d1.265"20"D450L"2T 20
= D1.4%2.8"d1.365"6"D4"50L"2T 6
7 D1.4"2.8"d1.365°8"D4"50L"2T 8
b D1.4*2 8°d1.365"10°D4"50L*2T 10
D1.4*2.8%d1.36512*D4*50L*2T 12
715 1.4 28 1.365 4 50
fii D1.4*2.8%d1._365*14*D4*50L*2T 14
D1.4*2.87d1.365716"D450L2T 16
D1.4%2.8%d1 365%18*D4*50L*2T 18
D1.4°2.87d1.365"20"D4"50L"2T 20

A049

# YAS552LG BRAEHmBEUBN (2F)

YAS552LG Long Neck Endmill For Aluminum (2F)

EJR& uf Technology Parameters

BOSHEBREE (BERe / cEE)
BFEE can =2R/18 | =al/ 1R | @=EA FTT ] Wi FER IS fiae ] WRE
sacnq] Feoa | e Pl B B |0 o ) (Do B W) Rl | ) e e
S45C S50C SCM| S45C SKT SKD | S45C SKT SKD SKT.SKD SKT.5KD FCFCD SUS304 = z =
HRC<20 HRC=20-30 HRC 20-40 HAC<45-55 HRC 55-50 - -
L]
nE 71 Bz AHKE Wz Bic
(Specification) (CED) (GEL) (ND) (EL) (SD) (0AL)
D1.472.8°d1 365°6"D4*50L"2T 6
D1.472.87d1 365"8"D4"50L"2T 8
D1.4%2 87d1 365710"D4*50L*2T 10
D1.4*2 8°d1.365"12°D4*50L*2T 12
D1.4%2 8%d1.365*14°D4*50L"2T e -3 e 14 g L
D1.472 8°d1 365" 16"D4"50L*2T 16
D1.4%2 8*d1 365%18"D4"50L*2T 18
D1.472 8°d1.365720"D4"50L*2T 20
D1.5%3%d1 465°6D4*50L*2T 6
D1.5%3"d1.465°8*D4"50L"2T 8
D1.5*3*d1.465*10"D4*50L*2T 10
D1.5%3%d1 46512 D4™50L"2T 12
D1.5%3°d1 465*14*D4"50L*2T 14 50
D1.5%3"d1 465715"D4"50L~2T 915 3 1.465 15 4
D1.5%3*d1 465*16*D4*50L*2T 16
D1.5"3"d1 465"18°D4"50L*2T 18
D1.5*3*d1.465*20"D4*50L*2T 20
D1.5%3"d1.465725"D4"60L"2T 25 &
D1.5%3"d1 465°30"D4"60L~2T £
D1.63.27d1 56576"D4™50L"2T 6
D1.6*3.2°d1.56578"D4°50L"2T 8
D1.673.2°d1.565%10"D4*50L"2T 10
D1.6%3.2°d1.565"12"D4"50L"2T s 5 e 12 i -
D1.673.27d1 565%14*D4*50L*2T 14
D1.673 27d1 565°16"D4"50L"2T 16
D1.6%3.2°d1 565"18°D4*50L"2T 18
D1.673.2°d1.565"20°D4*50L"2T 20
D1.7°3 4*d1 665*8*D4*50L*2T 8
D1.7*3.4°d1.665"10°D4"50L"2T 10
D1.7"3.4°d1 665"12"D4"50L"2T 12
D1.773.4°d1.665"14"D4"50L"2T 91.7 34 1.665 14 4 50
D1.773.4"d1 665"16"D4"50L~2T 16
D1.7*3.4*d1.665%18*D4*50L"2T 18
D1.7*3.4°d1 665°20°D4*50L"2T 20

A0S0



GRAND TOOLS

BUILD IT SMARTER

KHEFEir)

Long Meck Sguare Endmill

=

# YAS52LG BBAEK@mBEuH (2F)

YA552LG Long Neck Endmill For Aluminum (2F)

KIMFEREHET]
Long Neck Square Endmill

| {Zy oran roois

# YP552LG BB T (2F) “—‘—’Fﬁ_‘

YP552LG Long Neck Endmill For Steel (2F)

E—’—

———

ﬁm&m." Technology Parameters

EJR& uf Technology Parameters

‘ OAL ‘
|

[ EUAHEREE (REfe | o8E) | BMMEBES (REMe / o) P
mEE/cxE S38/18 [2ER/TE| ®HE BHEE T FHE §/58 HaE F wEA BEE oW c2B/1R | SeW/IR | @RS EET @id FER /38 Has & mRE ‘e
Carbon Steel! Aoy Stest Aoy Stesi Hardened Hardened Caatvon Staini=ss Cogper Thanium N Heal Resstant Carbon Sleel Ay Steel Ay Steed Hargene Hasened Slaniess Copper Thanium Heat Ressiant fﬁ
Aoy Siees Toot Sieel Toet Sieel e el steel Ahingm Ay Sieet sy Steed Tool et Too Sieel el Siesl e— s Ainm oy s Sl <
G450 550G, 5CM | 5450 SKT,EHD | S45C.5KT 5KD SKT.SKD SKT.SHD FCFCD BUSIH - - - = ‘GAGC, SE0C SCM| S45C SKT SKD | S45C SKT,SKD SKT.SKD BKT. 5D FCIFCD SUEI04 = = n
HRC=C220 HAC=I20-30 HRC-C30-40 HAG 45-55 HRAC55-60 - HRC 2 HREC-20-30 HRC=30-40 HRC<45-55 HRC< 55-60 - E
- | . . . . o | iﬁ
nE
Mg Nz 71 iz | ARKKE| @& B e DIES iz | AukkE| &2 BE 3
(Specification) (CED) (CEL) (ND) (EL) (sp) (0AL) (Specification) (CED) (GEL) (ND) (EL) (sD) (0AL) -
D1.8°3.6°d1.765"8"D4"50L°2T 8 D0.2*0.4°d0.175*1*D4"50L*2T 1
D1.8%3.67d1.765710"D4*50L=2T 10 D0 2%0.4%d0 1751 5*D4*50L*2T ©0.2 04 0.175 15 4 50
N R E—— = D0.2°0.4°d0.175°2*D4*50L*2T 2
K D1.8*3.6°d1 76571 4*D4*50L"2T 918 36 1.765 14 4 50 i A
WEE D1.8%3.6°d1.765"16*D4*50L"2T 16 D0.:3"0.6:d0.27571"D4"50L 2T 1
7] DB ZEer A BT = DO0.3%0 6*d0.275*1.5*D4*50L*2T 15
S x, * *
D1.8%3.6°d1.765*20*D4*50L"2T 20 D0.3%0.6°d0.275°2°D4*50L 2T 2
D2*4*d1.968*D4"50L"2T 8 D0.370.6"d0.275*2.5"D4"50L"2T 0.3 08 0.275 25 4 50
D2*4*d1.96*10*D4*50L*2T 10 D0.3*0.6*d0.275*3*D4*50L*2T B
D2*47d1 96*12*D4"50L"2T 12 D0.3"0.6°d0.275°3.5°D4*50L"2T 35
D2%47d1.96%14*D4*50L=2T 14 . D0.3*0.6"d0.275"4* D4"50L"2T 4
D2*4*d1 96*15"D4*50L"2T — 4 - 15 " D0.4°0.8°30. 3751 5°D4"50L"2T 15
_ D2747d1 96*16*D4*50L=2T 16 D0.4°0.8°00.375°2° DA"50L"2T 2
< Hersl B DT el L D0.470.8°00.37573"D4*50L"2T - - — 3 g & =
* 471 04" * @0, 5 .
LRSI SEEIASERS 2 EL DO0.4%0.8%d0 3754 D4*50L*2T 4
i D2°4*d1.96*25"D4*60L*2T 25
& 60 DO 4%0.8°d0 375°5°D4*50L*2T 5
7 E D2"4*d1.96"30"D4"60L"2T 30 =
7 D2 5°5°42 46-8D4°50L"2T P D0.4%0.8"d0.375°6"D4*50L*2T (i} -
D2 5757d2 4687D4"S0L"2T 10 DO0.5%17d0.47%1. 5*D4*50L"2T 15
& R 1 D0 571"d0.4772"D4750L"2T 2 i
% D2 575702 46°87D4*50L"2T 14 50 D0.51*d0.47"3"D4*50L"2T 3 =
D2 5755d2 46*16*D4*50L 2T 925 5 2.46 16 4 D0.5%1*d0 474" D4*500*2T 4
905 1 047 4 50
5 D2 5%5%d2 46"18*D4*50L"2T 16 DO0.5"1"dD.47"5"D4"500L"2T o iR
f; g D2 55*d2 46*20°D4*50L*2T 20 D0.5%1°d0.47°6" D4*50L*2T 8 o ;;
3 E D2.5"5"d2.46"25"D4"60L"2T 25 0 DO0.5%17d0. 478" D4*50L=2T 8 s
» D2.5"5°d2 46"30°D4"60L*2T 30 D0.5"1"d0.47"10°D4"50L"2T 10 i
in = x4 Py A =
= D2, %7 | PHATR0L2F 10 DO0.6"1.2740.57°2"Da"50L"2T 2 in
s D3"6d2 95°12°D4"50L=2T 12 -
7z D061 2°d0 57*3°D4"50L"2T 3 - 71
H D3"6"d2 95™14"D4™50L"2T 14 . 7
D0.6*1.2"d0.57*4"D4"50L"2T 4
D3°67d2 95715"D4*50L"2T 15 50 >
. D376742.95™16"DA™50L"2T $3.0 6 205 16 4 Sl i LY R L 06 12 057 2 4 50 -
= e = D0 .61 2°d0.57*2*D6*50L"2T 6 £
: D3°6°42.95°20° D4*50L-2T 20 DO0.6*1 2%d0 57*2*D8*50L"2T 8
DA*E*d9 05 05 NATEOL* 2T o5 DO.6"1.2*d0.57"2°"D10"50L"2T 10 —_—
60
D3°6*d2 95°30"D4*60L*2T 30 DO0.6*1.2°d0.57*2*D12*50L*2T 12
A051 A052



(‘3 GRAND TOOLS | KMERHT] KR { .} GRAND TOOLS
e Long Neck Square Endmill Long Neck Square Endmill o -
i YP552LG {BiMKHMAIIHT (2F) “—’ F-l # YP552L.G SBiiKME I (2F) ‘47
YP552LG Long Neck Endmill For Steel (2F) YP552LG Long Neck Endmill For Steel (2F)
8 E ------------------------ f -------------- =3 {8 :HI == P

%

ﬁm#ﬂf Technology Parameters
£ EDAHEEEE (REHe / cEE)
E‘E EERSeHE SR/ IR | SER/IR s WS i FER | Ew ® ok
- Wl s | e ag e Casiron T e i ok o
n 5450 550C SCM| 5450 5KT SKD | S45C 5KT SHD: SKT.SKD SKT.SKD FCiFCD SUS34 - = =
K HRC=120 HRC- 20-30 HRC30-40 HRC<45-55 HRC-55-80 - -
nﬁ . . . . o |
7
3 LT 7E 7 FE BYAKKE wmE B
(Specification) (CED) (CEL) (ND) (EL) (sD) (0AL)
DO.7*1.47d0.67°3"D450L=2T 3
DO.7*1 4*d0_67*4"DA*50L 72T 4
D0.7"1.4*d0.67*3"D6"50L"2T 0.7 14 0.67 (] 4 50
DO0.771.47d0.67-3"D850L"2T 8
D0.7*1.4°d0.67°3"D10"50L"2T 10
D0.8%1.6%d0.77-2"D4*50L"2T 2
DO0.8*1.6%d0.77*3"D4*50L*2T 3
DO0.8*1.6%d0.7T7°4"D4*50L"2T 4
D0.8%1.6%d0.77*5"D4"50L*2T 5
00.8 16 0.77 4 50
D0.8"1.6%d0.77"6"D450L*2T 6
DO0.8*1.67d0.77°8"D4*50L*2T 8
D0.8"1.6°00.77-10*D4=50L"2T 10
D0.8*1.6°d0.77*12*D4*50L"2T 12
D0.9%1.87d0.87737D4750L72T 3
D0.9%1.8%d0.8774"D450L~2T 4
D0.971.87d0.87"6"D450L"2T 90.9 18 0.87 6 4 50
" D0.9%1.87d0.87"6"D450L"2T 8
5 D0.9*1.8°d0.87-10*D4*50L°2T 10
D1*2*d0.97*4*D4*50L*2T 4
D172°d0.97"5"D4"50L"2T 5
D1*2*d0.97*6*D4"50L"2T i}
D172%d0.9778"D4"50L*2T 8
D1*2%d0.97*10*D4*50L*2T 10
n D172°d0.97*12"D4"50L"2T 12 50
n D172°d0.97°14"D4"50L°2T @10 2 0.97 1 4
H D1*2%d0.97*15*D4*50L-2T 15
D172%d0.97*16"D4"50L*2T 16
’_J D172°d0.97*18"D4*50L*2T 18
. D172%d0.97*20"D4*50L"2T 20
e— D172%d0.97725*D4%60L*2T 25 &
D172%d0.97730"D4"60L=2T 30
A053

i
Eﬂt&m‘ Technology Parameters L
HTMHEERE (AEHe / EE)
EEE 2sE SER/IR | SR/ IR fe-1 ] HEH i T #aE e &= o]
Carbon Steey Ay e Aty Steel Hartened Harsenes stsintess Capper Thanim Heal Reststann
Alioy Stees T Sleet Tool Steet Stesl See . Siest A Ay Lozt Siees
S45C S60CSCM| S45C,SKTSKD | S45CSKTSKD | SKTSKD SKT.SKD FCFCD U534 H
HRC<20 HACS2-30 | HRCSI-40 | HRC<45-55 | HRC<ES-60 g 3
. - . . o
i 7z 71 Mz |AUKKE| #f B
(Specification) (CED) (CEL) (ND) (EL) (sm) (0AL)
D1.1*2.2"d1.065"6"D4"50L"2T 6
D1.1*2.2*d1.065*8*D4*50L*2T 8
D1.172.2°d1.065"10"D4*50L"2T 10
D1.1%2.2"d1.065"12*D4"50L 2T 12
P11 22 1.065 4 50
D1.172.2*d1.065"14*D4"50L"2T 14
D1.1*2.2*d1.065"16"D4"50L"2T 16
D1.1%2.2"d1.065718"D4*50L"2T 18
D1.1*2.2°d1.065*20*D4*50L*2T 20
D1.272 47d1.165"D6"D4"50L"2T 6
D1.2"2.4*d1.165"D8"D4"50L"2T 8
D1.2"2.47d1.165"D10"D4™50L"2T 10
D1.2*2.4%d1.165°D12"D4*50L"2T 12
$1.2 24 1.165 4 50
D1.2°2.4%d1.165"D14*D4*50L"2T 14
D1.2*2.4*d1.165"D16°D4*50L*2T 16
D1.2*2 4%d1 . 165"D18"DA"50L"2T 18
D1.2"2.4*d1.165"D20"D4"50L"2T 20
D1.3%2.67d1.265"6"D4"50L"2T 6
D1.3%2.6%d1.265"8"D4"50L"2T 8
D1.3"2.6"d1.265"10"D4*50L"2T 10
D1.3*2.6°d1.26512*D4*50L*2T 12
91.3 26 1.265 4 50
D1.372.6°d1.265"14°D4"50L"2T 14
D1.3"2.6"d1.265"16"D4"50L"2T 16
D1.3%2.6"d1.265"18*D4"50L"2T 18
D1.3%2.67d1.265"20"D4*50L"2T 20
D1.4*2.8%d1.365"6"D4"50L"2T 6
D1.4*2.8%d1.365*8*D4*50L*2T 8
D1.4%2.8"d1.365"10"D4*50L"2T 10
D1.472.8"d1.365712*D4*50L"2T 12
P14 28 1.365 4 50
D1.472.8d1.365"14*D4"50L*2T 14
D1.4%2.8"d1.365"16"D4"50L"2T 16
D1.4"2 8"d1.365"18"D4"50L"2T 12
D1.4*2.8%d1.365"20"D4*50L"2T 20

= §5

A0S4



{Zyoranptoots | kEFRn

Long Neck Square Endmill

KIATEGT)

Long Meck Square Endmill

| &

GRAND TOOLS

BUILD IT SMARTER

#YP552LG SBMEHETHRT (2F)

YP552LG Long Neck Endmill For Steel (2F)

%

b e Technology Parameters

# YP552LG SBm#mEI#T] (2F)

YP552LG Long Neck Endmill For Steel (2F)

HBITHHEEAE (BEHe / BB

wEm ezH e2R 15 | eeW/18 | =R8 AAR Hia e W nan ] wwE
| e | e e B N e R e D I e
S456C 550C 5CM| S45C 5KT SHD | 5450 5KT.5KD SHT,5HD SKT. 5D FC/FCD SU5304 a =
HRC=20 HRC<20-30 HRC=30-40 HRC=45-55 HRC=E5-50 - -
L ] L L] L ] | £=3
7z DIE'S E BHkKE wE Bl
{Specification) (CED) (CEL) (ND) (EL) (sD) (0AL)
D1.4%2.8%d1 365°6*D4*50L*2T 6
D1.4°2.8°d1,365°8"D4"50L"2T 8
D1.4%2.87d1.365710"DA50L=2T 10
I D1.472.87d1.365712"D4"50L=2T 12
= @14 28 1.365 4 50
‘?*;1( | D1.4*2.87d1.365%14*D4*50L=2T 14
3 D1.4%2.8°d1.365"16°D4"50L"2T 16
D1.472 8°d1.365"187D4*50L"2T 18
J D1.4*2.8%d1.365"20"D4"50L"2T 20
o D1.5737d1.465°6"DA"50L 2T
7 D1.5737d1.46578"D450L=2T
e D1.5%3*d1 46510 D4*50L*2T 10
D1.5%3°d1.465712"D4"50L 2T 12
D1.5%3°d1 465*14* D4*50L*2T 14 50
D1.5"3"d1.465"15* D4 50L"2T 915 3 1.465 15 4
1 D1.5%37d1 465716 D4750L=2T 16
w D1.573°01.465"18°D4"50L"2T 18
% ; D1.5%3°d1 465°20°D4*50L2T 20
D1.573°d1 465725 D4 60L~2T 25 ”
& D1.5%3°d1 465*30°D4"60L*2T 30
3 D1.6°3.2"d1.565°6*D4"50L"2T 6
| | D1.6%3.27d1 56578"Da"50L"2T 8
- D1.6°3.27d1.565710°D4"50L"2T 10
we D1.6*3.2*d1.565%12*D4*50L=2T 12
n = — 916 3.2 1.565 4 50
it D1.6°3.2°d1.565"14"D4"50L"2T 14
D1.6°3.2°d1 565*16"D4°50L"2T 16
D1.673.27d1.565718"D4=50L"2T 18
D1.673.2°d1.565°20°D4~50L=2T 20
D1.773.47d1 665°8-D4"50L"2T 8
D1.73.4°d1.665"10°D4"50L=2T 10
- D1.773.47d1.665%12°D4"50L"2T 12
e D1.7*3 4*d1 665" 14*D4*50L=2T @17 34 1.665 14 4 50
. D1.7"3.47d1.665"16"D4"50L"2T 16
D1.7*3 47d1 665%18"DA*50L=2T 18
D1.773 47d1.665720°D4"50L 2T 20

i R
R E ¥/ Technology Parameters = !
ETMEMEEAEE (REMe / oEA)
EER s26 S8R/ IR | s8R/IR HESE HEE i T 8 s 2 R
Camon Skeel! Alicy Steel Aoy Sleed Hargenea Hargenea e Staness Copper Teanum e Heat Resstant
Ay S1es) Tool Steet Tool Seel Steal Stesl Stesd ARmim Aoy Steed
S45C, SE0C SCM| S45C SKT.SKD | S45C SKT 5D SKT,SKD SKT SKD FCFCD SUS30 3
HRC 20 HRG20-30 HRC-30-40 HRC<45-55 HRCA 5560 - -
L ] | L] - - -3
71z DIES MmiF AYACKE Wiz IS8
(Specification) (CED) (CEL) (ND) (EL) (D) (0AL)
D1.8%3.6"d1.765"8"D4"50L"2T 8
D1.8*3.6%d1.765*10*D4*50L*2T 10
D1.8%3.6%d1.765"12°D4"50L=2T 12
D1.8*3.6"d1.765*14"D4*50L*2T 1.8 38 1.765 14 4 50
D1.8*3.6%d1.765"16°D4*50L"2T 16
D1.8%3.6°d1.765718*D4*50L=2T 18
D1.8%3.6"d1.765"20"D4"50L"2T 20
D2*4*d1.96*8*D4*50L*2T a8
D2"4°d1.96"10"D4"50L"2T 10
D2*4*d1.96"12"D4*50L"2T 12
D2*4*d1.96*14*D4~50L=2T 14
D2*4*d1.96715"D4"50L=2T 15 o
D2*4*d1.96*16*D4*50L*2T e g e 16 ’
D2747d1.96™18~D4*50L=2T 18
D2747d1.96*20*D4*500L=2T 20
D2*47d1.96"25"D4"60L*2T 25 0
D2*4*d1.96*30*D4"60L=2T 30
D2.5"5%d2 46"8"D4"50L"2T a8
D2.5*5%d2.46*8*D4*50L*2T 10
D2.5*5d2.46*8*D4*50L*2T 12
D2 5°5°d2 46"8"D4"50L"2T 14 50
D2 5*5*d2 46" 16*D4*50L*2T P25 5 2.46 16 4
D2.5%5"d2 46*18~D4"50L"2T 18
D2.5"57d2 46"20"D4"50L"2T 20
D2.5%5*d2 46~25"D4"60L"2T 25 &0
D2 5*57d2 46=30°D4"60L=2T 30
D3*6*d2.95"10"D4"50L"2T 10
D3*6*d2.95%12*Da"50L=2T 12
D3"6°d2.9514°D4"50L"2T 14
D3%*6"d2 95*15*D4"50L"2T 15 50
D3*6*d2.95*16*D4*50L=2T ®3.0 5] 295 16 4
D3"67d2 95718"D4*50L=2T 18
D3"6"d2 95°20"D4"50L"2T 20
D3*6*d2.95*25*D4*60L*2T 25 o
D36%d2 95~30*D4"60L=2T 30

A0S

AOSE



KIMFERET

Long Neck Square Endmill

(‘j}; GRAND_TOOLS

K#MFERET

Long Neck Square Endmill

| &

GRAND TOOLS

BUILD IT SMARTER

# YP554LG BMImBIBT (4F)

YP554LG Long Neck Endmill For Steel (4F) SI I

M E 8 Technology Parameters

DAL

| BONANBEE (BEHe / 0ER)
ikﬁﬁ.-'ﬁ‘ﬁﬁ B/ 18 a8l 18 AEE HEA s FiRE i88E BEE it
ool || | et b gt casticn v n il g
G450, 550C,50M| S45C SKT SHD | S450C SKT SKD SHT,5HD SKT SKD FCFCD SU5304 - - -
HRC-20 HRCI20-30 HRG 3040 HRC45-55 HRCI55~60
- - - - - -]
kS 7E DIES oz BUACHE wE ik
(Specification) (GED) (CEL) (ND) (EL) (sD) (0AL)
D1*2.5*d0.97*6*D4"50L 6
D172.5"d0.97°8"D450L 8
D172.5°d0.97*10"D4"50L 10
D172 5°00.97712"D4*50L 450 - - 12 " -
D172.5°d0.97*14*D4"50L 14
D172 5%d0.97*16"D4*50L 16
D172.5°d0.97*18"D4"50L 18
D172.5°d0.97°20"D4*50L 20
D1.5%3.8"d1.465"6"D4"50L i}
D1.5%3.8°d1 465°8*D4*50L 8
D1.5°3.87d1.465"10°D4750L 10
D1.5%3.87d1.465™12"D4"50L i - dhi 12 § i
D1.5%3.6°d1.465"14"D4750L 14
D1.5%3.87d1.465*16"D4"50L 16
. D1.5%3.8°d1.465*18"D4*50L 18
s D1.5"3.8°d1.465"20"D4*50L 20
e D275%d1.968"D4"50L 8
7] D2°5"d1 96"10°D4*°50L 10
D2*5%d1 96*12*D4*50L 12
o D2757d1.96"14°D4"50L 92.0 5 1.96 14 4 50
3 D2%5"d1.96%16"D4*50L 16
D275°d1.96*18°D4*50L 18
¥ D2757d1.96"20"D4"50L 20
;]’ g D2.5%.3°d2.46*10°D4"50L 10
%] D2.5%6.3°d2.46*12*D4*50L 12
- D2.5%6.3°d2.46714*D4"50L 25 = - 14 R -
in D2.5°6.37d2.46"16"D4"50L 16
= D2.5%6.3°d2 46*18*D4*50L 18
¥ D2.5%6.3°d2.46720"D4"50L 20
S D3*7 5%d2 95*10"D6"50L 10
s D3*7.5°d2.95*12*D6*50L 12
b D377 5°d2.95"14"D6"50L o % o 14 % -
D3*7.5%d2.9516"D6™50L 16
= D37 5°d2.95718"D6"50L 18
D377 5°d2.95°20"D6"50L 20

# YP602LG MiEmE T 8ET] ( 2F)

YPB02LG Long Neck Endmill For Hard Material (2

FEMEBH Technology Parameters

BUATEBEE (BERe /cEE)

|
EEmaea aga 18
| Caron Steel Ak Steet
i Ay Se6l Tool Sieal

aER/ I8 WEH WEH 13 FiRim
Adry Sl Hardene Hartensi s Stainiess
ool Sipel Stoel Stost Sleel

4
B

(kT

i
5

S45C,S50C 5CM | 5450 KT SKD | 5450 SKT SKD SKT.SKD SKT,SKD FCIFCD 55304

HRC=20 HRC=220~30 HRG 3040 HRG<45-55 HRGI55-60

- - L] L4 - - @

AR ng UIE-S BHK iz

(Specification) (CED) (CEL) (EL) (ND)

iz

(sp)

21
(0AL)

D0.2*0.3"1*d0.16"D4"50L"2T
D0.270.3"2"d0.16*D4"50L"2T

T

02 03 0.16 4

50

D0.3*0.5%1*d0.26*D4*50L*2T
D0.370.5"2"d0.26*D4*50L*2T 0.3 0.5
D0.3*0.5"3"d0.26*D4*50L*2T

0.26 4

50

D0.470.6*2%d0.36"D4"50L* 2T
D0.470.6"3"d0.36*D4"50L"2T
D0.4*0.6%4*d0.36*D4*50L* 2T
D0.4*0.6"6"d0.36*D4"50L"2T

04 06 0.36 4

50

D0,5%0.7*2%d0.45"D4"50L* 2T
D0.5%0.7"3"d0.45"D4"50L"2T
D0.5%0.7"4"d0.45*D4*50L*2T
D0.5*0.7*5*d0.45*D4*50L*2T
D0.5*0.7"6"d0.45*D4"50L"2T
D0.5%0.778"d0.45"D4"50L*2T

05 0.7 0.45 4

50

D0.6*0.9*2*d0.55*D4*50L*2T
D0.6*0.9"3"d0.55*D4*50L"2T
D0.6"0.9"4"d0.55"D4*50L"2T
D0.6*0.9"5%d0.55"*D4*50L*2T
D0.670.9"6"d0.55"D4*50L"2T
D0.6*0.9*8*d0.55*D4*50L*2T

06 09 0.55 4

50

D0.7*1*3*d0.65"D450L"2T
D0.7"1"4"d0.65"D4*50L"2T
D0.7*1*5"d0.65*"D4*50L*2T
DO0.7*1"6"d0.65"D4*50L*2T
DO0.7*1*8*d0.65"D4*50L*2T
D0.7*1*10*d0.65*D4*50L"2T

07 1 0.65 4

=N =S N NN e = N R R -0 (S TR T B S AU R S N

(=}

50

D0.8"1.2"3%d0.75"D4"50L" 2T
D0.8*1.274*d0.75*D4*50L"2T
D0.8%1.2"5"d0.75*D4*50L"2T
D0.8*1.2"6"d0.75*D4"50L"2T
D0.8%1.2"8d0.75*D4*50L.*2T
D0.8"1.2*10"d0.75"D4*50L"2T

0.8 T

0.75 4

(== =0 4.0 I N

=1

50

A0SE



KIMFERET

Long Neck Square Endmill

{Zy omano 100t

# YP604LG migamBuss (4F)

sasin | {7y orano Toous

Ball Endmill

# YP553LA £71EBA#%T (3F)

I, EL
YP602LG Long Neck Endmill For Hard Material (4F) ‘ Fi" YP553LA Long Flutes End Mill For Aluminum (2 "—%"‘
o, ok

| QAL ‘
I

FEMEBH Technology Parameters

FRE [ Technology Parameters

[ EDHEEBEE (BEHs  oBR) [ ETATENER (8EHe / oEH)
EHER AR StR/IE (sgtR 18 AEE BN B TahE 8 HEE ® fatr BERATH oG8R/ 1T | aEE/ 1B HES AER 1 FEA /8 BEE B [EF ]
Canmon Stest' ARy Shest Aoy STee Harnsenad Hardened Casion Slainess Copper Titaneam free Heat Reestant Carton Steel Ay St Aoy Steal Hardenec Hargened Castron Slankess Copper Tt kel Heat Rersiatant
ﬂm Tool Steel Tool Sieel Stest Stest Steal Alnum Aoy Sweal wml Tool Steel Tool Stes Steal Ster Shean ARITInUM Aoy Sweel
S45C S50C SCM| G450 5KT KD | S45C SKT SKD ST, SKD KT, 5KD FOFCD SUSM4 - 5450 550C SCM | S45C 5KT.SHD | S450 SKTSKD SKT 5KD SKTSKD FCFCD 55304
HRC=20 HRC=20~30 HRC 3040 HRC<45-55 HRC<55-60 - - - - - - HRC=I20 HRC=20~30 HRC30-40 HRGC<45-55 HRC=55~60
- - - - - - e -
#0is 74z 7] Bk iz iz B Specification CED LCE SD L F
(Specification) (CED) (GEL) (EL) (ND) (sD) (DALY D1-4-D4-50L 1.0 4 4 50 3
> D1*1.5*5"d0.95*D4*50L*4T 5 D1-5-D4-50L 1.0 5 4 50 3
i3 D171.5°600.95"D4*50L*4T 6 YT o & i == 5
Pl AL vk i & D1-8-D4-50L 10 8 4 50 3
D171.57107d0.95°D4*50L4T . . 10 — " - yyey e oo . . :
D1*1.5"12*d0.95"D4"50L"4T 12 -
D171.5%147d0.95°D4*50L 4T 14 D1.2-5-D4-50L 12 5 4 50 3
D1*1.5*16%d0.95°D4*50L*4T 16 D1.2-6-D4-50L 1.2 6 B 50 3
D171.57207d0.95°D4*50L"4T 20 D1.2-8-D4-50L iz 8 4 50 3
D1.5%2 3*6*d1 45*D4*50L*4T 6 D1.3-5-D4-50L 1.3 5 4 50 3
D1.572.3°8"d1.45"D4"50L"4T 8 o R e = i T 3
D1 52.3*10°01.45°D4"50L"4T 10
D1.5%2.3°127d1.45"D4"50L"4T 15 23 12 1.45 4 50 1380 s £ 4 i >
D15'2.3°14"01 45°D4"50L°4T 14 plane e 14 9 2 2 =
D1.5%2.3°16°d1.45"D4*50L"4T 16 D1.4-8-D4-50L 14 8 4 50 3
D1.5°2.3°207d1.45°D4750L"4T 20 D1.4-10-D4-50L 14 10 4 50 3
D2"3'8"d1.95°d4"50L"4T 8 D1.5-6-D4-50L 15 6 4 50 3
D2°3*107d1.45"D4”50L°4T 10 D1.5-8-D4-50L 15 8 4 50 3
D2'3712*d1.45"D4"50L*4T 2 3 12 1.95 4 50 D1.5-10-D4-50L 15 10 4 50 3
Lt R 14 D1.5-12-D4-50L 15 12 4 50 3
D2*3*16%d1.45*D4*50L*4T 16
T e =5 D1.6-6-D4-50L 1.6 3 4 50 3
e = D1.6-8-D4-50L 16 8 4 50 3
D2.573.87167d2.4"DA"50L74T 25 38 16 24 A 50 D1.6-10-D4-50L 16 10 4 50 3
D2.5°3.8°207d2.4"D4"50L"4T 20 D1.8-6-D4-50L 18 6 4 50 3
D34.57127d2 9"D4"50L"4T 12 D1.8-8-D4-50L 1.8 8 4 50 3
D374.5%16"d2 9*D4*50L*4T 3 45 16 29 4 50 D1.8.10-DA-50L 18 0 2 =0 3
e : o220t : ; ; ;
D3"4.5"16"d2.9"D6™60L"4T 16 60 BE DR ol i 2t i >
D374.5"20°d2 9*D6"60L"4T 3 45 20 29 6 D2-12-D4-50L 20 12 4 50 s
DA% 5*26°d2 0"DE"T5L"4T P D2.5-10-D4-50L 2.5 10 4 50 3
D34 5730702 9°D6*75L°4T 30 o D2.5-12-D4-50L 25 12 4 50 3
D4"6°16°d3.9°D6"60L"4T 16 = D2.5-14-D4-50L 25 14 4 50 3
BG 2000 70660 47 4 6 20 19 & D3-12-D4-50L 3.0 12 4 50 3
L el el % 75 D3-14-D4-50L 30 14 4 50 3
D4*6°30°d3.9°D6*75L°4T 30 Rt — — - — ~




O man | L) orane Toois
Long Meck Square Endmill Ball Endmill -
# YPS552LA £71&1I#%N (2F) e # YPS552LA 271117 (2F) 5
YP552LA Long Neck Endmill For Hard Material (4! ‘ Fﬂ" YP552LA Long Neck Endmill For Hard Materiz ‘ "CE"
EI:E = " ---}-Eﬁﬁ %Ii[l ” i _}__ : ----E_—%E

—_—————

FiRE | Technology Parameters

. e P e
2

BUEHEREE (BEfHe /o)

BER ST@E @8R/ IR | 2gH 18 HEE HEN B TahE 8 HEE # m#HE
Rl | o' | Tesed | Tses | se s caston Sen i bl e -~
S45C S50C SCM| G450 5KT KD | S45C SKT SKD ST, SKD KT, 5KD FOFCD BUISM04 - -
HRC=20 HRG=20~30 HRC 3040 HRC<45-55 HRC<55-60
- - - - L] - -]

Specification CED LCE SD L F Coated / Uncoated
DO0.3-1-D4-50L 0.3 1 4 50 2 P.M.K / AL
D0.3-1.5-D4-50L 0.3 2 4 50 2 P.M.K / AL
' D0.3-2-D4-50L 03 2 4 50 2 P.M.K / AL

D0.4-1-D4-50L 0.4 1 4 50 2 P.M.K / AL

g D0.4-1.5-D4-50L 0.4 15 4 50 2 P.M.K / AL
’I D0.4-2-D4-50L 04 2 4 50 2 P.M.K/ AL
L D0.4-3-D4-50L 0.4 3 4 50 2 P.M.K / AL
7, |po.4s-25-Da-s0L 0.5 3 4 50 2 P.MK /AL
= D0.5-1.5-D4-50L 0.5 15 4 50 2 P.M.K / AL
2 D0.5-2-D4-50L 0.5 2 4 50 2 P.M.K / AL
D0.5-3-D4-50L 0.5 3 4 50 2 P.M.K / AL
DO0.5-4-D4-50L 0.5 4 4 50 2 P.M.K / AL
D0.6-2-D4-50L 0.6 2 4 50 g P.M.K / AL

7 D0.6-3-D4-50L 0.6 3 4 50 2 P.M.K / AL
~ | |D0.6-4-D4-50L 0.6 4 4 50 2 P.M.K / AL
1 D0.6-5-D4-50L 0.6 5 4 50 2 P.M.K / AL
D0.7-2-D4-50L 0.7 2 4 50 2 P.M.K / AL

s | |DO.7-2.5-D4-50L 0.7 3 4 50 2 P.M.K / AL
e D0.7-3-D4-50L 0.7 3 4 50 2 P.M.K / AL
% |po7-4-Da-s0L 0.7 4 4 50 2 P.M.K / AL
" D0.8-2-D4-50L 0.8 2 4 50 z P.M.K / AL
.. D0.8-2.5-D4-50L 0.8 3 4 50 2 P.M.K / AL
# D0.8-3-D4-50L 0.8 3 4 50 2 P.M.K / AL
D0.8-4-D4-50L 0.8 4 4 50 2 P.M.K / AL

1‘ D0.9-2-D4-50L 0.9 2 4 50 2 P.M.K /AL
D0.9-3-D4-50L 0.9 3 4 50 2 P.M.K / AL

~ |D0.9-4-D4-50L 0.9 4 4 50 2 P.M.K / AL

A061

—_————————

EEJI@BU Technology Parameters

| BUARHBEE (BEHe  oF)
wEmccE a8R/ 18 | aeR/ 15| ®mES WEE B FHEA #5/E HeE i s
gl [ el S o | e o] IO [ | (8 ol ol [ ] e
5450, 5500, SCM | S45C SKT.EKD | S45C SKT.SHD SKTSKD SKTSKD FGIFCD SUSA04 - -
HRC<20 HRGS 2030 HRICG<I30~40 HRC<45-55 HRC<I55-60
- - - - - - @

Specification CED LCE SD L I Coated / Uncoated
D1-4-D4-50L 1.0 4 4 50 2 P.M.K / AL
D1-5-D4-50L 1.0 5 4 50 2 P.M.K / AL
D1-6-D4-50L 1.0 6 4 50 2 P.M.K / AL
D1-8-D4-50L 1.0 8 4 50 2 P.M.K / AL
D1.2-5-D4-50L 1.2 5 4 50 2 P.M.K / AL
D1.2-6-D4-50L 1.2 6 4 50 i P.M.K / AL
D1.2-8-D4-50L 1.2 8 4 50 2 P.M.K / AL
D1.3-5-D4-50L i3 5 4 50 2 P.M.K/ AL
D1.3-6-D4-50L 1.3 6 4 50 2 P.M.K / AL
D1.3-8-D4-50L 1.3 8 4 50 2 P.M.K / AL
D1.4-6-D4-50L 1.4 6 4 50 2 P.M.K/ AL
D1.4-8-D4-50L 14 8 4 50 2 P.M.K/ AL
D1.4-10-D4-50L 14 10 4 50 2 P.M.K / AL
D1.5-6-D4-50L 1.5 6 4 50 2 P.M.K/ AL
D1.5-8-D4-50L 1.5 8 4 50 2 P.M.K / AL
D1.6-6-D4-50L 1.6 6 4 50 2 P.M.K / AL
D1.6-8-D4-50L 1.6 8 4 50 2 P.M.K / AL
D1.6-10-D4-50L 1.6 10 4 50 2 P.M.K / AL
D1.8-6-D4-50L 1.8 6 4 50 2 P.M.K / AL
D1.8-8-D4-50L 1.8 8 4 50 2 P.M.K /AL
D1.8-10-D4-50L 1.8 10 4 50 2 P.M.K / AL
D2-8-D4-50L 2.0 8 4 50 2 P.M.K / AL
D2-10-D4-50L 20 10 4 50 2 P.M.K / AL
D2-12-D4-50L 2.0 12 4 50 2 P.M.K / AL
D2.5-10-D4-50L 25 10 4 50 2 P.M.K / AL
D2.5-12-D4-50L 25 12 4 50 2 P.M.K/ AL
D2.5-14-D4-50L 25 14 4 50 2 P.M.K / AL
D3-12-D4-50L 3.0 12 4 50 2 P.M.K / AL
D3-14-D4-50L 30 14 4 50 2 P.M.K / AL
D3-16-D4-50L 3.0 16 4 50 2 P.M.K / AL

ADB2



C GRAND TOOLS | HMFRENRT] BN | {*\ GRaND TOOLS

Long Neck Square Endmill Ball Endmill

# YASS53LG ssAmaistr] (3F) # YAS552MB sBRR/NEERXEET] ( 2F)

4#.
YAS53LG Long Neck Endmill For Aluminum (4F) ‘ Fﬂ" YA552MB Micro Diameter Ball End Mill For Aluminum ¢ ;
CEL R
8l = &8
E[E} B .?.Iﬂ ------------------------ ‘;@1&
. DAL - = — !- =!
L — | | — -
[t il s-ii
BRBE/ Technology Parameters - et FEMEBH/ Technology Parameters (&) r/f‘ )
| EUSEEBEE (BEfke | oER) | BOSEHBEE (BEfe / (EH)
wEm cem an@/ 18 | AeA/IR | WES AEH B FHa @8 P ] BT wER/ ctm 228/ I8 | AsR/I8 | @ES aEn 2 i 88 waE ] mnE
Camon Stee Aoy Seol Adoy Soal Hargened Hardened ‘ainiess Copper Taniamn Hest Rogsiant Carton Steel Adkery Steed Aoy Sheel Hargened Hardaned Stankess Copper Taaswm Heat Resstant
Adary Shess Tk Steel Tl Steed Seel Seel ] Steal Ansnum Ay ot Steel Allry Steel Took Heal ook Sieel Sheel Sleel ot Slesl Alumism Ay el Fost
4505500 SCM | 5450, 5KT,SKD | 5450 5KT SKD BHT SKD SKT,5KD FCIFCD ==l - - = - 5450 5500 SCM| S45C SKT KD | 5450 5KT SKD SKT.EKD SKT.SKD FGFCD SUI5A04
HRG<20 HRC=20~30 HRG 5040 HRC<45-55 HRC=C55~60 e - - - - - HRG=20 HRG<20~30 HRG= 3040 HRG45-55 HRG55-60
- L
Specification CED LCE sD L | F P REZ T iz B
n»
D1-4-Dd-50L 1.0 4 4 | 50 3 5 =
I o - = = | - ( Specification) (R) (CEL) (sp) (0AL)
-8 500 10 S - = : RO.1*0.4*D4*50L=2T RO.1 04 4 50
1 D1-8-D4-50L 1.0 8 4 50 | 3
D1-10-D4-50L 10 10 4 50 3 R0.15%0.6*D4750L*2T RO.15 06 4 50
D1-12-D4-50L 1.0 12 4 I 50 | 3
D1-16-D4-50L 10 16 4 50 3 R0.2*0.8*D4*50L*2T RO.2 0.8 4 50
D1-18-D4-50L 1.0 18 4 | 50 | 3
D1-20-D4-50L 10 20 4 50 3 R0.25%1*D4*50L*2T R0.25 1 4 50
= D1-25-D4-60L 1.0 25 4 60 I 3
= D1-30-D4-60L 1.0 30 4 60 3 R0.3%1.2*D4*50L*2T RO.3 12 4 50
" D1.5-8-D4-50L 15 B 4 50 | 3 7
i D1.5-10-D4-50L 15 10 & : 50 3 R0.35*1 4*D4*50L*2T R0.35 14 4 50
; D1.5-12-D4-50L 15 12 4 | 50 | 3 e L e
D514 D4-50L 15 1 2z ; =0 3 RO.471.6*D4*50L*2T RO.4 1.6 4 50
D1.5-16-D4-50L 15 16 4 | 50 | 3 e
1515 DA-SOL 15 18 n [ % 2 R0.45%1.8"D4"50L*2T RO.45 1.8 4 50
L0 DEsL L . 4 |_ 2 | 2 R0.525"2.1*D4*50L*2T R0.525 2.1 4 50
D1.5-25-D4-60L 1.5 25 4 | &0 3
D1.5-30-D4-60L 15 30 4 | 60 | 3 R0.55%2.2*D4*50L*2T RO0.55 2.2 4 50
D2-8-D4-50L 20 8 4 50 3
D2-10-D4-50L 20 10 4 | 50 | 3 R0.6*2.4"D4*50L*2T RO.6 24 4 50
D2-12-D4-50L 20 12 4 50 3
D2-14-D4-50L 20 14 4 | 50 | 3 R0.65*2.6*D4"50L"2T RO.65 26 4 50
£y D2-16-D4-50L 20 16 4 | 50 3
% | [p2iebasol 20 8 4 | 50 | 3 R0.7°2.8"D4"50L"2T RO.7 28 4 50
D2-20-D4-50L 20 20 4 50 3
022504601 20 2 2 I &0 I 3 R0.873.2*D4*50L*2T RO.8 32 4 50
= as . T : i = i ¥ RO.8573 4*D4"50L"2T RO.85 34 4 50
D2.5-10-D4-50L 25 10 4 50 3 TR e A
EREE TR 55 T 7 ! %5 i 5 R0.973.6"D4*50L*2T R0.9 36 4 50
D2.5-14-D4-50L 2.9 14 4 50 3 * ) 4 % *
TR = = = ] 5 | = R0.95°3.8"D4"50L"2T R0.95 38 4 50
D2.5-18-D4-50L 25 18 4 | 50 3
D2 5-20-D4-50L 25 20 [ | 50 I 3
D2.5-25-Dd-60L 25 25 4 60 3
D2.5-30-D4-60L 25 30 4 | 60 | 3
. D3-12-D4-50L 30 12 4 50 3
71| [pianaso 30 1 3 50 [ 3 7]
: D3-16-D4-50L 30 16 4 50 3 g
D3-18-D4-50L 3.0 18 4 50 | 3
D3-20-D4-50L 30 20 4 | 50 3
D3-25-D4-60L 30 25 4 &0 I 3
D3-30-D4-60L 3.0 30 4 &0 3

A063 ' ' B0O1



C”:) GRAND TOOLS

IR EETD

Ball Endmill

EREk 7]

Ball Endmill

{ *:} GRAND TOOLS

# YP552B S#MKUNEERX#T (2F)

YP552B Micro Diameter Ball End Mill For Steel (2F)

FiRE M/ Technology Parameters

b HOMHEEEE (REHe / oEH)
] EEES2H SER/ IR | s8R/ IR i HEHR - FaEm #/8 fas ] A#E
e Caren Steey Aoy Sl Aoy Sieel Havened Haened W StEinkss Cogper Tanium e Heal Resistant
i Ay Sieel Tool Steet Tool Stest Seel Steet Spal Aluminem Adoy eal
7 S45C,350C SCM| 545C,5KT.SKD | S45CSKTSKD | SKT,SKD SHT.SHD FOFCD SUS04 5 3
K HRC<20 HRC<20-30 | HRC<30-40 | HRC<45-55 | HRC<55-60
7 . . . L] - @
R1E DIE'S wiE 21
{Specification) (R) (CEL) (sD) (0AL)
R0.170.4*D4*50L*2T RO.1 04 4 50
R0.15*0.6*D4*50L*2T R0O.15 06 4 50
R0.2*0.8*D4*50L*2T RO.2 08 4 50
) R0O.25*1*D4*50L*2T RO.25 1 4 50
Iﬂ_ R0.3%1.2*"D4*50L"2T RO.3 1.2 4 50
o
- R0.35"1.4°D4*50L"2T R0.35 14 4 50
R0.4*1.6*D4*50L*2T RO.4 16 4 50
R0.45%1.8*D4*50L*2T RO.45 18 4 50
— R0.525%2 1*D4"50L"2T R0.525 21 4 50
R0.55%2.2*D4*50L"2T RO.55 22 4 50
R0O.6"2.4"D4*50L"2T R0.6 24 4 50
i R0.65*2 6*D4*50L*2T R0.65 26 4 50
B RO.7*2.8*D4*50L*2T RO.7 28 4 50
R0.8"3.2"D4*50L"2T RO.8 3.2 4 50
R0.85"3.4"D4"50L*2T R0.85 34 4 50
R0.9%3.6*D4*50L*2T R09 36 4 50
R0.9573.8"D4*50L"2T R0.95 38 4 50

BOO2

# YPS552B sRIR#ERIRT (2F)

YP552B Ball Shape Endmill For Aluminum(2F)

M E B Technology Parameters

| ORI ERES (BERe | A
RS CIRIA SNl wm [ sme | W | e [ B ] W3 | 2 [ 3E
Ay St oo el Teoi Siesd el el i et iy
S45C B50C,SCM| S45C SKTSKD | S45C SKT SKD SKT.SKD SKT SKD FCIFCD SUSI04 ~ >
HRC<220 HRC-20-30 HRC 3040 HRC-45-55 HRC-ZA5-60
! .
R R T wE Bk
(Specification) (R) (GEL) (sD) (0AL)
RO.5*2*D4™50L*2T ROS 4 50
RO.75*3*D4*500L"2T RO.75 4 50
R1*4*D4*50L*2T R1 4 50
R1.5"6*D3™50L*2T R15 3 50
R1.5*6*D4*50L*2T R1.5 4 50
R2*8*D4*50L*2T R2 4 50
R3*12*D6*50L"2T R3 12 6 50
R4*16*D8"60L"2T R4 16 8 60
D5*20"D10775L*2T RS 20 10 75
RE*24*D12*T5L"2T R6 24 12 75
RO.5"2*D4*T5L"2T RO.5 2 4 75
RO.5*2"D4*100L"2T RO.5 2 4 100
RO.75*3*D4*75L*2T RO.75 3 4 75
R0O.75*3*D4*100L*2T RO.75 3 4 100
R1*4*D4*75L*2T R1 4 4 75
R1*4*D4*100L"2T R1 4 4 100
R1.5"6*D3"75L"2T R1.5 6 3 75
R1.5"6"D3"100L"2T R15 6 3 100
R1.5"6*D4*T5L"2T R15 6 4 75
R1.5"6*D4*100L"2T R15 6 4 100
R2*8*D4*T5L"2T R2 8 4 75
R2*8"D4*100L™2T R2 8 4 100
R3*12*D6*75L*2T R3 12 6 o]
R3*12*D6*100L"2T R3 12 5] 100
R4*16*D8*75L"2T R4 16 8 75
R4*16*D8*100L*2T R4 16 8 100
R5*20*D10*100L*2T RS 20 10 100
R6*24*D12*100L*2T R6 24 12 100

BOO3



(’:}, GRAND TOOLS

IR EETD

Ball Endmill

| (':) GRAND TOOLS

# YPS552B 5#liRiERERT] ( 2F )

YP552B Ball Shape Endmill For Steel (2F)

e

7

BO04

T E 8/ Technoloay Parameters

{
i
e CED

# YA-DLC2B #E#®IBERK (2F)

YA-DLC2B Coated Ball Shape Endmill For Copper And Aluminum (2F)

RME B Technology Parameters

Rk BET]

Ball Endmill
i QAL
E— R .

[ EDAMEEEE (BEfe / EE)
R 25 ‘:‘f‘f&-éa éiﬁia ARE #ER : TEH ?;E uag ..:, MR
Aoy Stes Tool Steel Tool Stest Slest Stest Stesd ANSTIT iy Stael
545C S50C 5CM| S45C 5KT,5KD | S45C 5KT 5KD SKT.SKD SKT SKD FCIFCD SUS304 - = =
HREC=20 HRCZ< 20-20 HRC30-40 HRC-45-55 HRC-C55-60
L - L L ] L] o
RiZ DIES mz S-S
(Specification) (R) (CEL) (sD) (OAL)
RO.5*2*D4*50L*2T RO5 2 4 50
RO.75*3*D4*50L*2T RO.75 3 4 50
R1*4*D4*50L*2T R1 4 4 50
R1.5"6"D3"50L"2T R15 (i} 3 50
R1.5"6"D4™50L"2T R1.5 (5] 4 50
R2*8"D4*50L"2T R2 8 4 50
R3*12*D6*50L"2T R3 12 6 50
R4*16*D8"60L™2T R4 16 8 [ili]
D5*20"D10*75L"2T RS 20 10 75
R6*24*D12*75L*2T RE 24 12 75
RO.5*2*D4*T5L*2T RO.5 2 4 75
RO.5*2*D4*100L*2T ROS5 2 4 100
RO.75*3*D4*75L"2T RO.75 3 4 75
RO.75*3*D4*100L*2T RO.75 3 4 100
R1*4*D4*75L"2T R1 4 4 75
R1*4*D4*100L*2T R1 4 4 100
R1.5%6*D3*75L*2T R15 6 3 75
R1.5"6*D3*100L*2T R1.5 6 3 100
R1.5%6*D4*T5L*2T R1.5 i 4 75
R1.5*6*D4*100L*2T R15 6 4 100
R2*8*D4*75L"2T R2 8 4 75
R2*8*D4*100L*2T R2 8 4 100
R3*12*D&*75L*2T R3 12 6 75
R3*12*D6*100L*2T R3 12 6 100
R4*16*D8*75L"2T R4 16 8 75
R4*16*D8™100L*2T R4 16 8 100
R5*20*D10*100L*2T RS 20 10 100
RE*24*D12*100L*2T RE 24 12 100

| EDMASEAE (REfe / oER)
EEE/AnE SnE/18 | onE/1E | WES WEE w FaE 58 Has # A
Srere gl el el e e | = e g = T
5450 550C 5CM| 54A5C SKT,5KD | 545, 5KT,5KD SKT.SKD SKT.SKD FCIFCD L5304 - - -
HRC=20 HRC<I20-30 HRC=C30-40 HRC-45-55 HACC55-80
. 1
Nz R1Z DR wmiE 2K
(Specification) (CED) (R) (CEL) (sD) (0AL)
R0.5*2*D4*50L 1 0.5 2 4 50
RO.75*3*D4*50L 15 0.75 3 4 50
R1*4*D4750L 2 1 4 4 50
D1.25*5*D4*50L 25 1.25 5 4 50
R1.576*D4*50L 3 5 6 4 50
R1.75*7*D4*50L 3.5 1.75 7 4 50
R2*8"D4"50L 4 2 8 4 50
R2*8"D4*75L 4 2 8 4 75
R2*8*D4*100L 4 2 8 4 100
R2.5*10*D6*50L 5 25 10 6 50
R3*12*D6*50L 6 3 12 6 50
R3*12*D6*75L 6 3 12 6 75
R3*12*D6*100L 6 3 12 5] 100
R4*16D*8"60L 8 4 16 8 60
R4*16"D8*T5L 8 4 16 8 7
R4*16*D8*100L 8 4 16 8 100
R4*16*D8*150L 8 4 16 8 150
R5*20*D10*75L 10 5 20 10 D
R5*20"D10%100L 10 5 20 10 100
R5*20*D10"150L 10 5 20 10 150
R6*24*D12*75L 12 6 24 12 75
RE6*24*D12*100L 12 6 24 12 100
R6*24*D12*150L 12 6 24 12 150
R8*32"D16*100L 16 8 32 16 100
R8*32*D16™150L 16 8 32 16 150
R10740*D20*100L 20 10 40 20 100
R10"40*D20*150L 20 10 40 20 150

BOOS



(j, GRAND TOOLS

BRZ8E7]

Ball Endmill

PRk #t7)

Ball Endmill

| C‘j GRAND TOOLS

i# 804B AEMEAKT] (2F)

804B Ball Shape Endmill For Stainless Steel (2F)

BOOG

B2 8| Technology Parameters

DAL

| BOMHESER (BEfe /
mEmAzE ce¥/18 [ eeB/IE | RES AEE =i F88 A% HaE = AiRhE
e = T ) o [l [ e A e e o
Z_SISC.SGCC.S(‘M S45C KT SKD | SA5C 5KT,5KD SKT.5KD BKT.5HD FCIFCD BUS34 - - -
I HRC<I20 HRC=20~30 HRC<30~40 HRC<C45-55 HRC<I55~60
@ o +] o L] L]
RiZ DIRS iz B
(Specification) (R) (CEL) (sD) (0AL)
R0O.5°2*D4*50L*2T ROS 2 4 50
R0.5"2*D4*75L"2T RO.5 2 4 75
RO.75*3*D4*50L*2T RO.75 3 4 50
R0.75*3*D4*75L"2T RO.75 3 4 75
R1*4*D4*50L*2T R1 4 4 50
R1*4*D4*75L*2T R1 4 4 75
R1.5%6*D3"50L"2T R15 6 3 50
R1 5%6*D3*75L*2T R15 6 3 75
R1.5%6*D4*50L"2T R1.5 6 4 50
R1.5*6*D4*75L*2T R1.5 6 4 75
R2*8*D4*50L*2T R2 8 4 50
R2*8*D4*75L*2T R2 8 4 75
R3*12*D6*100L*2T R3 12 6 100
R3*12*D6*50L*2T R3 12 6 50
R3*12"D6"75L"2T R3 12 6 75
R4*16*D8*100L*2T R4 16 8 100
R4*16"D8"60L™2T R4 16 8 60
R4*16*D8*T5L*2T R4 16 8 75
D5*20"D10*75L2T R5 20 10 75
R5*20*D10*100L*2T RS 20 10 100
R6*24*D12*100L*2T R6 24 12 100
R6*24*D12*75L*2T R6 24 12 75

# YP602B M @ismekT] (2F)

YP602B Ball Shape Endmill For Hard Material (2F)

AL

IH ______________________ S

CEL

[ S

CED

it
R

1571 2 3/ Technology Paramaters _ﬁ
| ‘ BUSHEBER (REZe / o#E) T
HERSsE 588 IR | &38R/ I8 nEsE B {10} FEH #/58 Bas W Akl i
o | e | Was | 27 g castran iy Pt e i = 3
_SEIEC.::‘SOC.SCM S45C ST SKD | S45C SKT SKD SKTSKD SKT SKD FOFCD SUSI0M - . 2 41
| HRC= 20 HRC=I20-30 HRCG=230-40 HRC-<45-55 HRG 5560 -
| ] - | [ - - o o | o o o
RZ DIES WE =ic
(Specification) (R) (CEL) (sp) (0AL)
R0.5%2*D4*50L*2T RO.5 2 4 50
R0.75"3"D4*50L*2T R0.75 3 4 50
R174*D4*50L"2T R1 4 4 50
R1.5%6*D3"50L"2T R15 6 3 50
R1.5%6*D4*50L"2T R1.5 6 4 50
R2°8"D4*50L*2T R2 8 4 50
R3*12°D6*50L"2T R3 12 6 50
R4*16"D8"60L"2T R4 16 8 60
D5°20*D10°75L*2T RS 20 10 75
R6"24D12-75L2T R6 24 12 75
R0.5*2*D4*75L"2T RO.5 2 4 75
R0.5*2*D4*100L*2T RO.5 2 4 100
R0O.75*3*D4*75L"2T R0O.75 3 4 75
RO0.75%3*D4*100L*2T R0.75 3 4 100 7
R1*47D4*T5L*2T R1 4 4 75
R174"D4*100L2T R1 4 4 100 >
R1.5%6*D3"75L"2T R15 6 3 75 N
R1.5%D3*100L°2T R15 6 3 100 PP
R1.5"6*D4*75L*2T R1.5 6 4 75 : *i
R1.5%6*D4*100L*2T R15 6 4 100 5
R2*8*D4*T5L"2T R2 8 4 75
R2*8*D4*100L*2T R2 8 4 100 :
R3*12"D6*75L°2T R3 12 6 75 e
R3712"D6*100L*2T R3 12 6 100
R4*16*D8*75L=2T R4 16 8 75 in
R4*16*D8~100L*2T R4 16 8 100
R5%20"D10*100L*2T RS 20 10 100
R6*24*D12*100L*2T R6 24 12 100

BOO7



=

GRAND TOOLS

BUILD IT SMARTER ﬁ%ﬁn

Ball Endmill

KB BET)

Long Neck Ball End Mill

GRAND TOOLS

UILD IT SMARTER

# YH632B S@HBiNEk7] (2F)

YH632B Ball Shape Endmill For Hard Material (2F)

B 28| Technology Parameters

DAL

{

# YAS52LGB ssAK#ERL 57 (2F)

YAS552LGB Long Neck Ball End Mill For Aluminum (2F)

L

: |.q CE}..% /1
 STe——— e SSC

I‘EA

I

HIEREBAE (REHe / Cfif)

$5 71t 2 81/ Technology Parameaters

[EEScannzn] sam o [y ] a1 g o e e o s e
Alioy Sieel Tool Gleel Tool Sieel Sheel Sheet Tt Stest Auminum Aoy s Sheet
S45C SE0C SCM| S45C SKT SHD | S45C SKT.SKD SKT SKD SKT SKD FCIFCD SUS304 ~ -
HRC220 HRC<20-30 HRC 3040 HRC<45-55 HRC55—60
L ] L] - L ] | - o o o @ o

Mg REE DIR'S |z 2K

(Specification) (R) (CEL) (sD) (0AL)
R0.5*2*D4*50L*2T RO.5 2 4 50
RO.7573"D4750L"2T RO.75 3 4 50
R1*4"D4*50L"2T R1 4 4 50
R1.5*6*D3*50L"2T R15 6 3 50
R1.5*6*D4*50L"2T R15 6 4 50
R278*D4750L=2T R2 8 4 50
R3"12"D6750L"2T R3 12 6 50
R4*16"D8"60L"2T R4 16 8 60
D5*20°D10°75L*2T R5 20 10 75
R6724*D12*75L=2T R6 24 12 75
R0.5*27D4*75L"2T RO5 2 4 75
R0.572"D4”100L*2T RO.5 2 4 100
RO.75"3*D4*75L*2T RO.75 3 4 75
RO.75%3*D4*100L*2T RO.75 3 4 100
R1*4*D4*75L"2T R1 4 4 75
R1747D4*100L"2T R1 4 4 100
R1.5"6"D3*75L"2T R15 6 3 75

@ R1.576*D3"100L*2T R15 6 3 100
7 : R1.5"6"D4*75L"2T R15 6 4 75
& R1.56"D4*100L*2T R15 6 4 100
g R2*8"D4*75L*2T R2 8 4 75
T] : R2*87D4*100L*2T R2 8 4 100
4 R3"12°DE*75L°2T R3 12 6 75
g R3*12*D6*100L*2T R3 12 6 100
7 R4*16™D8*75L"2T R4 16 8 75
R4*16*D8™00L*2T R4 16 8 100
R5*20"D10%100L*2T R5 20 10 100
R624*D125100L*2T R6 24 12 100

BOO8

[ BUAHEEEE (BEEe / cBFE)
BEE 22H| 2R/ 1R | 2B/ 18R | BRSR T Hid TER 5/8 BaF 8 HRE
Carbon Seel Al Steed Ay Steed Hartenad Harsenad Stainkss Copper Tuanium Heat Resistant
adoy Gieel Tool Sieed Tool Seal Smes Sl Catens lesl AHumnun Asoy kil cael
S45C SR0C SCM| S45C SKT SKD | S45C SKT SKD: SKTSKD ST SKD FCFCD SUS304 -
HRC=20 HRC=.20-30 HRC=/30-40 HRC= 45-55 HRG=/55-80
-
Mg R i Fi iz wiz Bk
(Specification) (R} (CEL) (L) (ND) (s0) (0AL)
RO.15%0.6°1"0.27*D4"50L*2T 1
R0.15"0.6%1 5%0.27"D4"50L"2T 15
HUASTUB ZT0ZITU4™HuL21 Z
R0.15°0.6°2.5°0.27"D4750L"2T o - 25 s . o0
RO.15"0.6°3°0.27"D4"50L"2T 3
RO.15%0.6"4"0.27°D4"50L°2T 4
R0.2°0.67270.37"D4750L°2T 2
R0.2°0.8°370.37"D4°50L"2T B s 3 e i =
RO,2°0.8°4™0.37"D4°50L72T 4
R0.2°0.8°6"0.37"D4*50L=2T 6
R0.2571°20.47*D4"50L"2T 2
R0.25"173"0.47"D4™50L"2T 3
R0.25"1°4"0.47"D4"50L"2T ]
R0.25"17570.47*D4"50L"2T RO J 5 o : %0
R0.25"1°6"0.47*D4"50L"2T 6
R0.25"1°80.47"D4"50L"2T 8
R0.3*1.2°2%0.57"D4°50L"2T 2
R0.3"1.2°3"0.57"D4"50L"2T 3
RO.3*1.2"4%0,57"D4*50L*2T 4
R0.3*1.2°5%0.57"D4"50L°2T 5
R0.3"1.2°670.57"D4°50L=2T has L 6 o 4 0 (WD
R0.3'1.2°8"0.57*D4"50L"2T 8
R0.3*1.2"10°0.57"D4"50L"2T 10
R0.371.2°12°0. 57" DA"50L°2T 12
RO.4*1.6"3%0.77"D4"50L*2T 3
RO.471.6°470.77"D4"50L"2T 4
RO.4*1.6°5"0.77"D4"50L"2T 5
RO.4*1.676%0.777D4750L=2T RO4 16 6 077 4 50
RO.4*1.6°8"0.77°D4"50L*2T 8
RO.4%1 6°10°0 77°D4"50L72T 10
RO.4%1 6712°0.77°D4*50L72T 12
RO.5%274"0.97°D4*50L"2T ]
RO.572°5"0.97°D4"50L"2T 5 ;
RO.572*6°0.97°D4*50L"2T 6 e
RO.57278°0,97°D4"50L°2T ROS 2 8 0.97 4 50
RO.5'2°10°0.97*D4*50L*2T 10 7]
RO,5°2*12°0.97"D4"50L"2T 12 i
R0.5°2*14°0.97"D4"50L"2T 14

BO09



<

GRAND TOOLS

BUILD IT SMARTER

KEERK T

Long Neck Ball End Mill

wamawn | {7

Long Neck Ball End Mill

GRAND TOOLS

BUILD IT SMARTER

#YAS552LGB Rk H7 (2F )

YA552LGB Long Neck Ball End Mill For Aluminum (2F*

# YP552LGB Sll#Emsk 7 (2F)

YP552LGB Long Neck Ball End Mill For Steel (2F)

n =1,

b E— B - b — B
| | | i
o DAL | I* DAL 1
BAEEES
B2 8| Technology Parameters 15712 ¥/ Technology Paramaters s B e
T | BIAHERES (AR B8R [ BUARESEE (REfHe  BE)
i BEA StE S8R/ IR | s8R/IR HEE BEE W G ot | /8 WoE " ERE mEE anE 288/ 18 | agE/ IR nEH B £ Bt | /8 HoE # B A
i?l 8 Carbon Stesy! Aoy Sheel Aloy Sieel Hardened Harntened Foke Slainkess Copper. Titanium F Heal feasiant Carbon Steel’ Aloy Sieal Asoy Sleel Hargenaa Hargenag Castimn Stanecs Tranum ket ‘Heal Aessta
. Aoy Steed Tooi Steel Tool Steel Stesd Stesd Stenl Aluminam Aday Senl Allry Steed Toocd Stest Tool Stest Steed. Sheni Sienl Alumum Alloy Steed.
7] S45C S50C SCM| S45C SKTSKD | S45C SKT SKD ST SKD SKT.SKD FOFCD SUSHM ) - S45C B50C SCM| S45C SKTSKD | S45C SKT SKD SKTSKD SKTSKD FCFCh SUE304 5
E | HRC-20 HRC- 2030 HRG30-40 HRC=45-55 HRC-55-60 - - HRC=I20 HRC=20-30 HRCG= 30-40) HRC-=]45-55 HRC-=I55-60 - -
i) I . . . . . o
iz RiZ 7l RS iz Wiz B A5 RE DIE:S Hic iz iz 58 3
(Specification) (R) (CEL) (ML} (ND) (sD) {OAL) (Specification) (R) (CEL) (NL) (ND) (5D) (OAL)
RO.5%2*15%0.97"D4*50L*2T 15 RO. 15067170 27"D4"50L72T 1
RO.5%2*16°0.97"D4"50L*2T 16 £ RO0.15%0.6"1 5°0.27"D4"50L"2T 15
RO 57271670 87704 50L72T [B RO.15%0.6°270.27"D4"50L"27 2
RO.5%2*20*0.97*D4*50L*2T RuB 2 20 e 4 RO.15%0.6"2.570.27°D4"50L"2T 5 o 25 Bt A %
RO.5%2%25*0 97*D4*60L*2T 25 i RO.15%0.6*3"0.27"D4*50L"2T 3
RO.5%2*30°0.97"D4"G0L*2T 30 RO.15%0.6*4"0 27*D4*50L*2T 4
RO.75*3%6*1.45*D4*50L*2T 6 R0.2°0.8°270.37"D4*50L"2T 2
RO.75%3%6"1.45"D4*50L"2T 8 R0.2*0.8*3°0.37*D4*50L*2T a
& RO.75"3*10*1.45"D4*50L*2T 10 R0.2°0.8°470.37"D4750L2T K2 L 4 S 4 %
5 RO.75*3"12*1.45"D4*50L*2T 12 R0.2°0.8°6"0 37"D4"50L"2T 6
Bt RO.75"3"14"1.45°D4"50L"2T 14 50 RO.25°1*2"0. 47" D4"50L"2T 2
7 RO.75"3*15*1.45"D4"50L"2T RO.TS 3 15 147 4 R0.25*1730.477D4750L"2T 3
RO.75"3"16"1.45"D4"50L*2T 16 R0.25%1%4"0.47"D4"50L"2T 4
RO.75"3"18"1.45"D4"50L*2T 18 R0.25*1*5°0.47*D4"50L"2T Bz " 5 il : z
RO.75*3*20*1.45"D4*50L*2T 20 RO,25%1%6"0.47*D4*50L"2T 6
RO.75"3725%1.45"D4*60L*2T 25 5 RO.25"1"8"0.47"D4"50L"2T 8
RO.75"3"30"1 45"D4"60L"2T 30 R0.3*1.2°2*0 57" D4*50L*2T 2
i R14*6*1 05°D4*50L*2T 8 R0.3"1.2°3°0.57"D4*50L"2T 3
e R1"48"1.95°D4"50L"2T 8 R0.3*1.2*4"0.57"D4*50L"2T 4
Al n Rriresrogar ]| 03 12 : o8t ‘ ®
w== R1%4714"1.95'D4750L"2T 14 50 RD0.3*1.2°8°0.57"D4*50L°2T 8
ik - R1'4"15"1.95'D4*50L*2T R1 4 15 195 4 R0.371.2°1070.57"D4"50L"2T 10
3 R174716°1.95"D450L"2T 16 R0.3%1.2°12"0.57*D4"50L"2T 12
R174"18"1.95"D4"50L"2T 18 R0.4*1.6°3°0.77"D4*50L*2T 3
Pl R174°20"1.95'D4*50L*2T 20 RO.4°1.6°470.77"D4*50L"2T 4
% R17472571 95°D4*60L"2T 25 i RO.4*1 6°5°0.77"D4"50L"2T 5
?EI g R174730"1.95"D4"60L"2T 30 R0.4*1.6°6*0.77"D4*50L2T RO.4 16 [ 0.77 4 50
53 R1.576"8"2.95"D4"50L"2T 8 RO.471.6°8°0.77"D4"50L"2T 8
el R1.5%6"10"2.95"D4"50L"2T 10 RO.4*1 6°10°0.77*D4°50L"2T 10
i R1.5%6*12"2 95"D4"50L"2T 12 RO.471 671270.77"D4"50L"2T 12
- R1.5%°14°2 95°D4°50L°2T 14 5 RO.5°27470.97°D4"50L°2T 4
ikl R1.5%6*15"2 95"D4"50L*2T i & 15 iR i RO.5%2"5"0.97*D4"50L"2T 5
H: | R1.5%6*16°2 95"D4*50L*2T 16 RO.5"276"0.97"D4"50L*2T 6
| R1.5%6"1872.95"D4"50L"2T 18 RO.5%278"0.97"D4"50L"2T RO5 2 8 097 4 50
g R1.5%6"20"2.95"D4*50L*2T 20 RO.5%2*10"0.97"D4"50L*2T 10
;I L! § R1.5%6"25"2 95"D4"A0L*2T 25 & RO,5%2*12*0.97*D4"50L*2T 12
: R1.5%6°3072 95"D4"60L*2T 30 RO.5%2%14*0.97*D4*50L"2T 14

BO10

BO11



{73y oraND TOOLS | KammsR

: Long Neck Ball End Mill

KMBERABET) | @ GRAND TOOLS

Long Neck Ball End Mill s

# YP602LGB S@ams k7 (2F)

YP602LGB Long Neck Ball End Mill For Hard Material (2F) [ L3
cEL.| R

| —— —— R | —— e

# YP552LGB S E@aEKk#7 (2F)

YP552LGB Long Neck Ball End Mill For Steel (2F)

a———— .

Em?ﬂf Technology Parameters ﬁm;ﬂf Technology Parameters H

x | | EUATEEEE (2Efe  cEE) [ BUATHEES (2EHe =) P
By | EEm e eE®/1E | Es@/ 1R | EER FET] T FER BE S 2 EET] BFR oew| CEB/ LR | BE@/IE| =EA ETT T EFT ] 3 =2 = nRE i
o & Carbon Stee Aoy Stest Aoy Stest Hardened Harnsened Sarwss Copper " el Aesistant Carpon Skl Ay Sleel Ay Stesl Hardened Hartenad Stanvees Copper Taanum Hieat Resstant £
Hig Ay Seel ook Steel Toot Steel steel Steet Hikrih Steel A = Steet Aoy Steet Tool Steet Toot St Steel Siteet el Stest Aumitnm Aty i Steel = BT
7] 545C,850C,5CM | 545C,5KT,5KD | S45C, 56T 5D SKT,5KD SHT.GKD FCFCD SUSI0e - ‘545G, 550G, 5CM| S45C,5KT,5KD | S45C,5KT,SKD SHT.5KD SKT.SKD FCIFCD SUSI04 - - N
{.‘T { HRC< 20 HRC<20-30 HRC< 3040 HRC 45~55 HRC<I55~60 - - - HRC<20 HRC=I20~30 HRC=30~40 HRC=I45~55 HRC-<55~60 - -
- - - - < - - - - - o - o o o
Mg REE DIE'S Fk i iz B R{E k'S ik Hiz HiE B2
(Specification) (R) (CEL) (NL) (ND) (sD) (ALY (Specification) (R) (CEL) (NL) (ND) (sD) (OAL)
RO.5°2°1570.97"D4"50L"2T 15 RO.15°0.6°1°0. 27"D4"50L°2T 1
RO.5°2°16°0.97°D4"50L°2T 16 & RO 15"0,6°1 5°0.27"D4"50L"2T 15
RO.52°1670.87" D4 50L°21 I R0.15°0.6°2°0.27 D4 5021 2
RO.5°2°20°0 97"D4"50L"2T R % 20 o * R0.1570.6°2.570.27"D4"50L"2T ROAS 08 25 Ly : %
RO.5°2°25%0.97*D4*60L°2T 25 a5 RO.15°0.6°3°0 27°DA"50L"2T 3
RO.52°30°0.97°D4"60L"2T ) RO.15°0.6°4°0 27°DA50L"2T 4
RO.75°3°6*1,45"D4*50L°2T 6 R0.2°0.8"2°0.37"D4"50L"2T 2
RO.7573°8"1.45-D4"50L-2T 8 RO.2°0.8"3°0.37"D4"50L"2T 3
R0.75°3°10"1.45'D4*50L°2T 10 R0.2°0.87470.37"D4"50L"2T Res 05 4 Bt * 0
RO.75"3"12°1.45°D4*50L2T 12 RO.2°0.8°6°0.37"D4"50L"2T 6
RO.75"3"14"1.45"D4"50L"2T 14 50 R0.25"1*2°0.47"D4*50L*2T 2
RD.75"3"15°1.45°D4"50L°2T ROTS 3 15 1.47 4 RO 25717370 47°D4"50L"2T 3
RO.75°3" 1671 45°D4°50L"2T 16 RO 2517470 47"DA"50L"2T 4
RO.75"3"1871 45°D4"50L°2T 18 RD.25°1°5°0 47°D4"50L°2T ROZS 1 5 ey : 0
@71, | R0753"20°1.45'Da*500°2T 20 RO.2571°670.47°D4"50L°2T 6
B R0.7573°25"1 45°D4°B0L*2T %5 o RO 25°17870.47°D4"50L"2T ]
1 RO.75"3"30"1.45"D4"60L"2T 30 RO.3*1 25270 57*D4*50L=2T 2
R1%4%6*1 05°D4*50L=2T & RO.3°1 2730 57"DA"50L*2T 3 N
2 R1%4%5"1.05'D4"50L"2T 3 RO.3"1.2"4%0.57"D4"50L"2T 4 -9
bt g R1°4*10°1.95°D4"50L"2T 10 RO.3712°5°0.57"D4"50L=2T 5 i
- | R1747121 95°D4"50L"2T 12 RO.3"1 2°6"0.57"D4"50L"2T RS Lo 6 9t : w 7
R1%4714°1 95°D4"50L"2T 14 50 RO.3'1.2°6°0.57"D4"50L"2T 8 [
i R174"15'1.95°D4*50L*2T Ri1 4 15 1.95 4 RO.371 2710°0.57°D4"50L"2T 10 i
% R174*1671 95°D4"50L"2T 16 RO.3"1.2712°0 57°DA"50L"2T 12 7 3k
R174718°1 95°D4"50L"2T 18 RO.4"1 6*3%0.77"D4"50L"2T 3
o R1°4°20°1 95°D4"50L"2T 20 ROA4"1 6°470.77"D4"50L"2T P!
i R174725°1 05" D4 60L°2T % - R0.4°1 6°5°0.77"DA™50L72T 5
n R174°30"1 95°D4*60L°21 0 RO.4°1.67670.77"D4750L72T RO4 16 6 077 4 50
i R1.5°6°8°2.95°D4°50L"2T 8 RO.41,6°8°0.77"D4"50L"2T 8 :

{ R1.5°6°10°2.95"D4"50L°2T 10 RO.4%1 6710°0.77°DA"50L"2T 10 —
¥ R1.5%671272.95"D4°50L°2T 12 RO.471.6712°0.77°DA"50L"2T 12 1t
e R15%14°2 95"D4"50L"2T 14 5 RO 5°7°4°0 97°D4"50L°2T 4 =
Ik R1.5°6°15"2.95"D4"50L°2T o " 15 — 4 RO 5°2°5°0.97°D4"50L°2T 5 in
Wi | R1.5%6°16°2.95-D4°50L°2T : 16 : RO.5°2°6°0 97°D4"50L°2T 6

=il R1.5%6718"2.95"D4"50L"27 18 RO.5%2*8"0,97"D4*50L"2T RODS 2 8 097 4 50 I
. R1.5°6°20°2.95"D4"50L°2T 20 RO 5'2*10°0,97*D4"50L°2T 10 En
- R1.5°6°25"2 95"D4"B0L"2T 25 = RD.5'2*12°0.97*D4*50L°2T 12 i

R1.56°3072.95"DA"60L"2T 30 RD.52°1470.97"D4"50L°2T 1
B0O12 BO13



@

BUILD IT SMARTER

GRAND TOOLS

REBKk T

Long Neck Ball End Mill

BEE#%7]

Bull Nose Shape Endmill

| e

RAND TOOLS

BUILD IT SMARTER

# YP602LGB BEKMEBRAHT] (2F )

YP602LGB Long Neck Ball End Mill For Hard Material (2F)

ﬁm?m Technology Parameters

N EUAEEEES (88 / oF8)
' N [wEmcew| cEW/IE |AER/IE| BER BT T TER s HaE a EET)
Aoy Steel Tool Stes Too Steel Stesl Stest Steel AksTinum ARy Steet.
n G45C 550C5CM| 5450 SKT.SKD | S45C. SKT.SKD SKT,SKD SKTSKD FGIFCD SUSHM - -
* HRC<20 HRG<] 2030 HRC< 340 HRC< 4555 HRC55-60 -
: 3 i L] - - - - < - o o -3
£
® Hig R 7 T FiE iz B
5 ( Specification) (R (CEL) (NL) (ND) (sD) (0AL)
=i RO.5°2°1570.97"D4"50L"2T 15
& RO.572716"0.07"DA"50L"2T 16 &
7 R0.5°2°18°0.97 D4°5002T i
RO.52°2070.97°D4-50L°2T s 2 20 oot .
R0.5"2°25°0.97"D4"60L"2T 25 i
R0.52°30°0.97°D4"60L"2T 30
R0.75°376"1.45"D4°50L°2T [
R0.75°3°8"1.45-D4"50L°2T [
RO.75°3°1071 45°D4"50L"2T 10
RO.75°3"121 45°D4"50L°2T 12
RO.75"3°14°1.45°D4"50L"2T 14 50
RO.75°37 1571 45°D4"50L"2T RO.75 3 15 147 4
RO.75°3"16™1 45°D4"50L"2T 16
RO.75°3*18*1 45°D4"50L"2T 18
9 RO.75"3°20°1 45°D4*50L"2T 20
8 RO 7573251 45°D4"60L"2T 25 =
RO.75°3°3071 45°D4*60L*2T 0
i R1*4*6°1 05°D4"50L*2T 6
e R17478°1.95"D4"50L"2T 8
o 2 R174*10°1 95"D4"50L"2T 10
7 R1°4"12°1.95'D4"50L"2T 12
R174*14°1 95°D4*50L"2T 14 50
EJ R17471571 95" D4=50L"2T R1 4 15 195 4
%k R1°4"16°1 95°D4"50L"2T iG
R1°4*18°1.95°D4"50L"2T 18
- R174720°1 95°D4™50L°2T 20
e R1%4*25%1 95*D4™60L"2T 25 &
1 R174*30°1 95°D4"60L°2T 30
9 R1.5°6°8"2.05°D4"50L"2T 8
Ssinl R1.5%6°1072.95"D4°50L2T 10
P R1.5'6°12°2.95°D4°50L°2T 12
= R1.5%°14°2.95°D4"50L°2T 14 5
7 R1.5%°15"2.95"D4-50L"2T 15
g R1.576716°2.95"D4"50L"2T R s 16 e %
— R1.56°18"2.95"D4°50L°2T 13
o R1.576°2072.95"D4-50L"2T 20
¥ R1576°25"2 95°D4"60L"2T 25 ”
R15'6°30"2.95°DA"60L"2T 30

BO14

# YAS53N iBFE®T] (3F)

YAS553N Bull Nose Shape Endmill For Aluminum (3F)

ﬁm?ﬂf Technology Parameters L‘V( = =
| BUAMEBES (REde / cER) |
[Exmezn cEw/ IR | BEW/IE | SRS EET B THA &/ Brs a2 wRE |
Cartan Steel! Aoy Steel Aldry Sheed Hargened Harened adicn Stankess Copper Titaium e Feat Resstant
1 Ay Steal Tool Steal Tooi Steel Steel Steel Seal Aluminum Any Steel {
!5-150,8&6,3(;“ SA5C SKT.SKD | 545C S5KT SKD SKI.SKD SKT.SKD FCGIFCD SUSIM - - -
| HRCE | HRO<20-30 | HRC<300 | HAC<4555 | HRC<S5-60 - |
. |
71E DAR-S R iz =i
( Specification) (GED) (CEL) (R (sD) (0AL) ”
1R0.2"D4*50L*3T 1 3 RO.2 4 50
1.5R0.2"D4*50L3T 15 4 RO.2 4 50
2R0.2"D4*50L"3T 2 6 RO.2 4 50 73
2R0.5°D4"50L*3T 2 6 RO.5 4 50
3R0.2"D4*50L*3T 3 9 RO.2 a 50
3R0.5"D450L"3T 3 9 RO.5 4 50
3R1.0"D4*50L"3T 3 ) R1.0 4 50
4R0.2*D4*50L*3T 4 12 RO.2 4 50
4R0.5"D4*50L*3T 4 12 RO.5 4 50
4R1.0"D4"50L*3T 4 12 R1.0 4 50
6R0.5*D6"50L"3T 6 18 RO.5 6 50
6R1.0*D6*50L 3T 6 18 R1.0 6 50
6R2.0"D650L"3T 6 18 R2.0 6 50
8R0.5"D8"60L"3T 8 24 RO.5 8 60
8R1.0"DB"60L™3T 8 24 R1.0 8 60
8R2 0"DB"60L~3T 8 24 R2.0 8 60
10R0.5*D10*75L*3T 10 30 RO.5 10 75 14
10R1.0*D10*75L*3T 10 30 R1.0 10 75 N
10R2.0"D10"75L"3T 10 30 R2.0 10 75 i
10R3.0°D10*75L=3T 10 30 R3.0 10 75
12R0.5*D12*75L*3T 12 36 RO.5 12 75 _
12R1.0°D12%75L*3T 12 36 R1.0 12 75 i
12R2.0"D12*75L"3T 12 36 R2.0 12 75 *
12R3.0°D12*75L73T 12 36 R3.0 12 75
6R0.5"D6*75L"3T 6 20 RO.5 6 75
6R1.0"D6"75L"3T 6 20 R1.0 6 75 g
BRO.5*D6*100L*3T 6 25 RO.5 6 100 7]
6R1.0"D6*100L"3T 6 25 R1.0 6 100 3
8R0.5°D8100L=3T 8 30 RO.5 8 100 g
8R1.0"D8*100L*3T 8 30 R1.0 8 100 in
10R0.5*D10*100L"3T 10 40 RO.5 10 100 ?,
10R1.0"D10~100L"3T 10 20 R1.0 10 100 i
10R2.0D10~100L*3T 10 40 R2.0 10 100
10R3.0*D10*100L*3T 10 40 R3.0 10 100 )
12R0.5*D12*100L*3T 12 45 RO.5 12 100 ;].
12R1.0"D127100L=3T 12 45 R1.0 12 100 e
12R2.0"D127100L=3T 10 45 R2.0 12 100
12R3.0*D12*100L"3T 12 45 R3.0 12 100
C001



(—3 GRAND TOOLS

BE#%T)

Bull Nose Shape Endmill

BE#%

Bull Nose Shape Endmill

| {2y sranp roots

# YA-DLC3N RERBEAESEH®T (3F)

YA-DLC3N Coated Bull Nose Endmill For Copper And Aluminum (3F)

FERE M Technoloav Parameters

S0

BUAMEEER (RERe / cHE)

1
MER/SeE 528/18 | a2W/ IR

# YP554N SES%7] (4F)

YP554N Bull Nose Shape Endmill (4F)

BT E B[ Technology Parameters

OAL

ORI EBAE (Riife cERE)

ETT ] P T T I WaE & Prr
B || meer || b o e Camaron e e e e || e
SASC SS0C SCM| S45C KT SKD | S45C SKT SKD SKT SKD SKT SKD FCIFCD SUS304 -
HRG<20 | HRC<20-30 | HRO<30-40 | HRCASS5 | HRO<56-60
L]

7E RfZ DIES W 24

(Specification) (GED) (R) (CEL) (sD) (0AL)
D1R0.2°3"D4"50L"3T 1 0.2 3 4 50

D1.5R0 2*4 5°D4*50L*3T 15 02 45 4 50
D2R0.2°6"D4"50L"3T 2 0.2 6 4 50
D2R0.5°6"D4*50L"3T 2 05 6 4 50
D3R0.2°0°D4*50L*3T 3 0.2 9 4 50
3R0.59"D4"50L*3T 3 05 9 4 50
D3R0.2°9"D4*75L"3T 3 02 9 4 75
D3R0.5°9°D4*75L*3T 3 05 9 4 75
D4R0.2*12"D4*50L*3T 4 0.2 12 4 50
D4R0.5*12"D4*50L"3T 4 05 12 4 50
D4R0.2*12*D4*75L*3T 4 0.2 12 4 75
D4R0.5"12*D4*75L"3T 4 05 12 4 75
DBR0.2*18"D6*50L"3T 6 0.2 18 6 50
DBRO0.5*18*D6*50L*3T 6 05 18 6 50
D6R0.2*18"DE*75L*3T 6 0.2 18 6 75

n D6R0.5"18"D6*75L"3T 6 05 18 6 75
— D6R0.2*18*D6*100L*3T 6 02 18 6 100
% : D6RO.5*18D6"100L*3T 6 05 18 6 100
e D8RO.5°24"D860L"3T 8 0.5 24 8 60
— D8R1*24*D8*60L*3T 8 1 24 8 60
£ DBRO.5"24"D8*75L"3T 8 05 24 8 75
D8R1724"D8*75L"3T 8 1 24 8 75

T D8R0.5*24*D8*100L*3T 8 05 24 8 100
“=all D8R1"24*D8*100L*3T 8 1 24 8 100
D10R0.5*30°D10°75L"3T 10 05 30 10 75
D10R1730°D10775L=3T 10 1 30 10 75
D10R0.5730D10*100L"3T 10 05 30 10 100
D10R1*30*D10*100L=3T 10 1 30 10 100

4. D12R0 5°36"D12775L"3T 12 05 36 12 75
D12R1736"D12°75L"3T 12 1 36 12 75

— D12R0.5%36=D12*100L*3T 12 05 36 12 100
R12R1736"D12"100L"3T 12 1 36 12 100

wEmAtE AeR/ I8 | ARR/IE | @ES WEE Fit TEE /8 P = ARE
E Ll il | [ e I e e et
B45C 550 SCM| 545C SKTEKD | 545C SKT.SKD SKTEKD SKTSKD FGFCD 15304 -
HRC=20 HRC</20~30 HRC=I30~40 HRC~45-55 HRC< 5560
- - - - - <
#i 7z R{E DIkS miE B
(Specification) (CED) (R) (CEL) (sD) (0AL)
D17R0.1*3"D4*50L"4T RO.1
D17R0.2"3"D4*501 *4T 10 RO2 3 4 50
D17R0.3"3"D4"50L"4T RO.3
D1.5%R0.1%4.5°D4*50L*4T RO.1
D1.5%R0.2*4.5*D4*50L*4T - RO.2 @ 3 -
D1.5%R0.3%4 5*D4*50L*4T RO3
D1.5"R0.5%4 5"D4*50L*4T RO.5
D2°R0.176"D4"50L"4T RO.1
D2°R0.2°6"D4*50L"4T & RO.2 g i -
D2*R0.3"6*D4*50L*4T RO.3
D2°R0.5*6*D4*50L*4T RO.5
D3*R0.179"D4*50L*4T RO.1
D3"RO.2*9"D4*50L*4T RO.2
D3"R0.3*9"D4"50L"4T 930 RO.3 9 4 50
D3*R0.5"9"D4*50L"4T RO.5
D3*R1*9°D4"50L*4T R1.0
D4*R0.1*10°D4*50L*4T RO.1
D4"R0.2710°D4*50L"4T RO.2
D4*RO.3"10"D4*50L*4T 4.0 RO.3 10 4 50
D47R0.5"10°D4*50L.*4T RO.5
D4*R1*107D4*50L°4T R1.0
D6°RO.1*15°D6*50L*4T RO.1
D6*R0.2*15°D6*50L*4T RO.2
D6°RO.3*15"D6"50L*4T RO.3
D6*RO 5*15"D6*50L*4T 6.0 RO.5 15 6 50
D6*R1*15*D6*50L"4T R1.0
D6"R1.5"15"D6*50L 4T R1.5
DE*R2*15*D6*50L"4T R2.0

cooz

K
G
]

#

p———

coo3



<

GRAND TOOLS

BUILD IT SMARTER

BE#®%7)

Bull Nose Shape Endmill

EE#%T)

Bull Nose Shape Endmill

GRAND TOOLS

BUILD IT SMARTER

# YPS554N SE&HT (4F)

YP554N Bull Nose Shape Endmill (4F)

M E Technology Parameters

EDHEERASE (RiEEe / oEH)
WEEH SR SR/ IR ([ ssR/ 1R HEE HER i FER in/E as 2 R
Camon Stees Ay Sl Asoy Sleal Hanened Hanmend ” Stainks Cogper Titanium i Heat Resistant
Ady Steed Too! Steel Tool Stes Stesl Stest Seal AT Aday Seel
S45C,550C.5CM| 5450 SKT.SKD | S45C SKT SKD SKT.SKD SKTSKD FOFCD SUSHM - - -
HRC<20 HRC20-30 HRG 30-40 HRC=45-55 HRC<55-60
- - - - - (-]
714z R{Z UIES Wi B
P (Specification) (CED) (R) (CEL) (sD) (0AL)
‘; D8*R0.1"20°D&*60L*4T RO.1
7 D8*R0.2*20*D&*6OL*4T RO2
D8*R0.3*20°D8*6OL™4T RO.3
D8*R0.5*20*D8*60L*4T 8.0 RO.5 20 8 60
D8*R1*20"D8 60L"4T R1.0
DE*R1.5720"DA*60L™4T R15
D8*R2*20*D8*60L*4T R2.0
D10"R0.1725"D10"75L"4T RO
D10*R0.2:25*D10*75L*4T RO.2
D10%R0.3%25"D10°75L*4T RO.3
910.0 25 10 75
D10*R0.5*25*D10°75L"4T RO.5
D10*R1*25°D10°75L°4T R1.0
D10*R2725*D10°75L74T R2.0
& D12*R0.1*30°D12775L*4T RO.1
* D12*R0.2*30*D12*75L*4T RO.2
D12*R0.3*30°D12°75L"4T RO.3
@120 30 12 75
E D12*R0.5*30"D12775L*4T RO.5
7]
3 D12*R1*30°D12°75L°4T R1.0
" I D12*R2*30"D12°75L°4T R2.0
ni
¥
71
it
Cco04

# 804N FEMNERABEREHT (4F)

804N Bull Nose Endmill For Stainless Steel (4F) L

B2 8/ Technology Parameters

[ BPAHEBAE (REHe / cEH) T
WER/ oz c=@/1E | S2R/1R| ®AS® BEA Bl FER @8 Hen & WRE I
et |V | a8 o 0 B s B[S ome B[S | e [ | | 13
5455500 SCM | S45C SKTSKD | SASCEKTEKD | BKTSKD SHTEKD FGFCD 5USI04 = E 7]
HRC=20 HRC-<20-30 HRC-30-40 HRC=45-58 HRC-E5-80 - - - -
o o aQ o . L]
Specifications R Dia Dc Lc D =
D1R0.2*2H"D4*4T*50L 1 RO.2 2 4 50 -
D1 5R0.2*3H"D4*4T"50L 15 RO .2 3 4 50 %
D2ZR0 2*4H"D4*4T*50L 2 RD.2 4 4 50 };
D3RO Z2"6H"D4™41 501 3 RO.2 (=] 4 50
D3RO 5*6H*D3"4T*50L 3 RO5 6 3 50 5
D3RO0 5*6H"D4*4T"50L 3 RO S 6 4 50 [ TIER
D4R0.2*8H*D4"50L 4 RO.2 8 4 50
D4R0 5"8H"D4"S0L 4 RO.S a 4 50 ==
D4R0.5"8H*DA4™75L a4 RO.5 8 a 75 '!-E
D4R0.5*8H"D4*100L 4 RO.5 8 4 100 n
DA4R1.0*8H*D4750L 4 R1 a8 4 50 c e
DBRO.2712H"DE"50L 6 RO2 12 6 50 i
DBRO 5712H"DE"50L 6 ROS 12 6 50 ng
DBRO 57 12H*DE"75L 6 ROS 12 6 75 :
DBRO 5°12H*DE"100L 6 ROS 12 8 100 - ’*
D6R1_0712H"DE"50L 6 R1 12 6 50 : 13,’
D6R1.0°12H"DE*75L 6 R1 12 6 75 =1
DER1.0"12H*DE*100L 6 R1 12 6 100
D8RO 5" 16H*DE"60L 8 RO5 16 8 60 g :’
DBRO.5"16HD8"75L 8 RO.5 16 8 75
D8RO 5*16H*DE*100L a R1 16 8 100
DBR1.0"16H*D8"60L 8 R1 16 8 60
DBR1.0"16H"D8"T5L 8 R1 16 8 75
DBR1.0°16H*D8*100L 8 R1 16 8 100 ihaie
D10R0.5*20H"D107°75L 10 ROS 20 10 75 I
D10R0.5"20H*D10"100L 10 ROS 20 10 100 : I,“
D10R0.5*20H*D10"150L 10 RO.5 20 10 150 is
D10R1 0"20H*D10 751 10 R1 20 10 75
D10R1.0720H*D107100L 10 R1 20 10 100 =7
D12R0 524H"D12775L 12 ROS 24 12 75 L1
D12R0.5*24H"D12*100L 12 RO.S 24 12 100 [
D12R0.5724H"D127150L 12 RO.5 24 12 150
D12R1 0"24H"D12775L 12 R1 24 12 75
D12R1.0°24H"D127100L 12 R1 24 12 100

Ccoos5



Cj GRAND TOOLS

BEi%7)

Bull Nose Shape Endmill

BE#%T)

Bull Nose Shape Endmill

O

GRAND TOOLS

BUILD IT SMARTER

# YH634N SEES8T] (4F)
YH634N Bull Nose Shape Endmill For Hard Material (4F)

{{

Coo6

# YH634N SiER28t7] (4F)

YH634N Bull Nose Shape Endmill For Hard Material (4F)

{{

B E8 Technoloay Par
| ROMHREAE (R8fe  oBA)
rmesE SoW/ I8 |22 IE| @ER 2EE = FEE aE BeE ® rT]
Caron Stesl Ay Stee Adoy Stes Hardenes Hardenes Stainiess. Capper Titanium Heat Fesistant
Aday Stees Tock Steel Toai Stesl Stenl Stesl Gy Steel Aluminum sy S Samel
SA5C S50C SCM | 5450 SKTSKD | S45CEKTSKD | SKT.SKD SKT SKD FCIFCD SUS304 % = N
HRC<20 HRC<20-30 HRC<30-40 HRC<45-55 HRC<C55-60 =
- L ] - - L ] < o o o o
T4z RiZ JHE WiE =Ae
(Specification) (CED) (R) (CEL) (sD) C0AL)
D1°R0.13"D4"50L"4T RO
D*RO 2*3 D450 "aT 1.0 Ro2 3 4 50
D17R0.3°3"DA"50L=4T RO.3
D1.5°R0.1%4 5°D4750L"4T RO.1
D1.5"R0.2"4 5°D4"50L*4T RO.2
@15 45 4 50
DA1.5°R0.3%4 5*D4*50L*4T RO.3
D1.5°R0 574 5°D4750L=4T ROS
D27RO.176"D4*50L"4T RO1
D2*R0.2*6"D4*50L*4T RO.2
920 6 4 50
D27R0.3*6*D4"50L"4T RO 3
D2°R0.5"6"D4"50L"4T RO5
D37RO.1*0*D4*50L4T RO.1
D3"R0.2*9°D4750L"4T RO.2
D3"R0.3°0"D4*50L"4T 93.0 RO.3 9 4 50
D3°R0.5°0"DA450L"4T RO5
D3"R1*9°D4=50L"4T R1.0
D4"RO.1*10°D4*50L*4T RO.1
D4*R0.2*10°D4*50L"4T RO.2
D4"R0.3*10°D4"50L"4T 4.0 RO.3 10 4 50
D4”RO 5*10°D4*50L*4T RO.5
D4*R1*10"D4"50L"4T R1.0
DERO.1*15*DB*50L *4T RO.1
D6"RO.2715"D6"50L*4T RO.2
D6*R0.3"15"D6*50L *4T RO.3
DE*RO.5*15"DB*50L *4T 96.0 RO S5 15 6 50
DB*R1*157DE*50L"4T R10
D6"R1.5"15°D6*50L"4T R15
D6"R2*15"D6"50L*4T R2.0

5 IRE 8 Technoloay P
| BUHHEREE (BEHe / cBEA)
%R o=@ col/IE [ cal/ 18| BRES HEE T ERor ] w8 i = CET ]
(Carban Stel Aoy Sieel Aoy Steel Hardensd Hardsnes ‘Stainiess Copper Tianum ey Heat Resistant
| Afoy Eiest Too| Stesl Tool Seel St Steel i Steet Aumicum Aoy Steel
BA5C,S50C SCM| S45C SKTSKD | S45C SKTSKD SKT.SKD SKTSKD FCFCD SUS304 .
HRC<Z20 HRC=20-30 HRC=<I30-40 HRC<45-55 HRC<55-60 5
- L] - - - o o o o o
Mt nE REE 7% e Bk
(Specification) (CED) (R) (CEL) (sp) (0AL)
D8"R0.1720"D&"60L~4T RO.1
D8*R0.2*20°D8"60L*4T RO.2
D8°R0.3720"D8*60L*4T RO.3
D8*R0.5"20°D8"60L*4T $8.0 RO.5 20 8 60
D8*R1*20*DB 60L™4T R1.0
D8*R1.5*20"D8"60L™4T R1.5
D8*R2*20"DB*60L™4T R2.0
D107R0.1*25"D10775L*4T RO.1
D10"R0.2*25*D10*75L"4T RO.2
D10"R0.3*25*D10775L"4T RO.3
910.0 25 10 75
D10*R0.5*25*D10*75L*4T RO.5
D10*R1°25*D10*75L*4T R1.0
D10"R2°25"D10*75L°4T R2.0
D12°R0.1730"D12*75L"4T RO.1
D12*R0.2*30"D12*75L"4T RO.2
D12*R0.3*30°D12*75L*4T RO.3
912.0 30 12 fi]
D12*R0.5*30*D12*75L*4T RO.5
D12°R1°30*D12*75L*4T R1.0
D12°R2*30*D12*75L"4T R2.0

7=
[ETIER
B

= Hﬁl’l

973

B
B
a




C GRAND TOOLS | KHEMHT) KALERR | Cjenﬁgggwrggs

Long Neck Bull Nose Endmill Long Neck Bull Nose Endmill

# YP6OLN migsmE8 7] (4F)

YPBOLN Long Neck Bull Nose Endmill For Hard Material (4F)

# YPS55LN E@mREE#7] (4F)
YP55LN Long Neck Bull Nose Endmill (4F) : o

=

oL . — N
) Emgﬂf Technology Parameters Em#ﬂf Technology Par
g || BUSHEREE (RERe | cBE) | BOMHEEAE (Bilfe / cBM) [
JiE 3 BERSTE cER/ 18 |88/ I8 HEE HEE e TaE #/38 #a i mBE wEm asE 558/ 1B [eE8/1B HnEE HEE =i T8E W8 HoE " HRE L
% £ Carbicn Steet! Alloy Steed Aoy Stest Handened Handened Stainisss. Capper Titanium i Heat Resistant Carban Steell Alioy Sieel Alloy Sieed Hardened Hardened i Staniess. Capper Tianum T Heat Resstant i gt
Aoy Stest Tool Sieel Took Sieel Seel el Sterd Alumram Akoy Beel : Aoy Steel Tool Steel Took Steel Slewsi Bieel Stesi Aduminam Aboy Sieel "-
7 54505500, 50M| S45C,5KT SKD | 5450, 5KT.5KD SHT.SHD SKTSKD FG/FCD SUS304 - = E . |B45C S50CSCM)| S45C SKT SKD | S45C5KT SKD SKT.SKD SKT.SKD FCFCO SUS304 : 7]
= { HRC=I20 HRC=20-30 HRC30-40 HRAC=Za5~65 HRC55~60 . & P g 3 = [ HRCZ20 HRC<20-30 HRC=<230-40 HRC<45-55 HRC<55-60 -
L . . . . . o | . . . . . o o o a o
E714
= & 7 RiZ 7% R | AukE | W82 B Az Djfe3 RiZ DS HiE | BuKE | B B
B (Specification) (CED) (R) (CEL) (ND) (EL) (sD) (0AL) (Specification) (CED) (R) (CEL) (ND) (EL) (D) (oAL) -
i - D1*R0.172.5°d0.97°6"D4*50L 6 D1*R0.1%2.5%40.97°6"D4*50L 6 -
n D17R0.172.5%d0.97°8"D4*50L 8 D17R0.1%2.5%d0.97*8*D4*50L a ‘lf
D17R0.172.5%40.97*10°D4"50L 10 D1*R0.172 5°d0.97*10°D4"50L 10 )
D1*R0.1%2.5°d0.97*12"D450L 12 D1*R0.172.5°d0.97*12*D4"50L 12 =
p1.0 RO.1 25 097 4 50 p1.0 RO 25 097 4 50
D1*R0.1%2.5%d0.97*14*D4*50L 14 D1*R0.1*2.5d0.97*14* D4*50L 14
D1*R0.1%2.5%40.97*16"D450L 16 D17R0.1%2.5%d0.97*16"D4750L 18
g ¥ D1*R0.1*2.5%d0.97*18*D4*50L 18 D1*R0.1*2.5*d0.97"18*D4*50L 18
-3 : D1*R0.1*2.5%d0.97*20"D4*50L D1*R0.1%2.5"d0.97"20"D4"50L 20
n D1.5"R0.173.8"d1.465°6"D4*50L 6 D1.5°R0.1%3.87d1.465°6"D4*50L 6
#® 8 D1.5*R0.1*3.8"d1.465*8*D4*50L D1.5*R0.1*3.8%d1 465*8*D4"50L 8
gﬁ D1.5"R0.1*3.8"d1.465"10"D4™50L 10 D1.5"R0.1*3.8"d1.46510*D4*50L 10
10 | D1.5°R0.173.8°1.465°12°D4"50L 12 D1.5°R0.1*3.8"d1.465*12°D4*50L 12
915 RO.1 38 1.465 4 50 P1.5 RO 38 1.465 4 30
D1.5"R0.1*3.8%d1.465"14*D4*50L 14 D1.5*R0.1*3.8"d1.465"14"D4*50L 14
D1.5°R0.173.8d1.465"16D4"50L 16 D1.57R0.173 8d1.465"16"D450L 16 ;
D1.5°R0.173.8°01.465"18"D4"50L 18 D1.57R0.173 841 465" 18°D4*50L 18 : Bk
D1.5"R0.1*3.8"d1.465°20°D4"50L 20 D1.5°R0.173.8%d1.465*20°D4*50L 20 71
" D2*R0.1%5%d1.96"8"D4750L 8 D2*R0.1*5%d1 968" D4*50L 8 .
3 D2'RO. 1°5%1 96"10°D4"50L 10 D2°R0.1°5°d1,96*10*D4°50L 10 -3
D2*R0.1*5"d1.96"12*D4*50L 12 D2*R0.1"5"d1.96"12"D4*50L 12
D2’R0.1*5%d1,96*14*D4*50L 92.0 RO.1 5 196 14 4 50 D2°R0.175%d1.96714°D4-50L 92,0 RO 5 1.96 14 4 50
D2*R0.1*5*d1.96*16*D4"50L 16 D2*R0.1*5*d1.96*16*D4*50L 16 AT
D2*R0.1*5"d1.96*18*D4"50L 18 D2"R0.1"5*d1.96"18"D4"50L 18 z i
D2*R0.1*5%d1.96°20°D4*50L 20 D2*R0.1*5%d1.96"20"D4*50L 20 =
a D3*R0.1*7.5%d2.95*10*D6"50L 10 D3*R0.1*7 5*d2 95*10*DE*50L 10
i D3"R0.1°7 5742 95°12"D6*50L 12 D3"R0.1°7 542 95"12*D6"50L 12
H D3*R0.177.5742.95"14°D650L 14 D3*R0.177 5°d2.95"14* D6*50L 14
@3 RO.1 75 295 ] 50 P33 RO f 1 ] 295 i} 30
D3"R0.1*7 5"d2 9516 DE"50L 16 D3"R0.1*7.5"d2 95"16"D6™50L 16
'_:] ; D3*R0.177 5742.95718°D650L 18 D3*R0.177 572 95°18°D6*50L 18 7
i D3*R0.1°7 5742.95"20°D650L 20 D3*R0.1*7 57d2 95°20°D6"50L 20 1
Ccoo08 Ccoo9



W] (‘i} GRAND TOOLS

Thread Milling

1 E # YZA-2101 BFBRIBNET] W - B
- YZA-2101 Single Tooth Thread milling For Aluminum

B=ITHE W E45t)) ’ ’ |
Thread Milling ’

Fi72 8 Technology Parameters

ROAMERES (BERe / c8A)
#TREEA | B2RIAR | B2RIRA | @ER aEs | @ FaE /58 = ] wRa
Carban Steed Ay Stesi Aoy Steel Hardened Hartened e Staniess Copper Titanium s Heat Feeistant
Aboy Sleel Tool Stee! | Tool Sheed ) Gieel Sleel el Alumnum Asoy Baenl
5450 S50C.5CM | 545C SKT.SKD 545C.SKT SKD | SKTSKD SKT.SKD FOFCD SUSH4
HRC<C20 | HRC<I20-30 HRC<:30-40 | HRC=45-66 | HRC< 65-60
-
Bl 103 Jie A1 A Wi Bk J18 5 30 o 1 MEAL VLR
{Specification) {d)y (L1) (m (L) (F) Free space Basic hole
MO.8%0.2 0.55 2 4 0 3 0.34 0.6
MO.9%0.225 0.6 2 ] 0 3 037 0.675
M1+0.25 0T 23 4 50 3 0.43 0.75
M12015 0.0z 4 50 3 0.62 0.05
M14%03 105 32 1 50 3 0.64 11
M1.6+0.35 12 3s f 0 3 0.60 125
M2*0.4 154 6 4 0 a 0.9 16
M2.5+0.45 196 75 i 50 3 125 205
M3*0.5 24 o 4 50 3 155 25
Ma*0T 315 12 4 50 3 1.03 a3
M540.8 305 12 1 0 1 222 12
M08 1 12 s 50 3 243 12
M6*1.0 475 15 5 50 3 208 s
ME*125 5.9 20 6 0 3 a7 6.75
M10%1.5 790 23 8 60 6 190 55
MI2*1.75 0o 30 10 75 6 696 10.25
M14#2.0 00 30 10 75 3 6.96 12
M16°2.0 110 35 12 75 5 84 1
MI18+2.5 14 a0 1 100 5 5.0 155
M22%3.0 16 I 16 100 5 11 19
M30%6.0 19.9 50 20 110 [ 14 24
ML6*0.35 12 a5 4 75 3 1.25
| 2v0a 1.54 3 4 s 3 16
é\’(‘:'ﬂ.-‘ 1:5-'; 4.5 4 100 3 'I.--ﬁ
M2.540,45 1.96 7.5 4 75 3 2.05
M2.5%0.45 1.96 6.5 4 100 3 205
M3*0.5 24 9 4 75 3 2.5
4 f
4 3
it n 3 33
M5*0.5 4 13 5 75 4 2
M5%0.8 4 13 6 100 4 42
M6*1.0 475 15 6 75 4 5
M6*1.0 475 15 6 100 4 s
ME*1.25 59 20 s 75 4 675
Mg*1.25 59 25 5 100 a 675
M10%1.5 70 35 8 s 6 85 ;
M10%1.5 70 35 8 100 6 55
MI12*1.75 9.9 35 10 100 6 7.18 10.25
M16%2.0 12 35 12 100 G 5.56 14

Doo2



BUILD IT SMARTER 1

C’} GRAND TOOLS | IB&#T] By

{Zy oranp To0is

Thread Milling Thread Milling
# YZA-2103 =F B RBNHtT] # YZA-2103 =FBREBYHET]
YZA-2103 Three Teeth Thread Milling For Aluminum YZA-2103 Three Teeth Thread Milling For Aluminum -
_ ! . | _ A . "
& B (53 ke
H Z 8/ Technology Parameters LA Bl e 1M 28/ Technology Parameters Sl {Q*:’
E ENHEBEE (RERe  EM) | ETEHEEEE (REEe  oERE) ]
By WERGER | SEB/IAE | G2R/IAA | ARR AR B FEA I e ] wHE WRASEH | SSA/IAE | S2AIRR | @RS wAR il THR %/8 Heg & wRA
ot Camen Stesy Aoy Stest Aoy Siesd Hardened Hardened i StEinkss Copper Thanium ey Heal Resstart Cartor Steed Ay Steed Ay Stes Hargened Harsenee ik Sakikss Copper Thtarism S| Feal Resistant
b Doy Stesl Tool Stesl Toai Steel Sheel Stesd Stest ARNTHAT Ady Stesd Alioy Slesd Tool Siesl Took Stesl Sneel Saeel Seel ARTENUM Al Slesd
;] 545C 350C_SCM B45C SKT.5KD S45C 5K SHD BKT.SKD SKT_SKD FOIFCD SUS304 - - = - | S45C.350C.5CM SA3CSKT SKD B45C SKT 5D SKT.SKD SKT SKD FOFCD SUSI04 - - = : |
HRC<20 HRC<20-30 HRC<30-40 HRC45-55 HRC<55-80 - - - - - - | HRC20 HRC<20-30 HRC<3040 HRC<45-55 HRC< 5560 - - - - - - ]
| . - |
Leled =1 @ Eik A7 Fe e J1 ¥ Wi g AN | LTI <1 5 J]# i i 5 : 5
E (speciications | <) @ an @ ™ 3 || B || S e AE [ ANAR | V& " REC R | mnE
lir e, = = = - = - o = M1*0.25 0.25 0.73 23 3 4 75 0.34 0.75
o M1.2%0.25 0.25 092 33 3 4 50 0.55 0.95 g : 2 i & :
” M1 4%0 3 03 1.0% 39 3 a4 =0 06 11 M1.4*0.3 0.3 1.05 32 3 4 75 0.64 1.1
M1.6%0.35 0.35 1.21 3.5 3 4 50 0.63 1.25 M1.6%0.35 0.35 12 5 3 4 100 0.68 1.25
M1.8%0.35 0.35 1.4 4 3 4 50 0.93 1.45 M2%0.4 0.4 154 6 3 4 75 1.03 1.6
Lo L 54 45 2 e 20 ong 15 M2%0.4 0.4 1.54 5 3 4 100 092 16
M22%0.45 045 1.65 5 3 4 30 0.94 1.75 .
M2.5%0.45 0.45 1.96 5.5 3 4 50 1.15 2.05 N2 hAS B 1 6 3 : i LH Flic
M3*0.5 0.5 242 < 3 4 50 1.54 25 M2.5%0.45 0.45 1.96 T 3 4 100 124 2.05
M3.5%0.6 0.6 275 9 3 4 S50 1.9 2.0 M3*(0.5 0.5 24 7.5 3 4 75 1.5 2.5
M4*0.5 05 34 g 3 4 50 247 35 M3#0.5 0.5 24 9 3 4 100 1.58 2:5
M4*0.7 0.7 3.15 8.8 3 4 50 1.97 33 N420.7 0.7 3.15 10 3 4 75 2.08 33
M4.5%0.75 0.75 3.5 11 3 4 50 2.5 3.75 NAYO7 o7 315 0 3 2 100 21 33
M5*0.5 0.5 39 8 3 4 50 298 45 v i p 7 p 5 5 586 e
MS5*0.75 0.42 39 B 3 4 50 247 425 - - - = — -
M5%0.8 0.8 3.95 12 3 4 50 2.64 4.2 M6*1.0 1 4.75 15 4 6 75 346 5
M6*0.5 0.5 4.8 13 3 6 50 42 5.5 M6*1.0 1 475 15 4 6 100 33 5
L g.72 > = 2 & 2 = 2 M8*1.25 1.25 5.9 20 3 6 75 4.18 6.75
M6*1.0 1 3.95 14 3 4 50 246 5
NLELD 1 e o 3 = 0 i = ME*1.25 1.25 50 20 3 6 100 411 6.75
G MS'0.75 075 S0s =0 3 P =0 270 23 M10*1.5 1.5 7.9 30 5 8 100 5.83 8.5 e
a ME*1.0 1 5o >0 3 P 60 15 P MI12*P1.75 1.75 9.9 35 s 10 100 8.5 135 iy
MB*0.5 0.5 6 16 4 6 50 5.06 7.5 MI1GF2.0 2 119 32 5 12 100 9.07 14
M8*1.25 1.25 595 17.5 3 5 60 3.81 6.75 =
M10%1.0 1 7.9 21 4 8 60 6.5 9 : 48
MI10*1.25 1.25 8 21 4 82 &0 6.15 875 :.l";
M10*1.5 1.5 7.9 22 4 8 60 5.82 8.5 e
M10%1.5 1.5 82 25 4 10 75 6.07 8.5 i
I 2 MI12*1.0 1 9.9 30 4 10 75 8.36 11 13
B’ M12°1.5 1.5 9.9 30 4 10 75 7.8 10.5 &
J1: M12*%1.25 1.25 9.9 30 4 10 75 2.4 10.75 =7
H M12*#1.75 1.75 9.9 28 4 10 75 7.59 10.25 L
MI14*2.0 2 9.9 28 4 10 WD 6.99 12
71 MI1G6*1.5 1.5 119 30 4 12 75 9.72 4.5 7
T M16°2.0 2 11.9 35 4 12 75 8.99 14 - il
C | |M22025 2.5 15.9 50 [ 16 100 12.36 19.5
M24%3.0 3 159 50 6 16 100 11.77 21 —_—
M24#3.5 35 159 50 6 16 100 11.15 20.5

D003 Doo4



{ZyoranpTo0is | mswin i) | {7y oravo 1001

Thread Milling Thread Milling

#YZA-2100 £5F B ARNHT)

YZA-2100 Full Teeth Thread Milling For Aluminum

#YZA-2100 £5FBRERNBET]

YZA-2100 Full Teeth Thread Milling For Aluminum

1k

alalzlo 2N
39 7 K57 K84 (39

Em#ﬂf Technology Parameters

b e Technology Parameters

E EAHEREE (REHe / oEE) | HETHHEERE (REHe  #ER) |
i & BEE/CEE | 828/ THE | 828/ IAA HEE EEE ig TR e BHEE ® wmHE HERS2R | SSR/IAE | S2RIRE HmES HEE i FESR /e was ® mER
s & Camen Steey Aoy Sigel Aloy Siee| Hargened Hargened Stainkess Copper Teanum Heal Resktant Carbon Steel Alloy Steet Aday Steel Hangened Hardenag Sakiiess Copper Titanum Heal Resstant
bt oy St ool See Tool Stest S Steet e steel Alinum Ay iz Siest Alioy Stest Tool S ook sl B Seel ingisiic S At Ay Lol Steel
7] B45C 3H0C 5CM S45C KT SKD S45C.5KT KD SKT.SKD SKT. 5D FCFCD US04 - - - - B45C,350C.50M F43C SKT SKD B45C 5KT SKD SKT.SKD SKT.5KD FOFCD BUSIGL - - = : j
HRC=20 HRC 20-30 HRAC 30-40 HRC=45-55 HRC-I55-80 = - - - - - | HRC-I 30 HRCC20-30 HRC= 3040 HRC=C 4555 HRC 5560 - = - & - - ]
. | . | |
CryT Nie it AT RORIE Bl NE KA T A B Nie Wit K N Bk Nk KeAL T
(Specification) d) D) @1 [19] (F) Basic hole (Specification) ) D) (L1) [15] (F) Basic hole
f M1.6*0.35%d1.2°D4 12 1 3.4 50 3 1.25 M1420.5-d12-D12 12 12 30 75 4 13.5 B
P M2*0.4-d1.54-D4 1.54 4 6 50 it 1.6 M14%1 0-d11.9*D12 119 12 30 75 4 13 5 .";
7i 342.570.45-d1.96-D4 196 4 & 56 3 2465 M14%1.0-311.9°D12 118 12 3z 80 4 13 7]
M3%0.5-d2.4-D4. 24 4 6.5 50 4 2.5 (M14%1.5-d11.9-D10 9.9 10 25 75 4 125
M3.5%0.6%d2.75*D4 275 4 8.5 50 ] 29 M14*1.5%d11.2*D12 11.2 12 30 73 4 12.5
M4#0.5-d3-D4 3 4 8 50 3 35 M14*2.0-d9.9-D10 9.9 10 30 73 4 12
M4#0.7-d3.15-D4 3.15 4 10 50 ] 33 M14%2.0-d11.2-D12 11.2 12 30 73 4 12
M4.5%0.75-d3.4-D4 34 4 9 50 3 375 M16*1.5-d11.9-D12 11.9 12 22 75 4 14.5
M5*0.5-43.9-D4 39 4 12 S0 3 4.5 MIl16*1.5-d12-D12 12 12 30 75 4 14.5
M5#0.8-d3.9-D4 3.95 4 12 50 z) 42 M16%1.5-d11.9-D12 11.9 12 36 80 4 14.5
M5*0.8-43.9-Do 39 6 13 50 2 42 M16%1.5-d13.9-D14 139 14 33 83 4 14.5
M6*0.5-14.8-D6 4.8 6 13 50 3 5.5 M16%*2-d12-D12 12 12 30 75 4 14
M6*0.75-d3.9-D4 19 4 12 30 3 525 M16%2.0-d12*D12 12 12 Kh 80 4 14
M6%0.75-d4.8-D6 5 5] 17 60 3 F:23 (M18*2 0-d13.9-D14 139 14 33 100 5 16
M6*d1.0-d3.9-D4 39 4 12 50 <] 5 M18*2.5-113.9-D14 13.9 14 32 100 2 13.5
M6*d1.0-4.75-D6 4.75 6 13 50 3 ] M20%1.5-d15.95-D16 16 16 40 100 4 14.5
M8*0.5-06.0-D6 59 5 15 60 3 7.5 M20%2.0*d16-D16 16 16 40 100 4 18
MEg*0.75-d5.9-D6 595 6 15 50 3 725 M22*1.0*-d16-D16 16 16 40 100 o 15
M§*1.0-d5.9-D6 5.95 6 15 50 3 ] M22%2.0-d16.0-D16 16 16 40 100 3 20
ME*1.25-d5.9-D6 59 6 20 60 3 6.75 M22%2 5-d15.9.0-D16 159 16 40 100 - 19.5
i M10%0.5-d7.9-D8 7.9 8 20 65 4 9.5 M24#3.0-d15.9-Dl6 15.9 16 40 100 4 21 i5
M10*0.75-d7.9-D8 79 8 22 65 3 9.25 (M30*d16*P3.5*D16 16 16 40 100 s 26.5 %
M10*d1.0-d7.9-D§ 79 g 20 65 4 9 D20*P2.0*d20-D20 20 20 40 100 5 18
| [M10%125-d7.7-Dg 79 8 20 65 3 8.75 D20%P4.0%d20-D20 20 20 10 100 5 16
,'; M10*1.5-d7.7-D8 77 8 22 65 4 835 D16%1.25*D16 16 16 40 100 4 f
7 M12*0.5-d9.9-D10 99 10 20 e 3 11.5
ki M12*0.75-d9.95-D10 9.95 10 20 75 4 11.25 i
| IM12*1.0-d9.9-D10 2.9 10 20 65 4 11
M12%1.0-49.9-D10 99 10 28 75 4 11 I
M12%1.25-49.9-D10 9.9 10 as 75 4 10.75 En
M1271 5-d9.4-D10 94 10 24 75 4 10.5 e
M12*1.5-d9.9-D10 29 10 20 63 4 10.5 =
nt MI12%1.75-d9.5-D10 9.5 10 i 735 4 10.25 i
u

D005 Doo6



C,j GRAND TOOLS | &%)

Thread Milling

BN

Thread Milling

&)

GRAND TOOLS

BUILD IT SMARTER

# YZA-2105 90° LTHEImIEA

YZA-2105 Upper And Lower Chamfering Milling For Aluminum o

—————»

—
o 3

L

b e Technology Parameters

E EUHHEEEE (REEs / oEE)
& ¥RECER | SR/ TIAE | SR IREAE £ =1 AEE i FES #wE BEE iR FRE
'_I .1 & Steel Tool Steal Tool Stest Stest Stest Sesd Ao E’ Seel
g ] 54%C 300 SCHM B45C 5KT SKD B4%C SKT SKD SKT.SKD KT SKD FCIFCD SUS30d -
t“' | HRCI20 HRC20-30 HAC<30-40 HAC 4555 HAC<55-60 -
g BURE Wiz B DIk
1}: (Specification) (L) (D) (L) (F)
l,ﬁ, : D3.0"9*D4*50L*3T 9 4 50 o
" D3.5*10.5*D4*50L*3T 105 4 50 3
f’- ?"'l £ D4.0*12*D4*50L*3T 12 4 50 3
% D4.5*13 5*D6*50L*3T 135 6 50 5
D5*15*D6*50L*3T 15 6 50 <]
D5.5*16.5*D6™60L*3T 16.5 6 60 4
D6.0*18*D6*60L*3T 18 6 60 3
D8.0*24*D8*65L*4T 24 8 65 4
D10.0%34*D10*75L*5T 34 10 75 5
D12.0%42*D12*83L75T 42 12 a3 5

LTE

Doo7

#YZP-3101 R RABTIHHREE

YZP-3101 Single Tooth Thread milling For Copper Color |.L—1.

Em #w Technology Parameters

BUSHBES (RS / cBE)
BER/SEE | SSAIRE | SR INR fHEE MR Wi BRG] we wad 8 mana
Carbon Sieel Aoy Sieal Aboy Stoel Haroaned Haggened astion Stainess Copper Titasium Micket Heat Resistant
L Ay Steel Tl Steed Tool Steed. Sleel Steel Steel AUt Adoy Seal
‘5480 S50C SCM B45C 5KT, SKD B45C 5KT SKD BKT SKD BKT ZKD FOIFCD 5US304 - ~
HRC 20 HRC=20-30 HACC 3040 HAC 45-05 HAC= A5G0 = ¥
- - . - o o ° -] o
155 MR S A1 TR IE Hie 0k EiL -3 B MEFLTLEE
(Specification) (d) (L1) () Ly (F) Free space Basic hale
M0.8*0.2 0.55 2 4 50 3 034 0.6
M0.9%0.225 0.6 2 4 50 3 037 0.675
M1*0.25 0.73 23 4 S0 3 042 0.75
M1.2%0.25 092 3 4 50 3 0.61 0.95
M1.4%03 1.05 33 4 S0 3 0.64 11
M1.6%0.35 12 35 4 50 3 0.61 125
M2%0.4 154 6 4 50 E] 087 L6
M2.5%0.45 1.96 7.5 4 50 3 125 205
M3*0.5 24 9 4 50 3 1.56 2.5
M420.7 315 12 4 50 3 2.03 a3
M5%0.8 3.05 12 4 S0 4 212 42
M5%0.8 4 12 6 50 3 2.69 42
MG*1.0 4.75 15 6 50 3 296 5
M§*1.25 5.9 20 6 60 3 4.05 6.75
M10%1S 7.9 25 8 60 6 A% 8.5
M1271.75 9.9 30 10 75 & 7.15 10.25
M14*20 9.9 30 10 75 6 715 12
M1642.0 119 35 12 75 5 8.65 14
M18*2 5 14 40 14 100 5 80 155
M22%3.0 16 45 16 100 5 1 19
M30*6.0 19.9 50 20 110 6 14 24
M1.6%0.35 12 3.5 4 75 3 072 125
M2%0.4 154 6 4 75 3 0.96 1.6
M2%0.4 1.54 4.5 4 100 3 0.89 1.6
M2.5%0.45 1.96 7.5 4 75 3 1.23 2.05
M2.5%0.45 1.96 6.5 4 100 3 125 | 2.05
M3#0.5 24 9 4 75 3 1.61 25
M3*0.5 24 75 4 100 E) 1.74 a5
M4%0.7 315 12 4 75 3 208 33
M4*0.7 313 10 4 100 3 211 | 33
M5*0.8 4 13 6 75 4 202 42
M5%0.8 4 13 6 100 4 288 4.2
M6* 1.0 4.75 15 [ 75 4 332 3
M6* 1.0 4.75 15 6 100 4 3.02 5
ME*1.25 5.9 20 6 75 4 4.08 6.7%
M8*125 5.9 25 6 100 4 411 675
M10%1.5 79 25 g 75 6 547 8.5
MI10*LS 79 25 8§ 100 6 5.55 85
M12%1.75 9.9 35 10 100 6 7.14 10.25
M16%2.0 12 35 12 100 6 8.64 14

S i@

et

Doos



{Zyoranptoois | mawn ez | {77y oran Toors
Thread Milling Thread Milling
#YZP-3103 =B NHRHE # YZP-3103 =FBAUBNHEE
YZP-3103 Three Teeth Thread Milling For Copper Color YZP-3103 Three Teeth Thread Milling For Copper Color
L1
B —— - B — -
-aI E%T‘:; a {iﬂ i=] a
| o
\ [ L ﬁ I |
» N
i = = ] -
(i;j\l {J}} sy (?? ((?9 \6\},
F Z 8/ Technology Parameters = B - i M2 8/ Technology Parameters S =
¥ EUMEERRE (REHe | cBH) WIANEEES (RERe  GHE) |
JiE & HER/A2E | e IRE | s2wTAR | EHE BEE 2 EE Wi Has & [ WEWAER | a2RIRE | s2R/IRE | MBS T ] e i e E] EET ]
& B ‘Carbon Stesl Aty Stest Aoy Stesl Hardened Hardened e Stainiess Copper Tranium e Heal Resstant Carbon Sieeld Ak Steed Ak Stees Hardened Hardened e Staniess Copper Thankm ek et Aesstant
- Aoy Steed ‘Tool Steel ‘Took Sizel Steel Shesl Eleel Aluminum Ay Siesl Alloy Steed Tool Eteel Tool Steal Stes Etewl Slesl Adgmunum Aoy Steel
ﬂ S45C 5500, 5CM 450 SKT D S45C SKT SKD SHT.SKD SKT.SKD FOFCD SUSI0L - B45C S50C.5CM $45C SKT 56D SASC SKT SKD BKT.SKD SKT.SKOD FCFCD SUSHL -
o HRCC20 HRC=20-30 HRC<C30~40 HRC<45~55 HRG< 5560 - - HRC<20 HRC<20-30 HRC<30~40 HRC< 4555 HRC< 5560 - -
Er T . . . . & 4 o a @ | . . . » o a o o a J
5 A Pk A RN J) ¥ e BE A | MEfLEIEE iR RO 5 4 Feiw J1% Wife M Bk | AL
(Specification) (1p) @ @y ® @) @ Freespace | Basic hole (Specification) (Tp) @ @y ® ™) ® Freespace | Basic hole -
M1%0.25 0.25 0.73 23 3 4 50 0.4 0.75 M1*025 TR = = = 5 = B e 3
M1.2%0.25 0.25 0.92 3.3 3 4 50 0.55 0.95 P
M1 4%0 3 02 105 3 2 a =0 06 11 M1.4%0.3 0.3 1.05 32 3 4 75 0.64 1.1 n
M1.6%0.35 035 1.21 35 £ 4 s0 0.63 125 M1.6*0.35 0.35 2 5 3 4 100 0.68 1.25
MI1.8%0.35 0.35 1.4 4 3 4 50 0.93 1.45 M2%0.4 0.4 1.54 6 3 4 75 1.03 1.6
M2#0.4 0.4 1.54 4.5 3 4 50 0.88 1.6 M2*0.4 0.4 1.54 5 4 4 100 092 1.6
:ﬁi:g:g g:; i;: 555 ; L ;g ‘1”1’; i;f M2.5%0.45 0.45 1.96 6 3 4 75 1.17 2.05
— = = - - = D #, -
M3°0.5 05 242 = 3 e s0 154 25 M2.5%0.45 045 1.96 1.5 3 4 100 1.24 2.05
M3.5%0.6 0.6 275 9 3 1 50 1.9 2.9 M3*0.5 0.5 24 7.5 3 4 75 1.5 2.5 5
M4*0.5 0.5 3.4 8 3 4 50 2.47 3.5 M3*0.5 {1 24 9 3 4 100 1.58 ] }:]
M4*0.7 0.7 3.15 a8 3 4 50 1.97 3.3 M4*0.7 0.7 3.15 10 3 4 75 2.08 33
M4.5%0.75 Q.75 3.5 11 3 4 50 2.5 BTS M4*0.7 T 3.15 10 3 4 100 i 33
.
M5%0.5 0.5 3.9 8 3 4 50 2.98 4.5 o e 4 15 m 6 == 289 5
M5*0.75 0.42 3.9 s 3 4 50 2.47 4.25
M50.8 08 1 12 3 5 50 254 12 M5*0.8 0.8 4 15 4 6 100 277 42
M5%0.8 08 305 12 3 4 50 2.64 42 M6%1.0 1 4.75 15 4 6 75 346 3
M6%0.5 0.5 4.8 13 3 6 50 4.2 5.5 M6*1.0 1 4.75 15 4 6 100 He 5
M6%0.75 0.75 3 13 3 6 50 3.77 5.25 ME8*1 .25 1.25 5.0 20 3 6 75 4.18 6.75
x::i-g : ii: :‘_" 3 : :g j‘:‘; i M§*1.25 1.25 5.9 20 3 6 100 4.11 6.75
: L = = : : “15 5 5
ik MS*0.75 0.75 5.95 20 a 6 50 3.79 7.25 MI0%1.3 14 79 30 3 $ 0 583 8.3 &
= ME*1.0 1 59 20 3 P 50 4.5 6 MI12*P1.75 1.75 99 35 5 10 100 8.5 135 L
MB*0.5 0.5 6 16 4 6 50 5.06 7.5 M16*2.0 2 11.9 32 3 12 100 9.07 14
| [Ms*125 1.25 5,95 17.5 3 6 60 3.81 6.75 3
E | |M10%1.0 1 7.9 21 4 8 60 6.5 9 pes
- M10*1.25 1.25 8 21 4 8 60 6.15 8.75 -7
= MI10*1.5 1.5 7.9 22 4 8 60 5.82 8.5 3L
— [M10*15 1.5 8.2 25 4 10 75 6.07 8.5
i | [M12*1.0 1 9.9 30 4 10 75 8.36 11 i
M12*1.5 1.5 2.9 30 4 10 75 7.8 10.5 =
N | [mzezs 125 99 30 4 10 75 84 10.75 24
' M12%1 75 1.75 0.9 28 4 10 75 7.59 1025 :
M14*2.0 2 9.9 28 4 10 75 6.99 12
710 | |M16*1.5 1.5 11.9 30 4 12 75 9.72 4.5 71
| |Mis*2.0 2 11.9 35 4 12 75 8.99 14 : H
NM22*2 5 2.5 159 50 6 16 100 12.36 19.5
M24%3.0 3 15.0 50 6 16 100 11.77 21
IM24*3.5 35 159 50 [ 16 100 11.15 205
D009 Do10



<

GRAND TOOLS

BUILD IT SMARTER

B

Thread Milling

B

Thread Milling

S

GRAND TOOLS

BUILD IT SMARTER

#YZP-3100 £ BByt

YZP-3100 Full Teeth Thread Milling For Copper Color

$7R 2 8 Technology Parameters

# YZP-3100 255 e R8ksF 7]

YZP-3100 Full Teeth Thread Milling For Copper Color

Em#ﬂf Technology Parameters

el BUARERAE (RAMe | oBE)
& 4 HER/A2E | SRR/ IRE | s20/TAA BEE BEE B rnE W #as & i i
mi| [BEEe i ee e e e T B e ] e |
ﬂ $45C 5500 5CM 450 3KT D S45C SKT SKD SHT.SKD SKT.SKD FOFCD SUSI0L
:_\' HRCC20 HRC=20-30 HRC<C30~40 HRC<45~55 HRG< 5560 - -
5 - - L ] - o a o o o
JiE S Mk J¥ kate AT B Bic 9% hEALYLEe
(Specification) () [11)] (L1) (L) (F) Basic hole
3 MI1.6%0.35%d1.2*D4 12 4 34 50 3 1.25
e (M2#0.4-d1.54-D4 1.54 4 6 50 3 1.6
71 M2.5%0.45-41.96-D4 1.96 4 5 =0 & 208
M3#0.5-d2.4-D4 24 4 6.5 50 3 2.5
M3.5%0.64d2.75*D4 2.75 4 8.5 50 3 29
M4*0.5-d3-D4 3 4 8 50 3 35
M4*0.7-d3.15-D4 3.15 4 10 50 3 33
M4.5%0.75-d3.4-D4 34 4 9 50 3 375
M5*0.5-d3.9-D4 39 4 12 50 3 4.5
M5*0.8-d3.9-D4 3.95 4 12 50 3 4.2
MS5*0.8-d3.9-Ds 39 6 13 50 3 42
M6*0.5-d4.8-D6 48 6 13 50 3 35
M6*0.75-d3.9-D4 39 4 12 50 3 23
M6*0.75-d4.8-D6 & 6 17 60 3 25
M6*d1.0-d3.9-D4 39 4 12 50 3 5
M6*d1.0-4.75-D6 4.75 6 13 50 3 5
MB8*0.5-d6.0-D6 59 6 16 60 3 7.5
MB*0.75-d5.9-D6 5.95 6 15 50 3 725
M8*1.0-d5.9-D6 5.95 6 15 50 3 7
MB8*1.25-d5.9-D6 59 6 20 60 3 6.75
M10*0.5-d7.9-D§ 79 8 20 63 4 9.5
M10*0.75-d7.9-D8 79 8 22 65 3 9.25
M10*d1.0-d7.9-D8 79 8 20 63 4 9
M10*1.25-d7.7-D8 79 8 20 65 3 8.75
M10*1.5-d7.7-D§ P& 8 22 65 4 8.5
M12*0.5-d9.9-D10 99 10 20 75 3 115
M12%0.75-49.95-D10 9.95 10 20 75 4 1125
M12#1.0-49.9-D10 99 10 20 65 4 11
M12%1.0-d9.9-D10 99 10 28 75 4 11
M12%¥1.25-d9.9-D10 99 10 25 735 4 10.75
M12%1.5-d9.4-D10 9.4 10 24 75 4 10.5
T |M12%1.5-d9.9-D10 9.9 10 20 65 4 10.5
MI12*1.75-49.5-D10 9.5 10 25 75 4 10.25

DO11

BTIMHEERE (RBTe /o) T
WER/AZR | S2W/IRW | 22RIRE | WEE RER ET] R e ues Y nEE o
Cartan Sieel Ay Steet Aoy Stees Hardened Hansansd Stanless Copper Thaniam Heat Aesstant e
Alioy Stest Tool Eleel Tool Sleel el steel . ) Aumunum Aoy ! Steel B
BA5C S50 50M S45C ST 5D SA5C BKT 5K KT SKD SKT.SKD FCFCD SUSHL 7]
HRC<20 HRC<20~30 HRCC 3040 HRC< 4555 HRCS5-60 = = ;
. . . . o o a | a a J
RS AR DIk ke A1 Ak N 48 S 1% hEfLFLRE
(Specification) ()] (13)] (L1) (18] F) Basic hole
M14#0.5-d12-D12 12 12 30 75 4 13.5 B
M14*1.0-d11.9°D12 119 12 30 75 4 13 P
Mi4*1.0-d11.9°D12 119 12 32 20 4 13 3
M14+1.5-d11.9-D10 9.9 10 25 75 4 125
M14*1.5*d11.2*°D12 112 12 30 75 4 125
M14#2.0-d9.9-D10 9.9 10 30 75 4 12
M14#2.0-d11.2-D12 11.2 12 30 75 4 12
MI16*1.5-d11.9-D12 11.9 12 22 a5 4 14.5
M16°1.5-12-D12 12 12 30 75 4 145
MI16*1.5-d11.9-DI2 119 12 36 30 4 143
M16*1.5-d13.9-D14 139 14 33 83 4 14.5
M16*2-d12-D12 12 12 30 75 4 14
M16°2.0-d12*D12 12 12 35 80 4 14
M1872.0-d13.9-D14 139 14 33 100 5 16
M16§*2.5-d13.9-D14 139 14 32 100 5 13.5
M20*1.5-d15.95-D16 16 16 40 100 4 145
M20*2.0*d16-D16 16 16 40 100 5 18
M22¥1.0*-d16-D16 16 16 40 100 3 15
M22*2.0-d16.0-D16 16 16 40 100 5 20
M22#2.5-d15.9.0-D16 159 16 40 100 5 19.5
M243.0-d15.9-D16 15.9 16 40 100 4 21 %
M30*d16*P3.5°D16 16 16 40 100 5 26.5 %
20%P2.0020-D20 20 20 40 100 5 18
D20*P4.0*d20-D20 20 20 40 100 s 16 [—
DI16°1.25°D16 16 16 40 100 4 / o
7
£
n
=
=7
1
7
il
Do12




=

GRAND TOOLS

BUILD IT SMARTER

B

Thread Milling

B

Thread Milling

GRAND TOOLS

BUILD IT SMARTER

# YZP-3105 90E L THEIANWSREE

YZP-3105 Upper And Lower Chamfering Milling For Copper Color

- |l
/69
Eﬂ@w Technology Parameters -
T EUMHEREE (BEHe / c8H)
& & BERLSE | A2R/TRE | SR/ IRE HHEE HEE &M E ] #/8 SaE # e
Gl o S e el (e P e = = O
I—] S45C S50C, 50 B45C. KT D S45C ST, 55D SKT.SKD SKT.SKD FOFCD SUSI04 + <
A BHERE Wiz B NH
(Specification) (K] (D) (L) (F)
D3.0*9*D4*50L*3T 9 4 50 3
D3.5%10.5*D4*50L*3T 105 4 50 3
D4.0*12*D4*50L*3T 12 4 50 2
D4.5%13.5"D6"50L*3T 135 6 50 3
D5*15*D6"50L*3T 15 6 50 3
D5.5"16.5*D6"60L*3T 16.5 6 60 3
D6.0*18*D6*60L*3T 18 6 60 3
D8.0*24*D8"65L*4T 24 8 65 4
D10.0*34*D10*75L*5T 34 10 75 5
D12.0"42*D12*83L*5T 42 12 83 5

D013

# YZP-4101 2 BAHRTIRE

YZP-4101 Single Thread Milling For Black

Em#m Technology Parameters

FEUHHERES (Rafe / clF)

ERREER | AR/ IAR | azRTRAR #HEHE AR w F /8 HEE & mRE
Carton Steel Aboy Siesl Aoy Sizel Hardened Wardened Cestion Staniess Copper Titanium wowal Heat Fesistant
Ay Stesl Tool Steed. Too Steei Sieed Sieed Sieed Alumium Asoy Ben
S45C 550C 50N 5450, 5KT.SKD S45C.5KT SKD SKT SKD SKT.SKD FOFCD SUSH4 - %
[ HRC<20 HRCZ20-30 HRC<30-40 HAC 45-86 HRC55-60 - - 2|
| - - L] - o o o L o
L B AN A7 s Hate £53 9 N B MEAL L
(Specification) (d) (L1) m [15] (F) Free space Basic hole
MO.8%0.2 0.55 2 4 50 3 0.34 0.6
MO.9*0.225 0.6 2 4 50 3 0.37 0,675
M1%0.25 0.73 23 4 50 3 043 0.75
M1.2#0.25 0.92 3 4 50 3 0.62 0.95
ML4%0.3 105 32 4 50 3 0.64 1.1
MIL.6*0.35 12 s 4 50 3 0.69 125
M2*0.4 1.54 6 4 50 3 0.9 1.6
M2.540.45 1.96 7.5 4 50 3 125 2.05
M3*0.5 24 9 4 50 3 1.5% 2.5
M4*0.7 3.15 12 4 50 3 1.93 3.3
MS*0.8 3.95 12 4 50 1 222 42
M5*0.8 4 12 6 50 3 243 42
M6*1.0 4.75 15 6 s 3 205 5
ME*1.25 5.9 20 6 60 3 3.74 675
M10*1.5 7.9 25 g 60 6 4.99 .5
MI2*1.75 9.9 30 10 75 & 6.96 10.25
M14*2.0 9.9 30 10 75 5 6.96 12
M16%42.0 1.9 35 12 75 5 8.4 14
M18*2.5 14 40 14 100 5 89 155
M2243.0 16 45 16 100 5 1 19
M30*6.0 19.9 50 20 110 6 14 24
M1.6%0.35 e 3.5 4 75 ! 0.72 1.25
M2%0.4 1.54 o 4 e 3 0.92 1.6
M2*0.4 1.54 4.5 4 100 3 0.89 1.6
M2.5%0.45 1.96 7.5 4 5 3 1.19 205
M2.5%0.45 1.96 6.5 4 100 3 1.25 2.05
M3*0.5 24 9 4 75 3 1.58 25
M3I*0.5 14 7.5 4 100 3 1.61 2.5
M4*0.7 3.15 12 4 75 3 2.11 3.3
MA*0.T 315 10 4 100 3 213 33
ME*0.8 4 i3 ] T3 4 202 42
M5*0.8 4 13 & 100 4 202 42
Mé&*1.0 478 15 6 75 4 332 5
M6*1.0 4.75 15 a 100 4 3.02 &
MB*1.25 -5 20 L] 5 4 4.08 6.75
MB*1.25 59 23 o 100 4 4.11 6.75
M10+1.5 7.0 25 & 7 6 547 8.5
MI10*1.5 7.9 28 g 100 6 558 8.5
M12#1.75 2.0 3% 10 100 & T8 10.25
M16+2.0 12 3z 12 100 & 2.56 14

D014



{7y oranpT00is | migsn msn | {7y rano roors

Thread Milling Thread Milling
# YZP-4103 =F a2 # YZP-4103 = 82U HtNBe
YZP-4103 Three Teeth Thread Milling For Black YZP-4103 Three Teeth Thread Milling For Black
--‘iﬂ fa)
& T - T J

Eﬂ@w Technology Parameters ﬁm?m Technology Parameters

ENMHEREE (REHe / cEH) | RUMNERES (BEEe / cBA)
BEEASH | R2R/IAE | c2WIRS | BHE HEE ] B s #as # maE | BEAEER | 22R/IRR | c2RIAE | #HR aEE w FER
Carbon Stesld By St Aoy Stesi Hardened Hardenest e Stainiess Copper Tranum iy Heai Resstant Carbon Steel! Aoy Stesi Aoy Sieel Hardened Hardened e Etainiess
Adoy Sired Tooi Sieel Tool Stee! Sheel Shenl Steel Alrminum Ay Sieed sy Sleel Tool Steed Tool Stesi Gieel Sleed Siezl
$45C, 550C,5CM B45C. KT D 45 SKT SxD SHT.SKD SKT.SKD FOFCD SUSI04 - SA5C S50C S0M 545C SKT.SKD 545C SKT SKD SKT SKD SKT 36D FOFCD SUSH4
HRC<20 HRCC20-30 HRC 3040 HRC-C45-56 HRC£5-50 - - < = = - .: [ HRC<Z20 HRC<I20-200 HRC<I30-40 HRC-45-66 HRC<65-60 - - i
. . . . o o | o o o | . . | . . o o @ o o
5 R PR Nae | AR PIET e ke | mEEAA | EAIER R PRo N | wEmm | o Wife B | Bk | R
{ Specification) (rp) (0] (L1) (F) Lo ) Free space Basic hole (Specification) (Tp) (0] (L) ) ) (1 5] Free space Basic hole
M1%0.25 0.25 0.73 25 3 14 50 0.4 0.75
M1.2%0.25 0.25 0.92 33 3 4 50 0.55 0.95 ML 02> L 25 2 J b L LD
T o5 TR 54 % i = e i1 M1.4%0.3 03 1.05 32 3 4 75 0.64 1.1 [’:
M1.6%0.35 0.35 1.21 35 3 4 50 0.63 1.25 M1.6%0.35 0.35 12 5 3 4 100 0.68 1.25
M1.8%0.35 0.35 1.4 4 3 4 50 0.93 1.45 M2*0.4 0.4 1.54 6 3 4 75 1.03 1.6
" sl L g g g i £ it itk M2*0.4 04 1.54 5 3 4 100 092 L6
MEAN0AS g3 La2 2 2 3 =0 b 213 M2.5%0.45 0.45 1.96 6 3 4 75 117 2.05
M2.5%0.45 0.45 1.96 5.5 3 4 50 1.15 2.05 T T T T 5 > i = =
M3%0.5 0.5 2.42 7 3 4 50 1.54 2.5 SR : : - . s
M3 S*0.6 0.6 275 9 3 1 S50 19 20 M3*0.5 0.5 24 7.5 3 4 75 1:5 235
M4*0.5 05 34 8 3 4 50 2.47 35 M3*0.5 0.5 24 9 £ 4 100 1.58 HLEh]
M4*0.7 0.7 3.15 8.8 3 4 50 1.97 3.3 M4*0.7 0.7 3.15 10 3 4 75 208 33
M+4.5%0.75 0.75 3.5 11 3 4 50 2.5 3.75 MA*0.7 07 315 10 3 3 100 21 33
A0S 9.3 23 2 2 * 20 2.98 43 M5*0.8 08 4 15 4 5 75 289 42
M5*0.75 042 39 8 3 4 50 247 4.25
ST i A = 5 = = S 5 M5%0.8 0.8 4 15 4 6 100 gl 42
M5%0.8 0.8 305 12 3 4 50 2 64 4.2 M6*1.0 1 4.75 15 4 6 -] 346 5
M6*0.5 0.5 4.8 13 3 6 50 4.2 5.5 M6*1.0 1 475 15 4 [ 100 33 5
M6%0.75 0.75 5 13 3 6 50 3.97 5.25 M8*1.25 1.25 59 20 3 6 75 418 6.75
ﬂﬁi :ﬁ : i:z :: i : ig i:f : M§*1.25 1.25 5.9 20 3 6 100 4.11 6.75
ME*0.75 075 505 20 3 5 50 3.79 T7.25 M10*1.5 1.5 7.9 30 5 & 100 5.83 8.5
MS*1.0 1 5.9 20 3 e &0 45 5 M12*P1.75 1.75 9.9 35 5 10 100 8.5 135
M8*0.5 0.5 [ 16 4 6 50 5.06 7.5 M16*2.0 2 11.9 32 5 12 100 9.07 14
. M8§*1.25 1.25 5.95 17.5 3 6 60 3.81 6.75 -
0 i M10*1.0 1 79 21 4 8 60 6.5 9 3
7] M10%*1.25 1.25 2 21 4 8 60 615 B75 7
3 M10*1.5 1.5 7.9 22 4 8 60 5.82 8.5 F 3
M10*1.5 1.5 8.2 25 4 10 75 6.07 8.5 e
M12*1.0 1 99 30 4 10 ] B.36 11 2 1
M12*1.5 1.5 o9 30 4 10 5 78 10.5
M12#1.25 1.25 2.0 30 4 10 75 8.4 10.75
- M12*1.75 1.75 9.9 28 4 10 75 7.59 10.25 L
M14*2.0 2 9.9 28 4 10 i 65.99 12
71z MIG*1.5 1.5 11.9 30 4 12 73 972 4.5 i
i M16*2.0 2 11.9 3s 4 12 75 £.99 14 5 ¥il
M22%2.5 2.5 15.9 50 6 16 100 12.36 19.5
M24%3.0 3 15.0 50 6 16 100 1177 21
[M24%3.5 3.5 15.9 50 6 16 100 11.15 20.5

D015 D016



{2y oranp T00LS | ey

Thread Milling

B

Thread Milling

GRAND TOOLS

BUILD IT SMARTER

#YZP-4100 £FRBREHFT]

YZP-4100 Full Teeth Thread Milling For Black

He s/ Technology Parameters

e s

EUNHERAE (Rafe @)
BEAASE | SR/ TRE | AR IAE REE HEE W e #A/8 SaE " wEE |
Carbon Steslf Bllay Steed Bdoy Stest Hardened Hardened Casleon Stainkess Copper THanum Hicked ‘Heal Resstant
Adoy Sieed Tooi Sleel Tool Steel Seel Sesl Seel Alrinum Ay Stesi
$45C,550C.5CM S45C, 56T, 56D FA5C ST 5D SKT.5KD SKT.SKD FOFCD SUSI0L +
HRC<H0 HRCC 2030 HRCC J0-40 HRCC 4558 HRC< 8560 :
- L - - o o [ o
5 M e e AR $581S I B hEALITEE
(Specification) ) @) @1 (L) (F) Basic hole
MI.6*0.35%d1.2*D4 12 4 34 50 3 1.2
M220.4-d1.54-D4 154 4 6 50 3 16
M2.5%0.45-d1.96-D4 1.96 4 5 50 3 205
M320.5-42.4-Dd 2. 4 63 50 3 25
M3.5%0.6%d2.75°D4 275 4 8.5 50 3 29
M120.5-43-D4 3 4 8 50 3 3.5
M420.7-d3.15-D4 3.15 4 10 50 3 33
M4.5%0.75-d3.4-D4 34 4 9 50 3 375
M5°0.5-43.9-D4 39 4 12 50 3 4.5
M5°0.8-d43 9-D4 395 4 12 50 3 42
M5+0.8-43.9-D6 39 6 13 50 3 42
M670.5-44.8-D6 48 6 13 50 3 5.5
M6°0.75-43.9-D4 3.9 4 12 50 3 525
M6°0.75-04.8-D6 5 6 17 60 3 525
M6*d1.0-d3.9-D4 39 4 12 50 3 5
M6*d1.04.75-D6 475 6 13 50 3 5
M8*0.5-06.0-D6 59 6 16 60 3 7.5
M8#0.75-d5.9-D5 5.95 6 15 50 3 7.25
M8*1.0-45.9-D6 595 6 15 50 3 7
M8°125-45.9-D6 59 5 20 60 3 6.75
& M10%0.5-d7.9-D8 79 8 20 63 4 9.5
3 M10%0.75-d7.9-D8 7.9 8 2 65 3 925
M10%d1.0-d7.9-D8 7.9 8 20 65 4 9
- M10°1.25-7.7-D8 7.9 8 20 63 3 8.7
s M1071.5-d7.7-D8 7.7 8 22 63 4 85
P M12%0.5-d9.9-D10 9.9 10 20 75 3 115
9.7 | [M1270.75-49.95-D10 9.95 10 20 75 4 1125
M12%1.0-d9.9-D10 99 10 20 63 4 11
M12%1.0-d9.9-D10 9.9 10 28 75 4 11
M12%1.25-d9.9-D10 9.9 10 25 75 4 10.75
M12%1.5-d9.4-D10 9.4 10 24 75 4 10.5
e M1271.5.d9.9-D10 99 10 20 65 4 10.5
5 M12%1.75-49.5-D10 95 10 25 75 4 10.25
i
i
DO17

#YZP-4100 25 RBRAHFT)

YZP-4100 Full Teeth Thread Milling For Black

Hm 3&)‘ Technology Parameters

FUSRERES (REHe / clBA)
ERREER | AR/ IAR | azRTRAR #HEHE HAEE w F
e e i e B S
S45C 550C 50N 5450, 5KT.SKD 545C SKT SKD SKT SKD SKT.SKD FOFCD SUSH4
HRC<20 HRCZ20-30 HRC<30-40 HAC 45-86 HRC55-60 - - 2|
- - L] - o o o o
LT e Wit AR 13 N KeALIL#E
(Specification) (d) (D) (L1) (L) (F) Basic hole
M14%0.5-d12-D12 12 12 30 75 4 135
MI14*1.0-d11.9*D12 11.9 12 30 73 4 13
Mi4010d110%D12 11.9 12 32 80 4 13
M14*1.5-d11.9-D10 9.9 10 25 75 4 125
MI14%1.5%d11.2*D12 112 12 30 75 4 125
(M14*2.0-d49.9-D10 9.9 10 30 75 4 12
M14*2.0-d11.2-D12 11.2 12 30 75 4 12
M16%1.5-d11.9-D12 119 12 22 75 4 14.5
M16*1.5-d12-D12 12 12 30 75 4 14.5
M16%1.5-d11.9-D12 11.9 12 36 80 4 14.5
M16%1.5-d13.9-D14 139 14 33 83 4 14.5
M16*2-d12-D12 12 12 30 T3 4 14
M16*2.0-d12*D12 12 12 35 B0 4 14
(M18%2.0-d13.9-D14 13.9 14 33 100 o 16
M18%2.5-413.9-D14 13.9 14 32 100 = 135
(M20*1.5-d15.95-D16 16 16 40 100 4 14.5
(M20*2.0*d16-D16 16 16 40 100 5 18
M22#1.0%-d16-D16 16 16 40 100 kS 15
M22%2.0-d16.0-D16 16 16 40 100 5 20
M22%2 5-415.9.0-D16 159 16 40 100 5 19.5
M24%3.0-d15.9-D16 15.9 16 40 100 4 21
M30*d16*P3.5*D16 16 16 40 100 5 26.5
D20*P2.0*d20-D20 20 20 40 100 5 18
D20*P4.0*d20-D20 20 20 40 100 S 16
D16*1.25*D16 16 16 40 100 4 i

DO18




{ZyoranpT00is | maggn w7 GRAND TOOLS
Thread Milling Thread Milling o |
#YZT-5101 8FkS&EH #YZT-5103 =FKSE&EH
YZT-5101 Single Tooth Thread milling For Titanium Alloy YZT-5103 Three Teeth Thread Milling For Titanium Alloy

He s/ Technology Parameters

EUSNERAS (HiEfHe / off)

Em #&I Technology Parameters

HUMHERES (REHe / oBER)

#PRESE | esRIRE | 2zRIRE | BHER EEE] wH BT ] asE i # LIEE
Carkon Steed) Aoy Stesl Aoy Steel Haened Hantened st Stainiess Copper Titanum e Heat Resistant
TJ Aoy Seel Tooi Slee! Tool Stesl Stesl Stesd Stesl AbTEAT Aday Seenl
$45C,550C, 5CM S45C, 56T, 5KD 545C.5KT SKD BKTSKD SKT 5D FCFCD SUsM04 .
HRC< 20 HRC<C20-30 HRC<30-40 HRC< 45-55 HRC<Z66-60 -
L] o o o o o - - -
AR A+ AT B IE Wi Bk J18 B MEAL I
{ specification) ()] (L1} ) (L) (F) Free space Basic hole
MO.8%0.2 0.5% 2 4 50 3 0.34 0.6
MO.9*0.225 0.6 2 4 50 3 0.37 0.675
i MI*0.25 0.73 23 4 50 3 0.43 0.7%
= M1.2%0.25 0.92 3 4 50 3 052 095
M1.4%0.3 1.08 33 4 50 3 0.64 11
M1.6%0.35 12 s 4 50 3 0.60 1.5
M2*0.4 154 § 4 50 3 0.9 L6
M2.540.45 1.96 7.5 4 50 3 125 2.0%
| MI*0.5 24 a 4 50 3 1.5% 24
MA*0.7 315 12 4 50 3 193 33
s MS*0.8 308 12 4 50 4 171 4.2
7 M5*0.8 4 12 [ 20 3 243 42
ME*1.0 478 15 & 50 3 2.0% s
ME*1.25 59 20 I3 60 3 3.74 6.75
MIO*LS 79 25 [ 60 & 4.99 53
M12*41.75 o0 30 10 75 5 6.96 10.25
M14%2.0 0o 30 10 75 3 6.96 12
MI6*2.0 19 s 12 75 5 5.4 14
MIE*2S 14 40 14 100 5 5.9 15.5
M22*3.0 16 45 16 100 5 11 19
M30*6.0 19.9 s0 0 10 5 14 24
M1.6%0.35 1.2 3.5 4 75 3 0.72 1.25
iﬂ. M2+0.4 1.54 6 1 75 3 0.92 1.6
% M240.4 1.54 45 4 100 E 0.59 1.6
M2,5%0.45 1.96 7.5 4 75 3 119 2.05
M2.5%0.45 1.96 6.5 4 100 3 1.25 2.05
M3*0.5 24 9 4 75 3 1.58 2.5
M3*0.5 2.4 7.5 4 100 3 1.61 25
M4*0.7 315 2 4 75 3 2.11 13
M4*0.7 315 10 4 100 3 233 3.3
MS*0.5 4 13 [ 7 4+ 292 42
M5*0.8 4 13 6 100 4 292 42
ME*1.0 4.75 15 L] 75 4 332 3
MG*1.0 4,75 15 [ 100 4 3.01 5
Mg*1.25 59 20 6 7 4 4.08 6.75
71z M8*1.25 50 25 6 100 4 411 675
i MIO*LS 70 a5 8 75 I3 547 £5
MIO*1S 7.8 25 8 100 & 585 8.5
M12%1.75 99 b1 10 100 [ 718 10.25
MIS*2.0 12 35 12 100 5 .56 14

#ER/S2HA | B2RTRE | AR/ TRE HEE HEHE o Bt #E $EF ® fmanE
Carbion Stess Allory Steed ‘Al St Hardened Hardered e Stankess Copper Titankum e Heat Resistant
Al Sieel Tool Stect “Took Steet Siet siees steet Auminum Aoy tent
SISCLSS0CSCM | SASCENT.SHD | S45GSKTSHD SKTSHD SKT.SD FOGECD SUSI04 =
HRCZI0 HRCAI0-30 HRO30-40 HRC<4S-E6 HRC 55600 =
-1 o o o o o - - L]
YRS A e AT SR 1 JI Wi Bk A | LT
{ Specification) (Tp) )y (L1} oF) ) (LY Free space Basic hole
M1*0.25 0.25 0.73 23 3 4 50 0.4 0.75
M1.2%0.25 0.25 0.92 3:3 3 4 50 0.55 0.95
M1 4*0.3 0.3 1.05 32 32 4 50 0.6 1.1
M1.6*0.35 D35 1.21 3.5 3 4 50 0.63 1225
M1.8%0.35 0.35 1.4 4 3 4 50 0.93 1.45
M2*0.4 0.4 1.54 4.5 3 4 50 0.88 1.6
M2.2%0.45 0.45 1.65 5 3 4 50 0.94 1.75
M2.5%0.45 0.45 1.96 i 5} 4 50 1.15 2.05
M3*0.5 0.5 2.42 7 3 4 50 1.54 2.5
M3_5%0.6 0.6 2.75 9 3: 4 50 1.9 29
M4*0. 5 035 34 8 3 4 50 247 35
WM4*0.7 0.7 3.15 8.8 3 4 50 1.97 3.3
M4.5*0.75 0.75 3.5 18 3 4 50 2.5 3.75
M5*0.5 0.5 39 8 3 4 50 2.98 4.5
M5*0.75 0.42 39 8 ¥ 4 50 247 4.25
M5*0.8 0.8 4 12 3 6 50 2.54 42
M5*0.8 0.8 3.95 12 Z 4 50 2.64 4.2
M6*0.5 0.5 4.8 13 3 6 50 4.2 5.5
MG6*0.75 0.75 5 13 3 G 50 377 5.25
M6*1.0 1 395 14 3 4 30 246 3
M6%1.0 1 4.75 12 3 6 50 3.03 5
M8*0.75 0.75 595 20 3 6 50 3.79 725
M8*1.0 1 5.9 20 3 6 60 4.5 6
MB*0.5 0.5 6 16 4 6 50 5.06 7.5
MB*1.25 1.25 5.95 17.5 3 o G0 3.81 6.75
M10*1.0 1 7.9 21 4 8 60 6.5 9
M10*1.25 1.25 8 21 4 8 &0 6.15 875
M10*1.5 5 7.9 22 4+ 8 60 5.82 8.5
M10%1.5 15 8.2 25 4 10 75 6.07 8.5
M12*1.0 1 9.9 30 4 10 75 836 11
MI2*1.5 1.5 99 30 4 10 75 7.8 10.5
M12*1.25 1.25 9.9 30 4 10 75 8.4 10.75
M12*1.75 1.75 9.9 28 4 10 75 7.59 10.25
M14%2.0 2z 2.0 28 4 10 75 6.99 12
MI16*1.5 1.5 11.9 30 4 12 i 9.72 4.5
MI16*2.0 2 11.9 33 4 12 75 5.99 14
M22%2.5 2.3 15.9 50 6 16 100 12.36 19.5
M24*3.0 3 15.9 50 6 16 100 11.77 21
M24#%3.5 35 15.9 50 G 16 100 1115 20.5

D019

o e

D020



{7y cranpT00IS | i

Thread Milling

i | {7 oranp Toos

Thread Milling

#YZT-5103 =Fu&2EA

YZT-5103 Three Teeth Thread Milling For Titanium Alloy

#YZT-5100 £FKEEEH

YZT-5100 Full Teeth Thread Milling For Titanium Alloy

Em#m Technology Parameters

pae
: } IF=
il
L &
T 2 8/ Technology Parameters ANZ
EUAHEERE (BERe / cBH)
BER/ASH | ASA/IAR | AzWIRA | #AEE SHE w FaE EIE] #e ® nRE
e e s el el | el e e
7] $45C,550C, 5CM S45C, 56T, 5KD 545C.5KT SKD BKTSKD SKT D FCFCD SUsM04 .
HRC< 20 HRC<C20-30 HRC<30-40 HRC< 45-55 HRC<Z66-60 -
L] o o o o o - - -
5 HR A NiE AR PlL & Wit BK ‘XA | KL
T (Specification) (Tp) ) (L1) ) (L] (18] Free space Basic hole
= M1%0.25 0.25 0.73 23 3 4 75 0.34 0.75
;;r M1.4%0.3 03 1.05 32 3 4 75 0.64 1.1
) M1.6%0.35 0.35 12 5 3 4 100 0.68 125
M2*¥0.4 04 1.54 6 & 4 75 1.03 1.6
M2*0.4 0.4 1.54 5 ] 4 100 0.92 1.6
M2.5%0.45 0.45 1.96 6 3 4 75 117 2.05
B | |M2.5*0.45 0.45 1.96 7.5 4] 4 100 1.24 2.05
B [M305 0.5 24 7.5 3 4 7 L5 25
701 msros 0.5 24 9 3 4 100 1.58 25
| |MaroT 0.7 3.15 10 3 4 75 2.08 33
M4*0.7 0.7 315 10 3 4 100 21 3.3
M5*0.8 0.8 4 15 4 6 75 2.89 42
M5%0.8 0.8 4 15 4 6 100 200 42
M6*1.0 1 475 15 4 6 75 3.46 o
M6*1.0 1 4.75 15 4 6 100 3.3 5
MB*1.25 1.25 59 20 3 6 75 4.18 6.75
MB*1.25 1.25 3.9 20 3 6 100 4.11 6.75
M10*1.5 1.5 7.9 30 5 8 100 5.83 8.5
L : MI12*P1.75 1.75 9.9 35 5 10 100 8.5 135
M16*2.0 2 119 32 3 12 100 9.07 14
i
=
2k
T
0
D021

EOMHERES (REHe / cBE) T
| #eRasn | a2mTrRa | 22aTRa HEE HEE Wi FiEsE /8 dEaE & et < I
Carbon Steelf Alicry Slest Ay Sesd Hardened Hardened Castinon ‘Sanless Copper Tankm Nickel Heat Resistant 5 i*
i Aoy Gieel Tool Stenl Tool Slen! Stenl Steel Steos Auinum Alicry Slext T_l
| B45CS30CECM SA5C KT 8D B45C SKT SKD SKT.SKD SKTSKD FCFCD US4 - - - = 4
| HRC<20 HRC 20-30 HRC20-40 HRC<45-56 HRC< 85-60 = - = = = -~
o o o o o o - - -
S Mk N Wite 1R N i< PILS JefLE
(Specification) ) (1] (L1) (L) (€3] Basic hole =
M1.6*0.35%d1.2*D4 1.2 4 34 50 3 1.25 ’I
M2#0.4-d1.54-D4 1.54 4 50 3 L6 @
M2.5*0.45-d1.96-D4 196 4 & 50 3 2.05 FH
M3*0.5-d2.4-D4 2. 4 6.5 50 3 2.5
M3.5%0.6%d2.75*D4 275 4 85 50 3 2.9
M4*0.5-d3-D4 3 4 8 50 3 %
M4%0.7-d3.15-D4 315 4 10 50 3 L5
M4.5%0.75-d3 4-D4 34 4 9 50 3 395
M5*0.5-d3.9-D4 3.9 4 12 50 3 4.5
M5*0.8-d3.9-D4 3.95 4 12 50 3 42
M5*0.8-d3.9-D6 39 6 13 50 3 42
M6*0.5-d4.8-D6 4.8 6 13 50 3 i)
M6*0.75-d3.9-D4 39 4 12 50 3 3.25
M6*0.75-d4.8-D6 o 6 17 60 3 5.25
M6*d1.0-d3.9-D4 3.9 4 12 50 3 5
M6*d1.0-4.75-D6 4.75 (] 13 50 3 5
ME*0.5-d6.0-D6 59 6 16 G0 3 1.5
M8E*0.75-d5.9-D6 5.95 6 15 50 3 725
ME*1.0-d5.9-De 5.95 6 15 50 3 T
ME*1.25-d5.9-D6 59 6 20 60 3 6.75
M10%0.5-d7.9-D8 79 B 20 65 4 0.5 it
M10*0.75-d7.9-D8 79 B 22 65 3 9.25 S
M10*d1.0-d7.9-D8 7.9 B 20 65 4 9
M10*1.25-d7.7-D8 T.9 B 20 63 > B.75
M10*1.5-d7.7-D8 FA g 22 65 4 8.5
M12*0.5-d9.9-D10 99 10 20 75 3 11.5
M12%0.75-d9.95-D10 9.95 10 20 75 4 11.25
M12%¥1.0-d9.9-D10 29 10 20 65 4 11 —
M12*1.0-49.9-D10 9.9 10 28 75 4 11 in
M121.25-49.9-D10 99 10 25 75 4 10.75 1
M12%1.5-d9.4-D10 9.4 10 24 75 4 10.5 T
M12%1.5-d9.9-D10 99 10 20 65 4 105 ———
M12%1.75-d9.5-D10 L, 10 25 75 4 10.25

Do22



< ":) GRAND TOOLS | 7] 1B ( ,. GRAND TOOLS
BUILD IT SMARTER Thread Milling Thread Milling ) .
#HYZT-5100 2FASEEH # ZEFUNC(=5F)
YZT-5100 Full Teeth Thread Milling For Titanium Alloy UNC (Full Teeth)
L1
T il ¥ - |'—j| =
1 S— . L '
= |

b e Technology Parameters

BETAMERET (BEHe / cEH)
BERAZE | AERTIRAE | SR TIRA HEE HER W F @ a8 as ] mRE
Carbon Ses Adoy Sieel vy Stesl Handened Harmsned ki Stamiess Copper Tianaum i Heat Resistant
Aoy Seet Toot Siee! Toul Stest Steet Steed Sieel Alumirem Aoy Steel
S45C550C.5CM | S4SCSKT.SKD | Se5CSKTSKD ST SKD SKT 50D FGFCD SUSI0L 5 =
HRC< 20 HRAC<20-30 HRC 30-40 HAC<45-55 HRCCEE-60 £ =
o o 3 o @ @ . . .
LEESE: 1 A Wie 1R IE i Ak JefLIT R
(Specification) (@ (L) Ly ®) F) Basic liole
M14%0.5-d12-D12 12 12 30 75 4 13.5
MI14*1.0-d11.9*D12 11.9 12 30 75 4 13
Mid4*1.0-d112*Di2 11.2 i2 3z 80 4 13
M14%1.5-d11.9-D10 2.9 10 25 75 4 12.5
MI14*1.5%d11.2*D12 11.2 12 30 75 4 12.5
M14*2.0-d9.9-D10 9.9 10 30 75 4 12
M14%2.0-d11.2-D12 11.2 12 0 75 4 12
M16*1.5-d11.9-D12 11.9 12 22 75 4 14.5
M16*1.5-d12-D12 12 12 30 75 4 145
M16%1.5-d11.9-D12 11.9 12 36 80 4 14.5
M16*1.5-d13.9-D14 13.9 14 33 83 4 14.5
M16*2-d12-D12 12 12 30 75 3 14
M16*2.0-d12*D12 12 12 33 30 4 14
M18*2.0-d13.9-D14 13.9 14 33 100 il 16
M18*2.5-d13.9-D14 13.9 14 32 100 5 13.5
M20*1.5-d15.95-D16 16 16 40 100 4 14.5
M20*2.0*d16-D16 16 16 40 100 5 18
M22*1.0*-d16-D16 16 16 40 100 ) 15
M22*2.0-d16.0-D16 16 16 40 100 5 20
M22#2.5-d15.9.0-D16 15.9 16 40 100 5 19.5
i M24*3.0-d15.9-D16 15.9 16 40 100 4 21
%4 M30*d16*P3.5*D16 16 16 40 100 3 26.5
D20¥P2.0%d20-D20 20 20 40 100 5 18
D20%*P4.0*d20-D20 20 20 40 100 5 16
D16*1.25°D16 16 16 40 100 4 !

LTE

D023

Em#ﬂf Technology Parameters

EIAMEEES (BEHe / cEA)
¥RECEE | S2EIAE | 228 IRE HR# ] Wil FimiE W8 e -] s
e | RoE | RS s e Sastron T sliraim ey i S
B43C 5200 SCM 545C SKT SKD B45C KT SKD KT SKD BKT KD FOFCD SUSIM = -
HRC<20 HRC={20~30 HAC=30~40 HRC< 4555 HRC<55-60 - -
L] L] - - o o o -] @ E
S R W PIEz AR PIE BE i
| (Specificaion) ) @ @y ® ®
UNC1-64 4 14 4 3 50 B
UNF1-72 4 1.44 38 3 50 Z 1{;
UUNFO-80 4 1.18 35 3 50 7]
UNC3-48 4 1.9 3 50
UNCS-36 4 331 11 3 50
UNC10-24 4 358 11 3 50
UNF10-32 4 38 10 3 50
UNC2-56 4 1.65 5 3 50
UNC6-32 4 256 74 3 50
UNC4-40 4 213 6 3 50
UNC4-40 4 213 82 a 50
UNC8-32 4 32 11 3 50
UNC10-24 4 36 11 F 50
UNC5-40 4 2.46 g 3 50
UNF 1/4-28 6 5 15 3 50
UNC5/16-24 6 595 18 3 60
UNC1/4-20 6 487 13.75 3 50
UNC5/16-18 6 59 18 3 50 @
UNC5/16-24 6 505 18 3 60 E
UNC3/8-16 8 7.65 20 3 60
UNC5/16-24 8 6.88 21 3 65 o
UNF3/8-24 8 7.4 20 4 65 114
UNC1/2-13 10 9.9 25 4 75 -_ :'
UNF7/16-20 10 95 28 4 75
UNC7/16-14 10 ] 28 4 75 i
UNC9/16-18 12 113 30 4 75 b
UNF9/16-24 12 11.9 29 4 75 "r
71

D024



{ GRAND TOOLS | 1g@i7) ERT] GRAND TOOLS
Thread Milling Thread Milling
o 5
# EZEHUNC(27F) # 55° RHIEREE(BSPT)RC(2F#E)
UNC (Full Teeth) 55° British Standard Pipe Thread. ( Full teeth taperd pipe)
L1 L1
u] = (m]
% - L n
ZRy S =
£ 4,_;‘; s 5?- {:3 {
F Z 8/ Technology Parameters L Bl B it 28/ Technology Parameters
EOHFEEEE (REHe / oBH) BOMEEEEE (RAfe /| 8H)
HERAEE | 2=l IRE | 2@/ TRA s s Wi @A w8 itae w mE #EHE=R | SR/ TRE | SERTRA EEE s i +#E /8 aw W s
Carbon Shecd Ay Sleel Aoy Stesl Hargened Hardened sl Staivess Cogper Tranum Hickel Heat Reststan Carton Sieed! Aliny Sles! Adoy Steel Hardened Hardened & Staniess Copper Titanum el Heat Resistant
Adoy Steed Took Steel Took Steel Steet Saeel Steet AbgTEAT Ay Sieed Aoy Sieel Tool Steed Tool Sieet Sieel Steed Siert Auminums Amny el
S45C.550C SCM B45C SKT SKD 8450 SKT 36D SKT SKD SKT SKD FOIFCD SUSH0S - - | S45C S50C 50N S45C.5KT.SKD B45C 5KT SKD BKT.SKD SKT SKD FGFCD BUS304
HRC=C20 HRC<20-30 HRC-30-40 HRO 45-55 HRC-ZE5-60 | HRC=C20 HRC<I20-30 HRC=Z30-40 HRC 4566 HRAC-65-60
. . . . o 5 a P | o | . | . . . _' ™ o ° o P
5 Bk Wt Jie A7 BRI 1% BK eRsS Y S e % A R PIE-d Bk AL
=1 (Specification) () (d) (L1) (F) (L) (Specification) (o) () (L1) F) (L) Basic hole
3 UNC3-32 4 32 11 3 S0 RC1/16-28 6 5.8 17 3 60 6.7
(i UNC10-32 4 3.8 10 3 50
RC1/8-28 8 7.9 20 3 65 8.7
73 UNC1/4-20 6 4.9 13 3 50
UNC5/16-18 6 6 17 4 60 RC1/4-19 10 91 26.7 4 75 11.8
UNF 1/4-28 6 4.6 15 3 50 RC3/8-19 12 119 30 4 75 152
DNBI0-4 g A 32 : 93 RC1/2-14/RC3/4 12 11.9 33 4 83 19
UNF5/16-24 6 5.9 17 3 60 7
SIS = 65 = p = RC1/2-14/RC3/4 16 159 40 5 100 19 B
UNC1/2-20 10 99 254 4 75 RC1-11 16 159 42 5 100 30.7 :;f
UNF9/16-24 12 119 30 4 80 RC1-11 20 19.9 415 5 100 30.7 B
UNCS/8-11 12 11 33 4 75
UNC9/16-18 12 119 30 4 83
UNF3/4-16 12 12 25 4 75
UNC3/4-10 16 14.5 40 5 100
UNC7/8-9 16 15.2 45 4 100
UNC3/4-16 16 159 38 4 100
UNCS5/8-18 8 7.95 20 4 65
4 o T
UNF9/16-18 10 10 30 n 75 # 55° R"FIEEE (BSP)G(2FEE)
UNC9/16-18 12 119 30 4 83 55° BSP British Standard Pipe Thread. ( Full teeth Parallel pipe)
S § Bk &2 & 2 e Wit i AR Nk K KA ITHe
: ? | |UNF7/8-14 12 116 20 4 75 eulsededl 2 o an - 0 el ;;
pt | (R : 20 2 2 o G1/16-28 6 58 17 3 60 6.7 7
% UNC9/16-12 12 11.8 28.6 4 75 £y
PERSSENS] D
| [oNcaiz0 12 119 30 1 75 Sy 3 L Y 3 o il E
2 27| |umcine2o 10 96 222 4 75 G1/4-19 10 9.9 27 4 75 5
d: | ERE 1o 10 23 4 75 G3/8-19 12 119 26.7 4 75 118 271
| |[uNF/8-28 12 12 25 4 75 f
G1/2-14/G3/4 12 119 35 4 83 19
UNC1/2-13 10 9.5 25 4 75
_{J‘;' G1/2-14-G3/4 16 15.7 40 5 100 19 7]
m
: Gi-11 16 16 42 5 100 30.7
Gl-11 20 199 42 5 100 30.7
D025 D026



(’;j} GRAND TOOLS | sg#k7]

= Thread Milling

Solid Carbide Drill
#60° EHBHEHERY (NPT/NPTF)

He Technology Parameters

.o

FIUABEERE (RiEHe /o)

60° NPT National Pipe Tapered Thread. ?é 111! ﬁE Jﬁ A % illj -
RO ik
— L1 -
L d ) 1
. i N e = I
#ER/ASA | eaW/ TAR | S2@/IAR | BKE | WHE wE | Fa=m f/E HEeE # mmE
Carbon Shecd Ay Sleel Aoy Stesl Hargened Hardened Staivess Cogper Tranum Heat Reststan
Aoy Siee Took Steel Tool Stee! sent el Kiiasnly Stest Amenam anay —_ Stext
S45C.550C SCM S50 56T, 5KD S45C 5KT 36D SKT SKD | SKT SKD FOIFCD : SUSH0S |
HRC=C20 HRC<20-30 HRC-30-40 HRO 45-55 . HRC-ZE5-60 [ - | - |
- - - - a o o o o
& B Wk Wite e 1 BRI N g ML
=z (Specification) m) (@ L) (F) (L) Basic hole
3 NPT1/16-27 6 53 10 3 60 6.3
' NPT1/8-27 g 7.1 15 3 &5 8.3
NPT1/4-18 10 9.1 14 4 75 11.1
NPT3/8-18 12 11.15 14.8 4 75 14.5
NPT1/2-14 12 11.9 25 4 83 17.7 |
i
NPT3/4-14 12 11.9 25 4 83 23
NPT1/2-14 16 1335 25 5 100 17.7
NPT1-11.5 20 199 33 5 100 20
NPT1-11.5 16 159 33 ) 100 29
NPTF1/16-27 6 59 10 3 50 6.3
NPTF1/8-27 8 7.65 15 4 60 84
NPTF1/4-18 10 99 14.8 4 75 11.1
NPTF3/8-18 12 11.15 14.8 4 75 14.7
=k NPTF1/2-14 16 1535 25 5 100 17.9 v
= NPTF1-11.5 20 19.6 23 4 100 29




GRAND TOOLS

BUILD IT SMARTER

GRAND TOOLS

BUILD IT SMARTER

EES Rk
Solid Carbide Drill

ERESEHk
Solid Carbide Drill

# YZ228 hE#sk

YZ228 Micro Diameter Drill

# YZ228 /NEEsk

Y2228 Micro Diameter Drill

b e Technology Parameters

ﬁmﬁﬂf Technology Parameters

BSHREHEE (A / BEOASTEHBRZT (BEHe / olEA)
WEE Sai AU i (it BRSE TR /8 e IEEy | HmEs =2k WEE %R bV Wi HEH EEESE 50 /R i TESN
Cartion Stesl Aoy Stesl '“::” Castion “N"_::" Superatoy a;;?a st AEsin w GF:: ket Carben Sisel Aoy Sieel Hag;'m Castirn T;I:;n Supertiay 3‘:::‘ Coppo Feesin ey
HRCC20 HRC 2030 HRC5S ” HRC20 HRC<20~30 HRCC56 < *
=1 =1 o | o o - - L] L - a o | o o o - - L] . L]
s nE Ak 13 85 2 ne 7 wE Er i nE 2% L Bk At ni 7 e Bk
( Specification) {d) L1 2] L (Specification) (d) Ly o} L { on} {d} i L3 wl £ td) (L1} 0 L
YZ2ZB-0040 0.040 04 3 36 YZ228-0460 046 5 3 38 YZ228-0940 0.94 L 3 38 YZ228-1420 142 10 3 28 o
YZ228-0045 0.045 0.45 3 38 YZ228-0470 047 5 3 38 YZ228-0950 085 B 3 33 WZ228-1430 143 10 3 28 llr
¥2228-0050 0.050 [5 3 3 ¥22268-0460 0.48 5 E 38 ¥2228-0960 0.96 E 3 ET] YZ228-1440 144 0 3 38 = 3%
YZ228-0055 0.055 0.55 3 a8 YZ228-0490 D49 L] 3 33 YZ228-0870 ogr L 3 28 YZ228-1450 145 10 3 e {."'
YZ22B-0060 0.050 08 3 38 Y2228-0550 0.50 L] 3 3 Y2228-0980 0.9g B 3 38 YZZ2B-1460 145 0 3 38 2]
YZ228-0065 0.065 0.5 3 38 YZ228-0510 0.51 § 3 38 YZz228-0980 0.9% B 3 38 YZ226-1470 14T 10 3 38
YZ228-0070 0.070 ar 3 38 ¥Z228-0520 052 8§ 3 33 YZ228-1000 1.00 0 3 s YZ228-1480 148 10 3 38
YZ228-007% 0.075 0.75 3 36 YZ228-0530 053 G 3 33 YZ228-1010 101 0 3 38 YZ228-1400 1.40 10 3 a8
YZ228-0080 0.080 08 3 38 YZ228-0540 054 6 3 38 YZ228-1020 102 10 3 28 YZ228-1500 150 10 3 38
YZ228-0085 0.085 085 3 38 YZ228-0550 .55 5 3 3 YZ228-1030 103 10 3 33 YZ228-1510 151 10 3 38
YZZZ6-0090 0.030 09 3 38 WZ228-0560 0.58 & E 33 TZ228-1040 1.04 10 3 28 YZ228-1520 152 10 3 28
YZ228-0005 0.095 0.85 3 38 YZ228-0570 057 L] 3 23 Y2228-1050 105 10 3 g YZ228-1530 153 10 3 28
¥YZ220-0100 010 15 3 E: YZ228-D5BD 0.58 L] k) 33 Y2228-1060 106 10 E] 38 Y2228-1540 154 10 3 38
YZ228-0110 o 13 3 38 YZ228-0530 0.59 i} 3 33 YZ228-1070 107 10 3 38 YZ228-1550 155 o 3 38
¥YZ228-0120 012 25 3 38 YZ228-D800 0.60 T 3 £ YZ228-1080 108 10 3 38 YZ226-1560 156 10 3 38
¥YZ228-0130 013 25 3 3% YZ228-0610 0.61 T 3 33 YZ228-1000 1.09 10 3 38 YZ228-1570 157 0 3 38
YZ228-0140 044 25 3 kL YZ228-0820 b&2 7 3 33 YZ228-1100 140 0 3 38 ¥2228-1580 158 10 3 E: %
YZ228-0150 015 25 3 e YZ228-0630 062 T 3 33 YZ228-1110 111 10 3 33 YZ228-1800 150 10 3 38
YZ228-0150 016 25 3 38 YZ228-0640 &4 T 3 38 YZ228-1120 112 10 3 38 YZ228-1600 160 12 3 38
YZZ2B-0170 017 25 3 30 YZ228-0650 065 7 3 3 YZ228-1130 113 10 3 38 YZ228-1610 161 12 3 38
¥Z228-0180 o018 25 3 38 YZ228-0660 066 7 3 ag YZ228-1140 114 10 3 38 YZ228-1620 162 12 3 28
Y2228-0190 0.19 25 3 8 YZ228-DETD 067 T 3 38 Y2228-1150 1145 10 3 38 YZ228-1630 153 12 3 38
YZ228-0200 0.20 38 3 38 YZ228-DEE0 D68 T 3 £ YI228-1160 1.18 10 E] L] YZ228-1840 184 12 3 38
YZ228-0210 021 38 3 3 YZ228-D830 0.69 T 3 33 YI228-1170 117 10 3 38 YZ228-1650 165 1z 3 38
YZZ28-0220 022 35 3 k. YZ228-0700 070 g 3 e YI228-1180 1.18 10 3 38 YZ226-1660 1.66 12 3 38
YI228-0230 023 ELS 3 o YZ228-0710 o7 8 3 23 YZZ228-1190 119 0 3 38 ¥Z228-1670 167 12 3 38 L
¥Z228-0240 0.24 35 3 kL YZ228-0720 072 g2 3 23 YZ228-1200 120 10 3 38 YZ228-1680 168 12 3 38
“ 2 YI228-0250 0.25 35 3 38 YZ228-0730 073 8 3 38 YZ228-1210 1 10 3 33 YZ228-1600 168 12 3 38
ii YZZ2B-0250 0.26 35 3 38 YI228-0740 074 8 3 33 YZZ28-1220 122 10 3 38 YZ228-1700 170 12 3 38
YZ228-0270 027 35 3 8 YZ228-0750 075 8 3 38 YZ228-1230 123 10 3 38 YZ228-1710 171 12 3 38
Y2228-0280 0.28 EL] 3 k] YZ228-0760 076 a8 a 33 YZ228-1240 124 10 3 28 WZ228-1720 172 12 3 28 l
YZ228-0200 0.29 L 3 n YZ228-0770 077 a8 3 3 YZ278-1250 125 10 I 38 YZ228-1730 173 12 3 38
YZ228-0200 030 5 3 k. YZ228-0780 078 g2 3 a3 YI228-1260 126 10 3 38 ¥2228-1740 174 12 3 38
YZ228-0310 031 5 3 38 YZ228-0730 079 8 3 ] YZ228-1270 127 10 3 38 YZ22B-1T50 175 12 3 38
YZ228-0320 032 5 3 kL YZ228-0800 0.80 g 3 e YZ228-1280 128 10 3 38 Y2228-1760 176 12 3 38
YZ228-0330 033 5 3 3 ¥Z228-0810 081 2 3 33 YZ228-1280 128 10 3 33 YZ228-17T0 AT 12 = 38
YZ228-0340 034 5 3 e YZ228-0B20 oez 2 3 33 YZ228-1300 130 10 3 33 YZ228-178B0 178 12 3 28
YZ228-0350 035 5 3 38 YZ228-0830 &3 8 3 38 YZ228-1310 131 o 3 38 YZ223-1700 179 12 3 28
YZ226-0350 0.36 5 3 33 YZ228-0840 084 8 3 38 YZ228-1320 132 o 3 38 YZ228-1800 180 12 3 28
YZZ2B-0370 037 5 3 8 YZ228-0B50 0ES 8 3 38 YZ228-1330 133 10 3 38 YZ228-1810 181 12 3 38
YZ228-0330 0.28 5 3 38 YZ228-DBED 085 8 S k] YZ228-1340 134 0 3 28 Y2228-1820 182 12 3 38
YZ228-0390 0.29 8 3 S YZ228-0870 087 ] 3 33 YZ228-1350 125 10 3 33 YZ228-1630 183 12 3 38
YZ228-0400 0.40 ] 3 38 YZ228-0880 n.es 3 3 3 YZ228-1360 126 10 3 38 YZ225-1640 184 12 3 38
YZ228-0410 041 & 3 8 YZ228-0890 089 g2 3 33 YZ228-1370 137 10 3 28 ¥2228-1850 185 12 3 38
Y¥2228-0420 042 1] 3 ) ¥2228-0900 090 2 2 ) Y2278-1380 138 10 3 38 YZ228-1860 185 12 3 28
¥Z228-0430 043 6 3 34 YZ228-0810 om 8 3 38 YZ228-1390 139 10 3 38 YZ228-1870 187 12 3 k]
VZZ2E-0440 D44 5 ¥ 3 Yzzzg-0820 0.2 3 3 H YZ228-1400 140 1° 3 3 YZ228-1880 188 12 3 38
YZ228-0450 0.45 6 3 38 YZ228-0830 083 8 3 33 YZZ28-1410 141 10 E 38 YZ228-1830 183 12 3 38

E001

EOD2



GRBAHN)PJ:!:Q'QLS uﬁgﬁg% Eﬁ%ﬁg; ‘ * ’3 GMND VTOOLS
B ' Solid Carbide Drill Solid Carbide Drill o

# YZ228 hE#sk

YZ228 Micro Diameter Drill

# YZ228L MU/NEM 7§53k

YZ2228L Micro Diameter Long Flutes Drill

Em#ﬂf Technology Parameters

b e Technology Parameters

HUHEEHERSE (B#fHe / lil) BEUSMEEREE (BlEife / o#E)
wER HEE AU wi et EEaE F@E #/8 L= IEEE | WEEE A wHRE BEE pE m EEE BEE ES ] T Lk IEEH | WRES
Hardened Tranwm Staniess Capper Engneenng Glass Hameneg Tanium Stamnless Copper Engmnesrng Glass
Carbon Steel Alicry Stoel Stoel Castinn Allay Superatoy Siest a Resin % Fiber Bakedte Caron Steel Aboy Steed Stee Castron ARy Suparatoy Steet Resin A Fiber
HRC<Z0 HRC F-30 HRC<55 = ¥ A > i & =, £ HRC 2 HRC<20-30 HRE<O5 = + = o 2 s *;
o o ° | o o . | . . 3 . | o | o @ o | a . . - | .
ne nik wi £ b e % iz s e ng H wE Bk i nE T i
{Spedication) (d) 1) 1) [*] () [ ] [ ; (@) foie fy L e (d) W) oy i
" ek A0, i L i L rz'mzzimmn ’;ﬁ z : : Y2228-0040 0.040 06 3 38 ¥2228-0450 048 ) 3 )
I YZ22EA810 181 2 F] 30 .
3 ey e - . - T S = = = YZ228-0045 0,045 07 3 || YZ228-0470 047 9 3 )
o TR 5 = 5 3 e poriy e , o ¥Z228-0050 0,050 09 3 3 YZ228-0480 0.48 ] 3 7
o vzzasasn 14 2 3 ) VETE R4 748 ) 3 % YZ2280055 0055 09 3 EC| YZ228-0400 040 ] 3 £
a2 YZ2IEA50 105 7 E ) YZi2e 2400 250 2 3 ] YZ228-0060 0,060 [ 3 38 YZ228-0550 050 ] 3 3
V2181950 195 12 ] ® Ml 2 B 3 o YZ228-0065 0,065 [E] 3 38 | 22280510 051 ] 3 )
VI228-1970 ALl 12 3 34 m&g: i: z i ﬁ ¥2228-0070 0.070 12 3 18 ¥Z228-0520 052 [] 3 32
e Lol Lo = . e YZ228-0075 0075 12 3 38 | YZ228-0530 053 ] 3 EE]
VZ228-1900 109 12 3 3 V22282540 254 2 3 8 +
i = = < S i T = 3 = ¥2218-0080 0.080 12 0 B | YZ228-0540 054 [ 3 8
T 200 = = = ] 258 B 3 % YZ22E-0085 0.085 12 3 B | ¥2228-0550 055 ] 3 ®
Yzzae020 02 2 3 7] VZzs 20 257 2 3 ) YZ228-0090 0.090 12 3 38 22280560 056 ] ] 8
VZ228-2030 203 2 3 i YEZI2560 25 = 3 38 YZ228-0005 0.095 12 3 E) | Y2226-0570 0.57 ] E) 7]
V22182000 204 12 ] 8 LS E ey L L L 22280100 010 3 3 B | 2228-0580 058 9 ] )
YZ228-2050 205 1z 3 38 vzz:eza(:: ;-: : 3 : Yzzze0110 R3] 3 3 8 | YZ228-0590 050 3 3 )
VZ228-2080 208 12 B a8 - YZ226-0120 0.12 4 3 38 YZ228-0800 080 10 3 i
YZ2EB20T0 207 2 3 T TERR Z02) 202 i ¥ !
s . - - - ] I8 2 3 = YZ228-0130 013 4 3 B | Y2228-0810 061 10 3 )
YZ22B2000 e 7 5 TS YI2282640 284 12 3 ag YZ228-0140 014 4 3 8 YZ228-0620 oez 0 3 k]
VIR 100 Ty = 3 Y 2282850 265 2 3 ] YZ228-0150 018 5 3 3B | YZ228-0830 063 10 3 3
V2282110 211 2 3 3 "zmﬁ: :: ‘é ; : YZ228-0160 0.16 5 3 E) YZ228-0540 0564 10 3 8
VaztB eIz [XH 12 3 3 a'wn: £ S = = = YZ22E-0170 017 5 3 3 | Y2228-0650 065 10 3 B
YZ2ze2130 213 12 3 28 EET T = 3 ) ¥2228-0180 018 5 3 38 ¥Z228-D660 066 10 3 ™
VI228-2140 214 12 3 38 e Sy - 3 . 22280180 018 5 3 38 | Y2228-0670 067 10 3 18
Ll - L - - e 27 o 3 = YZ228.0200 020 5 3 ] V2228.0680 068 0 3 )
T T T = = 22282720 272 ] 3 ] YZ208-0210 021 5 3 | Y2228-0590 068 10 3 38
Yzzae ot ) 2 3 % il 2 1 2 28 YZ228-0220 0.2z 5 3 38 YZ228-0700 070 10 3 8
Vzzeane 0 =z 3 % bz ] = = e V72280230 023 B 3 ® | 22250710 on 0 3 %
V22282750 275 12 3 8 - -
Vz228-2200 220 12 ] ] e o = ; . ¥Z228-0240 024 5 3 28 22280720 072 10 3 38
] 27 L L oL Yzzzsarin 277 = 3 = YZ228-0250 0.25 5 3 8 | YZ225-0730 073 0 3 38
i == » = : V22282780 27 [ 3 £ YZ228-0260 028 6 3 38 Z228-0740 [ 10 3 )
Ym; g:: :‘2 :: : ;ﬁ vIzIeaTa0 278 ] El 8 YZ228-0270 027 6 3 || YZ228-0750 075 10 3 )
TRy s = T T TR i i 2 Lol ¥Z228-0280 028 6 3 38 ¥2228-0760 076 10 3 8
e 25 = - > :ﬁ:x: i‘; ‘r: '; :: V22180280 028 5 3 || Y2228-0770 077 0 3 2
¥ : . -0780 7 10 L]
Vzaa8.0270 237 2 o) 3 D o = T = ¥Z208-0300 030 [ 3 38 ¥2228-078 078 3
V22182280 728 B ] 38 s s - > — YZ228-0310 031 ] 3 B | YZ228-0790 o7 0 3 B8
YRmen i 12 2 S V22282850 75 2 3 a8 YZ228-0320 0.3z & 3 3% YZ228-0800 080 10 3 38
Nzah oo 22 12 3 L V22282280 288 2 3 = 22280330 033 B 3 | V2228-0810 08l 10 3 )
- Lo il 2 = 28 VI228-2870 267 2 3 ] Y2228-0340 034 8 3 38 22280820 082 0 3 )
s - e a . - TR 2 = 3 = VZ2i80350 ES E 3 w V22280830 [T7) i 3 )
B 4 = = > = T e i 2 = YZ228-0360 [ [ 3 38 l YZ228-0840 084 10 3 )
71 B - = : = Ll el = 2 e YZ228-0370 ey [ 3 38 ] YZ228-0850 0.85 0 3 )
# ¥2226-2350 235 12 3 38 YZzze- 20 Fr 12 3 38 |
YZ228-2350 73 12 3 38 YIzzeoeen ) = 3 B YZ228-0380 0.38 B 3 I8 YZ228-0860 088 10 3 T
YI22E-23T0 237 12 3 38 YZ228-2530 263 12 3 18 YZ2228-0380 0.39 ] 3 38 ] ¥Z228-0870 087 10 3 38
- oL il i 3 %8 ¥2226-2940 25 2 E] 1 ¥Z226-0400 0.40 3 3 ) YZ226-0880 088 10 3 B
. J; mzsz::: :2 :: : jz eiinal i = = - YZ228-0410 0.41 [] 3 ) | YZ226-0850 oBe 10 3 7] 71
£ 2 YI22§-2950 9% 12 3 E:) ¥
T o = g 5 et v ke = = ¥2228-0420 042 9 3 38 :ma:::: :.:: :; 2 : 2
Yes o0 242 = 3 % e . - = 33 YZ228-0430 043 o 3 3| | 2228 I
V218280 EYE] 2 3 ) V20192500 208 [ 3 B YZ228-0440 044 9 3 38 YZz2s-0920 082 12 3 38
YZ2i-2440 24 12 3 18 VZ228- 3000 ) B 3 0 YZ228-0450 0.45 ] 3 3B | YZ228-0930 083 12 3 3

E003 E00D4



GRAND TOOLS | mma etk BESSL ‘ <':} GRAND TOOLS
Solid Carbide Drill Solid Carbide Drill )

# YZ228L RUNEHKINKT]

YZ228L Micro Diameter Long Flutes Drill

# YZ228L M/NEiskN1ET]

YZ2228L Micro Diameter Long Flutes Drill

L
Emgﬂf Technology Parameters Em#ﬂf Technology Parameters
HWSHHEEE (BEHe / BUMHEBEEE (BEHe / oBH)
ESE S5 At ] ik (3= BEnSE TR ] gidid e W E =S WEE =t U Wi e BERESE FiEE Foolg ) i TiEEs BT =< ¢
Hardened Thanium Saness Glass Hardened Tianum Slainkss Glas:
Carbon Stesl Alioy Stesl ‘Steel Castiron Al ‘Superalioy el Sopher Hesin Enghieosy Fibar Bakeite ‘Carbon Seel oy Steel Slosl ‘Castiron iy Superatiay e £oppee Fesin ﬂm‘“ Fhe: Bakeite
HRC<C20 HRC<C 2030 HRC<I55 £ E . - * o = = HRC<20 HRC<20~30 HRC<CSS 2 - = = 7 1 = o
o o o | o o L ] - | L ] » L ] =] o I o o o | L ] . L ] L ] L] - ‘4_
&
{ 3 [T
; 7z * Hiz B miz ¥ 15 +* i ne A Wiz -8 3 HH niE T i 24 I .
¢ Gkl (d) 95.'_“ ) i ¢ il (d) J;]_" “,Eﬂ 5"_, (SpeciBEtion} id) 1) i %] { Specificasion) {d) i) ] [%] e
S YZ228-0040 084 12 3 3 | YZ228-1420 142 18 3 S0 \'ZZZB—:DN ‘9: i A = i i e : s
13‘ 50 a8t = 3 = | T PP m 3 = YZZ28-1910 19 18 3 50 YZ228-2470 247 25 3 &0
1 . - N YZZ28-1020 192 18 3 50 YZ2228-2420 248 5 3 &0
s g YZ228-0080 0.95 12 3 k3 | YZ228-1440 144 18 3 50 VZ228-1030 193 1 3 = W2Z20-2430 249 25 3 ]
i YZ223-0870 0.a7 12 3 £ | YZ228-1450 145 18 3 50 VZ228-1040 198 ® 3 0 22282500 250 I 2 [
2 Y2228-0880 0.98 12 3 ) | YZ2281450 148 18 3 50 YZ228-1950 125 1 3 E ZZ2E 2510 251 3 3 0
YZ228-0990 0.89 12 3 38 | YZ228-1470 147 18 3 50 s Lo 8 2 Bl 12182420 282 2 2 L]
X YZ223-1000 100 5 E E) Z228-1480 148 18 3 50 mm;:m :‘:: :: : : 22262330 :"" ’: : L]
- = YZ228-2440 £ 2 &0
¥Z228-1010 101 15 3 50 | 22281490 149 18 3 50 T = 5 = = L s = - -
¥Z228-1020 102 5 3 50 YZ228-1500 150 18 3 50 VZ228.2000 200 W 3 = 2260880 T o r =
¥Z228-1030 103 15 3 50 ] YZ228-1510 151 18 3 50 VZEZI200 Z01 P 1 [ T PTe] I T ]
YZ228-1040 1.04 15 3 50 | YZ228-1520 152 18 3 50 V2222020 202 25 3 50 Yzz28-2580 258 25 3 50
Y2228-1050 1.08 15 a =0 ] YZ228-1530 153 18 1 ) VZ22E-2030 203 = 3 0 Y2226-2590 250 25 3 50
V22281060 108 15 E] 0| V22281540 154 i 1 50 "m”";: : :; :: ; : "2226-2600 260 2 3 50
YZ228-1070 107 15 3 =0 ] YZ228-1550 155 18 3 50 rmm: mz ~ oy e . = Yea% Za i = 2 3 "
YZ225-1080 108 5 3 %0 Y2228-1560 156 18 3 50 : Comsiaiel e s 5 2
2 : E 1 o2 = = Yenoaim 20T 25 3 L ¥Z220-2630 263 = 3 ]
¥Z228-1080 109 5 3 50 | 22281570 157 18 3 50 YZZ28-2080 208 25 3 [ o 768 = 3 ]
¥2228-1100 110 15 3 50 | ¥Z228-1580 158 18 3 50 YZ220-2080 200 5 1 & NZz2e 350 3 = 7 ]
¥Z223-1110 111 15 3 O YZ228-1500 159 18 3 50 YRR, ol ol 3 s 22282080 268 25 3 80
YZ228-1120 112 15 3 50 | YZ228-1500 160 18 1 50 il &3 ’: - i iz28-2570 267 = 3 E
YZ228-1130 113 15 3 50 ] YZZ28-1610 161 18 3 50 sy e = 3 = i 288 28 o Ll
- YZ228-2130 213 FL] a &0 YIz28-2880 T 75 T B0
YZ228-1140 114 15 3 50 | YZ228-1620 162 18 3 50 NZI2E-2140 FET) 5 3 ] 2
YZ228-2700 270 % 3 80
¥2228-1150 115 15 3 50 | YZ228-1630 163 18 3 50 YZE2I-2150 215 5 3 & ST 271 = 3 )
YZ223-1160 1186 18 3 &0 | YZZ38-1640 184 18 i 80 YZ228-2160 215 25 3 80 Z iz 272 = 3 %0
YZ228-1170 117 18 3 0 | Yi226-1650 168 18 3 50 e A o L] o 22282730 I % 3 &
V2228-1180 115 18 3 0| V22281550 166 18 3 50 *Z:j:: : l: ’i : z ez P = 3 50
VZ228-1190 18 5 3 I 22281670 167 I 3 50 e o i 2 = VezzearEn zs 2= 3 50
¥Z228-1200 120 18 3 50 | VZ228-1580 158 18 3 50 e r = = == Y2228.2760 278 ] 3 ]
e YZ223-1210 121 18 3 50 | YZ223-1600 160 18 3 50 Vrianaamn 2o 2= 3 @ :ZW": :: : : ::
&3 ¥Z228-1220 122 18 3 50 | Y2228-1700 170 18 3 50 Vzzzen 2z = 3 W 22T = = - =
YZ228-1230 123 18 3 50 YZZ281710 171 18 3 50 V2328-2240 224 25 3 & Siae i ol £ - s
VEEIB2050 7% = i [
YZ228-1240 124 18 3 50 YZ228-1720 172 18 3 50 NZo78 28
Vz2z31250 125 D 3 E] V22281730 17 18 3 ) e e = - o 0 = = - =
VZza8aaT0 a7 5 3 7] YZ228-2620 282 5 3 80
YZ228-1260 126 18 3 50 | YZ228-1740 174 18 3 50 T rTe FET) = 7 S ¥Z228-2030 283 5 3 60
YZ228-1270 127 18 3 50 | YZZ28-1750 5 18 3 50 YZ2ze-2280 220 5 3 50 YZ228-2040 284 5 3 &0
YZ228-1280 128 18 3 50 | YZ228-1T60 176 18 3 50 YZI2B-2300 230 2= 3 0 e 2xn 28 A Ll
Vz228-1200 122 18 3 | VZ228-1770 177 18 3 50 VIR0 231 = 3 & i i = 4 e
1 YZZ2A-2320 FET) 3 3 80 Y2228-2470 287 25 3 80
¥Z228-1300 130 18 3 50 ¥2228-1780 178 18 3 50 5 =
VE220-2330 23 25 a 80 7220-2880 288 F 3 B
YZ2281310 131 18 3 50 | YZ223-1700 170 18 3 50 e = e 2 - e S o = e
¥22281320 132 18 3 50 22281800 180 18 3 50 e T = 3 = 22282900 290 75 3 50
¥2228-1330 133 18 3 50 | VZZ281810 181 18 3 50 ey = 5 3 0 NEZIB2510 20 2% 3 ]
V22231340 134 18 3 50 | VZ228-1820 182 18 3 50 YZZ28.2370 =37 Fo) 3 ) ¥2228-2920 2902 bl 3 L]
VZ228-1350 135 18 3 0| YZ228-1830 183 18 3 50 YE28-2380 23 5 3 &0 :"m‘m“ A & = L [
¥Z228-1360 136 18 3 50 | YZ228-1840 184 18 3 50 ¥Z226-2380 23 % 3 80 2228-2040 294 ¥ 3 ]
YZI28-2400 240 25 3 60 YZ228-2950 29% 25 3 &0 § —-J
YZ228-1370 137 18 3 S0 | YZ228-1850 185 18 3 50 J
1 YZI28-2410 241 5 3 B0 WIZ228-2950 295 5 3 &0 =
¥Z223-1380 138 18 3 =0 | Y2228-1860 186 18 3 50 CHacetoy = = = = e T o 5 5 i
YZ228-1300 138 18 3 80 | YZ223-1870 18T 18 3 80 rzzgaean 243 Fry 3 50 22282080 208 [ 3 7]
YZ228-1400 140 18 3 50 | Y2228-1880 188 18 ] 50 V2283340 244 5 1 0 22262090 28 25 3 60
YZ228-1410 141 18 3 50 | 22281890 189 18 3 50 V22202450 28 = 3 0 22263000 300 = 3 £

E005 E006



GRAND TOOLS | BRE&&E. s | C.j} GRAND TOOLS
: i Solid Carbide Drill Solid Carbide Drill

# YZ428 RUMNEE

YZ428 Micro Diameter Drill

# YZ428 MhiEisk

Y2428 Micro Diameter Drill

Emgﬂf Technology Parameters H m Em #w Technology Parameters
HIHEEEER (REHe / 0EE) HUHPHBHES (REHe
s wEA aEM B foE HEE BESE iR #/E s T=g WiEEE =i ] SER AT il HEF =ES FEEE in/is Lt ITESy | wmsE
B 5 Carbon Stesl | Alloy Seel A Castron 'm"‘ Superaloy i e Resin E"qw‘“"g s Baeite Carbon Sieed | Aloy Sieel ol Castron “:’.‘D)‘i"'" Superaioy i e Resin 7 s s
7 HRC<20 | HAGSENM | mROCS - - : £ = > = 2 HAG<20 | HACS2W | HRC<SS . . - . : . "
. . . . . . o o | a a E | . | . . . . | . o a = | o
R TE 74 iz 8% Ak nE ni BiE B % 748 7 iz (=53 A A& 7 iz
{Spacificabon) (d) 1L ] iw (d) 1l m w {d) L) o) LY Sped (d) L8] 0
YZ428-0040 0.04 [ 3 T YZ428-0480 045 4 3 3 YZ428-0880 [ 6 3 ) ¥2428-1480 148 10 ]
VZ475-0045 0.045 045 3 £ YZ428-0430 043 [ 3 ] YZ4260900 [T B 3 3 V24281450 143 10 3
V24280050 0.05 05 3 3 YZ4ZE-U500 150 5 3 E] YZ42B-1000 100 7 3 ) ¥2428-1500 150 10 3
V24260055 0055 055 3 ] YZ428-0510 051 5 3 E] ¥Z428-1010 1 7 E] £ YZ4ze-1510 151 10 3
¥Z428-0080 008 08 3 38 YZ4z8-0520 052 5 3 ] Va4EE-10E] 102 7 3 £ ¥2428-1520 152 10 3
VZAZ6-0085 065 [ 3 £ ¥Z428-0530 053 5 3 ] YZ428-1030 103 7 E] ) VZ42EA530 153 10 3
V24260070 o o7 3 38 YZazB-0540 .54 5 3 38 YZ4ZE-1040 104 7 ] E] ¥2425-1540 154 10 3
VZ42800T5 0075 075 3 3 YZAZE 0550 055 5 3 £ Y2428-1050 108 7 3 ) ¥2428-1550 155 10 3
YZ425-0080 008 [ 3 ET) YZ428-0560 058 5 3 El YZ428-1060 106 7 3 E] V24281560 158 10 ]
V24280085 0.085 [0 3 ] YZAZEATO 057 5 3 3 YZ428-1070 107 7 3 B YZ428-1570 157 0 3
YZ428-0050 0.08 09 3 7] V24250560 158 5 3 38 Y2428-1080 108 7 3 3 ¥2428-1580 158 10 3
¥7425-0095 0095 [0 3 3 YZaz8-0580 =] 5 3 n YZ4z8-1000 108 7 El ) ¥2428-1580 158 10 3
V2428100 010 1 3 £ YZAZE060D 160 0 3 38 ¥Z428-1100 110 7 3 1 ¥2428-1600 160 12 3
2 V24280110 [EE i 3 £ YZAZE0610 061 B H 3 YZ4281110 (X1 7 3 38 YZ4ZB1610 161 12 3
n V24280120 012 1 3 3 YZ4z8-0820 62 O 3 E] Yz4zB-1120 112 7 3 ) ¥2428-1620 162 12 3
YZ428-0130 013 15 3 3 V24280630 0.63 [ 3 3 ¥24281130 113 7 3 ) ¥2428-1630 163 2 3
YZ428-0140 014 15 3 38 YZa28-0640 0.64 & 3 3 YZ428-1140 134 7 3 E V24281640 164 12 3
V24280150 [0 15 3 T YZ42E-0550 165 & 3 E] YZ42Z6-1150 115 7 3 ] YZ4ZE-1650 188 2 3
¥2425-0160 016 z 3 38 YZ428-0860 [ 5 3 ) YZazE- 1160 118 7 3 ) ¥Z428-1660 168 12 3
VZAZEO1T0 [EH F] 3 7] [ 067 3 3 3 YZAZBAITD 117 7 3 38 YZ428-1670 167 2 3
YZ4zEE0 (50 z 3 3 YZ428-0680 068 O 3 ® Y2426-1180 118 7 3 ) YZ428-1680 168 12 3
YZ428-0190 0.9 z 3 ) YZAZB-U690 0.69 [ 3 F] ¥Z428-1190 119 7 a ] ¥Z425-1680 158 12 3
YZ428-0200 0.2 2 3 3 YZ4Z8-0T00 (5] 5 3 ] Y2426-1200 120 8 3 ) ¥24281700 170 12 3
VZ4z8-0210 021 25 3 ] VZAZE0TI0 0T i 3 ] V24281210 121 [ 3 ) YZAZEAT10 17 12 3
24280220 [F] 25 3 ] YZ4ZB-ITED 07z [ 3 E] YZ4ZB1Z20 122 [ 3 B ¥Z426-1720 172 2 3
YZ4z8-0230 (3] 25 3 3 YZAZBOT30 [EE] [ 3 E YZ4281230 123 8 3 ) YZ4281730 173 12 3
V24280240 024 25 3 0] YZ428-0740 074 O 3 ] ¥2428-1280 124 8 a ] ¥2426-1740 14 12 %
VZ42E0250 [ 25 3 ] YZAZBOTE0 075 [ 3 3 YZ428-1250 135 B 3 ] YZ4ZE1TED 175 12 3
o ¥2428-0260 0.28 3 3 3 YZazEATED 0.78 [ 3 E V24281260 126 [ ] ) YZ428-1760 175 12 3
*; V24280270 [ 3 3 38 YZ4zeaTTo IR B 3 ] YZAZBAZTD 127 B 3 B YZdze1TT0 i 12 3
VZ428-0280 028 3 3 38 VZ4ZBUTED 178 6 3 E] YZ428-1280 123 | 3 ] ¥2428-1780 178 12 3
YZ4ze-0280 [ 3 3 3 YZAZBATE0 5] O 3 E] YZ428-1290 129 B A ) ¥Z4281790 179 12 3
[ YZ428-0300 03 3 3 3 ¥Z428-0800 180 5 3 E] ¥2426-1300 130 B 3 ] ¥2428-1800 180 12 3
¥Z428-0310 031 ] 3 38 VZ4z8-0810 081 [ 2 ] ¥Z4284310 131 | 3 ) YZ42B B0 181 12 3
V4280320 032 3 3 38 YZa2E-0820 42 i 3 38 YZ42E1320 132 B 3 33 YZ428-1820 182 12 3
V24280330 [E5 3 3 38 ¥Z425-0830 083 § 3 38 YZ42B-1330 133 8 3 ] YZ426-1830 183 12 3
V24280340 034 3 3 38 YZ428-0840 0.84 [ 3 ] ¥2428-1340 134 | 3 ) ¥Z428-1840 184 12 3
{ YZ4280350 035 3 E 3 VZAZE0R50 0.5 i 3 3 YZA28-1350 135 [ 3 B V24281850 185 12 3
V4280340 038 3 3 EE] YZ226-0860 085 B 3 E] YZ428-1360 138 B 3 B YZ42E-1360 184 12 3
VZ4z8-0370 [Ed 3 3 38 YZ428-0870 047 8 3 ] YZ4281370 137 8 3 B Y2428-1670 187 12 3
V24280380 032 3 YZ428-0880 0.68 3 3 ] YZ42B-1380 138 8 3 ) ¥Z428-1280 188 12 3
YZ428-0390 039 3 3 338 YZAZB-0820 0.89 ] 3 A YZ428-1390 139 B 3 i8 YZAZ8-1680 189 12 3
YZ428-0400 0.40 4 3 3 YZ428-0900 0.90 6 3 3 YZ42B-1400 140 B 3 ] ¥Z428-1300 190 12 3
YZa280410 (2D 0 3 3 YZ4ZE-0910 I [ 3 38 Yz4zB1410 1 & 3 E Yz4zEe10 191 12 3
f YZaZE-0420 042 [ 3 3 V4280820 082 3 3 E] ¥Z428-1420 142 8 E] ] YZ4ZE-1920 192 12 3 38
o YZ425-1430 043 4 3 34 YZ428-0930 093 B 3 ] YZ428-1430 143 8 3 B ¥Z428-1930 193 12 3 38
L VZ42E-0440 044 [ 3 38 YZa28-0940 0.94 [ 3 38 Y2428-1480 144 8 3 B V24281840 194 12 3 38
V4250450 045 [ 3 3 YZAZE0850 [ B 3 ] YZ4ZBA 450 125 8 ] £} VZ4ZB-1950 195 2 3 39
== YZ428-04850 0.48 4 3 38 YZ4ZE-0960 0.96 ] 3 3 (24281460 146 B 3 3 Y2425-1960 196 12 3 38 S——
VZ4ZEMTD 047 . 3 3 YZ4280970 097 ] 3 3 YZAZB14TD 147 & 3 ) ¥Z42615T0 19 12 3 38

E007 E00B



GRAND TOOLS | @RS Rk BESRIL | (’:} GRAND TOOLS
. Solid Carbide Drill Solid Carbide Drill oA

# YZ428 RUMNEE

YZ428 Micro Diameter Drill

# YZ428L m/NEMR 753k

YZ2428L Micro Diameter Long Flutes Drill

Emgﬂf Technology Parameters Em#ﬂf Technology Parameters

WUHPEEHS (BiifHe / A HOHEERES (Rffe / )
mEE GEE AU Ei Hes ETag Fires #/88 B IEEN | BREE B wEE aEE FUWE 3 Hes EEEE FiEE $A/8 HigE ITHEEE | MRESs B
Hardened Tranwm Staniess Capper Engneenng Glass - Hardened Taanum Slankess Capper Engnesrng Glass.
Carbon Steel Adicry Stoel Stoel Casiinn Allay Superatoy Siest Adrnnum Resin pastics Fiber Bakedts Canon Steel Aoy Steed Sieel Cagiron Aly Suparalioy Steet Aminum Resin piasics Fiber Bakene
HRC 20 HRG<20-30 HRC<55 = = < = = = = s HRCS 20 HRC< 20-30 HRCCES - - - = = = = z
. . s s | e . o | e ° ° o s | s . @ s | e @ @ ° ° ¢ o 32
(5]
s nE 7 e B T ne M i Bi #1 nie P il 24 At N n wE B4 s
tSpeciication) () ) L] w ¢ (d) i) ) w (Specification) (d) Ll L] 0 (d) L) [ i |
=1 ¥2428-1980 198 12 3 38 ¥2428-2500 250 2 3 ] Y24260L-0040 004 RE 3 s VZ4ZBL-0480 048 [ 3 2 | |
k 3 YZ428-1990 199 2 3 £ | YZ428-2510 251 12 3 3 Y24281-0045 0045 LA 3 il YZ42BL-0450 0.49 i 3 38 |
3. YZ426-2000 200 12 3 38 YZA28-2520 252 12 3 38 YZ4ZBL-0050 0.08 i 3 il YZ42BL-0500 050 7 3 38
B YZ428-2010 201 3 38 ] 253 2 1 38 YZ42BL-0055 0.055 02 3 13 YZ428L-0510 051 ] 3 36 |
3 Yrassans B B3 B B Z54 iz 3 = V4TG0 588 55 3 £ YZ4zBL-0520 052 [ 3 38
YZ428:2030 203 12 3 T YZ428-2550 25 12 5 38 YZ428L-0065 0.065 03 3 3 Yziz8L-0530 053 ] 3 = |
YZ428-2040 204 12 3 L YZAZB-2560 256 12 a 38 YZAZAL-0070 a7 12 3 38 YZ42BL-0540 054 ] 3 38
YZ428-2050 205 2 3 ®_ | YZ428:2570 257 P 3 El V242810075 0.075 12 3 3 YzazoL-0550 055 ] 3 38 |
YZ428-2060 206 12 3 E YZ428-2580 258 12 3 3 V242810080 0.8 12 3 ] YZ428L-0560 055 ] 3 E)
Y2428-2070 207 2 3 I YZ428-2550 25 2 3 E YZ428L-0085 0.085 12 3 B Yz428L-05T0 057 9 3 £ |
YZ428-2080 208 12 3 38 : YZ428-2500 280 12 3 38 YZ428L-0090 0.09 1.2 3 32 YZ42BL-0560 058 [] 3 38
Aei] R 13 : = YZ428-2610 261 12 3 38 YZ428L-0095 0.095 12 3 3 Yz4zal-0500 058 ] 3 ® |
:iﬁ:::‘:‘; i:‘: :: : ;: i Y2428-2420 262 2 E] £ YZ4ZBL0T00 010 z 3 B ¥Z428L-0600 050 ] ] 3
= : : YZ428-2630 263 12 3 38 YZ4ZBL-0110 011 2 3 i YZ42BL-0610 0.61 £ 3 38 |
v; 25-2122 :é ‘: : ;: i YZ42E-2640 264 12 3 33 YZ4200-0120 012 E] E] 8 YZ426L-0620 062 [] 3 38
8 2l 24282650 265 12 2 38 YZ428L-0120 012 3 5 3 ¥Z428L-0830 053 ] 3 B |
YZ420-2140 214 12 3 8 ] YZ428-2660 266 12 3 7]
YZ428-2150 215 2 3 3| V242810140 014 3 El = YZ478L-0640 064 [l 3 EC)
> 24282570 257 2 3 £l YZ4ZBL0150 015 3 3 ) YZ4ZBL-0650 058 ] 3 38 |
¥2428-2160 216 12 2 B YZ428-2880 268 12 3 a8
YzazeziT 217 2 3 T i YZ428L-0160 018 4 2 i3 YZ428L-0660 086 9 3 3B |
Sl = g = o YZ4ZBL01TD 017 4 3 B YZ42BL-0670 057 P = T |
¥2428-2180 218 12 2 38 ¥2428.2700 270 12 3 ]
CET = o= 3 %] e — - - - YZ428L-0160 0.18 4 3 B Y242BL-05660 068 9 3 38
YZ428L-0190 019 4 3 3 YZ42BL-0680 069 L} 3 38
= el - L : = | EATR-T} 20 272 L 2 = YZ42RL0200 0.20 4 3 ] YZ42BL-0700 070 3 3 ) l
o YZ428-2210 221 12 3 38 YZazaZian 273 1z 3 38 -
iy YZi28.2530 25 o 3 % Yz4zal-0210 021 5 3 B YzazeL0710 071 10 3 38 |
e 1 YA 214 L 2 2 V24290220 022 5 3 )
‘ﬁ_ V24282290 223 12 3 EC) | S o & - - L YZ42BL-0T20 orz 10 3 3B |
1 24282540 254 2 Py 38 St e = 3 5 YZ428L-0230 023 5 3 38 ¥Z428L-0730 073 10 3 38 ]
YZ4282250 225 12 3 = | T — 5 ~ = YZ4281-0240 024 5 3 ) YZ4ZBL-0740 074 10 3 Exl
Yz4ze-2260 276 12 3 3B I oy o . =~ YZ42BL-0250 025 5 3 33 Yz4zeL-0750 075 10 3 38 ]
YZ428-2270 227 12 3 38 l YZazaaTan EET) = = a8 YZ4Z8L-0260 026 L3 3 ) YZ42BL-0T60 076 10 3 3B
YI428-2260 228 12 3 38 YZ4Z8L0270 027 & 3 ) YZa2eL-07T0
YZ428-2800 280 2 3 E L4 1 2 = !
24282290 288 2 3 2 | e o = = 5 YZ4z8L-0280 028 6 3 33 YZ428L-0780 078 10 3 38
YZ428-2200 230 12 3 kL | \ZA20.5520 282 2 3 ™ YZ428L-0290 029 L] 3 B YZ42BL-0T90 ors 10 3 38 |
YZ428-2310 231 12 3 38 | 7} £ ETe) T3 3 £ YZ428L-0300 030 L] 3 ] ¥Z2428L-0800 080 10 3 ] |
¥2428-2320 232 12 3 8 mza 284 3 . = 5 = YZ4ZBL0310 031 & 3 3 ¥Z428L-0810 081 10 3 38 |
YZ428-2330 233 12 3 38 | = = s = 3 = YZ428L-0320 032 3 3 ) YZ42BL-0620 082 10 3 38 |
Yadasa340 24 12 2 8 | e Sts - 3 5 YZ428L0330 033 6 3 ) Yz428l-0830 083 10 3 ® |
Ye42e-2350 235 = 3 2 | T ] T 5 = YZ42BL0340 034 & 3 3 YZ426L-0840 084 10 3 8 |
Ez::’;;g ;;: :: : ;: | ooy o o - = YZ4ZBL-0350 038 & 3 ] ¥Z42BL-0B50 085 10 3 B |
S 2 = - — T oy = 3 = YZ428L-0360 038 & 3 B YZ428L-0850 085 1 3 38
vme. = = < S 0400 580 T 3 — Y24281-0370 037 [ 3 ) YZAZBL-0BT0 0ar 0 3 ED) |
vzus::ue = = 3 = e =T = o = YZ423L-0380 038 & 3 ) YZ428L-0800 088 10 3 38 |
T = == 5 = 1 YZ428-2920 Za2 12 3 ET) YZ428L-0390 039 [ a 3 YZ42BL-0B90 0.89 0 3 38 |
e Bat T 3 m - YZazg-z330 Z93 1z 3 30 YZ428L-0400 040 L] 3 3 YZ428L-0900 090 10 3 38
i i = 5 e | g i 1 r 0 V24230410 041 7 3 £ YZ428L-0910 0.1 10 3 38 |
Al ey S = 5 = _ Yzazi2a50 28 Ty 3 el YZ4281-0420 042 7 3 £ ¥2428L-0020 082 10 3 E o
s T S = 7 ® YTazi79m0 298 2 3 ] YZAZBL0430 043 7 3 3 YZ428L-0930 093 1 3 £ | 2
- YZ428-2460 245 12 3 36 YZA28-2970 207 12 & 30 YZ428L-0440 044 7 3 i YZ428L-0940 094 10 3 38 | 1T
et e = 5 %] Yz4zaZ980 288 2 3 = YZ4ZBL-0450 045 7 3 £ YZ42BL-0950 095 10 3 £ ]
YZA23-2480 248 12 3 ] | YT4ZE-2930 FET] 12 3 38 Y2428L-0460 048 7 3 £l ZAZEL-09E0 035 0 2 38
YZ28.2490 243 1z 3 ) | YZ428-2000 300 12 3 T YZAZBL-D4TO 047 7 3 8 ¥Z428L-0970 087 10 3 T |

E009 E010



S

GRAND TOOLS

BUILD IT SMARTER

BEE Rk
Solid Carbide Drill

ERESEHk
Solid Carbide Drill

| e

RAND TOOLS

BUILD IT SMARTER

# YZA28L WUNEMK 753k

YZ428L Micro Diameter Long Flutes Drill

b e Technology Parameters

E011

# YZ428L t/INEMR 753k

YZ428L Micro Diameter Long Flutes Drill

Em#ﬂf Technology Parameters

EUSMEERE (Rifife /o)

EUHYEERE (BEfHe /o#iA)
mEE GEE AU Wi 1ok ETag Fixe /88 il IEER | BREE AR
cronsen | morsos | M | comn | WD | cpuy | S | cwr | e | mem |G | e
HRCE 20 HRGE21-30 HRCCHS - = = 5 -
L] L] . . L] L] L4 @ o o o
i niE T i £ 3 s ne e iz 24
{ {d) o} ) L5] {d} wn i 18]
YZ42BL-0980 .08 0 3 38 YZ42BL-1480 148 15 3 50
YZ428L-0090 08 10 3 32 | ¥Z428L-1400 149 15 a 50
¥Z428L-1000 1.00 12 3 E:] YZ42BL-1500 150 15 3 50
YZ428L-1010 101 12 3 38 | YZ4ZEL1510 151 20 3 50
YZAZBL-1020 102 iz 3 38 YZ42BL-1520 152 20 3 a0
¥Z428L-1030 103 12 3 38 | YZ428L-1530 153 20 3 60
YZ42BL-1040 104 12 3 38 | YZ428L-1540 154 20 3 60
¥ZaZ6L-1050 108 12 3 E) ] YZ428L-1550 155 20 3 50
¥Z428L-1060 106 12 3 38 YZ428L-1560 156 20 2 60
YZ428L-1070 107 12 3 a8 | YZA28L-15T0 157 20 a 60
YZ428L-1080 1.08 12 3 3% | YZA2BL-1560 1.58 20 a 60
¥Z428L-1080 109 12 3 38 | V242811590 159 20 ] 60
¥YZ428L-1100 110 12 3 28 | YZ428L-1600 160 20 3 B0
YZ42BL-1110 111 12 3 38 | YZ4ZBL-1610 161 20 i 60
YZ428L-1120 112 12 3 38 YZ428L-1620 162 20 3 [
¥Z428L-1130 113 12 3 E) | YZ4ZBL-1630 163 20 3 50
YZ428L-1140 114 12 3 38 WZ428L-1840 164 20 3 60
YZ428L-1150 LI 12 3 38 | YZ428L-1650 165 20 3 1]
¥Z428L-1160 116 12 3 28 YZ4ZBL-1660 156 20 3 50
YZA28L-1170 117 12 3 E:] | YZAZEL-1670 167 20 e 60
¥Z43BL-1180 118 12 3 38 i YZ428L-1680 168 20 3 B0
¥Z428L-1190 119 12 3 el | YZ428L-1600 168 20 3 60
YZ426L-1200 120 1z 3 38 YZ428L1700 170 20 3 &0
YZ428L-1210 121 15 3 50 | YZ428L-1710 i 20 | B0
YZ42BL-1220 122 15 3 50 YZ4ZBL-1720 172 2 3 60
YZ42BL-1230 123 15 3 50 ] YZ428L-1720 173 20 2 60
YZ42BL-1240 124 15 3 50 YZ426L1740 174 20 3 a0
YZ428L-1250 1.25 15 3 50 ] YZAZEL-1750 1715 20 -] B0
YZ42BL-1260 125 15 3 50 YZ428L-1T60 1.76 20 3 a0
YZ42BL1270 127 15 3 50 ] YZAZBLATID 177 20 3 a0
¥Z428L-1280 128 18 3 50 YZ428L-1780 178 20 2 60
¥7AZEL-1230 129 15 3 C 24281790 179 2 3 60
WZ42BL-1300 130 15 3 50 YZ42BL-1800 180 20 3 [
¥Z428L-1310 13 15 3 50 | YZ428L-1E10 181 20 3 50
¥Z428L-1320 132 15 3 50 | YZ428L-1820 182 20 3 60
YZ42BL-1330 123 15 3 50 | YZAZEL-1830 143 20 3 60
Y¥2426L-1340 134 15 ¥ 50 YZ428L-1840 184 20 3 50
¥2428-1350 135 15 3 50 | YZ428L-1850 185 20 2 60
YZ428L-1360 1.26 15 3 50 i YZ428L-1860 186 20 3 B0
YZ428L-1370 127 18 3 50 | TZAZBL-1ET0 187 20 3 60
¥Z428L-1380 138 15 3 s0 YZ428L-1860 148 20 3 a0
YZ4ZBL-1380 139 15 3 50 | YZ42BL-1820 189 20 3 &0
¥Z428L-1400 140 15 3 50 | YZ4ZBL-1300 150 20 3 60
YZ42BL-1210 141 15 3 50 | YZAZBL-1510 191 20 3 a0
¥Z428L-1420 142 15 3 50 | ¥Z426L-1920 102 20 3 60
YZ428L-1430 143 15 3 50 J YZ428L-1930 183 20 i) 60
YZ42BL-1440 144 15 3 50 YZ42EL-1940 194 20 3 [
¥Z428L-1450 145 15 3 50 | YZ4281-1950 185 20 a B0
YEZ426L-1460 146 15 3 50 YI428L-1960 196 0 3 60
YZAZBL-1470 147 15 3 50 | YZ425L-1970 147 20 3 &0

BRE g8 M Wik e HIESE FEE 8 ik TS | WRESE
o | owe | P | o | T | ey | e | o | e | | o
HRC<Z0 | HRC<20-30 HRE<H E
| . | . . . . . @ ° ° | o
] ne nk iz 2% i nE 7 iz
() Lol L) i {d) [} (]
YZ428L-1880 128 20 3 50 V242612500 250 25 3
VEAZEL1890 i@ 20 3 60 YZ428L-3510 251 %5 3
YZAZL-2000 200 20 3 &0 YZazeL-2520 252 5 3
YZ423L2010 201 25 E] &0 Yzazel 530 253 P 3
YZ4ZaL-2020 282 = 3 50 E i 254 = 3
YZ4Z8L-2030 203 25 3 60 YZazeL 2500 255 F 3
YZA20L-2040 204 25 3 0 YZ4261-2560 256 25 3
YZARL-2050 205 ES E 60 V242813570 257 = 3
YZ428L2060 205 25 E) 50 YZ4o0.2%0 T = 1
YZ428L2070 207 25 3 E] VZATIL 2500 75 = 3
YZ4ZBL-2080 208 25 3 &0 V245005800 580 = I
YZA2HL-2090 208 2 3 50 YZAZ8L-2610 281 25 3
YZ428L.2100 210 25 3 &0 o P = =
YZ2zal2110 231 25 3 &0 T = = =
z4zal-2120 212 25 3 E] Vet Fr = %
YZ4Z3L2130 213 25 3 60 e s o 3
VR4 £, 5 3 sd 242812680 266 5 3
vZ428L2150 215 25 B ] ) o = 7
L T T
YZ428L-2180 218 25 3 50 SEsRL i o 2
S o = - = YZ4ZBL-2700 270 25 3
YZ428L2200 220 25 3 &0 L 21 5 A
YZ4ZEL-2210 221 25 3 60 \zaRn 22 = 3
YZAZIL2220 222 25 3 60 E:::j::: i:: i“: :
YZ4zaL-2230 2 F3 3 60 -
vZ42aL2240 224 25 3 50 AN i) 2 2
BT o = 5 = YZ4ZeL-2780 278 = 3
YZ4zaL-2250 225 25 3 60 Pl i = -
e == o = o YZ4ZEL-2780 278 25 3
YZ428L-2280 228 2 3 &0 Jciel 10 2 iy 2
R =5 = 5 = ¥2428L-2000 280 5 3
YZ4zaL-2300 230 25 3 50 YEARL 2510 L] i 3
VEAZEL2310 23 % 3 60 bt b 25 s
YZ4zaLZI0 FE 25 3 o0 Lo i = 3
YZi2BL-2330 233 25 ] B0 Y24281-2840 284 5 32
YZ428L-2340 234 25 1 &0 Yzaa0L-2050 285 25 2
SZizILzine 23 2 3 M YZ428L-2860 285 5 3
YZ428L-2350 236 25 E 60 YZ4281-2870 287 5 3
VZA3AL 370 737 7 3 & YZ428L-2080 288 3 3
YZAZBL-2380 238 25 3 60 Y24281-2000 220 % 3
VZAZBL2350 FE 25 3 &0 YZ428L-2000 280 5 3
YI4ZEL2400 240 25 3 60 Y24281-2910 241 25 3
YZAZBL2410 241 2 3 &0 Y24zeL-2020 282 5 3
YZ423L-2420 242 2= g ] YZ428L-2030 243 5 7]
TZ4ZBL2430 243 25 3 50 Y2426L-2040 244 25 3
YZ4ZBL-2440 F7] 25 3 50 YZ4zeL-2850 295 25 3
YZAZIL2450 245 2 3 60 Y2426L-2060 288 25 3
YZ42BL-2450 246 3 3 60 YZ425L-2370 247 5 3
242812470 247 2= 3 &0 242812080 288 I3 3
TEAZEL-2450 248 24 3 Gl YZ4Z81-2990 299 5 3
YEAZAL2430 240 25 B 50 YZ426L-3000 3.00 25 3

EO12



(3 GRAND TOOLS | BES &k BEES2HL (’3 GRAND TOOLS
: A Solid Carbide Drill Solid Carbide Drill 4 S

# YZNHA-3D IS BIEES £k # YZNHA-3D M2 B ERS &bk

YZNHA-3D Solid Carbide Drill Wtihout Internal Coolant YZNHA-3D Solid Carbide Drill Wtihout Internal Coolant

E#%Hl Technology Parameters Em%ﬂf Technology Parameters

HUHEEHERSE (B#fHe / lil) BEUSMEEREE (BlEife / o#E)
mEE aEE U i Hes EEo® Tk #/88 B ITREEN R AR 5] SEE R wH Fresd EESH FiEsE $R7/38 Hifg IR WIRE =
L CartonSteal | Aoy Stest e Castion Lostnd Superatay st iy Resin ol s Bakeite Caitonstesl | Aoy steel il Casteon Lol Suparaiy S S Resin il i Bensate i
; HRC<20 HRC<20-30 HRCCTS = = ~ - - 5 - = HRE-20 HRC<20-30 HROCIS = - 3 = = = 2 : o
. . . . o | . . . . | o
& Mk 7 DIk i i Wz %S M Mz 7 i i Az

(Specification) df Lr L2 L4 a2 L (sp a Lr 2 L4 a2
YZMNHA-3D-0300 3.00 17 20 36 ] 62 YZNHA-3D-0720 7.20 7 . 36 B
YZNHA-3D-0310 3.10 17 20 356 6 62 YZNHA-3D-0730 7.30 a7 41 36 8
YZNHA-3D-0320 3.20 17 20 36 6 62 YZNHA-3D-0740 T.40 a7 41 36 B
VZrLA 2D D330 ET:) = T & = = TR LTS =5 = T 3 =
YZNHA-3D-0340 3.40 17 5 62 YZNHA-3D-0760 7.60 37 41 6 8
YZNHA-3D-0350 3.50 17 20 36 ] 62 YZNHA-3D-0770 7.70 37 41 36 8
YZNHA-3D-0360 3.60 17 20 36 6 62 YINHA-3D-0780 7.80 37 41 36 8
YZNHA-3D-0370 3.70 17 20 36 6 62 YZNHA-3D-0790 7.90 7 41 36 8
YZNHA-3D-0380 3.80 21 24 6 6 66 YZNHA-3D-0800 8.00 37 41 36 8
YZNHA-3D-0390 3.90 21 24 36 6 66 YZNHA-30-0810 810 43 47 40 10
YZNHA-3D-0400 4.00 21 24 36 & 66 YZNHA-3D-0820 B.20 43 47 40 10
YZNHA-3D-0410 4.10 21 24 36 6 66 YZNHA-3D-0830 8.30 43 47 40 10
YZNHA-3D-0420 4.20 21 24 36 & 66 YZNHA-3D-0840 B8.40 43 47 40 10
YZNHA-3D-0430 4.30 21 24 36 ] 66 YZNHA-3D-D850 B.50 43 47 40 10
YZNHA-3D-0440 4.40 21 24 36 G 66 YZNHA-3D-0850 B.60 43 47 40 10
YZNHA-3D-0450 450 21 24 36 () 66 VZNHA-3D-0870 B.70 43 47 40 10
YZNHA-3D-0460 4.60 21 24 36 6 &6 YZNHA-3D-0830 B.80 43 47 40 10
YZNHA-3D-0465 4.65 21 24 36 6 66 YZNHA-3D-0820 B.90 43 47 40 10
YZMNHA-3D-0470 470 21 24 36 -] YZNHA-3D-0900 9.00 43 47 40 10
YZNHA-3D-0480 4.80 25 28 36 & YZNHA-3D-0910 9.10 43 47 A0 10
YZNHA-3D-0490 4.90 25 28 36 6 66 YZNHA-3D-0920 9.20 42 47 40 10
YEZNHA-3D-0500 5.00 25 28 36 6 YZNHA-3D-0925 9.25 43 47 40 10
YZINHA-3D-0510 5.10 25 28 36 6 66 YZNHA-3D-04930 9.30 43 47 40 10
YZNHA-3D-0520 5.20 25 28 36 6 YZNHA-3D-0940 9.40 43 47 40 10
YZNHA-3D-0530 5.30 25 28 36 5 66 YZNHA-3D-0950 9,50 43 47 40 10
YZNHA-3D-0540 5.40 25 28 36 & YZNHA-3D-0960 9.60 43 47 40 10
YZNHA-3D-05350 3.50 23 28 36 ] 113 YZNHA-3D-0970 9.70 43 47 40 10
YZNHA-3D-0555 5.55 25 28 36 ] YZNHA-3D-0980 9.80 43 47 A0 10
YZNHA-3D-0560 5.60 25 28 36 ] 66 YINHA-3D-0990 9.90 43 47 40 10
YZNHA-3D-0570 5.70 25 28 36 ] 66 YZNHA-3D-1000 10.00 43 47 40 10
Y¥ZNHA-3D-0580 5.80 25 28 36 3 66 YZNHA-3D-1010 1010 50 55 45 12
YZNHA-3D-0590 5.50 25 28 26 3 66 YZNHA-3D-1020 10.20 50 55 45 12
YZNHA-3D-0600 6.00 25 28 36 & 66 YZNHA-3D-1020 10.30 50 55 45 12
YZNHA-3D-0610 6.10 30 34 36 8 79 YZNHA-3D-1040 10.40 50 55 45 12
YZNHA-3D-0620 6.20 30 34 6 a8 79 YZNHA-3D-1050 10.50 50 55 45 12
YZNHA-3D-0630 6.30 30 34 36 8 79 YZNHA-3D-1060 10.60 50 55 45 12
YZNHA-3D-0640 6.40 30 34 36 B 79 YZNHA-3D-1070 10.70 50 55 45 12
YZNHA-3D-0650 6.50 30 24 36 B 79 YZNHA-3D-1080 10.80 50 S 45 12
YINHA-3D-0660 6.60 30 34 36 B 79 YINHA-3D-1080 10.80 50 55 45 12
J YZNHA-3D-0670 6.70 30 34 36 8 79 YZNHA-3D-1100 11.00 50 35 43 12
i} YZINHA-3D-0680 6.80 30 34 36 -] 79 YZNHA-3D-1110 1110 30 33 45 12
YZNHA-3D-0690 6.90 30 34 36 8 79 YZNHA-3D-1120 11.20 50 55 45 12
=i YZNHA-3D-0700 7.00 30 34 26 8 79 YZNHA-3D-1130 11.30 50 55 45 12
YZNHA-3D-0710 7.10 37 a4 36 8 79 YZNHA-3D-1140 1140 50 55 45 12

E013 E014



{Zy oranp oois

BERS
Solid Carbide Drill

ERESEHk
Solid Carbide Drill

{ *:} GRAND TOOLS

# YZNHA-3D JNEBINEES £k

YZNHA-3D Solid Carbide Drill Wtihout Internal Coolant

E015

b e Technology Parameters

FUMEEEHE (RfHe /o)
W =3 AUR 4 1ok ETag Fixe /8 HiiE IEER | BREE B
CartonSteal | Aoy Stest e Castion Lostnd Superatay st iy Resin ol s Bakeite
HRC<Z0 HRC F-30 HRC<55 A

. . . . o

i 7z e i wmi wiE E S

(Specificati d1 Lr L2 L4 42 L

YZNHA-3D-1150 11.50 50 55 45 12 102
YZNHA-3D-1160 11.60 50 55 45 12 102
YINHA-3D-1170 11.70 50 55 45 12 102
YINHA-3D-11%0 11.90 50 45 12 102
YZNHA-3D-1200 12.00 50 55 a5 12 102
YZNHA-3D-1210 12.10 54 60 45 14 107
YINHA-3D-1220 12.20 54 50 45 14 107
YZNHA-3D-1230 12.30 54 60 45 14 107
YZNHA-30-1240 12.40 54 60 45 14 107
YZNHA-3D-1250 1250 54 60 45 14 107
YZNHA-3D-1260 12,60 54 60 45 14 107
YZNHA-3D-1270 1270 54 60 a5 14 107
YZNHA-3D-1280 12.80 54 80 45 14 107
YINHA-3D-1285 12.85 54 &0 45 14 107
YZNHA-3D-1290 12.90 54 &0 45 14 107
YZNHA-3D-1300 13.00 54 &0 45 14 107
YZNHA-3D-1210 1310 54 60 45 14 107
YINHA-3D-1320 13.20 54 &0 45 14 107
YINHA-3D-1330 13.30 54 &0 45 14 107
YINHA-3D-1340 13.40 54 &0 45 14 107
YZINHA-3D-1350 13.50 54 60 45 14 107
YZNHA-3D-1260 13.60 54 60 45 14 107
YINHA-3D-1370 13.70 54 60 45 14 107
YZNHA-3D-1380 13.80 54 60 45 14 107
YZNHA-3D-1390 13.80 54 60 45 14 107
YZNHA-3D-1400 14.00 54 60 45 14 107
YZNHA-3D-1410 1410 39 53 48 16 115
YINHA-3D-1420 14.20 59 65 48 16 115
YINHA-3D-1430 14.30 59 65 48 16 115
YINHA-3D-1440 14.40 59 85 48 16 115
YZNHA-3D-1450 14.50 59 65 48 16 115
YZNHA-3D-1460 14.60 59 65 a8 16 115
YZNHA-3D-1470 14,70 50 65 48 16 115
YINHA-3D-1480 14.80 50 &5 48 16 115
YINHA-3D-1480 14.50 59 65 48 16 115
YZNHA-3D-1500 15.00 59 65 48 16 115
YZNHA-3D-1510 15.10 59 65 48 16 115
YZNHA-3D-1520 15.20 50 65 48 16 15
YINHA-3D-1530 15.30 59 53 48 16 115
YINHA-3D-1540 1540 59 65 48 16 115
YINHA-3D-1550 15.50 59 85 48 16 115
YZNHA-3D-1560 13.60 9 (3] 48 16 115
YZNHA-3D-1570 15.70 59 65 48 16 15

# YZNHA-3D M2 B ERS &bk

YZNHA-3D Solid Carbide Drill Wtihout Internal Coolant

Em#ﬂf Technology Parameters

dil 1400

: -dﬂ

BEISMEERE (Rifife / o)

BRE g8 M Wik e HIESE Ferg $R7/38 ik TS | WRESE C-F
Caton Steal | Aboy Steal il Castron '?:w"'" Suparaty S S Resin E'm""us" i Basie
HRC<20 HRC<20-30 HRE<H - -

. . . . | o

s ne 7% i i e &k

(Speci di Lr L2 L4 a2 I

YINHA-3D-1580 15.80 59 65 48 16 115
YZNHA-3D-1580 15.80 59 65 48 16 115
YZNHA-3D-1600 16.00 59 65 48 16 115
YERHA-3D-1610 i6,i0 or 73 a8 8 23
YINHA-3D-1620 16.20 &7 73 48 18 123
YZINHA-3D-1630 16.30 &7 73 48 18 123
YZNHA-3D-1540 16.40 &7 73 48 18 123
YZNHA-3D-1650 16.50 67 73 48 18 123
YINHA-3D-1660 16.50 &7 73 48 18 123
YZNHA-3D-1670 16.70 67 73 48 18 123
YINHA-3D-1680 16.80 &7 73 48 18 123
YZNHA-3D-1690 16.90 67 73 48 i8 123
YINHA-3D-1700 17.00 &7 73 48 18 123
YINHA-3D-1710 i7.10 67 73 48 18 123
YINHA-3D-1720 17.20 &7 73 48 18 123
YINHA-3D-1730 17.30 67 73 48 i8 123
YINHA-3D-1740 17.40 &7 73 48 1B 123
YZNHA-3D-1750 17.50 67 73 48 18 123
YINHA-3D-1760 17.60 &7 73 48 18 123
YZNHA-3D-1770 17.70 67 73 48 18 123
YINHA-3D-1780 17.80 &7 73 48 18 123
YINHA-3D-1790 17.90 67 73 43 18 123
YINHA-3D-1800 18.00 67 73 48 18 123
YZNHA-3D-1810 18.10 73 79 50 20 131
YINHA-3D-1820 18.20 73 79 50 20 3
YINHA-3D-1830 18.30 73 79 50 20 131
YINHA-3D-1840 18.40 73 79 50 20 13
YZNHA-3D-1850 18.50 73 e 50 20 13
YINHA-3D-1860 18.60 73 79 50 20 3
YZINHA-3D-1870 1B.70 73 79 50 20 131
YINHA-3D-1880 18.80 73 79 50 20 3
YINHA-3D-1890 18.90 73 79 50 20 131
YINHA-3D-1900 19.00 13 79 50 20 13
YINHA-3D-1910 19.10 73 78 50 20 13
YINHA-3D-1920 19.20 73 79 50 20 3
YZNHA-3D-1930 19.30 73 79 50 20 13
YZNHA-3D-1940 19.40 73 79 50 20 131
YZNHA-3D-1950 19.50 73 79 50 20 13
YZNHA-3D-1960 19.60 73 79 50 20 131
YZNHA-3D-1970 19.70 73 79 50 20 13
YZNHA-3D-1980 19.80 73 79 50 20 131
YZNHA-3D-1990 19.90 73 79 50 20 13
YINHA-3D-2000 20,00 73 78 50 20 i3

EO016



=

GRAND TOOLS

BUILD IT SMARTER

EES 5k
Solid Carbide Drill

ERESEHk
Solid Carbide Drill

| e

RAND TOOLS

BUILD IT SMARTER

# YZNHA-5D JNSEMBES ik

YZNHA-5D Solid Carbide Drill Wtihout Internal Coolant

b e Technology Parameters

E EUHYEERE (BEfHe /o#iA)
J& 4 mEE GEE AU Wi 1ok ETag Fixe /88 B IEER | BREE AR
¥ 3 CamonSteel | Aoy Steel e Castiron 'ﬁ;’“ Superalioy i Shaeed i Em oan oy
7] HRC<Z0 HRC F-30 HRC<55 ¥ A & =,
. . . . o
s 7iE nk i b iz 24
(Specificalion) d1 Lr L2 L4 d2 L
i YZMNHA-5D-0340 340 25 28 36 [ 66
3L YZMNHA-5D-0350 350 25 28 36 (] 66
i;;; = YZMNHA-5D-0360 3.60 25 28 36 [3 66
73 YENHA-5D-0370 3.70 25 o 36 & 66
YZNHA-5D-0380 380 32 36 36 3 74
YZNHA-50-0390 3.90 32 36 36 3 74
YZNHA-5D-0400 4.00 32 36 36 6 74
YZNHA-5D-0410 410 32 36 36 6 74
YZMNHA-SD-0420 420 32 36 36 3 74
YZNHA-5D-0430 430 32 36 36 & 74
YZNHA-5D-0440 4.40 32 ET 36 & 74
YZNHA-SD-0450 450 32 36 36 6 74
YZNHA-5D-0460 4,60 32 36 30 [ T4
YZNHA-50-0465 465 32 36 36 6 74
YZNHA-50-0470 4.70 32 36 36 ] T4
YZNHA-5D-0480 4.60 40 44 36 ] a2
YZNHA-5D-0490 490 40 44 36 [ a2
YZNHA-5D-0500 5.00 40 44 36 [} &2
YZNHA-5D-0510 510 40 44 36 6 a2
YZNHA-5D-0520 520 40 A4 36 6 a2
YZMNHA-5D-0530 530 40 A4 36 6 a2
YZNHA-5D-0540 540 4D A4 36 6 82
YZMHA-5D-0550 5.50 40 A 36 [ 82
YZMNHA-5D-0555 5! 40 A4 36 6 82
YZMNHA-5D-0560 560 40 44 36 13 82
YZNHA-5D-0570 5.70 40 44 36 [ 82
YZNHA-5D-0580 5.80 40 L 36 B &2
YZNHA-50-0590 5.90 40 44 36 6 82
YZNHA-50D-0600 6.00 40 44 36 6 82
YZNHA-5D-0610 610 50 53 36 8 91
YZNHA-SD-0620 620 50 53 36 8 91
YZNHA-5D-0630 630 50 53 36 8 91
YZMNHA-SD-0640 640 50 53 36 8 91
YZMHA-5D-0650 650 50 53 36 8 91
YZMHA-5D-0660 660 50 53 36 8 91
YZNHA-5D-0670 670 50 53 36 8 91
YZMHA-5D-0680 6.80 50 53 36 8 91
71 YZNHA-5D-0690 6.90 50 53 36 8 91
fi YZNHA-5D-0700 T7.00 50 53 36 g8 91
YZNHA-5D-0710 710 50 53 36 a8 91
S YZNHA-5D-0720 720 50 53 36 8 91
YZNHA-5D-0730 7.30 50 53 36 8 91

E017

# YZNHA-5D MR EERS &bk

YZNHA-5D Solid Carbide Drill Wtihout Internal Coolant

ﬁm*ﬂf Technology Parameters

m

BUSREEET (Bffe / clif)
wRE =5 ¢ ] ot 1 Fracs HESE ES ] T g IREH | WRKES E-
Caton Steal | Aboy Steal il Castron '?'ﬁ"'" Suprtioy S S Resin E";;:“ i Banae
WREID | HRO<EM | HRo<os - - -
| . . - . | o |
s neE ni& i Wik wiE K
i di Lr L2 L4 42 3

YZNHA-5D-0740 7.40 50 53 36 8 a9
YZNHA-SD-0750 T.50 50 53 36 B 91
YZNHA-5D-0760 760 50 3 EL 8 9
YENHA-SD-0770 T A0 50 53 3o -3 i
YZNHA-5D-0780 7.80 50 53 36 8 9
YZNHA-5D-0790 7.90 50 53 36 8 i
YZNHA-5D-0800 8.00 50 53 el 8 91
YZNHA-5D-0810 810 57 61 40 10 103
YZNHA-5D-0820 820 57 61 40 10 103
YZNHA-5D-0830 8.30 57 &1 40 10 103
YZNHA-5D-0840 840 57 61 40 10 103
YZNHA-5D-0850 850 57 61 40 10 103
YZNHA-5D-0860 8.60 57 &1 40 10 103
YZNHA-5D-0870 870 57 &1 40 10 103
YZNHA-5D-0280 &80 57 &1 A0 10 103
YZNHA-5D-0890 890 57 &1 40 10 103
YZNHA-5D-0900 9.00 57 61 40 10 103
YZNHA-5D-0910 9.10 57 &1 40 10 103
YZNHA-5D-0920 9.20 57 &1 40 10 103
YZNHA-5D-0925 9.25 57 a1 40 10 103
YZNHA-5D-0930 930 57 61 40 10 103
YZNHA-5D-0940 940 57 61 40 10 103
YZNHA-5D-0950 9.50 =74 61 40 10 103
YZNHA-5D-0960 9.60 57 61 40 10 103
YZNHA-5D-0970 9.70 57 61 40 10 103
YZNHA-5D-098D 9.30 57 61 40 10 103
YZNHA-5D-0990 9.90 57 &1 40 10 103
YZNHA-5D-1000 10.00 51 61 40 10 103
YZNHA-5D-1010 10,10 65 7 45 12 118
YZNHA-5D-1020 10.20 BS 71 45 12 118
YZNHA-5D-1030 1030 BS 71 45 12 118
YZWNHA-5D-1040 10.40 65 71 45 12 118
YZNHA-5D-1050 10.50 65 71 45 12 118
YZNHA-5D-1060 1060 65 T 45 12 118
YZNHA-5D-1070 10.70 65 bal 45 12 118
YZNHA-5D-1080 10.680 &5 3 45 12 118
YZNHA-5D-1090 10.90 65 e 45 12 118
YZNHA-5D-1100 11.00 65 71 45 12 118
YZNHA-5D-1110 11.10 65 T 45 T2 118
YZNHA-5D-1120 11.20 65 il 45 Jhe: 118
YZNHA-5D-1130 11.30 65 il 45 2 118
YZNHA-5D-1140 11.40 65 7 45 12 18

» 1 I{,_...

E018



GRAND TOOLS

BUILD IT SMARTER

BES Rk C GRIND TOQLS
Solid Carbide Drill

=

# YZNHA-5D NS EMBES ik

BERE 5k
Solid Carbide Drill

# YZNHA-5D M2 B @RS &bk

YZNHA-5D Solid Carbide Drill Wtihout Internal Coolant

b e Technology Parameters

YZNHA-5D Solid Carbide Drill Wtihout Internal Coolant

ﬁm*ﬂf Technology Parameters

HUHEEHERSE (B#fHe / lil) BUSREEET (Bffe / clif)
wmEHE aEE U i was EEo® Tk #/88 i THRER | BRES AR 5] SEE R wH Fresd EESH FiEsE /58 Lt
Carbon Stoel | Aoy Stost ’"m“"“" Castinon 'ﬁm’" Superakoy S?M"f“ m Rieain E “'m"” Bl GF:: Bakeits CaitonSteal | Al Steel '“'m‘” e Casteon '?'ﬁ"'" Suparatoy 5;“:“ m Fissin
HRCZ0 HRC 20-30 HRC< 55 * - & *: HRC<Z0 HRC<20-30 HRC<AS
Ie . . . . | o | . | . - . | o
s 7z THE mic i iz S Hits 7z 7THE LB i
(Sp ) 41 Lr L2 L4 a2 L (Spacification) il Lr L2 L4
B YZNHA-5D-1150 1150 65 71 45 12 18 YZNHA-5D-1560 15.60 77 a3 48 16 133
3. YZNHA-5D-1160 1160 &5 Fz) 45 12 118 YZNHA-5D-1570 15.70 i 83 48 16 133
o YZNHA-5D-1170 11.70 65 71 45 12 118 VENHAST 1500 15.00 Lif 43 48 16 128
73 YZNNA-BD-1180 11,80 &5 = T3 = 18 SN SO0 L = da =G Liz 338
YZNHA-5D-1190 11.90 65 71 45 12 118 DEHRL S0 a0 i = i 28 133
YZNHA-5D-1200 1200 65 71 45 12 118 b ooh i LS i il A2 18 ol
YZNHA-5D-1620 1620 a7 a3 48 18 143
YZNHA-5D-1210 1210 72 77 45 14 124 AT T = = e s R
G0 e et e i =5 1 ed YZNHA-5D-164D 16.40 87 93 8 18 143
YZNHA-5D-1230 12,30 72 77 45 14 124 T T = o T T T
YZNHA-5D-1240 1240 72 77 45 14 124 YZNHA-5D-1660 16.60 87 93 ) 18 143
YZNHA-5D-1250 12.50 72 7 45 14 124 YZNHA-5D-1670 16.70 87 a3 48 18 143
YZNHA-5D-1260 12.60 72 77 45 14 124 YZNHA-5D-1680 16.80 a7 93 a8 18 143
YZNHA-5D-1270 12.70 72 77 a5 14 124 YZNHA-5D-1690 16.90 87 93 48 18 143
YZNHA-5D-1280 12.80 i2 T 45 14 124 YZNHA-5D-1700 17.00 B7 93 48 18 143
YZMNHA-5D-1285 12.85 T2 T7 a5 14 124 YZNHA-5D-1710 1710 87 93 48 18 143
YZNHA-50-1290 12.90 72 T 45 14 124 YZNHA-5D-1720 17.20 87 93 48 18 143
YZNHA-5D-1300 13.00 72 77 45 14 124 YZNHA-5D-1730 17.30 87 23 48 18 143
YZNHA-5D-1310 1310 72 77 45 14 124 YENRARR-1740 EEA0 ar 93 4 18 133
YZNHA-5D-1320 13.20 72 77 45 14 124 YZNHA-5D-1750 17.50 &7 23 48 i 143
R T o == e T =7 YZNHA-5D-1760 17.60 87 93 28 18 143
YZNHA-5D-1340 1340 72 77 45 14 124 TENHA R LLih £ o 45 18 L
YZNHA-50-1760 17.80 87 a3 48 18 143
YZNHA-5D-1350 13.50 72 77 45 14 124 TR = = = = = e
YZNHA-5D-1360 1360 72 77 45 14 124 T e - - v o 7T
YZNHA-5D-1370 13.70 72z 7 45 14 124 YZNHA-5D-1810 18.10 95 1 50 20 153
YZNHA-5D-1380 13.80 72 7 45 14 124 YZMHA-5D-1820 1820 95 m 50 20 153
YZNHA-5SD-1390 13.90 72 7 45 14 124 YZNHA 5D-1830 1830 a5 101 50 20 153
YZNHA-5D-1400 14.00 72 T 45 14 124 ¥YZNHA-50-1840 18.40 95 101 50 20 153
YZNHA-5D-1410 14.10 77 83 48 16 133 YZNHA-5D-1850 18.50 95 101 50 20 153
YZNHA-5D-1420 14,20 77 a3 48 16 133 YZNHA-5D-1860 18.60 a5 101 50 20 153
YZNHA-5D-1430 14.30 77 83 48 16 133 YZNHA-5D-1870 18.70 a5 01 50 20 153
YZNHA-5D-1440 14.40 77 83 48 16 133 YZNHA-5D-1880 18.80 a5 01 50 20 153
YINHA-50-1450 1450 rid 83 48 16 133 YZNHA-5D-1830 18.90 95 101 50 20 153
e YZNHA 5D 1450 1460 77 83 28 16 133 YZNHA-5D-1900 19.00 a5 101 50 20 153
= YZNHASD-1470 1470 77 0 18 6 133 YZNHA-5D-1910 19.10 95 101 50 20 153
71 YZNLA-SD-1480 1480 77 P 18 1 133 YZNHA-5D-1920 19.20 95 101 50 20 153
i T T = = 35 T T YZNHA-5D-1930 19.30 a5 101 50 20 153
TR T — o 2 T T YZNHA-5D-1940 19.40 a5 01 50 20 153
¥ZNHA-5D-1950 19.50 a5 m 50 20 153
71E SO LR, Ll L SE gt 1z B YZNHA-5D-1960 19,60 as 101 50 20 153 7
il ENHASE-A50 520 7F L ot 16 132 YZNHA-50-1970 19.70 a5 101 50 20 153 ¥
YZNHA-5D-1530 13.30 i 8 48 16 133 YZNHA-5D-15980 19.80 a5 101 50 20 153 S
—_ YZNHA-5D-1540 1340 7 83 48 16 133 YZNHA-50-1990 19.90 95 10 50 20 153 |
YZNHA-5D-1550 1550 ” 83 48 16 133 YZNHA-50-2000 20.00 95 101 50 20 153
E019 E020



=

GRAND TOOLS

BUILD IT SMARTER

BEE Rk
Solid Carbide Drill

ERESEHk
Solid Carbide Drill

| e

RAND TOOLS

BUILD IT SMARTER

# YZCHA-3D Wi2EMBES ik

YZCHA-3D Carbide Drill With Internal Coolant Supply

E021

b e Technology Parameters

WIHEHESRE (Ri#fHe / o#lF)

# YZCHA-3D N2EMBRS &bk

YZCHA-3D Carbide Drill With Internal Coolant Supply

ﬁm#ﬂf Technology Parameters

mEE GEE AU Wi 1ok ETag Fixe /88 B IEER | BREE AR
Carbon Stosl | Aoy Stesl e Castion Lostnd Superatay i iy Resin ol s Baketts
HRC<Z0 HRC F-30 HRC<55 ¥ A =,
. . . . o
Mt 7z 7 ik Wk W 2K

(5p di Lr L2 L4 d2 L
YZCHA-3D-0300 3.00 17 20 36 & 62
YZCHA-3D-0310 310 17 20 36 5 62
YZCHA-3D-0320 3.20 17 20 36 6 62
YZCHA-3D-0330 3.30 17 20 6 6 62
YZCHA-3D-0340 3.40 17 20 36 6 62
YZCHA-3D-0350 3.50 17 20 36 L3 62
YZCHA-3D-0360 3.60 17 20 6 & 62
YZCHA-3D-0370 3.70 17 20 36 @ 62
YZCHA-3D-0380 3.80 21 24 36 [ 66
YZCHA-3D-0390 3.90 21 24 36 6 66
YZCHA-3D-0400 4.00 21 24 36 6 66
YZCHA-3D-0410 4.10 21 24 36 5 66
YZCHA-3D-0420 4.20 21 24 36 o 6
YZCHA-3D-0430 4.30 21 24 36 & 6t
YZCHA-3D-0440 4.40 21 24 36 6 66
YZCHA-3D-0450 4.50 21 24 36 6 66
YZCHA-3D-0460 460 21 24 36 6 66
YZCHA-3D-0465 4,65 21 24 36 (] 66
YZCHA-3D-0470 4.70 21 24 36 G 66
YZCHA-3D-0480 4.80 25 28 36 6 66
YZCHA-3D-0490 4.90 25 28 36 6 66
YZCHA-3D-0500 5.00 25 28 36 6 66
YZCHA-3D-0510 5.10 25 28 36 6 66
YZCHA-3D-0520 5.20 23 28 36 L] 66
YZCHA-3D-0530 5.30 25 28 36 6 66
YZCHA-3D-0540 5.40 25 28 36 6 66
YZCHA-3D-0550 5.50 25 28 36 (] 66
YZCHA-3D-0555 5.55 25 28 36 6 66
YZCHA-3D-0560 5.60 25 28 36 (] 28]
YZCHA-3D-0570 5.70 25 28 36 6 66
YZCHA-3D-0580 5.80 25 28 36 6 66
YZCHA-3D-0590 5.90 25 28 36 6 66
YZCHA-3D-0800 6.00 25 28 36 6 66
YZCHA-3D-0610 6.10 30 34 36 8 79
YZCHA-3D-0620 6.20 30 34 36 8 79
YZCHA-3D-0630 6.30 30 34 36 B 79
YZCHA-3D-0640 640 30 34 36 5 79
YZCHA-3D-0650 6.50 30 34 £l 8 79
YZCHA-3D-D660 6.60 30 34 36 8 79
YZCHA-3D-0670 670 30 34 36 8 79
YZCHA-3D-0680 6.80 20 34 36 8 79
YZCHA-3D-0690 6.90 30 34 36 8 79

BEUSMEEREE (BlEife / o#E)

BRE g8 M Wik e HIESE Ferg 8 ik TS | WRESE C-E
Caton Steal | Aboy Steal il Casteon '?'ﬁ"'" Suprtioy S S Resin E"?f“;:“ i Basie
HRC 2 HRC<20-30 HRE<O5 B =

. . . . | o
At mni mi mi i Wiz =i
(Speci d1 Lr L2 L4 d2 L
YZCHA-3D-0700 7.00 30 34 36 & 79
YZCHA-3D-0710 7.0 37 41 36 & 9.
YZCHA-3D-0720 7.20 37 41 36 ] 79
YZCHA-3D-0730 7.30 37 41 36 i3 79
YZCHA-3D-0740 7.40 37 41 36 8 79
YZCHA-3D-0750 7.50 37 41 36 & 74
YZCHA-3D-0760 7.60 37 41 36 & i
YZCHA-3D-0770 7.70 37 41 36 8 79
YZCHA-3D-0780 7.60 37 41 36 i 73
YZCHA-3D-0730 7.90 37 41 6 [} 79
YZCHA-3D-0800 &.00 37 41 36 & 749
YZCHA-3D-0810 810 43 47 40 10 89
YZCHA-3D-0820 8.20 43 47 40 10 89
YZCHA-3D-0830 830 43 47 40 10 89
YZCHA-3D-0840 8.40 43 47 40 10 89
YZCHA-3D-0850 8.50 43 47 40 10 89
YZCHA-3D-0860 8.60 43 47 40 10 89
YZCHA-3D-0870 a70 43 AT 40 10 89
YZCHA-3D-0880 .80 43 47 40 10 89
YZCHA-3D-0890 8.90 43 47 40 10 89
YZCHA-3D-0900 9,00 43 47 40 10 89
YZCHA-3D-0910 9.10 43 A7 40 10 89
YZCHA-3D-0920 9.20 43 47 40 10 89
YZCHA-3D-0925 9.25 43 47 40 10 89
YZCHA-3D-0930 9.30 43 47 40 0 89
YZCHA-3D-0940 9.40 43 47 A0 10 89
YZCHA-3D-0950 9.50 43 47 40 10 a9
YZCHA-3D-0960 9.60 43 47 40 10 B89
YZCHA-3D-0970 9.70 43 A7 40 10 89
YZCHA-3D-0980 9.80 43 47 40 10 89
YZCHA-3D-0990 990 43 47 40 10 8a
YZCHA-3D-1000 10.00 43 47 A0 10 89
YZCHA-3D-1010 10.10 50 55 45 12 102
YZCHA-3D-1020 10.20 50 35 45 12 102
YZCHA-3D-1030 10.30 50 55 45 12 102
YZCHA-3D-1040 10.40 50 L 45 12 102
YZCHA-3D-1050 10.50 50 55 45 12 102
YZCHA-ID-1060 10.60 50 55 45 12 102
YZCHA-3ID-1070 10.70 50 55 45 12 102
YZCHA-3D-1080 10.80 50 95 45 12 102
YZCHA-3D-1090 10.90 50 55 45 12 102
YZCHA-3D-1100 11.00 50 55 45 12 102

E022



GRAND TOOLS

BUILD IT SMARTER

EES 5k
Solid Carbide Drill

o

# YZCHA-3D WiEMEES ik

YZCHA-3D Carbide Drill With Internal Coolant Supply

BRES 2L ‘ (j GRAND TOOLS
Solid Carbide Drill

# YZCHA-3D NREMBRS bk

YZCHA-3D Carbide Drill With Internal Coolant Supply

2 T

Emgﬂf Technology Parameters ﬁm*ﬂf Technology Parameters

HUHEEHERSE (B#fHe / lil) BUSREEET (Bffe / clif)
wmEHE aEE U i Hes EEo® Tk #/88 i THRER | BRES AR 5] SEE R wH Fresd EESH FiEsE $R7/38 it TSN | WRESH C-F
Carbon Stosl | Aoy Stesl e Castion Lostnd Supsratioy i iy Fesin ol s Baketts Caiton Stesl | Aloy Siel il Casteon Lol Suparstey S S Resin il i e
HRCZ0 HRC 20-30 HRC< 55 * - & *: HRC<Z0 HRC<20-30 HRC<AS *;
. . . . o | . | . . . | o |
o2, [T | mE | We | ®x | ms | = . O 2 2 - I
{21} r
Ty YZCHA-3D-1110 1110 50 55 45 12 102 YZCHA-3D-1560 15.60 59 65 48 15 115
3 YZCHA-3D-1120 11.20 50 55 as 12 102 VZCHA3DASTO0 1570 o 3 B T3 T
P~ YZCHA-3D-1130 11.30 50 55 45 12 102 YZCHA-3D-1580 15.80 59 5 28 16 5
7i FSCHAD 30 1930 59 =5 X5 32 202 YZCHA-3D-1580 1550 58 &5 a8 16 15
YZCHA-3D-1150 11.50 50 55 45 12 102 NZCHA-3D-1600 1600 = o5 28 73 s
YZCHA-2D-1160 11.60 50 55 45 12 102 YZCHA-3D-1610 16.10 67 73 48 18 123
YZCHA-3D-1170 11.70 50 55 a5 12 102 VZCHA-AD-1630 1650 7 - ey 15 123
YZCHA-3D-1180 11.80 50 55 45 2 102 NZeHAID 1630 530 o 3 P 3 155
YZCHA-3D-1130 11.90 50 55 a5 12 102 T T = 7 o e it e
pet it e Ln il i A 1e A YZEHA 3D-1650 16.50 67 73 48 18 123
Tt el TE10 1210 s oo A I L YZCHA-3D-1660 16.60 7 73 48 18 123
YZCESDN 250 1220 54 0 45 L 107 YZCHA-ID-1670 16.70 67 73 48 18 123
YZCHA-3D-1230 12.30 54 50 45 14 107 TR = o = i - =T
ﬁ::ig::;‘;ﬁ :;:: ;" i :: :: :g: ZCHA-3D-1690 16.90 &7 7 a8 18 123
e T = = 7 = = YZCHA-3D-1700 17.00 67 73 48 18 123
YZCHA-3D-1270 12.70 54 60 45 14 107 YZGAIDA1IAD 1719 7 3 L 18 1ed
i o = = = = i YZCHA-3D-1720 17.20 57 73 48 18 123
LS = = = % 4 = T 740 & -?i w i i
-3D- 12 1
i reie s o o o e YZCHA-3D-1750 17.50 67 73 48 18 123
T e =7 =5 T 7 = YZCHA-3D-1760 17.60 67 73 48 18 123
e T 7 s = i i YZCHA-3D-1770 17.70 67 73 48 18 123
e ETETL T 5 5 e = S YZCHA-3D-1780 17.80 57 73 48 18 123
YZCHA-3D-1340 13.40 54 ) 45 14 107 LGS LofEE 87 3 48 18 123
P = = = = = T YZCHA-3D-1800 18.00 67 73 48 18 123
e e ot o o e T YZCHA-3D-1810 18.10 73 79 50 20 131
e T T o = T = e YZCHA-3D-1820 18.20 73 79 50 20 131
YZCHA-3D-1380 13.80 54 60 a5 14 107 NEGHAIEIN 1520 L] el 20 i 1
TR T e = = e - o YZCHA-3D-1840 18.40 73 79 50 20 131
% YZCHA-3D-1400 14.00 54 60 a5 14 107 YELHASDETEA0 1o L] i 20 2D 131
e YZCHA-3D-1410 1410 () 5 a8 6 115 YZCHA-3D-1860 18.60 LE] 7 50 20 131
n YZCHA-3D-1420 14.20 59 5 a8 16 115 YZCHA-3D-1870 18.70 3 L] 50 20 131
2 ¢ YZCHA-3D-1430 1430 59 &5 a8 16 115 YZCHA-3D-1880 18.60 3 i) 50 20 131
YZCHA-3D-1440 14.40 59 65 A8 16 115 YZCHA-3ID-1890 18.90 73 73 50 20 121 {E———
YZCHA 301450 1450 59 S 8 16 s YZCHA-3D-1900 19.00 73 79 50 20 131 g
YZCHA-3D-1460 1460 59 65 48 16 15 YZCHA-30-1910 1510 23 9 50 20 131 e
YZCHA-3D-1470 14.70 59 65 48 16 115 YZCHA-3D-1920 19.20 73 L) S0 20 131 : 7]
YZCHA-3D-1480 14.80 59 65 a8 16 115 YZCHA-3D-1930 19.30 73 79 50 20 131 : 5F
== YZCHA-3D-1490 14.90 59 65 48 16 15 YZCHA-3D-1940 19.40 73 79 50 20 131
YZCHA-3D-1500 15.00 59 65 a8 16 15 YZCHA-3D-1950 19.50 73 79 50 20 131
7 YZCHA-3D-1510 15.10 59 65 48 16 115 YZCHA-3D-1960 19.60 73 79 50 20 131 2 7]
e YZCHA-3D-1520 15.20 59 65 48 16 15 YZCHA-3D-1970 19.70 73 79 50 20 131 10
- YZCHA-3D-1530 1530 59 65 a8 16 115 YZCHA-3D-1980 19.80 73 79 50 20 131 §
YZCHA-3D-1540 15.40 59 65 48 16 15 YZCHA-3D-1950 19.90 73 78 50 20 131
YZCHA-3D-1550 15.50 5a 55 a8 16 115 YZCHA-3D-2000 20.00 73 79 50 20 131
E017 E018




<

GRAND TOOLS

BUILD IT SMARTER

BERS
Solid Carbide Drill

ERESEHk
Solid Carbide Drill

GRAND TOOLS

BUILD IT SMARTER

# YZCHA-5D Wi BIIEHRS £k

b e Technology Parameters

YZCHA-5D Carbide Drill With Internal Coolant Supply

WIHEHESRE (Ri#fHe / o#lF)

# YZCHA-5D MEMBRS bk

YZCHA-5D Carbide Drill With Internal Coolant Supply

Em#ﬂf Technology Parameters

EUSMEERE (Rifife /o)

wEE aEE U i Hes EEo® Tk #/88 i THRER | BRES AR
Carbon Stosl | Aoy Stesl e Castiron Lostnd Supsratioy i iy Fesin ol s Bkt
HRCZ0 HRC 20-30 HRC< 55 * - & *:
- - - - o |
His niE 7 Ei iz wmik =1
(Specificati d1 Lr L2 d2 L4 L
K YZCHA-50-0340 340 25 28 3 36 66
3 YZCHA-5D-0350 3.50 25 28 [ 36 66
- YZCHA-50-0360 3.60 25 28 [ 36 66
7i YZCHA-5D-0370 370 25 28 [ 36 66
YZCHA-50-0360 3.80 32 36 6 36 74
YZCHA-50-0390 390 32 36 & 36 T4
¥ZCHA-50-0400 400 32 36 [ 36 74
¥ZCHA-5D-0410 410 32 36 [ 36 74
YZCHA-50-0420 4.20 32 36 [ 36 74
YZCHA-50-0430 430 32 36 [ 36 74
YZCHA-50-0440 4.40 32 36 [ 36 74
YZCHA-5D-0450 450 32 36 6 36 74
¥ZCHA-SD-0460 4.60 32 36 [ 36 74
YZCHA-S0-0465 465 32 36 [ 36 74
¥ZCHA-50-0470 470 32 36 6 36 74
YZCHA-50-0480 4.80 40 44 [ 36 82
YZCHA-50-0490 4.90 40 a4 6 36 82
L YZCHA-5D-0500 5.00 40 44 & 36 &2
YZCHA-50-0510 510 40 a4 [ 36 82
4 YZCHA-50-0520 520 40 a4 [ 36 82
e YZCHA-50-0530 5.30 40 44 [ 36 82
7] YZCHA-50-0540 5.40 40 44 [ 36 82
YZCHA-50-0550 550 40 a4 [ 36 52
= YZCHA-5D-0555 555 0 a4 6 36 82
:9':} YZCHA-50-0560 560 40 44 6 36 82
YZCHA-5D-0570 5.70 40 a4 6 36 82
YZCHA-SD-0580 5.80 40 44 [ 36 82
¥ZCHA-5D-0590 590 A0 a4 & 36 82
YZCHA-5D-0600 5.00 40 44 [ 36 82
¥ZCHA-5D-0610 6.10 50 53 8 36 91
¥ZCHA-50-0620 5.20 50 53 8 36 91
YZCHA-5D-0630 630 50 53 8 36 a1
YZCHA-5D-0640 540 50 53 8 6 a1
YZCHA-SD-0650 550 50 53 8 36 91
¥ZCHA-50-0660 6.60 50 53 8 36 91
¥ZCHA-5D-0670 670 50 53 8 36 a1
YZCHA-5D-0680 65.80 50 53 [ 36 a1
7] YZCHA-5D-0690 690 50 53 & 36 9
¥ YZCHA-SD-0700 7.00 50 53 8 36 91
YZCHA-SD-0710 7.10 50 53 8 36 91
P YZCHA-5D-0720 7.20 50 53 8 36 91
YZCHA-50-0730 7.30 50 53 8 36 91

E025

wRE =5 ¢ ] ot 1 Fracs BEE ES ] T g IREH | WRKES E-
Caton Steal | Aboy Steal il Castron '?'ﬁ"'" Suprtioy S S Resin E";;:'“ i Basie
WREID | HRO<EM | HRo<os - -
. | . - . | o |
A ne FIE:S i wiE Wi =it
(Specification) di Lr L2 a2 L4 L

YZCHA-SD-0740 740 50 53 ] 36 9
YZCHA-5D-0750 7.50 50 53 8 36 9
YZCHA-5D-0760 7160 50 53 8 3B n
YZCHA-5D-0770 770 50 53 8 36 9N
YZCHA-5D-0780 7.80 50 53 & 36 M
YZCHA-5D-0790 7.90 50 53 8 36 Nn
YZCHA-5D-0800 8.00 50 53 8 36 N
YZCHA-50-0810 810 57 61 10 40 103
YZCHA-5D-0820 820 57 61 10 40 103
YZCHA-5D-0830 8.30 57 61 10 40 103
YZCHA-5D-0840 &40 57 a1 10 40 103
YZCHA-5D-0850 &.50 57 61 10 40 103
YZCHA-5D-0860 8.60 57 a1 10 40 103
YZCHA-5D-0870 870 57 &1 10 40 103
YZCHA-5D-0880 8.80 57 a1 10 40 103
YZCHA-5D-0890 890 57 61 10 40 103
YZCHA-5D-0900 9,00 57 a1 10 40 103
YZCHA-5D-0910 910 57 &1 10 40 103
YZCHA-5D-0920 920 57 &l 10 40 103
YZCHA-5D-0925 925 57 61 10 A0 103
YZCHA-5D-0930 930 57 &1 10 40 103
YZCHA-5D-0940 9.40 57 &l 10 40 103
YZCHA-5D-0950 9.50 57 &1 10 40 103
YZCHA-5D-0960 9.60 57 61 10 40 103
YZCHA-5D-0970 9.70 57 &1 10 40 103
YZCHA-5D-0980 9.80 57 a1 10 40 103
YZCHA-5D-0990 9490 57 &1 10 40 103
YZCHA-5D-1000 10,00 57 &1 10 40 103
YZCHA-5D-1010 1010 65 kAl 12 45 18
YZCHA-5D-1020 10.20 65 il 12 45 118
YZCHA-SD-1030 10.30 65 Fal 12 45 118
YZCHA-5D-1040 1040 65 ral 12 45 118
YZCHA-5D-1050 10.50 65 ri 12 45 118
YZCHA-5D-1060 10.60 &5 il : i 45 118
VZCHA-5D-1070 1070 65 n 12 45 18
YZCHA-5D-1080 10.80 55 2l 12 45 18
YZCHA-5D-1090 1090 65 il 12 45 118
YZCHA-5D-1100 11.00 65 il 12 45 118
YZCHA-5D-1110 1.0 65 Fil 12 45 118
YZCHA-5D-1120 11.20 65 ral iz 45 118
YZCHA-5D-1130 11.30 65 i 12 45 18
YZCHA-5D-1140 11.40 65 7 12 45 18

E026



GRAND TOOLS

BUILD IT SMARTER

A

EES 5k
Solid Carbide Drill

mgsews | {7 oo oots

Solid Carbide Drill

# YZCHA-5D Wi2EMEES &k

YZCHA-5D Carbide Drill With Internal Coolant Supply

b e Technology Parameters

# YZCHA-5D M2EMBRS &bk

YZCHA-5D Carbide Drill With Internal Coolant Supply

Em#ﬂf Technology Parameters

WUHPEEHS (BiifHe / A
mEE GEE AU Ei Hes ETag Fires #/88 B IEEN | BREE B
Carbon Stosl | Aoy Stosl e Castiron Lostnd Supsratioy e iy Fesin ol s Bakeit
HRC<E0 HRIC 2030 HRC<55 ¥ A & =,
. . . . o |

s T ni i w/E Wik E3
Sp ion) dt Lr L2 dz L4 L
i YZCHA-5D-1150 1150 &5 71 12 45 118
A YZCHA-50-1160 1160 &5 T 12 45 118
Bt YZCHA-5D-1170 11.70 &5 [l 12 45 118
7i YZCHA-5D-1180 11.80 &5 71 12 45 118
YZCHA-5D-1190 11.90 85 71 12 45 118
YZCHA-5D-1200 12.00 65 71 1P 45 18
YZCHA-5D-1210 1210 72 77 14 45 124
YZCHA-5D-1220 1220 72 i 14 45 124
YZCHA-50-1230 1230 72 77 14 45 124
YZCHA-5D-1240 12.40 iz 77 14 45 124
YZCHA-50-1250 12.50 72 77 14 45 124
YZCHA-5D-1260 1260 72 77 14 45 124
YZCHA-5D-1270 1270 72 77 14 45 124
YZCHA-5D-1280 1280 72 77 14 45 124
YZCHA-5D-1285 1285 T 77 14 45 124
YZCHA-5D-1290 1290 72 T 14 45 124
YZCHA-5D-1300 13.00 72 7 14 45 124
YZCHA-5D-1310 13.10 72 77 14 45 124
YZCHA-5D-1320 13.20 72 77 14 45 124
YZCHA-50-1330 1330 72 77 14 45 124
YZCHA-5D-1340 1340 72 77 14 45 124
YZCHA-5D-1350 1350 72 77 14 45 124
YZCHA-5D-1360 13.60 72 77 14 45 124
YZCHA-5D-1370 1370 72 77 14 45 124
YZCHA-5D-1380 13.80 72 77 14 45 124
YZCHA-50-1390 13.90 72 i 14 45 124
YZCHA-5D-1400 14.00 72 77 14 45 124
¥YZCHA-5D-1410 14.10 77 a3 16 48 133
o YZCHA-5D-1420 1420 77 83 16 ag 133
71 YZCHA-5D-1430 1430 77 83 16 48 133
% i YZCHA-50-1440 14.40 77 83 16 48 133
- YZCHA-5D-1450 1450 77 a3 16 48 133
YZCHA-50-1460 14.60 77 a3 16 48 133
YZCHA-5D-1470 1470 7 83 16 48 133
YZCHA-5D-1480 14.80 Fi 83 16 48 133
YZCHA-5D-1490 1490 i 83 16 48 133
YZCHA-5D-1500 15.00 77 a3 16 48 133
YZCHA-5D-1510 15.10 7 83 16 48 133
YZCHA-5D-1520 1520 77 83 16 a8 133
YZCHA-5D-1530 1530 fi a3 16 48 133
YZCHA-5D-1540 15.40 77 83 16 48 133
YZCHA-50-1550 15.50 I 83 16 48 133

E027

BUSREEET (Bffe / o)
wRE =5 ¢ ] ot 1 Fracs HESE FEE /s g TREH | WS E-
Cabon Steal | Aboy Steal Ll Castron '?'ﬁ"'" Suparatiny Sl St Resin & i b i Bawae
WRE<ED | HRo<E-M | HRo<os - -
B . . . | © |
Mg neE T e mE Wi i
(Specification) di Lr L2 d2 L4 =
YZCHA-S5D-1560 1560 i a3 16 48 133
YZCHA-SD-1570 15.70 T 83 16 48 133
YZCHA-50-1580 15.80 7 83 16 48 33
MFOHA Lo oD oo T 23 1 48 s
YZCHA-5D-1600 16.00 i7 3 16 48 133
YZCHA-5D-1610 16,10 a7 93 18 48 143
YZCHA-5D-1620 16.20 &7 93 18 48 143
YZCHA-5D-1630 16.30 a7 93 18 48 143
YZCHA-5D-1640 16.40 ar 93 18 48 143
YZCHA-5D-1650 16.50 a7 93 18 48 143
YZCHA-5D-1660 16.60 a7 93 18 48 143
YZCHA-SD-1670 16.70 87 93 18 48 143
YZCHA-5D-1680 16.80 a7 a3 18 48 143
YZCHA-5D-1690 16.90 &7 a3 18 48 143
YZCHA-SD-1700 17.00 &7 93 18 48 143
YZCHA-5D-1710 17.10 &7 93 18 48 143
YZCHA-5D-1720 17.20 &7 93 18 48 143
YZCHA-5D-1730 17.30 a7 93 18 48 143
YZCHA-5D-1740 17.40 ar a3 18 48 143
YZCHA-50-1750 17.50 ar 93 18 48 143
YZCHA-5D-1760 17.60 &7 93 8 48 143
YZCHA-5D-1770 17.70 a7 93 18 48 143
YZCHA-SD-1780 17.80 87 93 18 48 143
YZCHA-5D-1790 17.90 &7 93 18 48 142
YZCHA-5D-1800 18.00 &7 93 18 48 143
YZCHA-5D-1810 18.10 95 101 20 50 153
YZCHA-5D-1820 1820 a5 101 20 50 153
YZCHA-50-1830 18.30 85 101 20 50 153
YZCHA-5D-1840 18.40 95 101 20 S0 153
YZCHA-5D-1850 18.50 as i 20 50 153
YZCHA-5D-1860 18.60 a5 101 20 50 153
YZCHA-5D-1870 18,70 g5 101 20 50 153
YZCHA-5D-1880 18.80 95 1m 20 50 153
YZCHA-5D-1890 18.90 95 101 20 50 153
YZCHA-50-1900 19.00 95 101 20 50 153
YZCHA-5D-1910 19.10 95 1o 20 50 153
YZCHA-5D-1920 19.20 95 101 20 50 153
YZCHA-5D-1930 19.30 a5 101 20 50 153
YZCHA-5D-1940 19.40 95 m 20 50 153
YZCHA-5D-1950 18.50 0 1m 20 50 153
YZCHA-5D-1960 19.60 95 m 20 50 153
YZCHA-SD-1970 19.70 95 m 20 50 153
YZCHA-5D-1980 19.680 95 1o 20 50 153
YZCHA-5D-1990 1990 95 1o 20 50 153
YZCHA-5D-2000 20,00 95 101 20 50 153

= i

T

2 71

i

E028



{Zy omao 100t

EES
Solid Carbide Drill

ERESEHk
Solid Carbide Drill

b e Technology Parameters

#YZGDS EfERS®X-ETIE

YZGDS Solid Carbide Drill-Short Flute

HOSHEBEEE (RiEMHe / cER)

& wEA Sl R =1 itew EESE TES 8 W TEES Wi E53R
i ] Crnsies | swyses | SgES | cosren | ey TR B me | | sakene
/1 HRCC 20 HRCC 2050 HRCTSS = = = 5 = = =
- - - L 2 L] L] L ]
H s iz DA S i =1 Wiz

Metric D1 L1 L2 L D

YZGD5-D3.05 3.05 16 34 50 4

YZGDS-D3.10 3.10 16 34 50 4

YZGDS-D3.20 3.20 16 34 50 1

YZGDS-D3.25 3.25 16 34 50 4

YZGDS-D3.30 330 16 eV 50 4

YZGDS5-D3.35 3.35 16 34 50 4

YZGDS-D3.40 340 16 34 50 4

YZGDS-D3.45 345 16 34 50 4

YZGDS-D3.50 3.50 16 34 50 4

YZGDS-D3.55 3.55 16 34 50 4

YZGD5-D3.60 3.60 18 32 50 4

YZGD5-D3.65 3.65 18 32 50 4

YZGDS-D3.70 3.70 18 32 50 4

YZGDS-D3.75 375 18 32 50 4

YZGDS-D3.80 380 18 32 50 a

YZGDS-D3.85 3.85 18 32 50 4

YZGDS-D3.90 3.90 18 32 50 4

YZGDS-D3.95 395 18 32 50 4

YZGDS-D4.00 400 18 22 50 4

YZGDS-D4.05 4.05 18 27 45 5

YZGDS-D4.10 410 18 27 45 5

YZGDS-D4.15 415 18 27 15 5

YZGDS-D4.20 420 18 27 45 5

J YZGD5-D4.25 425 18 27 45 5

kL YZGDS-D4.30 430 18 27 45 5

YZGDS-D4.35 435 18 27 45 5

YZGD5-D4.40 440 18 27 45 5

YZGD5-D4.45 445 18 27 45 5

N | YZGDS-D4.50 450 18 27 45 5

YZGDS-D4.55 455 20 25 45 5

7] YZGDS-D4.60 460 20 25 45 5

i YZGDS-D4.65 465 20 25 45 5

YZGDS-D4.70 470 20 25 45 5

YZGDS-DA.75 475 20 25 5 5

YZGD5-D4.80 4.80 20 25 45 5

E029

#YZGDS BilERS® X -TETE

YZGDS Solid Carbide Drill-Short Flute

ﬁm ?ﬁf Technology Parameters

EUSTHBEE (REfke / cEE)
BEE | S2@ | REAW ik #ee | Enaz | FE& we WE | IEEN | BEsE | ok
v | pymen | S | oy | T | oy | em | e | g | | o | e
HRC~C 0 HRC<I 2030 HRC=I55 - - - - - & S
- L 2 - L] L] - L]
bk 1 Nz 7 < £ ez
Metric D1 L1 L2 L D
YZGDS-D4.85 4.85 20 25 45 5
YZGDS-D4.90 490 25 45 5
YZGDS5-D5.00 5.00 25 45 5
YZGDS-D5.05 5.05 25 25 50 6
YZGDS-D5.10 5.10 25 25 50 6
YZGDS-D5.15 515 25 25 50 6
YZGDS-D5.20 5.20 25 25 50 6
YZGDS-D5.25 525 25 25 50 6
YZGDS-D5.30 530 25 25 50 6
YZGDS-D5.35 535 25 25 50 6
YZGDS-D5.40 5.40 25 25 50 6
YZGDS-D5.45 5.45 25 25 50 5
YZGDS-D5.50 550 25 25 50 6
YZGDS-D5.55 555 P 25 50 8
YZGDS-D5.60 5.60 25 25 50 6
YZGDS-D5.65 5.65 25 25 50 6
YZGDS-D5.70 570 25 25 50 6
YZGDS-D5.75 575 25 25 50 6
YZGDS-D5.80 5.80 25 25 50 6
YZGDS-D5.85 5.85 kS 25 50 6
YZGDS-D5.90 5.90 25 25 50 6
YZGDS-D5.95 595 25 25 50 6
YZGDS-D6.00 6.00 25 25 50 6
YZGDS-D6.05 6.05 30 30 60 8
YZGDS-D6.10 6.10 30 30 60 8
YZGDS-D6.15 6.15 30 30 60 8 -
YZGDS-D6.20 6.20 30 30 60 8 =
YZGDS-D6.25 6.25 30 30 60 g £ 7
YZGDS-D6.30 630 30 30 60 8 i
YZGDS-D6.35 635 30 30 60 8
YZGDS-D6.40 6.40 30 30 60 8 S 71
YZGDS-D6.45 6.45 30 30 60 8 Jl
YZGDS-D6.50 650 30 30 60 8 R
YZGDS-D6.55 655 30 30 60 8
YZGDS-D6.60 6.60 30 30 60 8
E030



ERESEHk
Solid Carbide Drill

(’\}; GRAND TOOLS

#YZGDS BiERS &% TETIE

YZGDS Solid Carbide Drill-Short Flute

] Technology Parameters

{Cyoramptoos | mmasn
Solid Carbide Drill
L2
#YZGDS BiFRS®i%k-1ETE
YZGDS Solid Carbide Drill-Short Flute \
-
]
/
¥
L
Em?ﬂf Technology Parameters
BN BAE (Rake  EH)
wEE | ==@ | =AW iE BET | BEes | 10w /e WE | Ieen | mmeE | &%
Camencies | mioyses | "PES | comren et || e D || Resin s . st
HRC=I20 HRC- 2030 HRC<I55 - - - - = &
- - L ] - - - -
A 71z IR Wi =i iz
Metric D1 L1 L2 E D
YZGDS-D6.65 6.65 30 30 80 8
YZGDS-D6.70 6.70 30 30 60 8
YZGDS-D6.80 6.80 30 30 60 8
YZGDS-D6.85 6.85 30 30 60 8
YZGDS-D6.90 6.90 30 30 60 8
YZGDS-D6.95 6.95 30 30 60 g
YZGDS-D7.00 7.00 30 30 60 8
YZGDS-D7.05 7.05 32 28 60 8
YZGDS-D7.10 7.10 32 28 60 8
YZGDS-D7.15 7.15 32 28 60 8
YZGDS-D7.20 7.20 32 28 60 8
YZGDS-D7.25 7.25 32 28 60 8
YZGDS-D7.30 7.30 32 28 60 8
YZGDS-D7.35 7.35 32 28 60 8
YZGDS-D7.40 7.40 32 28 60 8
YZGDS-D7.45 7.45 32 28 60 8
YZGDS-D7.50 7.50 32 28 60 8
YZGDS-D7.55 7.55 32 28 60 8
YZGDS-D7.60 7.60 32 28 60 8
YZGDS-D7.65 7.65 32 28 60 8
YZGDS-D7.70 7.10 32 28 60 8
YZGDS-D7.75 7.75 32 28 60 8
YZGDS-D7.80 7.80 32 28 50 8
YZGDS-D7.85 7.85 32 28 60 8
YZGDS-D7.90 7.90 32 26 60 8
s | YZGDS-D7.95 7.95 32 28 50 8
YZGDS-D8.00 8.00 32 28 60 8
YZGDS-D8.05 8.05 40 35 75 10
YZGDS-D8.10 8.10 40 35 75 10
YZGDS-D8.15 815 40 35 75 10
7 YZGDS-D8.20 8.20 40 35 75 10
i YZGDS-D8.25 8.25 40 35 75 10
_ YZGDS-D8.30 830 20 35 75 10
YZGDS-D8.35 8.35 40 35 75 10
YZGDS-D8.40 840 40 35 75 10

E031

HITSHEEES (REfHe / cER)
RN =1 W i Hes HESE TiEE bl s EECE
comses | woyses | UG | cwwe | T | ewem | GGER | SN | men e
HAC< 2 HRCC20~30 HRC55 = - - - hy .
- - L] L] L]

Mg DI DIES (RS £

Metric D1 L1 L2 L
YZGDS-D8.45 8.45 40 35 75
YZGDS-D8.50 8.50 40 35 75
YZGDS-D8.60 8.60 40 35 75
YZGDS-D8.65 8.65 40 35 75
YZGDS-D8.70 8.70 40 35 75
YZGDS-D8.75 B.75 40 35 75
YZGDS-D8.80 880 40 35 75
YZGDS-D8.85 8.85 40 35 75
YZGDS-D8.90 8.90 40 35 75
YZGDS-D8.95 8.95 40 35 75
YZGDS-D9.00 9.00 40 35 75
YZGDS-D9.05 9.05 40 35 75
YZGDS-D9.10 9.10 40 35 75
YZGDS-D9.15 9.15 40 35 75
YZGDS-D9.20 9.20 40 35 75
YZGDS-D9.25 9.25 40 35 75
YZGDS-D9.30 9.30 40 35 75
YZGDS-D9.35 9.35 40 35 75
YZGDS-D9.40 9.40 40 35 75
YZGDS-D9.45 9.45 40 35 75
YZGDS-D9.50 9.50 40 35 75
YZGDS-D9.55 9.55 40 35 75
YZGDS-D9.60 9.60 40 35 75
YZGDS-D9.65 9.65 40 35 75
YZGD5-D9.70 9.70 40 35 75
¥ZGDS-DI.75 975 40 35 75
YZGD5-D9.80 9.80 40 35 75
YZGDS-D9.85 9.85 40 35 75
YZGD5-D9.90 9.90 40 35 75
YZGDS-D9.95 995 40 35 75
YZGDS-D10.00 1000 40 35 75 10 7
YZGD5-D10.05 10,05 42 33 75 12 il
YZGDS-D10.10 1010 42 33 75 12 |
YZGDS-D10.15 1015 42 33 75 12
YZGDS-D1020 1020 4 33 75 12

E032



BERS
Solid Carbide Drill

ERESEHk
Solid Carbide Drill

{ GRAND TOOLS C} GRAND TOOLS

#YZGDS EfERS®E#HX-ETIE

#YZGDL BMERS £k K7E

YZGDS Solid Carbide Drill-Short Flute

Hke Technology Parameters

E033

YZGDL Solid Carbide Drill-Long Flute

Em#ﬂf Technology Parameters

HMHEBHS (REHe / ER) HITSHEEES (REfHe / cER)
wFE asR Rt i HeE BRSE AR /| WimeE RN =1 W i Hes HESE TiEE bl s EECE
coomoms | myses | M | o | TEMM | gy | s | G commes | moyses | PO | o | TEMD | gy | T | O | e | Ewee
HAC<C20 HRC 2030 HRCC55 g L - HAC< 2 HRCC20~30 HRC55 % = - # o = #d
* L] * - - L] L] L] L]
i 7z DIES i BwE A 7z 7He i< S iz
Metric D1 L1 L2 D Metric D1 L1 L2 L D [
YZGDS-D10.25 10.25 42 3 12 Y¥ZGDL-D3.1 3.10 18 el 52 4 Bk
YZGDS-D10.30 10.30 42 23 12 YZGDL-D3.2 3.20 18 34 52 4 ::
YZGDS-DI035 1035 42 33 12 ¥YZGOL-D3.3 3.30 is 34 52 4 7]
YZGDS-D10.40 1040 42 33 12 YZGDL-D34 3.40 20 32 52 4
YZGDS-D10.45 1045 42 33 12 Y2GDL-D3.5 3.50 20 35 55 4
YZGDS-D10.50 10.50 42 33 12 Y¥ZGDL-D3.6 2,60 20 35 55 4
YZGDS-D10.55 10.55 42 33 12 YZGDL-D3.7 370 20 35 55 4
YZGDS-D10.60 10.60 42 33 12 YZGDL-D3.8 3.80 22 33 55 4
YZGDS-D10.65 10.65 42 33 12 ¥ZGDL-D3.9 3.90 22 33 55 4
YZGDS-D10.70 10.70 42 33 12 ¥ZGDL-D4.0 4.00 22 33 55 4
YZGDS-D10.75 10.75 42 33 12 YZGDL-D4.1 4,10 26 34 60 5
YZGDS-D10.80 10.80 42 33 12 YZGDL-D4.2 4.20 26 34 60 5
YZGDS-D10.85 1085 42 23 12 YZGDL-D4.3 4.30 26 34 60 5
YZGDS-D10.90 10.50 42 33 12 YZGDL-D4.4 4.40 26 34 60 5
YZGDS-D10.95 1095 42 33 12 YZGDL-D4.5 4.50 26 34 60 5
YZGDS-D11.00 11.00 42 33 12 YZGDL-D4.6 1,60 28 32 60 5
YZGDS-D11.05 11.05 48 32 12 YZGDL-D4.7 4.70 28 2 60 5
YZGDS-D11.10 11.10 48 32 12 YZGDL-D4.8 4.80 28 32 60 5
YZGDS-D11.15 11.15 48 32 12 ¥ZGDL-D4.9 4.90 28 32 60 5
YZGDS-D11.20 11.20 48 22 12 YZGDL-D5.0 5.00 28 32 60 5
YZGDS-D11.25 11.25 48 32 12 YZGDL-D5.1 5.10 28 37 65 6
YZGDS-D11.30 11.30 48 32 12 ¥ZGDL-D5.2 5.20 28 37 65 6
YZGDS-D11.35 11.35 48 32 12 ¥ZGDL-D5.3 5.30 28 37 65 b e
YZGDS-D11.40 11.40 48 32 12 YZGDL-D5.4 5.40 a0 35 65 6 P
YZGDS-D11.45 1145 48 F2 12 YZGDL-D5.5 550 30 35 65 6 71
YZGDS-D11.50 11.50 48 32 12 ¥ZGDL-D5.6 5.60 30 35 65 6 B
= YZGDS-D11.55 11.55 48 32 12 YZGDL.D5.7 5.70 30 35 65 6
= YZGDs-D11.60 1160 48 32 12 YZGDL-D5.8 5.80 30 35 65 6
71 YZGDS-D11.65 11.65 48 32 12 YZGDL-D5.9 5.a0 30 35 65 6
s YZGDS-D11.70 11.70 48 32 12 YZGDL-D6.0 6.00 30 35 65 5
YZGDS-D11.75 1175 48 32 12 YZGDLDB6A 6.10 36 29 75 7
: LIS e i £ i YZGDL-D6.2 6.20 36 39 75 7 7]
UL YZGDS-D11.85 11.85 48 32 12 YZGDL-D6.3 6.30 36 39 75 7 ¥
] YZGDS-D11.90 11.90 48 32 12 =
YZGDS-D11.95 1195 48 22 12
YZGDS-D12.00 12.00 48 32 12

E034



{ j GRAND TOOLS | EEARHk
ST Solid Carbide Drill

BERS®ESX

Solid Carbide Drill

# YZGDL EfiERS ®ibk-1K713

YZGDL Solid Carbide Drill-Long Flute

Hke Technology Parameters

P EOMEERAS (REHs  EE)
& WEE | as@ | =AW il nes | mmas s TEEE
Bif | | cwwonses | mmymes | "UES | comen | TEUM | ey Ny s
7] HRCC20 HRCE 2030 HRCSS - - -
| - - L ]
#ig 71iE 7K Aic N
Metric D1 L1 L2 L D
YZGDL-D6.4 6.40 36 29 75 7
YZGDL-D6.5 6.50 36 39 75 7
YZGDL-D6.7 6.70 42 a8 20 7
YZGDL-D6.8 6.80 42 a8 20 7
YZGDL-D6.9 6.90 42 g 20 7
YZGDL-D7.0 7.00 42 38 80 7
YZGDL-D7.1 7.10 53 ag 91 8
YZGDL-D7.2 7.20 53 a8 91 8
YZGDL-D7.3 7.30 53 38 91 8
YZGDL-D7.4 7.40 53 a8 o1 8
YZGDL-D7.5 7.50 53 38 91 8
YZGDL-D7.6 7.60 53 ET 91 8
YZGDL-D7.7 7.70 53 ag 91 8
YZGDL-D7.8 7.80 53 L] 91 8
YZGDL-D7.9 7.90 53 38 91 8
YZGDL-D8.0 8.00 53 a8 91 8
YZGDL-D8.1 8.10 61 42 103 9
YZGDL-D8.2 8.20 61 42 103 9
YZGDL-D8.3 8.30 61 42 103 9
YZGDL-D8 4 8.40 61 42 103 9
YZGDL-D8.5 8.50 61 42 103 9
YZGDL-D8.6 8.60 61 42 103 9
YZGDL-D8.7 8.70 61 42 103 g9
YZGDL-D8.8 8.80 61 42 103 9
_ YZGDL-DS.9 8.90 61 42 103 9
i YZGDL-D9.0 9.00 61 42 103 9
= YZGDL-D9.1 9.10 61 42 103 10
7] YZGDL-D9.2 9.20 61 42 103 10
ol YZGDL-D9.3 9.30 61 42 103 10
YZGDL-D9.4 9.40 61 42 103 10
I YZGDL-D9.5 9.50 61 42 103 10
= YZGDL-D9.6 9.60 61 42 103 10

E035

#YZGDL BMERS £k K7NE

YZGDL Solid Carbide Drill-Long Flute

Em#ﬂf Technology Parameters

BUSMHBEE (REMe / oEE)
RS as8 I Wit wag | mBss ] IEEN
o | e | E | o | TEMD | ey = =
HRC~ 0 HRC<I 2030 HRC=I55 - - *
- L 2 - -
Bt nE D Hk 2K
Metric D1 L1 Lz L
YZGDL-D9.7 9.70 61 42 103
YZGDL-D9.8 9.80 61 42 103
YZGDL-D10.0 10.00 61 42 103
YZGDL-D10.1 10.10 71 47 118
¥YZGDL-D10.2 10.20 71 47 118
YZGDL-D10.3 1030 71 47 118
YZGDL-D10.4 10.40 71 a7 118
YZGDL-D10.5 10.50 71 47 118
YZGDL-D10.6 10.60 Tl 47 118
¥ZGDL-D10.7 10.70 71 47 118
YZGDL-D10.8 10.80 71 a7 118
¥YZGDL-D10.9 10.90 71 47 118
YZGDL-D11.0 11.00 71 a7 118
YZGDL-D11.1 11.10 71 a7 118
YZGDL-D11.2 11.20 71 47 118
YZGDL-D11.3 11.20 71 47 118
YZGDL-D11.4 11.40 71 47 118
YZGDL-D11.5 11.50 71 a7 118
YZGDL-D11.6 11.60 71 47 118
YZGDL-D11.7 11.70 71 47 118
YZGDL-D11.8 11.80 Tk 47 118
YZGDL-D11.9 11.90 71 47 118
YZGDL-D12.0 12.00 71 a7 118
YZGDL-D12.1 12.10 77 47 124
YZGDL-D12.2 1230 77 a7 124
YZGDL-D12.3 12.30 77 a7 124
YZGDL-D12.4 12.40 77 47 124
YZGDL-D12.5 12.50 77 47 124
YZGDL-D12.6 12.60 77 47 124
YIGDL-D12.7 12.70 77 a7 124
YZGDL-D12.8 12.80 77 a7 124
YZGDL-D12.9 12.90 77 47 124
¥ZGDL-D13.0 13.00 7.7 47 124

{Zyorano




Milling

Thread Cutter Head

BTk l ( GRAND TOOLS
Thread Cutter Head BUILD IT SMARTER
#
# BIIRMIIk
Tungsten Steel Thread Cutter Head
—=

I

d

|

. D'R Angle L d M

Spe Diameter Flute length Neck Dia Tread Size ”
D10*R0.5-M5 ROS 10 97 MOS B
T — ETIE
D10*R1-M5 R1 10 97 Mo5 R
D10*R2-M5 R2 10 9.7 M05 -
D12*R0.5-M8 RO5 12 1.7 M08 E -
D12°R1-M6 R1 12 1.7 M08 ¥
20

D12*'R2-M6 R2 12 11.7 Mo 5?12
D16*R1-M8 R1 16 157 M08 P
iR

D16*R2-M8 R2 16 16,7 Mog ¥
7]

D20°R1-M10 R1 20 195 M10 =
D20°R2-M10 R2 20 195 M10 S
B
D20°R3-M10 R3 20 195 M10 | ==
8

D25*R1-M12 R1 25 245 M12 i
D25*R2-M12 R2 25 245 M12 ‘N
D25*R2-M12 R3 25 24.5 M12 =55
53

2 ﬂ

‘w

in

ia

;: lﬁ

=71

L

i

T

Fo01



Cj) GRAND TOOLS

BTk
Thread Cutter Head

5| £y

=47
Thread Cutter Head

GRAND TOOLS

BUILD IT SMARTER

LTE

Fo02

# BRIk

Tungsten Steel Thread Cutter Head

Specification < H : :
Diameter Flute length Neck Dia Tread Size

R5-10-d9.7-M05 R5.0 10 9.7 MO5

R8-12-d11.7-M06 R8.0 12 1.7 MO8

R8-16-d15.7-M08 R8.0 16 15.7 M08

R10-20-d19.5-M10 R10.0 20 19.5 M10

R12.5-25-d24.5-M12 R12.5 25 245 M12

# SRk

Tungsten Steel Thread Cutter Head

Specification . B L d ; M 5
Diameter Flute length Neck Dia Tread Size

D10-d9.7-M5 10 10 9.7 MO05

D12-d11.7-M6 12 12 11.7 Mog

D16-d15.7-M8 16 16 16.7 M08

D20-d19.5-M10 20 20 19.5 M10

D25-d24.5-M12 25 25 245 M12

# TEBLO6 EiEmBNTIk

TEBLO6 Connected Thread Cutter Head

| ——

- D L1 L B M T
TEBLOSR-16-M8-2T 16 25 46 8.5 8
TEBLOSR-17-M8-2T 17 25 48 85 8 2
TEBLOBR-20-M10-3T| 20 30 49 105 10 3
TEBLOBR-21-M10-3T| 21 30 43 105 10 3
TEBLO8R-25-M12-4T| 25 35 57 125 12 4 BLMPOBO3 | M25'%65 T8
TEBLOSR-26-M12-4T| 28 35 57 125 12 4
TEBLO8R-32-M16-5T| 32 40 83 17 18 5
TEBLOSR-33-M16-5T| 33 40 63 17 16 5
TEBLO6R-35-M16-5T| 35 40 63 17 16 5
# EXNO3R EENBATI%k
EXNO3R Connected Thread Cutter Head
s b | v |t [ 8| m jwane BTN e
EXNO3R-16-M8-2T 16 25 46 85 8 2
|Exuom-1?4wa—2r 17 25 48 85 8 2
|EXN03R-20—M1U~3T 20 30 48 105 10 3
|E><N03R-21-M1o-31' 21 30 49 105 10 3
|EKN03R-25—M12-4T 25 35 57 125 12 4 LN'UD303ZER | M25'6.5 FT8
]Exuoaﬂ-za-mz-u‘ 26 35 57 125 12 4
EXNO3R-32-M16-5T 32 40 63 17 16 5
EXNO3R-33-M16-5T 33 40 63 17 16 5
EXNO3R-35-M16-5T 35 40 63 17 18 5

FO03



IRk
Thread Cutter Head

C’j GRAND TOOLS

Thread Cuttg‘%ze]agé ‘ Ci‘)

GRAND TOOLS

BUILD IT SMARTER

# ABPFM BIIBKENTII#E7Isk

ABPF Hitachi Ball End Milling Cutter Head

D d
T
3 Ot s
Bt ﬁ
7]
3e D L1 i B M 718 T TIR%e wF
( Designation) Teeth nsert Insert Screw Wrench
ZPFGA00-G
ABPF-R5-M5-1T 10 20 345 55 L3 1 PRGN D10 TS
ZPFG120-G
ABPF-RG-MG-1T 12 20 35 6.5 [i] 1 ZPFGI20W D1z T20
ZPFGIG0-G
ABPF-RB-MB-1T 16 28 46 85 8 1 ZPFGI60-W D16 T20
ABPF-R10-M10-1T 20 30 46 105 10 1 Ef_FE.QPPQ D20 T20
LPFGZUU-W
ZPFG250-G
. ABPF-R12.5-M12-1T 25 35 57 125 12 1 oresena D25 T20
Hik ZPFG300-G
}_-F.TI"I ABPF-R15-M16-1T 30 40 63 12.5 16 1 ZPFGISO-W D30 T30
%L
2]
7 # BNM SERERCFEN LII#ET13k
ENM Dijet Ball End Milling Cutter Head |
L1
B

o

|

£ 5 iy . - v | N 7% nres | ®E
{ Designation) Teeth insart Inser Screw Wrench

BMNM-R5-M5-1T 10 20 M5 56 5 1 BNM-100 BHMSR T15

3 |BND.|—RB—MG—1T 12 20 5 85 6 1 BNM-120 BHMER T20

';::] ] |BI'~.IM—RS—M8—1T 16 28 48 85 a 1 BNM-160 BHNMER T20
Hs | |BNM—R1I}M1D—1T 20 30 46 105 10 T BRM-200 BNM10R T20
71 |BNM—R12.5-M12—1T 25 35 57 125 12 1 BHM-250 BNM12ZR T20
- |BNM—R15—M16—IT 30 40 63 125 16 1 BHM-300 BNM15R T30

F004

# AHU 8iFtRaT)k

AHU Locking thread cutter head

f— O

L7 b s (F B

e 5 " . = v | 0% I TAME | BT
{ Designati Teelh insert Insert Screw Wrench
AHU-16-M8-2T 16 28 46 85 8 2
AHU-17-M8-2T 17 28 46 85 8 2
AHU-20-M10-2T 20 30 49 10.5 10 2
JOMTI003™R M2.5"6 T8
AHU-21-M10-2T 21 i} 49 10.5 10 2
AHU-25-M12-3T 25 35 57 125 12 3
AHU-26-M12-3T 26 35 a7 12.5 12 J
AHU-32-M16-3T 32 40 63 17 16 3
AHU-35-M16-3T 35 40 63 7 16 3 JDMT1505**R 49 Ti5
AHU-40-M16-3T 40 40 63 17 16 &

# MXG OlEREERNTIk

MXG Dijet Double Edged Usage With Connection Mill Cutter

(D;?;Q‘E.mon) D &l : E M Teeth inser Insert Screw Wrench
MXG-16-M&-2T 16 25 46 85 & 2
MXG-17-M8-2T 17 25 46 85 a8 2
MAXG-20-M10-3T 20 30 49 105 10 3
MXG-21-M10-3T 21 30 49 10.5 10 3
MXG-25-M12-4T 25 35 57 125 12 4 ENMUTD0412ZER M2 5°6.5 FT8
MXG-26-012-4T 26 35 57 125 12 4
MXG-32-M16-5T 32 40 63 17 16 5
MXG-33-M16-5T 33 40 63 17 16 5
MXG-35-M16-5T 35 40 63 17 16 5

FO05



=

GRAND TOOLS

BUILD IT SMARTER

BTk
Thread Cutter Head

mans | @
Thread Cutter Head

GRAND TOOLS

BUILD IT SMARTER

K i
e
E714

i |

Foo6

# ASMO7 /MNESEREABYTI

ASMO7 Small Diameter High Speed Right Angle Thread Cutter Head

# MFHO3R Wikt &SHIF LTIk

MFHO3R Double-sided Fast-feed Lock-tooth Cutter Head

oo I EI O R e et Ry
ASMOT-8-M4-1T 8 20 345 45 4 1
| ASMOT-9-M4-1T 9 20 M5 45 4 1
ASMOT-10-M5-2T 10 20 345 5.5 5 2
ASMOT-10-M6-2T 10 20 35 6.5 6 2
ASMOT-11-M5-2T 11 20 345 55 5 2 MTOTO208R
ASMOT7-11-M6-2T 11 20 U5 65 6 2 égmmzzur{ o -
ASMOT-12-M6-2T 12 20 345 6.5 6 2
ASMOT-13-M6-2T 12 20 345 6.5 6 2
ASMOT-16-M8-4T 16 28 46 8.5 8 4
ASMOT-17-MB-4T 17 28 46 8.5 8 4
# ASR ERNIRMTIL

ASR Connected Thread Cutter Head

BE 5 o 5 B v | ma T nEes | 5T

(D Testh insert Insert Screw Wrench
ASR-16-MB-2T 16 28 46 85 8 2
ASR-17-M8-2T 17 28 46 85 8 2
ASR-20-M10-2T 20 30 49 105 10 2
ASR-21-M10-2T 21 30 49 105 10 2
ASR-25-M12-3T7 25 35 57 125 12 3 Eimmaﬂ M2 56 T8
ASR-26-M12-3T 26 35 57 125 12 3
ASR-32-M16-3T 32 40 63 17 16 3
ASR-35-M16-4T 35 40 63 17 16 4
ASR-40-M16-4T 40 40 63 17 16 4

e

{ Designation) D L1 L e M
MFHO3R-16-M8-2T 16 25 46 85 8
MFHO3R-17-M8-2T 17 25 46 85 8
MFHO3R-20-M10-3T 20 30 49 10.5 10 3
IMFHO3R-21-M10-3T 21 30 1 105 10 3
MFHO3R-25-M12-4T 25 35 LT 12.5 12 4 LOGUO30310ER-GM M3.0*T5 FT&
MFHOAR-28-M12-4T 28 s 57 1258 12 4
MFHO3R-32-M16-5T 32 40 63 17 16 5
MFHO3R-33-M16-5T 13 40 63 i 16 5
MFHO3R-35-M16-5T 35 40 63 17 16 5

ASPV Connected Thread Cutter Head
d
Teeth insart Insart Screw Wranch

ASPV-18-M8-2T 16 28 46 85 - | 2
(ASPW-1T-MB-2T il 28 a6 8.5 8 2
ASPV-18-M8-2T 18 28 A6 85 a8 2
ASPV-20-M10-3T 20 30 49 10.5 10 3
ASPV-21-M10-3T 21 30 49 10.5 10 b
(ASPV-22-M10-3T 22 30 49 10.5 10 3
ASPV-25-M12-4T 25 a5 57 125 12 4 MPHWDE0ITN M2.5™6 ™
ASPV-26-M12-4T 26 35 57 1256 12 4
ASPV-28-M12-4T 28 35 7 12,5 12 4
ASPYV-30-M12-4T 30 35 57 12.5 12 4
ASPV-32-M16-5T 32 40 63 17 16 5
ASPV-35-M16-5T a5 40 a3 17 16 5
ASPV-40-M16-6T 40 40 63 17 16 L]

Foo7



=

GRAND TOOLS

BUILD IT SMARTER

BTk

Thread Cutter Head

i | {7y cranp 1001
Thread Cutter Head

ek

15

o

e 3284 7

TOms

2k
f;

Foo8

# EMR5R EEIRATIk

EMRSR Connected Thread Cutter Head

4;‘\

~

# BAPM300R/400R Efg{RMT]k

| BAPM300R/400R Connected Thread Cutter Head

L1

-— O —

UL -
BE T SEE
D L1 L B M
s Ll Designation D M F insert Insert Screw | Wrench 7]
EMRSR-20-M10-2T 20 0 49 105 10 2
EMRSR-21-M10-2T 2 W0 I 105 10 2 BAPM300R-10-M5-1T 10 M5 1 E:‘:
EMRSR-25-M12-27 25 5 5T 125 12 2 BAPM300R-11-M5-1T 1 M5 1
EMRSR-25-M12-2T 2% ES 57 125 12 2 |
RPMWIDI3MOE 1410 Ti5 ¥-5R W4™10 12.]
EMRSR-30-M12-2T 30 3 57 25 12 3 BAERIOR- 1 01T iz st g | o
EMRSR-32-M16-3T a2 35 57 125 16 3 BAPM300R-13-M6-1T 13 Mé& 1 . 3k
[EMRSR-35-M16-3T a5 40 63 17 16 3 BAPM300R-16-M8-2T 16 M8 2 L.Jf
EMRSR-40-M16-31 40 40 & 17 16 3 i
BAPM300R-17-M8-2T 17 Ma 2
BAPM300R-20-M10-2T 20 M10 2
# R390 EFEEa sk BAPM300R-21-M10-2T 21 M10 2
APMT1135PDER M2.5%6 T8
R390 Connected Thread Cutter Head BAPM300R-20-M10-3T 20 M10 3
BAPM300R-21-M10-3T 21 M10 3
BAPM300R-25-M12-3T 25 M2 3
BAPM300R-26-M12-3T 26 M2 %
BAPM300R-25-M12-4T 25 M12 4
BAPM300R-26-M12-4T 26 M12 4
BAPM300R-33-M16-4T 33 M16 4
BAPM300R-35-M16-4T 35 Mi6 4
BAPM400R-25-M12-2T 25 M12 2
BAPM400R-26-M12-2T 26 M2 2
ey s 0 . = = o NE8Z | BE BAPMA00R-30-M12-2T 30 M12 2
o) JeEh Lo st BAPM400R-32-M16-2T 32 M16 2 APMT1604PDER M4 T15
R3G0-16-M8-2T 16 28 46 85 8 2
BAPM400R-33-M16-3T 3R M16 3
R390-17-M8-2T 17 28 46 85 8 2
BAPM400R-35-M16-3T 35 Mi6 &
R390-20-M10-2T 20 an 49 105 10 2 . — i
11 5
FA00.21-M10.2T 1 20 5 105 g 3 BAPMA400R-40-M16-3T 40 M6 3
R390-25-M12-3T 25 35 57 125 12 3
R390-26-M12-3T 26 3 57 125 12 3 | =Hh
R390-25-M12-2T 25 35 57 125 12 2
R390-26-M12-2T 26 35 57 125 12 2
R300-170408 M3.5'8 TI5
R390-32-M16-2T 32 40 63 17 16 3
R390-35-M16-2T 35 40 63 17 16 3

Fo08



IRETIZk

{7y cranp 1001
R Thread Cutter Head

SIMEIEET T (" } GRAND TOOLS
Solid Carbide Anti-vibration Boring Bar | _ o

# BMRERTIF

Solid Carbide Anti-vibration Connecting Boring Bar

# TDAN EECIRMTIk

TD4N Connected Thread Cutter Head

_H

Lz

I

I

[FAREARY 3 |21
k]

»

FO10

Specification Dc2 De1 Lf L1 Lz D2 Db M ':E‘:: Insert (Df? S D M L D1 (D‘Eﬁmm D M B D1
YZPM-DE-100-M4 4 100 8 YZPM-D20-100-W10 20 10 100 20
TD4N2016M-2 16 10 285 55 17 85 128 Ms 2 PR TR F =50 = YZPM.D20-150-M1D & i 150 20
YZPM-D10-100-M5 10 5 100 10 YZPM-D20-200-K10 20 10 200 20
TD4N2018M-2 18 12 25 55 w &5 e HE 2 YZPI-D10-150-M5 10 5 150 10 YZPM-D20-250-110 20 10 250 20 ”
YZPM-D10-100-16 10 6 100 10 YZPM-D20-300-M10 20 10 300 20 e
TD4N2020M-3 20 14 30 55 19 10.5 17.8 M10 3 T = = = = TR = ™= 525 2 o
YZPW-D11-100-M6 7 6 100 1 YZPM-D23-150-M12 23 12 150 2 7]
TDAN2022M-3 22 16 10 55 19 10.5 17.8 M10 3 TR = 5 == 5 o s R o = s i
YZPN-D12-100-M6 12 [ 100 12 YZPM-D23-250-W12 P 12 250 23
TR i 1 i i = 2s 208 i 4 YZPN-D12-200-M6 12 6 200 12 YZPN-DZ3-300-412 2 12 00 2
ENMUOSO3ER
YZPM-D14-100-M8 14 3 100 14 YZPM-D24-150-12 24 12 150 24
TD4N2028M-4 28 22 35 55 2 12,5 208 M2 4
YZPM-D14-150-M8 1 8 150 14 YZPM-D24-200-M12 24 12 200 24
—— I, i » ; 25 . s - s YZPHI-D14-200-14B 14 3 200 14 YZPM-D24-250-M12 2 12 250 24
YZPN-D15-100-M8 15 8 100 15 YZPM-D24-300-W12 24 12 200 24
e = = B : = B s = = YZPM-D15-150-MB 15 8 150 15 YZPM-D25-100-M12 25 12 100 25
YZPM-D15-200-8 15 8 200 15 YZPM-D25-150-M12 25 12 150 25
o i - - . - & . - 5 VZPM-D15-250-M8 15 a 250 15 VZPM-D25-200-M12 25 12 200 25
YZPM-D15 6-100-MB 156 8 100 156 YZPM-D25-250-M12 25 12 250 25
0T - % Vi . 55 o Sis ' 5 YZPM-D15.6-150-M8 156 [ 150 156 YZPM-D25-300-W12 25 12 300 25
YZPM-D15.6-200-MB 156 8 200 156 YZPM-D25-350-M12 25 12 350 25
YZPN-D15.6-250-M8 156 8 250 156 [YZPM-D28-150-M16 28 16 150 28
YZPN-D16-100-M8 16 8 100 16 YZPM-D28-230-M16 28 16 230 28
YZPM-D16-150-MB 16 8 150 16 YZPM-D28-250-W16 28 16 250 28
YZPM-D16-200-M8 16 8 200 16 YZPM-D28-300-016 28 16 300 28
YZPN-D16-250-M8 16 8 250 16 YZPM-D28-350-W16 28 16 350 28
YZPM-D16-300-M8 1 8 300 16 YZPM-D28-350-W16 28 16 350 28
YZPM-D16-350-MB 16 8 350 16 YZPM-D32-100-M16 32 16 100 32
YZPN-D18-130-M10 18 10 130 18 YZPM-D32-150-M16 2 16 150 32
YZPM-D18-200-M10 18 10 200 118 YZPN-D32-200-M16 32 16 200 32
YZPM-D1E-250-M10 18 10 250 18 YZPM-D32-250.M16 32 16 250 32
YZPM-D18-100-M10 19 10 100 18 YZPM-D32-300-W16 2 16 300 32
YZPM-D19-150-M10 19 10 150 19 YZPM-D32-350-M16 32 16 350 32
YZPI-D19-200-W10 19 10 200 19 YZPM-D32-400-W16 32 16 400 32
YZPM-D19-250-M10 19 10 250 19 YZPM-D32-450-M16 32 16 450 32
YZPN-D19-300-M10 19 10 300 19 YZPM-D32-500-W16 32 16 500 32

FO11



BRS2NEIF l { '3 GRAND TOOLS
Solid Carbide Anti-vibration Boring Bar

# hiENE SCLCR £#80°

SOI ld Ca rbi de EES% Solid Powerful SCLCR Rhombus 80°

Anti-vibration Boring Bar

I OTHEIF— I 2 0BT D R
= |J I H H
®
1
EE
ity Y t’t
TREFEER Jo
CC0a/CoM-R0 2 | EE: BTTNEERS, NEETREAnh, ENIF TIE
Cove/comaR 4 | TUTEN, ENATREESRLE T LMENS. e
CC12=R0 8 b EF_
WEEF B
A2 45 4 Iﬁ BE | xa | IR |“_1E [ 71K 2 S insen é
specification o L A B | Hoedamser | T E o
C04G-SCLCRD3 04 90 45 | o5 | a8 e
CosH-SCLCRO3 | 05 100 | 55 | 05 | 58 | Mm.e-Te cc--03s1 . ¥
* pham
COBJ-SCLCRO3 06 110 6.5 0.5 6.8 Salt
COSH-SCLCRO4 | 05 100 55 | 0.5 | 5.8 | - 3k
CO6J-SCLCRO4 06 110 6.5 0.5 6 8 (1]
M2. 0-T6 cCc--04T0 s m
COTK-SCLCRO4 | 07 | 125 | 7.5 | 0.5 | 7.8 | L
C08K-SCLCRO4 | o8 125 8.5 0.5 8.8 7
C0B.-SCLCROG | 06 10 7.5 | 1.5 | 85 [ -
COTK—-SCLCRO6 07 125 8 1.0 s | “tﬁﬁ
COBK-SCLCROS | 08 | 125 g 1o | 10 | wmesTe CG——0602 &
C08M-SCLCROG o 150 9 10 0
C10K-SCLCROG | 10 125 1 1o | 2 |
C10M-SCLCROB .10 150 11 1-0 12 |
€120 (M) -SCLCR06 | 12 |E| 13 1-0 I 14 |
C12Q-SCLORO2 1z 180 135 | 1.5 15 M3. 5-T15 cc—09T3 o
C140-SCLCROS | 14 | 180 CTHETEIE &1
L M2. 5-T8 CC--0602
C16R-SCLCROS 16 200 17 1-0 18 |
C16Q-SCLCRO9 | 16 180 17 1-0 I 18 TR
C14Q-SCLCRO9 14 180 15 -0 LCI g
C16R-SCLCRO9 | 16 200 17 1.0 | 18 M3. 5-T15 iy
C18R-SCLCRO9 | 18 200 19 1.0 | 20 e
C18s-SCLCROS | 18 250 19 10 | 20 cc—09Ta im
C20R-SCLCRDS | 20 200 21 o | 22 | s 2
C205-SCLCROS | 20 | 250 an [toqgl2z—7] p— :
C255-SCLCR09 | 25 250 2 3.0 29 | :
C26T-SCLCROS | 25 | 300 2 | 30 | = |
C32U-SCLCROY a2 350 a5 3.0 a8
C32U-SCLCR12 | 32 350 a5 30 | 38 | MS. 0-T20 ce-—1204
C40X~SCLCR12 40 370 44 a0 a8 |

Goo2




BUILD IT SMARTER

(3GRAND TOOLS | WESRIAEIF EESRAEF | {7 oranp ToOLS

Solid Carbide Anti-vibration Boring Bar Solid Carbide Anti-vibration Boring Bar
a — o
# SCLPR &80 # STUBJIC/P-R =fA#60
SCLCR Rhombus 80° STUB/C/P-R Triangle 60°
BEt - 0THRL F—M R
L H H
il o L
1 1 [
< - o D e W = @ ) @ [ e AR
i @ -, [ -
E " HR B R BRILTEA, $55-10mm @ T
e HEME, Btk
B The lat posiion of the waler outlet handie doss not grnd through,
b about 5-10mm = a reund handle 1o prevent water laakage Bdl: om
TR
St exdepratin ol el b
- T TBOG/ TPHE=R0. 1
H | JIROEERE Troo TPIRe 2 | s EEEMTAMIRGERA I
F7; CPOS=R04 A ARIEORRERE. s p—
& | CP09=RD4 | ' ) L L
i = — —e 2 1A BE | Bk | Kb | TR | g S TIH B Sinson
F FiUE=E nf 3 mE | B2 | Kb | TR | am Bems TIH B S nsent 2 E A B ey i E
it specification D L A B Hale diameter i E CO0BJ-STUBROB 06 110 6.5 0.5 6.8
. 258 F1 8 solid Powerful CO7K-STUBROB o7 125 || ms |l os | Ume —— TB-—0601
C10M-SCLPRO8 10 150 | 1 1.0 12 M3. 0-T8 CP—-0802 COBK-STUBROG 08 125 | 85 | 0.5 | 8.8 ‘ T
C12Q-SCLPRO9 12 180 | 14 | 20 | 16 b e W0/ | 16 | 5] 88 | W
- ey COTK-STUPRO8 o7 125 08 1.0 09
= C14Q-SCLPR09 14 180 I 16 2.0 18 M3. 5-T15 CP-—0903 o By SR =
f: [ = e == SR = COBK-STUPROS 08 125 09 1.0 10 1
i » 1 S5
- LR 7 50 \ = o % COBK-STUPRO9 08 25 09 1.0 10 .
) 1 I C10K (M) ~STUPRO9 10 150 1 1.0 12 M2. 5-T8 TP-—0902
C25T-SCLPROY 25 300 | 28 3.0 30 M4. 0-T15 CP-—0903 o 3
l C12Q-STUPROY 12 13545, 13 1.0 14 B
C32U-SCLP 32 350 35 ; 38 -
il L C10K (M) ~STUPR11 10 |'"8595,| 1.0 12 [ E
i s - F e
I'-FlrL‘ w*ﬁ;Cent&routleltype Ci2M (@) ~STUPR11 12 15/0'_/18(] 123 1.0 14 1
E10M-SCLPRO8 10 150 | 11 1.0 12 M3. 0-T8 CP-—0802 AR o o - — e ; ﬁ;
E12Q-SCLPR09 12 180 14 2.0 16 CBR-STUPR11 16 o 17 ‘.4 18 SHE
E14Q-SCLPR09 14 180 | 16 2.0 18 M3. 5-T15 CP--0903 g o Fr e = s 0 R P
e E16R—SCLPRO9 16 200 | 18 2.0 20 C20R (S) ~STUPR11 20 [200500| 21 1.0 22 =5
% E20S—SCLPROY 20 250 22 2.0 24 C225-STUPR11 22 250 23 1.0 24
E25T-SCLPRO9 25 300 28 3.0 30 M4. 0-T15 CP-—0903 €255 (T) ~STUPR11 26 |20 27 2.0 29 — -
E32U-SCLPR09 32 350 l 35 3.0 38 COBK—STUCRO9 & i 09 18 10 M2. 2-T7 TC—0902 Lig
M2. 5-T8 TC—1102 i
58 1175 1% ¥ strong high speed steel C10K (M) -STUCRO9 (1) i 1’2§%0 1 ki 12 E —Tr
E 150
H10K-SCLPRO8 10 150 | 1 to | 2 M3. 0-T8 CP-—0802 GghleriGan T igny 49 |l 3.0 | A -
C14Q-STUCR11 14 180 15 1.0 16
H12L-SCLPR09 12 180 13 1.0 16 =
C16R-STUCR11 186 200 17 1.0 18 M2. 5-T8 TC——1102 =
H14M-SCLPRO9 14 180 | 15 1.0 18 M3. 5-T15 CP-—0903 EH
C188-STUCR11 18 250 19 1.0 20
H16Q-SCLPROY 186 200 17 1.0 20 e
i C20R (S) ~STUCR11 20 250 21 1.0 22 1
fil; i 20 | 20 | 2 | 1o | 2 C208-STUCR16 20 | 280 | 21 | 10 [ 2 T
H255-SCLPR0S 25 30 | 27 2.0 30 M4. 0-T15 CP-—0903 C25T-STUCR16 25 300 27 2.0 29 M4. 0-T15 TC——16T3 L
H32T-SCLPRO9 32 350 | 35 3.0 38 C32U-STUCR16 a 350 35 1.0 -

G003 G004



BUILD IT SMARTER

C’Z} GRAND TOOLS | BESRAEIIF BESEARNIN | C‘} GRAND TOOLS

Solid Carbide Anti-vibration Boring Bar Solid Carbide Anti-vibration Boring Bar
# STUPR =@H60° # ubikE STUB/C/P-R =mi60°
STUPR Triangle 607 Center Outlet Type-STUB/C/P-R Triangle 60°
B O T — &
H
R T e T L
B = e »
- r
= h 1
! | " @ o D a 2 DB
RN R R 5
< @ 3 o H ; | s
12 ! )
'I @
Lp @
&2
B = = s om B4
7 JJABERE _ DRNEERE
TPOT=RO. 2 TBO&/TPO8=R0. 2
TP11/TP13=R0. 4 e ?ﬁm E?Eﬁzmmﬂfiﬁfawm“
TRIATRS TCO09/TC11=R0. 4
| e | B Foil JIiF L& BE-RT TIAB Binsent Z BE S
B %ﬁ.gﬁ T A B | ol e T € RS wiE | BK | Kb | JIR | g : 71 B Steser B
3, - specification D L A B Hole diameter T E . 3k
e COTK-STUPRO701 07 | 125 08 1.0 09 R s o
71 CO0BK-STUPROTO1 | = |V P e 7 M2, 2-77 TP——0701 EGGJ—STUBROS I 06 10 6.9 0.5 a7 T ¥g——ggg-: 7
C10M-STUPR1102 10 150 n | 1o 12 EusresIHERIG ‘ o8 125 8.5 0.5 09
T M2. 5-T8 TP—1102
C12Q-STUPR1102 | 12 | 180 13 1.0 14
C14Q~-STUPR1303 14 180 15 | 4.0 16 EO8K—STUPROD9Q ‘ 08 125 09 1.0 10
- ! ! = e M2. 5-T8 TP——0902
] C16R-STUPR1303 | 16 200 17 1.0 18 M3.0-T8 1303 E{OM=5TURRED 10 150 1 1.0 12
i C20S-STUPR1303 20 250 21 1.0 22
7 -
C20S-STUPR16T3 | 20 250 21 1.0 22
: ' E12Q-STUPR11 12 180 13 1.0 14
C25T-STUPR16T3 25 | 300 27 2.0 29 M4-T15 TP——16T3 !
C32U-STUPR16TS | %2 | 350 | 35 | 3.0 | 40 Sl S, ‘ e S S S [ O S
C16R-STUCR1103 16 200 17 1.0 18 E16R-STUPR11 16 200 17 1.0 18
w 1 = = s 1 = = M3. 0-T8 TP——1103 P
i G205-STUCR1103 [ 20 250 21 1.0 22 M2. 5-T8 TC—1303 E185-STUPR11 ‘ 18 250 19 1.0 20 3 m
0§ | | £
;E]f k C25T-STUCR1103 25 300 aF 2.0 29 E20S-STUPR11 . 20 250 21 1.0 22 =Bt
o 1 —
| CO05H-STUCRO5 | o5 | 100 5.5 . 0.5 08 5. 68 G E25T-STUPR11 ‘ 25 300 27 2.0 29 |
5o C08J-STUCROS 06 10 6.5 0.5 o7 ' i
C06J-STUCROBT os | 110 6.5 0.5 o7 | P 72 :
= CO8K-STUCROST 8 | 125 8.5 | o5 08 S i — E08K-STUCRO09 . 125 09 1.0 S - ; -
Y C10M-STUGROET o | 150 1 1.0 12 E10M-STUCRO09 10 150 11 1.0 12 |8
T : e AIEMRAYIE, B EEN Key points: Ultra-low resistance cutling, effectively reducing vibration, E12Q-STUCR11 12 180 13 2.0 14 | 2 ;'
i COTK-STUDRO7S | o7 | o 08 1.0 09 E14Q-STUCR11 14 180 15 1.0 16
i 1 i
: COBK-STUDRO7S 08 125 09 1.0 10 ‘ i
%i R | - M2. 0-Té TD--0751 E16R-STUCR11 | 18 200 17 1.0 18 M2. 5-T8 i !&%
Hi PRSI B, Bl E185-STUCR11 18 250 19 1.0 20 i
C120-STUDRO7S 12 180 13 | 1o 14 |
i - E20S-STUCR11 ‘ 20 250 21 1.0 22
7] C16R-STUPR1603 16 200 17 1.0 18 En
H C20S-STUPR1603 20 | 20 [ 21 [ 10 | 2 M4.0-T15 | TP—0603 ERSHETHORI it B L8 | & N
— C25T-STUPR1603 2 | 300 o7 2.0 29 E25T-STUGR16 ‘ 25 300 27 1.0 29 M4, 0-T15 TC——16T3 L
EF: TC—06T1RMBERTIH, MTCO601TEM . Note: TC—0ET Itis a thicker blade, not common to TCOEO1, E32U-STUCR16 32 350 35 =D 40

G005 Gooe



GRAND TOOLS

BUILD IT SMARTER

=

BRSENEIT
Solid Carbide Anti-vibration Boring Bar

BRSENETIF
Solid Carbide Anti-vibration Boring Bar

RAND TOOLS

‘ C i BUILD IT SMARTER

# SWUBR #i80°

SWIBR Peach shape 80°

i

07 HEL T — - R
H

B2 AL E M

: A
— O 1 | .
3 = 1
it i
7
£ — S m
Tk DRMIEERE
o | Stmwinid conbppsion of ool ip {
‘_‘."' J'-i WBO6=R0. 2
| CCO3=R0. 2
[ CCO4=RO. 2
; = iz s | ki | AR B m TIEE Sirsert
IS HtE = EikS Sope Viesh
73 specification =} = A B o dismeier T E
CO5H-SWUBRO6 05 100 55 0.5 5.8
C06J-SWUBROG 06 110 6.5 0.5 | 6.8 . WB--0601
COTK-SWUBR06 07 125 | 7.5 | 0.5 | 7.8 et
C08K~SWUBROB 08 125 8.5 0.5 | 08
%Eﬁ High speed steel
HD5G-SWUBRO06 05 90 5.5 0.5 | 5.8
€ 4 ~ s WB-—0601
?_?H;! HOBH-SWUBRO6 06 100 6.5 0.5 6.8 M2. 0-T6 e o
271 HO7H-SWUBROB o7 100 7.5 0.5 | 7.8
HOBJ-SWUBROS 08 110 8.5 0.5 09
EREEF 0K coolant Carbide
E05H-SWUBROG 05 100 5.5 0.5 5.8
{
E0BJ-SWUBROB 06 110 6.5 0.5 6.8 el
i M2.0T6 | e o0
3 EO7K-SWUBROG o7 125 7.5 0.5 7.8
E0BK-SWUBROB 08 125 8.5 0.5 09

Goo7

# SDUCR Z#55°

SDUCR Rhombus 55°

(@)

!

)

thrk SRR SRR T i, £9595-10mm

HEHE, RibEA

L]

NEGEIER
Starard eanbguoien of i 1g)
DCO7=RO. 4 i"-lé
DC11=RD. 4 2 2k
Lo A ak 1 N e [ ISR —n e E:L
Eivg==r e TR s A SA i @& B el 1R EE S insen 73
specification D L A B Hale diameter T -
S20(>58 1 B solid Powerful
COBK-SDUCRO7 08 125 1 3.0 12
C10M-SDUCRO7 10 150 13 3.0 14 T
C12Q-SDUCRO7 12 180 15 3.0 16 M2. 5-T8 DC--0702 {—'
7t
C14Q-SDUCRO7 14 180 17 3.0 18 7]
C16R—-SDUCRO7 16 200 19 3.0 20 I
FEEIE
C18R-SDUCR11 16 200 20 4.0 21 M3. 5-T15 %;-j
€20S-SDUCR11 20 250 | 24 4.0 25 [ B
C25T-SDUCR11 25 300 30 5.0 32 DC--11T3 P
M4. 0-T18 o
C32U-SDUCR11 32 350 37 5.0 39 = ik
C40V-SDUCR11 40 400 45 5.0 a7 [°7
q:'f,‘ﬂ:'(;'kﬁCenter outlat type =55
EO08K-SDUCRO7 08 125 11 3.0 12 3
E10M-SDUCRO7 10 150 13 3.0 14 i
E12Q-SDUCROT 12 180 15 3.0 16 M2. 5-T8 DC~-0702 : E
E14Q-SDUCRO7 14 180 17 3.0 18 z
E16R-SDUCRO7 16 200 19 3.0 20 | -
E16R-SDUCR11 16 200 20 4.0 21 M3. 5-T15 Eg
E205-SDUCR11 20 250 24 4.0 25 Eg
L]
E25T-SDUCR11 25 300 30 5.0 32 DC--11T3 -
M4, 0-T15
E£32U-SDUCR11 32 350 ar 5.0 39 7
A
E40V-SDUCR11 40 400 45 5.0 47
G008



BUILD IT SMARTER

(:'z} GRAND TOOLS | BESRAEIIH BESEARNIN | C’\,‘) GRAND TOOLS

Solid Carbide Anti-vibration Boring Bar Solid Carbide Anti-vibration Boring Bar
Q o
# SDQCR ZEJE55 # SDJCR ZE55
SDQCR Rhombus 55° SDJCR Rhombus 55° H
L
& =] B m
it
W
L H | |—\ |
™
1250 = < ] A =
— ] @ | |
E [ ]
g < | 5 T ©
& &
n O J
m
¥ A EHEBRETER, 255-10mm
s ’ o R [ RmEARE |
Tz &%Mwﬁpﬁ%%ug aboul 5-10mm is Kag Standard configeraion of ool fip. |
® DCO7=R0. 4 DCO7=R0.4 el EEFLMIAMEENT
 E— e ——— T I g and inmer end pr ng.
= DC11=R0. 4 _DGI|=RE4 |
3 E [ =T : Wa T
:; - 2 404 Wz B | K T e TIHE Binsen R 2 ik wE Bie K TR Lz i T1H 8 Sinsen
}_} specification o] L A B Hole diametes T E specification D i a B Hole diametar T E
SEi>38 F1 8 solid Powerful =24033% 8 solid Powerful
CO0BK-SDQCRO7 08 125 1 3.0 12 | C0BK-SDJCROT 08 | 125 09 1.0 10
C10M-SDQCRO7 10 150 13 3.0 4 C10M-SDJCRO7 10 150 1 1.0 12
C12Q-SDQCRO7 12 180 15 3.0 16 | M2.5-T8 DC--0702 S0 bIoRDT = l o e o = —— ——
C14Q-SDQCRO7 14 180 17 3.0 18 ] C140-SDJCROT 14 | 180 15 1.6 16
C16R—SDQCRO7 16 200 19 3.0 20
| C16R-SDJCRO7 16 [ 200 17 1.0 18
C16R-SDQCR11 16 200 20 4.0 21 M3. 5-T15
- C16R-SDJCR11 16 200 17 1.0 18 M3. 5-T15
C205-SDQCRM 20 250 24 | 4.0 25 |
171; : C20S-SDJCR11 20 I 250 21 1.0 22
i C25T-SDAQCRM 25 300 30 5.0 3z DC—11T3
M4, 0-T15 C25T-SDJCR11 25 27 : 29 DC-—1113
C32U-SDACR11 32 350 a7 | 5.0 39 | | i i M4. 0-T15
— 2
C40V-SDACR11 a0 | 400 | 45 5.0 | 47 e ] 5 l %0 | # 2.0 05
(s 7k B Genter outlet type C40V-SDJCR11 40 400 42 2.0 44
- - .
E08K-SDQCRO7 08 125 11 3.0 12 S AR High Speed Steel Series "
E10M-SDQCRO7 10 150 13 3.0 14 | HO8J-SDJCRO7 08 110 09 1.0 10 =3k
S E12Q-SDQCRO7 12 180 15 3.0 16 M2. 5-T8 DC——0702 H10K-SDJCRO7 10 | 125 11 1.0 12 |
- g
s E14Q-SDQCRO7 # | w0 | 7 | 30| 18 | HIRLS0JGH0F 2 | w0 | o1 L |13 Wt e T
z : E16R-SDQCRO7 16 200 19 3.0 20 H14M-SDJCRO7 14 [ 150 15 1.0 16 : ;‘
' E16R-SDQCR 16 200 20 4.0 21 M3. 5-T15 H18Q-SDJCRO7 16 180 17 1.0 18 s
n =
=i E20S-SDQCR11 20 250 24 | 40 25 H16Q-SDJCR11 16 180 17 1.0 18 M3. 5-T15 i
7 E25T-SDACR11 25 30 DC——11T3 = )
e 300 [ 5.0 32 R BT H20R—SDJCR11 20 200 21 1.0 22 i
. E32U-SDQCR11 32 350 37 5.0 39 H255-SDJCR11 25 250 27 2.0 29 DC—11T3
7 £40V-SDQCR11 40 i M4.0-T15 !
.LI < i l 0 it H32T-SDJCR11 a2 300 34 2.0 36 ; ;U'
H40U-SDJCR11 40 350 42 2.0 44

G009 Go10



C GRAND TOOLS | BRESRAEIN BESSRENH C GRAND TOOLS
Solid Carbide Anti-vibration Boring Bar Solid Carbide Anti-vibration Boring Bar
# SDXCR ZF55° # SDWCR #E55°
SDXCR Rhombus 55° SDWCR Rhombus 55°
—
—M
2 24l mm il o

b Ji

GO

W O
(O I
& WK B AR R, 1995~ 10mm
AEE, BhERk
The flat position of e waler outlel handie does not grind through,
abioul 5-10mm i & round handls 1o prevent waler leakags
| NRBEERR
Startard conligueaton of 1o tio
DCOT=RO. 4 e WEEMT R
Faalums icoh fi
DC11=R0. 4
B2 Wz | Bk | KA | IR | pa 257 T E S rson
specification D L A B ke g T E
=000258 F18Y solid Powerful
CO08K—-SDXCRO7 [ 08 125 09 170 10
C10M—SDXCROT 10 150 1 1.0 12
C12Q-SDXCRO7 12 180 13 1.0 14 M2. 5-T8 DC—0702
C14Q-SDXCROT 14 180 15 1.0 16
C16R-SDXCROT 16 200 17 1.0 18
G20S—SDXCR11 20 250 21 1.0 22
C25T-SDXCR11 25 300 27 2.0 29
M4, 0-T15 DC—11T3
C32U-SDXCRM 32 350 35 3.0 38
C40V-SDXCR11 40 400 43 3.0 46
EP Ji:_\ H:'. 7Kg!05nter outlet type
E08K—SDXCRO7 | o8 125 09 1.0 10
E10M-SDXCRO7 10 150 11 10 12
E12Q-SDXCRO7 12 180 13 1.0 14 M2. 5-T8 DC——0702
E14Q—-SDXCRO7 14 180 15 G il 16
E16R—SDXCRO7 186 200 17 1.0 18
E205—SDXCR11 20 250 21 1.0 22
E25T-SDXCR11 25 300 27 2.0 29
M4. 0-T15 DC—11T3
E32U-SDXCR11 32 350 as 3.0 38
E40V-SDXCR11 | 40 400 43 3.0 46

AR PR TEE, $955-10mm
A, Rk
T

abosut -1 Gmm s round bardle o prevent walsr iskags

TIRERERE
| Standard crigursion ool ip |
DCOT=R0. 4 e FLISHS5EREA MRS T
DC11=R0. 4
B F = TRy ==l = A4 e
ﬂ-rj—ﬂﬁ ariz s N SNET PR ﬂ.ﬁ Scren irench A3 2y insEl
specification D L A Hele diameter T =
SR 5R F A solid Powerful
CO8K—SDWCROT 08 ] 125 1" 3.0 12
C10M-SDWCRO7 10 150 13 3.0 14
C12Q-SDWCRO7 ]2 180 16 3.0 16 M2. 5-T8 DCc——0702
C14Q-SDWCRO7 14 180 18 3.0 18
C16R-SDWCRO7 16 200 20 3.0 20
C20S—-SDWCR11 20 250 25 5.0 27
C25T-SDWCR11 25 300 M 6.0 33
M4. 0-T15 DC—11T3
C32U-SDWCR11 32 350 a8 6.0 40
C40V-SDWCR11 40 400 48 6.0 48
q’ll‘_.‘ﬂ:i ?kﬂCentar outlet type
EOBK-SDWCRO7 o8 125 11 3.0 12
E10M—SDWCRO7 10 150 3 3.0 14
E12Q-SDWCROT7 12 180 16 3.0 16 M2, 5-T8 DCc--0702
E14Q-SDWCRO7 14 180 18 3.0 18
E16R—SDWCROT7 16 200 20 3.0 20
E20S-SDWCRT1 a7 |Faes | mas | sial | an
E25T-SDWCR11 25 300 31 6.0 33
M4, 0-T15 DE——11T73
E32U-SDWCR11 32 350 38 6.0 40
E40V-SDWCR11 40 400 46 6.0 48

5 ‘ Me gt

suns PR

e

G012



{ '3 GRAND TOOLS | BESSRENH
Solid Carbide Anti-vibration Boring Bar

BUILD IT SMARTER

BRSENETIF
Solid Carbide Anti-vibration Boring Bar

| {2y srano 101

i

ElEA o
o

&3

i
o8

Bz
]

EELEN s

7]
LT

# SCKCR £#80°

SCKCR Rhombus 80°

< & - =
O [ -
s R BER SRS, $75-10mm
HEF, iRk
TR mEELE
Starviard configuration of tool tp aout 5-
cooB/CCog-Ro. 4 | HE: TARE, ARSKMEMIN, Bms GE: RFLAANA)
CC12=R0. 8 s::‘:::'maummd mw-em'mseluhm 7
12 15 Wz Bk | K TR JoEs TIH B Binsen
specification D L A B sk T E
SE 1058 F1EYsolid Powerful
CO8K—SCKCRO7 ] 08 ‘ 125 0o 1.0 10
C10M-SCKCROT 10 150 1.5 1.5 13 M2. 5-T8 CC——0602
C12Q-SCKCRO7 12 [ 180 13.5 1.5 15
C14Q-SCKCRO7 14 | 180 | 15-5 1.6 17
M3. 5-T15 CC——09T3
C16R-SCKCROT 6 | 200 | 175 | 1.5 | 19
C20S—SCKCR11 20 250 22 2.0 24
- M4. 0-T15 CC——-08T3
C25T-SCKCR11 25 ‘ 300 27 2.0 29
C32U-SCKCR11 32 | 350 35 3.0 38
C40V—-SCKCR11 40 | 400 44 4.0 48
T M5. 0-T20 CC—1204
C50U-SCKCR11 ‘ 50 | 400 54 4.0 58
CB0V-SCKCR11 ] 60 [ 400 B4 4.0 68
':F i 3:'; 7]'1 Elcenter outlet type
E0BK—SCKCRO7 08 125 09 1.0 10
E10M-SCKCRO7 ‘ 10 [ 150 1.5 | 1.5 13 M2. 5-T8 CC——0602
[
E12Q-SCKCRO7 12 180 13. 1.5 15
E14Q-SCKCRO7 14 l 180 15- 1. 8 AT
M3. 5-T15 CC——09T3
E16R-SCKCRO7 16 200 17 1.5 19
E205-SCKCR11 20 250 22 2.0 24
M4. 0-T15 CC—09T3
E25T-SCKCR11 25 300 27 2.0 29
E32U-SCKCR11 32 350 35 3.0 38
MS. 0-T20 CC—1204
E40V-SCKCR11 | 40 400 44 4.0 48

G013

# SCZCR Z#80°

SCZCR Rhombus 80°

H

I B m
L
< oy - 1
O\ L
|
om
e
TRERRE
Standerd configuration of ol ip
cooe/coosRo 4 | E $&ﬁ§ﬁsl‘nﬂﬂﬂflmﬁl!. SRMEAIIIH . - =
DC12=R0. 8
RIS wE | B | Kb | DR | e Fi s TIHE Finsen
specification D L A B Holg diameter T E
SE1(>58 7 B solid Powerful
COBK—SCZCR06 08 125 11 3.0 12
C10M-SCZCRO7 10 150 13 3.0 14 M2. 5-T8 CC——0602
C12Q-SCZCRO7 12 180 15 3.0 16 -
C14Q-SCZCRO7 14 180 17 3.0 18 8
M3. 5-T15 CC—09T3 p'l.
C16R-SCZCRO7 16 200 20 4.0 21 7]
C20S—SCZCR11 20 250 24 4.0 25
M4. 0-T15 CC——09T3
C25T-SCZCR11 25 300 30 5.0 32
C32U-SCZCR11 32 350 38 6.0 40
M5, 0-T20 CC——1204
C40V-SCZCR11 40 400 48 8.0 50
‘:P ’l:.‘H:;' ?J( B center outlet type
E08K-SCZCRO7 [ 08 125 1 3.0 12
E10M-SCZCRO7 10 150 13 3.0 14 | M2. 5-T8 CC—0602 g zf
E12Q-SCZCRO7 12 180 15 3.0 16 i
E14Q-SCZCRO7 14 180 17 3.0 18 ‘ B
M3, 5-T15 CcC--09T3 =4
E16R-SCZCRO7 16 200 20 4.0 21 3]
: 31
E20S-SCZCR11 20 250 24 4.0 25
M4. 0-T15 CC——09T3 S
E25T-SCZCR11 25 300 30 5.0 32 im
g
E32U-SCZCR11 32 350 38 6.0 40 i 7
M5. 0-T20 CcC-—1204 i
E40V-SCZCR11 40 400 48 8.0 50
)|
- 41
G014



(:, GRAND TOOLS | BRERRENF EESEAEN | (t)GRBAw[«DQWTAngLs

Solid Carbide Anti-vibration Boring Bar Solid Carbide Anti-vibration Boring Bar
# SSKCR IEF90° # STWCR =A#60°
SSKCR Square 90° STWCR Triangle 60°
L1 H
L
i -
| R om \ "‘ S
17 ¢ \ ° { [ -
A
/[ © 1 1 [
S r
¥ a AR TS, 955 10mm [
JE 2 HESS, Bk m
ﬁ‘" s The of the water ouliat handie
71 about & 10 P leakage
€
Wik T BT R R —
¥ | Sandrd ekl S . 5 TIRMEHERE
i [ scosrscos-Ro 4 | BA: NEREARE, TUERNTM, MHIRNHe. oo W C——
I | S O . | a oy e . anc tha iahing s mcal TegE/ATCOsRD.2 | BemiRm. HUIRIRILE WOOMMEMT. i
i A TCH/TCH6-R0.4 if
A =] Wz 2 | ki JIR e Bemy TIH B Binsert = Z TS 2k
%3&& L . = i e = S A WE | 8K | K | DR | gp | dEE TIHH B insen i
specification o L A B Hoto dismersr: T E /3
COBK—SSKCRO6 08 125 09 1.0 10 C06J-STWBRO6 06 110 7.2 p A 08 i s TB-—0601 I
C10M-SSKCR06 10 150 | 1.5 | 1.8 13 M2. 5-T8 SC--0602 CO7K-STWBROB o7 | 125 | 83 | 1.3 | 09 Te—=hen "
C12Q—-SSKCR06 12 180 13- ] 1.5 15 . 1 | CUBK'ST'INCRGQ 08 125 10 2.0 1 M2, 2-T7 TC——QIQDQ I }
C14Q-SSKCR09 14 180 15-5 1.5 17 % | E
M3. 5-T15 SC-—09T3 C10M-STWCR11 10 150 13 3.0 14
C16R-SSKCRO09 16 200 175 1.5 19 C12Q-STWCR11 12 180 15 3.0 16
C205-SSKCR09 20 250 22 2.0 24 LB L
. M4. 0-T15 SE=HaTE C14Q-STWCR 11 14 180 17 3.0 18 ‘
C25T-SSKCR09 25 200 28 3.0 30 C16R-STWCR11 16 200 19 3.0 20
C32U-SSKCR12 32 350 35 3.0 38 C20S-STWCR16 20 250 24 4.0 26 |
C40V-SSKCR12 40 400 44 4.0 48 C25T-STWCR16 25 300 30 5.0 32 %
M5. 0-T20 SC——1204 . M4. 0-T15 TC——16T3 oy
C50V—SSKCR12 50 400 55 5.0 60 C32U-STWCR16 32 350 38 6.0 40 | 373
| CB0V-SSKCR12 60 400 65 5.0 70 C40V-STWCR18 40 400 46 6.0 49 L
i ':F i H:} ?}( Hlcenter outlet type gl *ﬂ(‘;enter outlet type
- ._
- E08K—SSKCRO6 08 125 09 1.0 10 E08K—STWCRO09 08 125 10 2.0 1 M2. 2-T7 TC—-0902
- ' E10M-SSKCR06 10 150 1.5 1.5 123 M2. 5-T8 SC——0602 E10M-STWCR11 10 150 13 3.0 14 [
o E12Q-SSKCROG 12 180 13.5 1.5 15 E12Q-STWCR11 12 180 15 3.0 16
713 . M2.5-T8 TC——1102
e E14Q-SSKCR09 14 180 15-5 1.5 17 E14Q-STWCR11 14 180 17 3.0 18 [
M3. 5-T15 SC——09T3 :
i E16R—-SSKCR09 16 200 175 1.5 19 E16R-STWCR11 16 200 19 3.0 20 25
n: E205-SSKCRO09 20 250 22 2.0 24 E20S-STWCR16 20 250 24 4.0 ga | n
i ! M4. 0-T15 SC——09T3 ) it
— 25 300 28 : 30 E25T-STWCR16 5 300 30 5.0 32 !
| E25T-SSKCRO9 | 3.0 M4. 0-T15 TC-—16T3
- E32U-SSKCR12 3z 350 35 3.0 38 E32U-STWCR16 32 350 38 6.0 40 7
- ! M5. 0-T20 SC——1204 4
- E40V-SSKCR12 40 400 | 44 4.0 48 E40V-STWCR16 40 400 46 6.0 49 H

G015 G016



BUILD IT SMARTER

C’:) GRAND TOOLS | BESRAMNN RRESRAEF | @ GRAND TOOLS

Solid Carbide Anti-vibration Boring Bar Solid Carbide Anti-vibration Boring Bar
# SVQC/BR E35° # SVUC/BR £35°
SVQC/ER Rhombus 35° SVUC/BR Rhombus 35°

L
-\-’8-7 v L 5
'-l_—' ]| 3
£ ) |
Bl
: T 231 ¥ r
| £ | . N\ | S
3 = ) @ |-‘
TIREATRER TIRMRERE
Standard configuraton of o fip 5 frel
VC/VB11=R0. 2 154 N?L%EMI_ VC/AB11=R0. 2 04
VCNB16=R04 It hole and face processing ch\u'aTBﬁR04 ék_
S Wz | Bk | kb | TF | am BEGE TR 82 ner T ) e I e e 7
=TT ATH TLIT e ERTE fliE Sorew Wesodh J1A X Sinssi 7i
specification D L A B pasrisapiet T E specification D L A B Hele diamater = £
CO8K-SVJCRO8 08 125 09 1.0 10 M2. 2-T7 VC--0802 C10M-SVUCRO08 10 150 13 3.0 14
M2. 2-T7 VC——0802
C10M-SVJCR11 10 150 11 1.0 12 C12Q-SVUCRO08 12 180 15 3.0 16
C12Q-SVJCR11 12 180 13 1.0 14 C14Q-SVUCRO8 14 180 17 3.0 18
M2. 5-T8 VC——1103
B " 180 e % 16 C16R-SVUCR11 16 200 19 3.0 20 Vo 5-T8 W
C16R-SVJCR11 16 200 17 1.0 18 e S 20 250 £t | 4.0 i
C20S-SVJCR16 20 250 21 1.0 22 C25T-SVUCR11 25 300 30 5.0 32
C25T-SVJCR16 25 300 27 | 2.0 29 i G e C25T-SVUCR16 25 300 32 7.0 34
.0~ e = M4. 0-T15 VC——1604
. C32U-SVJICR16 32 350 34 2.0 36 C32U-SVUCR16 32 350 40 8.0 42 .
4y : - - 10
ai T — P 400 i s 3 C40V-SVUCR16 40 400 50 55 5
1 ¥ SEi058 11 B solid Powerful =i
7 g’b‘gﬁ j]f'h}&:iid Powerful N
T C10M-SVUBRO8 10 150 13 3.0 14 M2. 2-T7 VB-—0802
i CO8K-SVJBRO8 08 125 09 1.0 10 M2. 2-T7 VB--0802 "
5 3 C12Q-SVUBR08 12 180 15 3.0 16 i
: C10M-SVJBR11 10 150 1 1.0 12
C14Q-SVUBR11 14 180 17 3.0 18
i C12Q-SVJBR11 12 180 13 1.0 14 M2. 5-T8 VB——1103
o M2. 5-T8 VB-—1103 C16R-SVUBR11 16 200 19 3.0 20
! C14Q-SVJBR11 14 180 15 1.0 16
71z C205-SVUBR11 20 250 24 4.0 25
= C16R-SVJBR11 16 200 17 1.0 18
- C25T-SVUBR11 25 300 30 5.0 32
il C20S-SVJBR16 20 250 21 1.0 22
;g C25T-SVJBR16 25 300 27 2.0 29 il = == = = s M4. 0-T15 VB-—1604 -
Fi . M4. 0-T15 VB——1604 C32U-SVUBR16 az 350 40 8.0 42 E
o 32 [
' L Sl = cer LB DB C40V-SVUBR16 40 | 400 | 50 | 10 55
71 C40V-SVJBR16 40 400 42 2.0 44

G017 Go18



B g
{Cyorvtoos | mmeewmnr s Carbide Anpy PEBRITEN | {Zy oranp oois
Solid Carbide Anti-vibration Boring Bar Solid Carbide Anti-vibration Boring Bar
# SVWC/BR Z#35° # SVZCR #W35°
SVWC Rhombus 35° SVZCR Rhombus 35°
H
H
L
i [ i #il: m
| r B4y a
i G : =} @ I 1
- <| © | : - |
T - @
J&E £ | . £
B2 [ :
7l 71
TR R AL &
4 35° ‘S conbguraton of ool i F
Hik| VC08-RO. 2 ot
F7 | _voti=ri.q 7
B | TIROEARE veie-RO 4 [
% | VC/VBI1=RO. 2 A2 40 44 WEe | Bk | x| 5IF : BT TIEE S insert i
2k - VC/VB16=R0. 4 specification D L A B Hole diamatar T £ 3
et e e ia I B e sl TR % p BH-HF TIE &S e CO8K-SVZCRO8 08 125 15 7.0 16 f.
E?mﬁ L A PN £ '.ﬂ.,ﬁ Screw Wrench FRo it ;j
specification D £ A B Hole diameter ) E C10M-SVZCR08 10 150 17 7.0 18 M2. 2-T7 VC——0802
C10M-SVWCR08 10 150 15 5.0 16 C12Q-SVZCRO8 12 180 19 7.0 20
M2. 2-T7 VC—-0802
C12Q-SVWCR08 12 | 180 | 17 50 | 18 FHE SRR TE | a0 7 | e Ll
= 3] 24 1 M2. 5-T8 VvC—1103
C14Q-SVWCR11 14 180 | 20 6.0 | 21 gl . S g &
C205-8VZCRM 20 250 28 8.0 30
C16R-SVWCR11 16 200 22 6.0 24 M2. 5-T8 VC——1103
C25T-3SVZCR16 25 300 38 13 40 M4. 0-T15 VC——1604
C20S-SVWCR11 20 250 27 7.0 29
=]
C25T-SVWCR16 25 | 300 | 3 | 10 38 # SWUCR HiE80
o
C32U-SVWCR16 32 350 42 10 45 SWUCR Peach Shape 80
M4. 0-T15 VC——1604
C40V-SVWCR16 40 400 52 12 55
C50V-SVWCR16 50 400 62 12 85 ,,.-T.{
| |1 R
. C10M-SVVWWBRO8 10 150 15 5.0 16 1 e i
3 M2. 2-T7 VB——0802 © [ 3
: C12Q-SYWBR08 7 180 17 5.0 18 T ERERRE | i
Stancrd corfiguastion of ool i o
C14Q-SVWBR11 14 180 20 6.0 21 WCD2=RO. 2 .
- M2. 5-T8 VB-—1103 [ wesems ®
C16R-SVWBR11 16 200 22 6.0 24 - e i
C20S-SVWBR11 20 250 27 7.0 29 S w | 8K | K | IR | g4 Je by TIB & S inser | 1
specification o L A B Hla diaratar T E
C25T-SVWBR16 25 300 35 10 38 i
CO8K—-SWUCRO02 08 125 09 1.0 10 MBS RS i.
- 32 350 s i
GASL-SVIERTS il 19 & M4. 0-T15 VB——1604 C10M-SWUCRO2 10 150 5 1.0 12 %#
z 400
CA40V-SYWBR16 4 i U 2 €12Q-SWUCR04 12 | 180 | 13 1.0 | 14
e C50V-SVWBR16 50 400 62 12 65 C14Q-SWUCR04 14 180 15 1.0 16 M2. 5-T8 WC——0402 '
H C16R-SWUCR04 16 200 | 17 1.0 18 §H
C205-8WUCR06 20 250 22 1.0 24
M4, 0-T158 WC——1604
C25T-SWUCRO06 25 300 27 2.0 29
G019 G020



C GRAND TOOLS | BESRNENH BESEAEN | (je%gggsgggls

Solid Carbide Anti-vibration Boring Bar Solid Carbide Anti-vibration Boring Bar
— o
# STZPR/BR =60 # SEXPR ZE75°
STZPR/BR Triangle 60° SEXPR Rhombus 75°
H H
L L i L
,-4—1?-\
[T iz | [ | i,
] - . i
< l @ y
, y I |
o
§
JEE £
i . !
7 kR
Standam of ool i
TBOB=RO. 2
TROS=R0. 4 B WANAMERAEENN, RLANNE. DROERIRE
| SR ] T b = : . Stidae onfguraton
TP11=R0. 4 VCDE=RO. 2
o wE | Bk | K| NF Saus TR B Sinsen —
B %@Ecﬂiﬁ D L A B ““"ﬂ-‘?""” | i ':m E RS wE BK EaXl & Lz Shthet TIAZ Stoner B
34 specification (o] E A B Hole diameter T E 3L
7" C06J-STZBROG 06 110 .0 1.2 7.8 ——— TB——0601 COBJ-SEXPRO4 06 110 0.5 8.5 07 -
7i : | TC——0601 73
CO7K-STZBRO6 07 125 8.5 1.5 09 CO7K—-SEXPRO4 07 125 0.5 7.5 08 M2. 0=T6 EP==0401
COBK-STZPRO9 08 125 9.5 1.5 10 e S _— - — _— i & a5
C10M-STZPRO9 10 150 6.0 1.5 12
C12Q-STZPR11 12 180 14 2.0 15
C140-STZPRT 14 180 16 2.0 17 M3. 0-T8 TP—1103
I\
C16R-STZPR11 16 200 18 2.0 19 # BRI N/NET] _
Integral Tungsten Steel Small Boring Cutter
— o
i STZPR/BR =A60 - L R
STZPR/BR Triangle 60° H |
L B — !
ﬂ-’—m\ % “_ |> | °
[ M) A A _
W o " £
e = ; o < %k
| © i | '
9 . _ L
o e NEMFERER | s
Mk TIRMITREE H#itr: Sancird s raten of ekt 7
ki _'?éﬁgﬁz‘?_j— 02-=RD. 05 | B
" TPoo=RO.4 | 03/04=R0. 05
R4 BE | BK | X | IR | as el TIA B S insen iUR=E P we | 2K | Kb | FHEK| a1z gt I8 insen
specification D L A B Hobe dinimeter T E ificati o % A H Hede diarmeter T E
C06J-STXBROG 06 10 | 65 | o5 | 7.0 TB——0601 Di=5 b4 A 37 L 01 |
M2. 0-T6 A :
7 CO7K-STXBRO6 07 126 | 7.5 | 0.5 | 80 To—e0 Deaal0 04 50 Ci 10 Rl ‘N
1: T : {n
- COBK-STXBRO9 08 125 9 1.0 | 10 T 04 50 4 15 0
M2. 5-T8 TP——0902 L
C10M-STXBR09 10 150 iE| 110 12

G021 G022



{ j GRAND TOOLS

BRSENEIT
Solid Carbide Anti-vibration Boring Bar

BRSENETIF
Solid Carbide Anti-vibration Boring Bar

{Zy oran Toois

# MEFERT MTUNR =&#60°

M Type Pressure Plate Type MTUNR Triangle 60°

T60-CHA-MTUME w00 momoeans crms

# NEMEERT MWUNR #280°

Double-sided M Type Pressure Plate Type MWUNR Peach Shape 80°

L
——1 i
H
A N1
<| (@] B D!_
1 I |
TR EE R E - Rl -
Swncan configuation of ool ip
TH1604=R0. 4
IS4 WwE | 2 | R | KD & Bi-mE TIH B S insert
specification D L B A Hale cameter T £
I C20R-MTUNR16 20 200 3.0 23 25
C25T-MTUNR16 25 300 4.0 29 32
C32U-MTUNR16 32 350 4.0 36 39
M4-15 TN-—1604
C40V-MTUNR16 40 400 5.0 45 50
C50V-MTUNR16 50 400 5.0 55 60
CB0V-MTUNR16 60 400 5.0 65 70

# MEERT MCLNR £/880°

M Type Pressure Plate Type MCLNR Rhombus 80°

i,

i TR 1 e
P i
i CN12=R0. 4
l — I E———.
#2445 wmE | BK | AN | IR ey 71K 8 Binsen
specification D s A B | Hole diameter T E
C258-MCLNR12 25 250 29 4.0 32
C25T-MCLNR 12 25 300 29 4.0 32
= C32U-MCLNR12 32 350 36 4.0 39
71 M4-15 CN——1204
il C40V-MCLNR12 40 400 45 5.0 50
T CH0V-MCLNR12 50 400 55 5.0 60
CB0V-MCLNR12 60 400 65 5.0 70
G023

DAMERE J ! S
Saratan cer ol i “‘*
WNOB/06=R0. 4
7S 448 Wiz B TR S - o TIH & Binsert
specification D L B A Hala diamater T E
C20R-MWUNROB 20 200 3.0 23 25 WN--0603
C25T-MWUNRO8 25 300 4.0 29 32
C32U-MWUNROB 32 350 4.0 36 39
M4—15 WN-—0804
C40V-MWUNRO8 40 400 5.0 45 50
C50V-MWUNRO8 50 400 5.0 55 60
Ce0V-MWUNRO8 €0 400 5.0 65 70
# NEMEERTT MDUNR W 55°
Double-sided M Type Pressure Plate Type MDUNR Rhombus 55°
L
H
—— o
_"\ ]
| i
@ ) =]
4 . e
TIS AR AL
‘Standard configuration of tool fip
DN15=R0. 4
HIS 3 e | Bk | K | BHK Ll DA E Sinsert
specification D L A H Hole diamter T E
C25T-MDUNR15 25 300 5.0 30 32
C32U-MDUNR15 32 350 6.0 38 42
C40V-MDUNR15 40 400 7.0 47 52 M5—-15 DN——1504
C50vV-MDUNR15 50 400 7.0 by 63
Ce0V—MDUNR15 60 400 7.0 67 73

G024



BESENEIT
Solid Carbide Anti-vibration Boring Bar

BRSENETIT
Solid Carbide Anti-vibration Boring Bar

{Zy omanp 1001

# WEMEERT MVQNR ZE35°

Double-sided M Tvpe Pressure Plate Type MVQNR Rhombus 35°

{ *:} GRAND TOOLS

# NEMEERT MSCNR EGEIO°

Double-sided M Type Pressure Plate Type MSCNR Square 90°

[

] ¥ L !

1 o il mm ] =]

<€
B

Iy J

|
' TIRRMRE TIRESHE AR
Standan mnfguration of iod i Sandard condguiaion of 1ol ip
VNI1E04=R0. 4 SH12=R0. 4
B S0 W | Bk | IR | XD | e LT TIAE Finser RS 4048 WE | 8 | IFE | A u ks 158 S neert
specification D i B A Hale diamater T E specification D I B A Hole diamater T E |
Bk
C25T-MVQNR16 25 300 .0 32 35 C25T-MSCNR12 25 300 4.0 29 32 ) f
C32U-MVQNR1B 32 350 7.0 39 42 C32U-MSCNR12 32 350 4.0 36 40 ‘
C40V-MVQNR16 40 400 8.0 48 50 C40V-MSCNR12 40 400 50 45 50 M4—15 SN——12
M4—15 VYN-—1604
C50V-MVQNR16 50 400 10 60 63 C50V-MSCNR12 50 400 5.0 55 60
CB0V-MVQNR16 60 400 12 72 75 CE0V-MSCNR12 60 400 5.0 65 70
(=]
# NEMEERIT MVQNR =35 # SROPR BX

Double-sided M Type Pressure Plate Type MVQNR Rhombus 35° SROPR Round Shape

L

2fi: =

ne @ 1 & = | | | P
© G | ©))

; 1 / © mll 3 :
‘ JAEEARE
DN15-R0. 4 "
DRBTRER S HH% WE | B | X | BHHK A& Ba s 1B B S insert 1
e specification D L A H m T 3 3
- - C20S-SROPR08 20 | 250 | 4.0 | 24 25
RS M Wiz 21 K TiF iz g&ﬁ TIE B Sinsent M3-T8 RP-—0802
specification D L A B |l diamete T E C25T-SROPROS 25 | 300 | 40 | 29 32
C25T-MVUNR16 25 | 300 | 7.0 | 32 35 C25T-SROPR10 25 | s00 | s0 | 30 32
C32U-MVUNR16 32 | 30 | 70 | 39 42 C32U-SROPR10 a2 | Vasa [ Vsin | @z 40 M3. 5-T15 RP--1003
4 C4OV-MVUNR16 40 | 400 | 80 | 48 50 C40V-SROPR10 40 | 400 | s.0 | 45 49 -
. M4-15 VN-—1604 !
C50V-MVUNR16 50 | 400 | 10 60 63 C50V-SROPR12 50 | 400 | 6.0 | 56 60
M4-T15 RP-—1204 —
CBOV-MVUNR16 60 400 12 72 75 C60V-SROPR12 60 400 6.0 66 70

G025 G026



GRAND TOOLS

BUILD IT SMARTER

GRAND TOOLS

BUILD IT SMARTER

BESENEIT
Solid Carbide Anti-vibration Boring Bar

BRSENETIT
Solid Carbide Anti-vibration Boring Bar

<

# ERRERILIF

Short Type Shockproof Inner Hole Cutter Bar

<

# NALBNERTIF

Internal Threaded Straight Shank Arbor

BT TR
H

L
r : a B2 OSRLLER AR
=~ o BT @ I 1 H
@) [ h 4 =
[
B, mm I
LE
: Bt
7
RS 44 wE | Bk | X | IR bl TIH B Sinsert B WmE | Bk | BiE | & [ A4 BEET | NAESmen
specification D B A ke tizere et 15 E specification D E H B A Hola damoter T -
C12M-SCLCROG 12 150 13 1.0 14 M2. 5-T8 CCMTOBO2 CNRO0OSH—06 05 100 4.7 1.3 6.3 7.0 i i
C12M—-SCLCRO9 12 150 13 1.0 14 M3. 5-T15 CCMT09T3 CNRO006J—06 06 110 Lo 1.3 7.3 8.0
CHoN-STUGR 7= P P 1.0 i M2. 5-T8 TCMT1102 CNR000BJ-08 06 | Mo | 57 | 1.8 | 7.8 | 85
CNROOO7K-08 07 125 6.7 1.8 8.8 9.5 M2, 2-T7 08IR
C12M—STUPR 11 18 150 13 1.0 14 M3-T8 TPGT1103
CNRO00BK—08 08 125 7.4 1.8 9.8 10.5
C18Q—SCLCR09 18 180 17 1.0 18 M3. 5-T15 CCMTO09T3
CNROOOSK—11 08 125 7.2 2.0 10 1
C18R—SCLCRO9 18 200 19 1.0 20 M3. 5-T15 CCMTO09T3
CNROD10K—11 10 125 9.2 2.0 12 13 M2. 5-T8 11IR
C20R—-SCLCRO9 20 200 21 1.0 22 M3. 5-T15 CCMT09T3 CNRODAOM=11 0 150 S o 12 13
C20R-STUCR11 20 200 21 1.0 22 M2. 518 TCMT1102 CNROO12M=11 12 150 1.2 20 | 14 15 M3. 5-T15 18IR
C20R-STUPR11 20 200 21 1.0 22 M3-T8 TPGT1103 CNROO12ZM-16 12 150 1.2 3.0 15 16 M2. 5-T8 11IR
C255-STUCR11 25 250 28 3.0 30 M2. 5-T8 TCMT1102 CNROD14Q-11 14 180 13.2 1.8 15. 6 17
C255-STUPR11 25 250 28 2.0 30 M3-T8 TPGT1103 CNROD14Q-16 14 180 13.2 g0 17 18
C25T=STUCRT1 25 300 28 20 30 M2. 5-T8 TCMT1102 CNRDO16Q—16 16 180 15.2 3.0 19 20 M3. 5-T15 16IR
C25T-STUPR11 25 300 28 3.0 30 M3-T8 TECT1103 CNRODZOR—16 20 200 18.2 3.0 2 24
CNROD255-16 25 250 24 4.0 29 Ell
) SR P F N High Speed Stesl Series .
0 = #
3 HNRODO5G-06 05 | 90 47 | 13| 63 | o7 3
M2. 0-T6 06IR '
HNROODEH—06 06 100 L 1.3 7.3 08
HNRODDEH—08 06 100 57 1.5 7.5 08
HNRODO7H-08 07 100 6.7 1.5 8.5 09 M2. 2-T7 08IR
HNROD0O8J-08 08 110 7.2 1.5 9.5 10
HNRODOBJ—11 08 110 T 1.6 9.6 10. 5 M2. 5-T8 11IR
HNROD12L—16 12 140 1 3.0 15 186 M3. 5-T15 1BIR
HNROD14M=11 14 150 13 1.6 15. 8 17 M2. 5-T8 11IR
7 HNROD14M-16 14 150 13 3.0 17 18 ‘71
il HNROD16Q~16 16 180 15 3.0 19 20 HiI
M3. 5-T15 16IR
HNROD20R-16 20 200 19 3.0 23 24
HNROD255~16 25 250 24 3.0 28 a0

Goz7

Goz28



{:} GRAND TOOLS | BTN BERART @ GRAND TOOLS

High Speed Steel Material Boring Bar High Speed Steel Material Boring Bar
o
# SCLCR W 80° # SDWCR ¥ 55
SCLCR Rhombus 80° SDWCR Rhombus 55°
1 0TREL T TR H
H
&
e 5 - L P
BiE: mm
| 2 0B MR ' Il |
) \ j § @\ D
<
@) [ [ A ] v
45
T
[ . 7Y i X
M ‘_{:;
| nmwmmaRE | _
| st | g, @ETRESE, TAGT ARG, EMTELFEH, EUE=EF e WmE | 2K | X | TR | 2. bl TIF# Binser
| ©C03/CC04=R0. 2 ENTNAERISMS 5% T kAR specification D L A B Hole diameter T E
ccwcwa:RU 4 NMD:D.I!l.olml‘b'g‘"himmﬁeﬂf‘(uﬂmnahMhmnhrmnlhj!:l‘omﬂxk.mnmblﬂdl‘mlﬂd
L | opary, &k k. o 3
[oomros | H12L-SDWCR07-B1. 5 12 140 3.5 | 1.5 15
— H14M-SDWCR07-B1. 5 14 150 15.5 | 1.5 17
RS HNHE WE | BK | Kb | AR | . By TIEE Sinsen - i
R 5 0 3 e = & H16Q-SDWCR07-B1. 5 16 180 17.5 | 1.5 19 M2. 5-T8 DCMT0702
HO4F-SCLCRO3 04 80 45 | 0.5 4.8 H18R-SDWCRO7-B1. 5 18 200 19.5 | 1.5 21
HO5G-SCLCRO3 ‘ 05 90 5.5 0.5 5.8 M1. 6-T6 CcC—-03s51 H20R-SDWCRO7-B1. 5 20 200 21.5 | 1.5 23
HOBH-SCLCRO3 06 | w00 | 65 | 0.5 | 68 5
HO5G-SCLCRO4 ‘ 05 90 55 | o 5.8 # STWBR/CR =f¥# 60° 8
M v
HOGH-SCLCRO4 06 100 | 65 | 0.5 | 68 STWBR/CR Triangle 60° n
M2. 0-T6 CC-—04T0
HO7H-SCLCR04 ‘ 07 100 7.6 || o5 7.8 L
HO8J-SCLCRO4 o8 | 110 | 85 | 0.5 | 88
HO7H-SCLCRO6 | 07 100 77 | 07 8.5 | r
™ L
HOBH-SCLCRO6 | 96 | 100 | 7.5 | 1.5 85 < O = P
HOBJ-SCLCROS | 08 | 10 | 8.7 | 0.7 | g5 | M25TS CC--0602 ' ) 4=
H10K-SCLCRO6 10 125 1 1.0 12
60° i
H12L-SCLCRO06 ‘ 12 140 13 1.0 14 ‘f
H12L-SCLCRO09 12 140 135 | 1.5 15 M3. 5-T15 CC——09T3
] H14M~-SCLCRO6 ‘ 14 150 15 1-0 16 NRMEERR t
4 =" M2, 5-T8 CC-—0602 ‘Stordand corfiguration of ool o
ik H16Q-SCLCRO6 16 180 17 1.0 18 Rilimi o
Sk 3 [rTEs
H14M-SCLCR09 ‘ 14 150 15 1-0 16 pilk=y wE | B | KD | TR | e o e TIF B Binsen
M3. 5-T15 specification D L A B Hala diameter T -
H16Q-SCLCRO09 16 180 17 1-0 18 HOBH-STWBROG 06 100 7.0 1.0 7.5 M2. 0-T6 TBGT0601
H18R=SCLCR03 ‘ s 200 19 &0 20 CC——08T3 H08J-STWCRO09 08 110 9.5 1.5 10 M2. 2-T7 TCMT0902
_ HEARTRELORIR 20 | 200 £l 0 | M4 0-T15 H10K-STWCR11 10 | 128 | 1.5] 1.5 | 12
I E = ‘ N n
e 25 | 250 2T | 20 | 2 H12L-STWCR11 12 | 140 | 13.5] 1.5 | 1a 1
= 3 M2. 5-T8 TCMT 1102
AT SELCR - e & 2:0 36 H14M-STWCR11 14 150 | 15.5| 1.5 | 16
= 5 T s
H40U-SCLCR12 ‘ 40 350 44 4-0 48 MS. 0-T20 cc—1204 H16Q-STWCR11 16 180 | 17.5 | 1.5 18

G029 G030



(‘j, GRAND TOOLS

SIENNETIF
High Speed Steel Material Boring Bar

BiRNnEN
High Speed Steel Material Boring Bar

| (’:)', GRAND TOOLS

# SDUCR ¥ 55°

SDUCR Rhombus 55°

A
]

# SCKCR ¥ 80°

SCKCR Rhombus 80°

@

i,

NZtr e E

Standar configuesbon of 1o i

CCO6/0CCO%=RO. 4

AEE, LR

The Mt posstion of S waer oullsl handie does not grind Sough,

\&#E!ﬁk AERGETEE, 135-10mm

I \ £43: mn
B | E
@ [ 1
I K
- -
AE MR BE | BK | Xh | 1% | BK | 1 | 2552 TR E Seen
specification D 12 A B K Hole diameler ¥ E
H10K=SDUCRO7-X32 10 125 1" 3.0 32 12
H12L-SDUCROT7-X40 12 140 13 <l 40 14
H14M-SDUCRO7—X48 14 150 15 3.0 48 16
M2. 5-T8 DCMTO702
H16Q-SDUCRO7-X56 16 180 17 3.0 56 18
H18Q-SDUCROT-X64 18 180 19 3.0 64 20
H20R-SDUCRO7-X72 20 200 21 3.0 72 22
— L - H
?0-
| ]
« \ o Hifir:
i ( )
Y ! : . D
Ul}. m
Timan bR E
Starcand corfigurson of lool ip
CE04=RO. 2
FiUR=S p WE | Bk | A | IR b, TIHE Sinsen
specification o 1 A B Hale diametar T E
HO5G-SEXPR04 05 90 6.5 0.5 06
71 HOEH—SEXPR04 06 100 TR 0.5 o7 M2. 0-T6 EP—0401
LTl
g HO7H-SEXPRO4 07 100 8.5 0.6 08

G031

B SIFE wmiE B xih TR 72 i 1B B Binsent
specification D L A B Halo diametar T E
HOBJ-SCKCRO06 08 10 09 1.0 10
H10K-SCKCRO05 10 125 1" 1.0 12 M2. 5-T8 CC-—0802
H12L-SCKCRO06 12 140 13 1.0 14
H14M-SCKCR09 14 150 15 1.0 16
M3. 5-T15 CC——09T3
H16Q-SCKCRO9 16 180 17 1.0 18
H20R-SCKCR09 20 200 21 1.0 22
Md. 0-T15 CC—-09T3
H255-SCKCRO9 25 250 26 1.0 27
|~ ]
# NTRSEATNRAERERS
The Following Models Use Inserts As Square Series
EiUE=F T BE | BK | X0 | IR | e LR SR I 2 e
specification D L A B Hole diameter T E
HOBJ-SSKCRO08 08 10 09 1.0 10
M2. 5-T8 SC——0602
H10K-SSKCR06 10 125 " 1.0 12
H12L-SSKCRO09 12 140 13 1.0 14
H14M-SSKCR09 14 150 15 1.0 16
M3. 5-T15
H16Q-SSKCR09 16 180 17 1.0 18 SC——09T3
H20R-SSKCR09 20 200 21 1.0 22
M4. 0-T15
H255-SSKCR09 25 250 26 1.0 27

F+H

& B
J

G032



{Zy oranp To0is

SIENNETIF
High Speed Steel Material Boring Bar

n%n‘(;

Technical Information

GRAN D TOOLS

3UILD IT SMARTER

Y B

G033

# SDXCR W} 55°
SDXCR Rhombus 55°

L
A
A
A
( K au:
<
¥
, O 1 U v
i
]
NEMTEER
St corfgunmion of ool ip
DCO7T=R0. 4
DC11=R0. 4
fiUR=Rf - WE | BK | KD | TR | e ait w3 TIH & S insar
specification o o A B Hole dismeter it E
HOBJ-SDXCRO7 08 110 09 1.0 10
H10K—SDXCRO7 10 125 11 1. 12
H12L~SDXCRO7 12 140 13 1.0 14 M2, 5-T8 DC--0702
H14M-SDXCROT 14 150 15 1.0 16
H160-SDXCRO7 16 180 17 1.0 18
H20R-SDXCR11 20 200 21 1.0 22
M4, 0-T15 DC--11T3
H255-SDXCR11 25 250 26 1.0 28

# SVJCR #EW 35°
SVJCR Rhombus 35°

/7\\ ]
< ; L
|
1 O\ |y [
TIRMRREE ' T
Standant configrmion of olip oy @
VC=R0 4 /I
RIS 4E WE | Bk | X | IR RanT TIH B S inser
specification [¥] L A B AT T E
HO8J-SV.JCROB 06 100 7.0 1.0 7.5 M2. 0-T6 TBGTO601
H10K-SVJCR11 08 110 9.5 1.5 10 M2. 2-T7 TCMT0902
H12L-SVJCR11 10 125 1.5 1.5 12
H14M-SVJCR11 12 140 1z 50 [Ndcs 14
M2. 5-T8 DCMTO702
H16Q-SVJCR11 14 150 15.5 | 1.5 16
H20R-SVJCR11 16 180 17.5 | 1.8 18

EMMZTER

Brand New Design Concept

TIARISmAR AR, (RIET JI4F
FEEMRITEFEEES .

The frant end of the cutter head adopts a taper
dc'SIgn 1o ensure the perfect rigidity and shock
otfhe cutter bar.

O]

ol
V=]

‘A, RIERAOTEREL, B
IEFLERTMAHETIE, RIEFLENHEE

discharge of the prevent
the surface of the aperture, and ensure the elt‘.curacy.I
of the aperture.

The avoidance space is enlarged to ensure the per[ecl

1. e R
2, JIFEBERS,
3. HEHIBE IR EF,
4, YIHIREMLT.

1. Good seismic performance,

2. The strength of the cutter bar
is extremely high,

3. Excellent cutting ability,

4. Good cutting stability.




LD IT SMARTE

{Z-y oranp Too1s

JEY NS

Technical Information

ot | {7y oranp Toots

Technical Information

BRSENENIAIIF

Solid Carbide Anti-ibration Boring Bar

. BHz=E
SENREARCOBIHS_ o s -
— A the ok o el —mcmmgede 3 Tentral
F ' e P
&% & %
Bk :‘
J 1.0, By kBt
51 Dk A *
Whan 1he - C(",;né“fh
ysamranalwlmgrorcas =] W f
(Raar anghe) ] 1]
N EXRBAMEN RIS
Eﬁ-l{
& 5 h B G B 45
Izi,l... Parts of the force (breaking point)
ESET A AR TS R R ST,
L does net ooy a cutting excessive force.
5
EYIEI (D I
Main culting angle (axial)

G035

BE & (EE)

THREBRRIARERR A

Vibration Diagram Of the Tool Holde And How To Use It

SFAEOTIRFENK, RTNOHELBERAE, MEERTIRAETRAE T
EARFLEER, RIIMFIRLRT. M TFEAKRB KEAMEANFLT]E
B, MARNEZRALTIRE—EHNRARERT . REEAH—KRBTFHLH
MElFL b0, BRHEETEELRER,

For different types of tool holders, the method of installing the insert is also different. For example, E &
the tool holder of the turret type tool holder has an inner hole and a seat, and the screws can be properly " E"I-

installed when installing the insert. For plane machine tools, that is, if the manufacturer does not pre-
install the inner hole tool holder, then we need to install the inner hole toolCertain technical requirements.
The most basic point is that the center of the tool bar is to the center of the cutting hole. The theoretical
method is explained in the figure below.

EBHFREAT ETRAE
Tra sigidity & lall and right diFaciioss ik graster .
ran e BE
e
"t
L ¥

DR FITEA LA
Thi cinted point af i ool tip
ta the parallsl line

Secondary cutting angle (radial}

EZHIRA HEH R B E

Schematic Diagram Of Each Cut Shape

KEHHESEEE
“Tona el dutharas =
i s e R R
Filamant dischargs position
SRR BIHE b i

Block el dischargs position

Hd B AR 7 MBUR T 7] R B S F0
i LR

The direction in which the cutting shape is discharged dapends on
the model of the insert and the material being processed

LOMHELRSERNTE, DR
HETHYmEERD, MR RN
TEHEE, THMHEE. T
When the deection of force is dowm:

wad
Buring cutting, the 100l hacle will cantinue o
bend downward bo form a vibeaton, and this

vibration is continuaus, and the more you cut
SAFHTRENER, TFnamEs

ARETHEL, TERGSAGRE

T&it, MRS NELTRER.

Diein b0 thi aftect of cutting the fal position

the rigid diractian of the toal bar has MAEDESEE

changed, and the main vibratian direction — &,

s alsa changed, that is. the cutting force IHMGAARER i b Cutints the direction of pressure mavement |
wibralas bp and down. The =hank and the cuttng hole are

on iha same centar

TEBETRITEPOE
The Lip of the ool is higher than the
centar point of the parallal line

FETHAY SR

Vibration buller spacing

AFNHARESOER, OEENREETAOE 5 i
021 &, FAMBISERILBSGR, TFRENE—TE
AR, MEENMEDERES.

The direction of sction dee Lo the rigidity of the arbior, the

will e e downward

just empty hols i arbor gt &
b distancs, thereby eﬂxlmel\rrenucmg cantiuous
wibration,

G036



(‘DGRAN'?« TOOLS | RmEH
| Technical Information

Bk A EFL UIHI T
How To Choose A Boring Tool Holde ﬁﬁﬁeﬁ 7-.' *ﬂ

F-HUSHEATHERETRET 2
BETARTERE. EASRAR CARBIDE INSERTS
REMIMAE. HILE: IHEHE e

N EEAEETIA, N¥FAETHE . ] o i S Pk

= % BT 7] The min st sdge e s

EHERIA-

Each type of boring tool bar represents the .J:_J:'::g,

installation of different inserts or different

angles, the correct choice can reduce the

cost of processing. Special attention: the %)

right insert should be used when the insert @ —

shaft is a left insert, and the left blade <

should be used when the insert shaftis a B BATRAENRTIR0EMET,

right insert BLFRATAEH0 4-0.6

For suampls: Wi ra using (e 450l tip D2 angle Snishing
N the S1A0aNS SUMing Emouris 0408

12153 Raduattarcs

A: HPARAAREITIRELEN—F), REETERN, STRENHTNAREREENAEES
(L7, MIHMRERBILTATEFAR, EFENSRRAZIFERGN.

: STARASRE T AMER), HHBENNEENZETFTOER, SONIHKREHE
HBEMRTHHRE.

C: HPABACEHKF IR FE), UiMmHXFEDSD, THTARBHEEHRENTN, €
Tk, dARBEERDTFHHRE.

A: When the cutting amountis A (about half of the radius of the tool nose), radial force is generated, and the tool will move in the opposite
direction (to Let the knife) when cutting, and the machined surface will have a knife And the uneven phenomenon, the more serious
consequence is the direct fracture of the tool bar,

B: When the cutting amount is B (approximately the radius of the tool tip), the axial force and the radial force have a parailel effect during
cutting, so the machined surface obtains a relatively stable size and accuracy.

C: When the cutting amount is C {larger than the radius of the tool tip), the cutting axial force is greater than the radial force. This cutting
Amount also obtains stable cutling, butit cannol be too large, and oo large will also cause the lool bar lo break.

oW

o417 228 b0 T3 47 710 0 R T AR S B

e e Y BETIRE, MBATSEN, THMNNRRALLTILNESA,
2 o SR A N AT EREANROTIE
Fnigtig, lhe B...uu...?..u rrreeh difliares ) within thi rangi 0 = main adge angie, than & cegrmas, =

e blade must not gxceed the fiz Aot ke blade. If a Laeger cutling amount is

Hapmaaty. the ool sxcond

ot 5 deg . r
1 raiurs of (ha 100l lig duing Seocassing. cmsirnd, alarget R-angia blade should b tplnced.

1R 75 B uming drastio

WRESLBNRTEY, SnT S8k
SR, RSN ERI0EELE N,

e x\_ Chips ¥ from v L]
g - =dge. Wnea processing some more viscous and brilie
7 - materials, it is better to choose a secondary deflection
// / angle of 10 cegrees or more.
oy’ L
NEABE, ROBHENLHRN RN
Ik R A E RS 4 )R R e
B, HENRAEE, NHREEEERERL. oot Rl ot Sl
R h!i"’uw.mﬂmw"l‘“w mw:"nnwmcm. Tha tip of the tool is the contact surface. We usually do nat
of the catting It . Wihen the . . -
7 i, et g s, 1 el it Lt o)
iF prone bo farsien. cutling sdge is worn_ it kas noobwous eliscd on the machined
surface. Ollan Bacausa of thig ilugion, the blade is misged and
the blada is damaged.
1 ‘_ﬁ%?‘(xﬁ‘m?)lﬁiﬁiﬁﬁﬁ
i blviriiciipatin ool AR B EEN A TR .

Techrical requirements: Check the tingling conditan of the main
culting edge reqularly during the cutting process.

G037



C GRAND TOOLS | BES& Ik BESEH | @GRANDTOOLS

BUILD IT SMARTER - 4 BUILD IT SMARTER
Cemented Carbide Inserts Cemented Carbide Inserts

HEEEFRITIR

Ordinary Turning Inserts

AENEHERG S
ﬂ #E HJE ﬂﬁﬂ Features Of Stainless Steel Turning Groove

Steel turning tool groove characteristics

S FITHEAN T S 4 hn T 6% B R 4

e T TIOFMEF M REE;

cTHAET S AR EEESEREENNTEE;
cREFNHEEMTE, BHHRE.

R/L-s@2
* MEHMRE, EHEMIESY, UEKHKE, NOSH, HRERE,

s EBATHR. SR, ERTHRSHRHEERESEE TaER;
*#ESH: ap:0.8~4.5, fn:0.15~0.35

Rough and semi-finished peometsies of M-type materials, donble-sided chipbreakers, sharg edges and wide

F chi ; g3
. ) N I phrenkers:
& Chipbreaker for finishing and semi-finishing: Sultable for the use of viseous and soft materials such as stainless sreel, mild sieel, and difficuli-o-process marerisls at i
i Both tip edge sharpness and strength: lower linzar speads;
Bt Varinble rake sngle design combined with spherical chip breaker con adapt to a wider processing range; Rcmmmend.cd F“'""Mfurr- ap: 0.8~4.5, s 0.15-0,35 28
71 Good chip removal performance and strong versatility. n
K =
Wik MT MA ‘V T
EN ikl = - . . g | =
B ° W B ST R 6" I A S A0 ) I R A (3 R R I, V1R o MAFBE., FHNTEY, WEEREE, S$xFHH. W, #58F; s [
.7 i « p 4 1
. AnSEE, ARES, C HRBARROBERY; NOBEEE, ERE—ROAEHAMT,
;}' *EHTIHISE: ap:1.00~5.00, fn:0.20~0.50 * #F S8, ap:0.50~4.00 , fn:0.20~0.50
g 3 Chipbreaker cutting edge rake angle of + 6 © and the rake face is formed o smooth transition large arc design, smeoth chip:
# Goed cutting edge strength and strong versatility; Rough and serni-finkshed goomensics of M-type materials, double-sided chipbreakers, for staintess sieel. stecl. cast iron, ete.;
T Rocommended cutting purameters: ap: 1.00~5.00, fa: 0.20-0.50 The materials have very light versatility; the strength of the cutting edge is good, and it is capable of ing in general imp
Recommended paramerers: ap: 0.50~4.00, fn: 0.20-0.50
&
Wik

B R/L-MIEE

Light cutting and semi-finishing cutting are light and fast, cutting smoothly, used in low and medium speed occasions
with poor rigidity;

Improved the safety and reliability of the cunting edge during intermittent and rough machining;

Smooth chip breaking and strong versatility;

Recommended cutting parameters: ap: 1.00-4.00, fu: 0.20-0.50

S cmuEEmMTEOMRR, HPE, BTRERENMERGA L S

& C EEE. EMIGREETIOESMMAREY; s MEHBBREL, WELEE, BRER,

s CEMAeE, G, CHMTHR, W, AMIAREGRBRARKNSERE,
- *HEANBISE . ap1.00~4.00 . 700 20:0.50 « TIOHF, BEREK, EREREEETOEEMNT;

* WHSE: ap:0.20~4.00, fn:0.15-0.40

ble-didad ehinh

M-type material general geametry, d general 1

For stainless sicel, mild steel, difficult to mchine materials has a strong general grocve of the entire sircumferencs;
Sharp edge, a light cut light, capable of performing rough finishing ut o lower speed;

Recommended parnmeters: ap: 0.240~4 00, fn: 0, | 5040

"
5 T RS |
;*_'J- Features Of Stainless Steel Turning Groove I “w
BF S0 TMMERSAFMES, TOESH, RHEEBE, HELY;

£ tREAMI. ¥MRINGRM, SBEOH w0120, 0620
: = SFIRTIHIT], ERYIHIERD; 0.1mm large positive eake angle prise combination, sharper edge, spherical breakee units, hetter breaker;

o VIR AT 7 B AT Y I AL R 68 Smble Eorgenees arsingaFatie, ey eel andofer mator oo : :
I o 7 0 AL T 5 A , BUTHRE B, Recommended parnmeters: ap: 0.1-2.0, fn: 0.06-2.0
o Chipbreaker for finishing and semi-finishing, )
7% Sharp culing ede. smalles culting resistsace; . 7

HOO1

MFHfmmI. HmIaenEEa,
TIRTOFREFIERRE, EBENERNMIERE;
RIFRIHEE LA, ERMTIAIED.

For semi-finishing, roughing chipbreaker geometry;
Baoth tip edge sharp | atrength to broader p
Gioad chip removal perfonmance, lower sutting resislance

ERE

f0.TMMETHEXFAES, RMTOBERERM, T4, THER. &
BEHRMERMNL
HFEE: ap:0.2~2.0, fn:0.08~2.0

The combination af0.1mm wide flat edge and large rake angle, taking into account the strengih and sharpness of the cutting edge, is

suitable for general processing of sicel, stzinless steel, cast iron and other materials;
Recommended parameters: ap: 0.2-2.0, fn: 0.08-2.0

HO02



C':} GRAND TOOLS

BRSRTIH

Cemented Carbide Inserts

BUILD IT SMARTER

BRE &7 | @GRAND TOOLS

Cemented Carbide Inserts

iz

H#BREESRTINBRSRN

Carbide Inserts Grade Description

FHITIH

Turning Inserts

BEHI T1H

Milling Inserts

B s

Model name

YZP1115

o P #E &

Model Features

ATREZHNE, EXEMBESS:; NIHERW, SAEEFH, SEEATX
350m/minkd L.

It is used to stabilize the turning and pursue high wear resistance; when processing
ardinary stesl, whan the cooling is good, the linear speed can reach more than 350m/min.

B 8

Madel name

YZ7015

W =

Model Features

|, B THWNMEEMAS, WS136H, 718, NAKSO, HEh0 T %4 i 2,
HRCS0LLAE M .

Steal parts, castings, stainless steel soft and hard universal modals, wear-resistant to S136H, 718,
NAKED, difficult-to hi terials, and uni | within HRC50.

YZP1125

H— WA R RERANEERS, ARMIIEMT, WG S5EER
HRMAEREMEE, HEME—RaE .

The mast commen preferred grade for general steel tuming, [t has strong comprehensive
perfarmance from finishing to roughing, from low speed to high speed, and is also capable of ganeral
interrupted turning.

YZ7020

BF#, T8, SRS SXHunERRN, S EERHIRCI0 50 HEANE
BEALS .

Itis used for general milling of various materials such as steel. stainless steel, castiron, etc. It has
excellent perfarmance especially in the range of steel HRC30~50

YZP1135

Hy—RWNHNSEE S THRTENTSER.

Gmming and parting turning for general steel materials at high speeds.

YZ7023

EAMIM, FHER, HREHR, HRC42 LT, 45 41, A3 FHRM TRARE.

Suitable for processing steel, stainless steal. cast iron and other materials, HRC42 below, 45 steal,
A3 and other mild steel Ing perf [EY

YZP1145

H—REHHSEREES THNEANEEYN BTARMS, BELEE.

For general steel malerial grooving and cutting under high speed conditions, itis an upgraded grade
with beller stability.

YZ7025

EATHEMMI, HEESE. HEENIE—ENRKYS.

Special steel p g has certain ges for p g high alloys
and titanium alloys.

YZK3115

EURRSHREMTEE S, SAMES, hES—MOFEMT. THTH
HRSEmEERNGEEEEEANSE.
The first choice for turning gray iron and ductile iren, with good overall performance and suitable for

general intermittent machining. Can be used for low speed rough turning of hardened and high
strength steels.

YZ7030

EEMTEME, RE— Sy, S8, EES.

| tis suitable for processing steel parts and malerials with a litlle stickiness. The base material is
hard and the wear resistance is high.

YZK3125

ZHIRSESHENERNS, SEMET, ES—RNEENT. TRATFE
BERSmEERENSEEEEENSE.

T ha first choice for turning gray iron and ductile iron, with geod overall parformance and suitable for
general intermittent machining. Can be used for low speed rough turning of hardened and high
strength steels.

YZM2025

THMENERAES.

Special grade for stainless steel turning

YZKOo1

BAFe. ASEasRay. 08, S8NE, I, Ol TiHas.
ERAEMIEEEN.

I is used for Wwrning and milling of e mlal ials such as i and copper,

graphite and cast iron, and can also be used for low-speed turning of titanium alloys and superalloys.

YZM2135

EATHALSEFTHRMLEANT.

For efficient roughing of stainless steel at higher speeds

| s




o o
{{yornnrooss | mEsenn RESETIN | C:} GRAND TOOLS
Cemented Carbide Inserts Cemented Carbide Inserts
2 f8 26 I 7D 14 [ R e e
Negative Angle Turning Inserts @D v Negative Angle Turning Inserts )] v
& %% - ~
~ X ~ N -
\® i <A 5 \ -
e j =
CNOO N CNOO N
e P & \\ Ui £
ZH80° BIL rrombus a0° Withholes - s EH80° HIL rhombus 80° Withholes r// SJ
« Ll -« > Lt 5 -«
Rt CVDE PVDEE & 15l £ 4 R+t CVDi2E PVD%E & THI 2%
T Size CVD Gasting FVD Caating § | el Size VD Coaling FVD Caating E ot o o
B 1 .
3 Ak s | g
B Shape Specilication el B Shape Specification Se 2zl ag " B
7 L | e | s E'EE@ g R i t || s | e éiE EER geg MR piiz 7
" >‘> g ; - apimm] Tn{mmyr} §|>_ >_|§ ';l g'ﬁ > apimrn) Tnimmirl
< ]
ik - | R
71 CNMG120404-MT | 12.9 | 12.7 | 4.76 0.80-5.00 | 0.15-0.25 s, CNMG120404-BF | 12.9 | 12.7 | 4.76 | 5.16 0.10-2.00 | 0.08-0.18
J& . CNMG120408-MT | 12.8 | 12.7 | 4.76 1.00-5,00 0.2-0.4 @ CNMG120408-BF | 12.8 | 12.7  4.76 | 5.18 0.10-2.00 | 0.08-0.18
B CNMG120412-MT | 12,9 | 12.7 | 4.76 1.00-5.00 | 0.25-0.5 CNMG120404-BM | 12.9 | 12.7  4.76 | 5.16 | 0.4 | 0 . 0.40-5.50 | 0.10-0.25 ER
S CNMG120404R-M | 12.9 | 12.7 | 4.76 | 6.16 | 0.4 @ @ 0.80-5.00 0.2-0.5 CNMG120408-BM | 12.9 | 12.7 | 4.76 | 5.16 | 0.8 B . 0.50-5.50 | 0.10-0.40 %
7 CNMG120408R-M | 12.9 | 12.7 | 4.76 | 5.16 | 0.8 ® ® 1.00-5.00 | 0.25-0.5 CNMG120412-BM | 12.9 | 12.7 | 4.76 | 6.16 | 1.2 . . 0.80-5.50 | 0.10-0.55 n
. CNMG120404L-M | 12.9 | 12,7 | 4.76 | 6.16 | 0.4 o @ 0.80-5.00 0.2-0.5 | CNMG120408-GR | 12.8 | 12.7 | 4.76 | 5.16 | 0.8 2.0-6.50 | 0.28-0.50
CNMG12040BL-M | 12.9 | 12.7 | 4.76 | 5.16 | 0.8 (@ ® 1.00-5,00 | 0.25-0.5 . CNMG120412-GR | 12.9 | 12.7  4.76 | 5.16 | 1.2 2.0-6.50 | 0.28-0.63
CNMG120404-GT | 12.9 | 12.7 | 4.76 | 6.16 | 0.4 @ @ 0.80-5.00 | 0.2-0.25 CNMG190608-GR | 19.3 |19.05 6.35 | 7.94 | 0.8 2.0-8.00 | 0.30-0.60
. CNMG120408-GT | 12.9 | 12,7 | 4.76 | 6.16 | 0.8 o @ 1.00-5.00 0.2-0.4 CNMG190612-GR | 198.3 |19.05 6.35 | 7.94 | 1.2 2.0-8.00 | 0.40-0.80
CNMG120412-GT | 12.9 | 12.7 | 4.76 | 5.16 | 1.2 (e @ 1.00-5,00 0.2-0.5 . CNMG120404-GF | 12.9 | 12.7 | 4.76 | 5.16 | 0.4 0.15-2.00 | 0.08-0.18
CNMG120404 | 12.9 | 12.7 | 4.76 | 5.16 | 0.4 . 1.00-4.50 | 0.15-0.25 CNMG120408-GF | 12.9 | 12.7  4.76 | 5.16 | 0.8 0.25-2.00 | 0.08-0.25
CNMG1 20408 12.8 12.7 | 4.76 | 5.16 0.8 L 1.00-4.50 0.15-0.4 CNMG120404-GM | 12,8 | 12.7 4.76 | 5.16 0.4 & @ 0.50=4.00 0.10-0.25
CNMG120412 12.8 | 12.7 | 4.76 | 5.16 | 1.2 . 1.00-4,50 | 0.15-0,55 CNMG120408-GM | 12.8 | 12.7 | 4,76 | 5,16 | 0.8 e @ 0.50-5.00 | 0.10-0.40
CNMG120416 | 12.8 | 12.7 | 4.76 | 5.16 | 1.6 . 1.00-4.50 | 0.15-0.6 ! CNMG120412-GM | 12.9 | 12.7 | 4.76 | 5.16 | 1.2 e @ 0.50-4.00 | 0.10-0.25
w . CNMG160608 | 16.1 15.875 6.35 | 6.35 | 0.8 . 2.0076.00 | 0.15-0.4 CNMGA60608-GM | 6.1 15.675 6.35 | 6.35 | 0.8 (& ® 0.50-5.00 | 0.10-0.40 o
i CNMG160612 | 16.1 15.875 6.35 | 6.35 | 1.2 N 2.00-6.00 | 0.15-0.55 CNMG160612-GM | 16.1 15.875 6.35 | 6.35 | 1.2 (@ ® | 0.50-5.00 | 0.10-0.40 ¥
;-J CNMG160616 | 16.1 15.875 6.35 | 6.35 | 1.6 . 2.00-6.00 | 0.15-0.7 CNMG120408-BR | 12.8 | 12.7 | 4.76 | 5.16 | 0.8 . e 0.50-4.00 | 0.10-0.25 n
CNMG180612 | 19.3 | 19.05| 6.35 | 7.94 | 1.2 . 3.00-8.00 | 0.15-0.55 ‘o CNMG120412-BR | 12.9 | 12.7 | 4.76 | 5.16 | 1.2 » .o 0.50-5.00 | 0.10-0.40
CNMG180616 | 19.3 | 19.05 6.35 | 7.94 | 1.6 @ 3.00-8.00 | 0.15-0.8 CNMG160612-BR | 18.3 | 19.05 6.35 | 7.94 | 1.6 | . o 0.50-5.00 | 0.10-0.40 i
% n CNMG120408-GH | 12.9 | 12.7 | 4.76 | 5.16 | 0.8 B 1.00-4.50 | 0.15-0.4 3
CNMG120412-GH | 12.9 | 12.7 | 4.76 | 5.16 | 1.2 . | 1.00-4,50 | 0.15-0.55
mt ¥
n N
% 3%
iz i
F e
e
s




{ GRAND TOOLS EEEE IR S & T { GRAND TOOLS
BUILD IT SMARTER . . BUILD IT SMARTER
Cemented Carbide Inserts Cemented Carbide Inserts
RBEHNA /*% RAEHNH 7%
Negative Angle Turning Inserts @D ¥ Negative Angle Turning Inserts ©D — -—-‘r
- ~ ke T i B
Ay
e 52 ] e ¥
\
CNOIC e DNOI[] N
\\-. // - \\-‘_I_, ~
ZH80° BIL rrombus a0° Withholes - s EH55° BIL rhombus 55° With holes r . ; s
< L, -« > - = < »
| zZ
Rt CVDE PVDEE & 15l £ 4 R+t CVDisE PVD#%E HHI & 5
T Size CVD Gasting FVD Caating § el Sizs VD Coating PV Coating et el _
o
= | K H =3 2 (ST =
= etk | 1] A HeAR | | | | | i
Bt Shape I Specilication t 9.9 el B Shape Specifieation | i o= '"|3‘g %
E i # a2 a o o = = e =1 o
i | apimm M | il ap(mm| AT
K | .?]r,,__ >‘>»,'\_l> | N >-|>i>- >‘>-|§ K
Wk } 4 | 4 4 f ! 3 | | | | | 1 | | | ! e ]
71 CNMA120404 | 12,8 | 12.7 | 4.76 | 5.16 | 0.4 1.00-4.60 | 0.156-0.25 DNMG150604-GT | 15.5 | 12.7 | 6.35 | 5.16 | 0.4 0.80-5.00 | 0.20-0.25 TIE
IR CNMA120408 | 12.9 | 12.7 | 4.76 | 5.16 | 0.8 . 1.00-4.50 | 0.15-0.40 DNMG150608-GT | 15.5 | 12.7 | 6.35  5.16 | 0.8 |@|® 1.00-5.00 | 0.20-0.40 | &€
CNMA120412 | 12,80 | 12.7 | 4.76 | 5.16 | 1.2 0 1.00-4,50 | 0.15-0.55 DNMG150612-GT | 15.5 | 12.7 | 6.35  5.16 1.2 (e e 1.00-5.00 | 0.20-0.50 ER
4 4 4 4 { | S - — 4 ! 4 4 4 4 4 + ) WS U WS NS W N T— —— S — + :;l:
CNMA120416 | 12.9 | 12.7 | 4.76 | 6.16 | 1.6 . 1.00-4,50 | 0.15-0.60 DNMG150404-GT | 16.5 | 12.7 | 4.76 | 5.16 | 0.4 |@ @ 0.80-4.00 | 0.20-0.25 %
. CNMA1BO0B0B | 16.1 15,875 6.35 | 6.35 | 0.8 0 2.00-6.00 | 0.16-0.40 DNMG150408-GT | 15.6 | 12.7 | 4.76  5.16 | 0.8 |e|® 1.00-4.00 | 0.20-0.40 n
CNMA1B0612 | 16.1 [15.875 B.35 | 6.35 | 1.2 ° 2.00-8.00 | 0.15-0.55 DNMG150412-GT | 15.5 | 12.7 | 4.76 5.16 | 1.2 (e ® 1.00-4.00 | 0.20-0.50
CNMA160816 16.1 |15.875 6.35 | 6.35 | 1.6 B 2.00-6.00 | 0.15-0.70 DNMG150404-MT | 15.5 | 12.7 | 4.76 5.16 | 0.4 (@ @ 0.80-4.00 | 0.20-0.25
CNMA190612 | 19.3 |19.05| 5.36 | 7.94 | 1.2 . 3.00-8.00 | 0.16-0.55 DNMG150408-MT | 15.5 | 12.7 | 4.76 | 5.16 | 0.4 |@ @ 1.00-4.00 | 0.20-0.40
il CNMA190618 | 19.3 |19.05| 6.35 | 7.94 | 1.8 . 3.00-8.00 | 0.15-0.80 DNMG150412-MT | 15.5 | 12,7 | 4.76  5.16 | 1.2 (e ® 1.00-4.00 | 0.20-0.50
pos CNMG120404 | 12.8 | 12.7 | 4.76 | 5.16 | 0.4 . 1.00-4.50 | 0.15-0.25 DNMG150604-MT | 15.5 | 12.7 | 6.35 5.16 | 0.4 (e ® 0.80-5.00 | 0.20-0.25
7 CNMG120408 | 12.8 | 12.7 | 4.76 | 5.16 | 0.8 » 1.00-4,50 | 0.15-0.40 DNMG150608-MT | 15.5 | 12.7 | 6.35 5.16 | 0.8 e ® 1.00-5.00 | 0.20-0.40
CHNMG120412 12.8 12.7 | 4.76 | 5.16 1.2 L] 1.00-4.50 0.15-0.55 DNMG150612-MT 15.5 | 12.7 | 6.35 5.16 1.2 &« @ 1.00=-5.00 0.20-0.50
CNMG120416 | 12.8 | 12,7 | 4.76 | 5.16 | 1.6 . 1.00-4,50 | 0.15-0.60 DNMA150404 | 15.5 | 12.7 | 4.76  5.16 0.4 ® 1.00-4,50 | 0.15-0.25
CNMG160608 | 16.1 15.875 6.35 | 6.35 | 0.8 . 2.00-6.00 | 0.15-0.40 DNMA150408 | 15.5 | 12.7 | 4.76  5.16 | 0.8 @ 1.00-4.50 | 0.15-0.40
CNMG160612 | 16.1 15.875 6.35 | 6.35 | 1.2 . 2.006,00 | 0.15-0.58 DNMA150412 | 15.5 | 12.7 | 4.76  5.16 | 1.2 s 1.00-4.50 | 0.15-0.55
CNMG160616 | 16.1 15.875 6.35 | 6.35 | 1.6 0 2.00-6.00 | 0.15-0.70 DNMA150604 | 15.5 | 12.7 | 6.35  5.16 | 0.4 0 1.00-4.50 | 0.15-0.25 ¥
CNMG180612 | 19.3 | 19.05 6.35 | 7.94 | 1.2 . 3.00-8,00 | 0,15-0.55 DNMA150608 | 15,5 | 12.7 | 6.35 5.16 0.8 3 1.00-4,50 | 0.15-0,40 7
CNMG190616 | 19.3 | 19.05| 5.35 | 7.94 | 1.6 . 3.00-8.00 | 0.15-0.80 DNMA150612 | 15.5 | 12.7 | 6.35 5.18 | 1.2 @ 1.00-4.50 | 0.15-0.55
DNMG150404 | 15.5 | 12.7 | 4.76  5.16 | 0.4 ® 1.00-4.50 | 0.15-0.25
DNMG150408 | 15.5 | 12,7 | 4.76 | 5.6 | 0.8 . 1.00-4.50 | 0.15-0.40
DNMG150412 | 15.5 | 12.7 | 4.76 | 5.16 | 1.2 " 1.00-4.50 | 0.15-0,55
mi DNMG150604 | 15.5 | 12.7 | 6.35 | 5.16 | 0.4 . 1.00-4.50 | 0.15-0.25 P
j__z DNMG150608 | 15.5 | 12,7 | .35 &.16 | 0.8 s 1.00-4.50 | 0.15-0.40 7
DNMG150612 | 15.5 | 12.7 | 6.35 5.6 | 1.2 . 1.00-4.50 | 0.15-0.55
fi @ DNMG150404-BF | 15.5 | 12.7 | 4.76 | 5.16 | 0.4 . 0.10-2.00 | 0.08-0.18 n
n: DNMG150408-BF | 15.5 | 12.7 | 4.76 | 5.16 | 0.8 . 0.10-2.00 | 0.08-0.18
H

HOO7 HO08




C GRAND TOOLS BESETIA BESE7N C GRAND TOOLS
o Cemented Carbide Inserts Cemented Carbide Inserts oA
RBEHITIH oo e, REEHITIH
Negative Angle Turning Inserts < T - — Negative Angle Turning Inserts
~ -
R A
DN[L][] L SNLI[]
o WO I b
EW55° BFL rnomous 557 With holes r L ! s IEFE90° BFL sauare 50° Wi holes
-« » - >
i 3
Rt CVORE | PVDRE k  UMeH Rt CvoRE | PVORE 5 GHeN
q.: Size CVD Coating PVD Coating | Size CYD Coating FVD Coating | ; 'F'
f; AR R m “|mf ' Ak = | [l s
i Shape Specilication Beogizien® o . : Shape Spacification m[Seie g o - B
7 e | s | e |SRERERSY WR 4 L || s ISERRRESY m» | aa n
& il Eiﬁr >i§|§.>‘ AR iR §|>. E‘;‘.’-Ig > [ stimesl S Glnieic "
i - = = | bt - ! B
E7 DNMG150404-BM | 15.5 | 12.7 | 4.76 | 5.16 | D.4 . . 0.40-5.50  0.10-0.25 SNMG120404-MT | 12,7 | 12.7 | 4.76 0.80-5.00 = 0.15-0.25 TIE
I—L‘ DONMG150408-BM E ; 4. 76 E : T _. [ _”-_ 0.50-5.50 0.10=0.40 - SNMG120408-MT 12.7 | 12.7 E [ 1] 1TTTT] 1.00=-5.00 0.20=0.40 rf{
Ef DNMG150412-BM | 15.5 | 12.7 | 4.76 | 5.16 | 1.2 o] o 0.80-5.50 | 0.10-0.55 SNMG120404R-M | 12.7 | 12.7 | 4.76  5.16 | 0.4 @ @ 0.80-5.00 = 0.20-0.50 2
i : @ DNMG150604-BM | 15.5 | 12.7 | 6.35 | 5.16 | 0.4 o] a] 0.40-5.50 | 0.10-0.25 SNMG120408R-M | 12.7 | 12,7 | 4.76 | 5.16 | 0.8 @ @ 1.00-5.00  0.25-0.50 %
N DNMG150608-BM | 15.5 . 12.7 . 6.35 . 5.16 . 0.8 ..- ... 0.50-5.50 0.10-0.40 - SNMG120404L-M . 12.7 | 12.7 . 4.76 | 5.16 0.4 ... 0.80-5.00 0.20-0.50 n
DNMG150612-BM . 15.5 . 12.7 . 6.35 . 5.16 1.2 ... - 0.80-5.50 0.10-0.55 SHNMG120408L-M . 12.7 | 12.7 . 4.76 | 5.16 0.8 .. 1.00=5.00 0.25=0.50
| onmMe15040aL-5 | 15.5 | 12.7 | 4.76 | 5.18 | 0.& il le| |o| 0.50-0.00 | 0.05-0.25 SNMG120404-GT | 12.7 | 12.7 | 4.76  5.16 | 0.4 @ @ 0.80-5.00 = 0.20-0.25
DNMG150408L-5 | 15.5 . 12.7 | 4.76 | 5.18 0.8 I ... .. 0.50-4.00 0.05-0,35 ! SNMG120408-GT . 12.7: | A7 . 4.76 | 5.16 0.8 .I. 1.00-5.00 0.20-0.40
| DNMG150604L-5 | 15.5 . 12.7 | B.35 | 5.18 T .. .I- 0.50-4.00 0.05-0.25 | SNMG120412-GT 12.7 | 12.7 . 4.76 | 5.16 1.2 (1l -.. 1.00-5.00 0.20-0.50
U,E ONMG150808L-5 15.5 12.7 6.35 5.16 | 0.4 o . 0.50-4.00  0.05-0.35 SNMA120404 | 127 | 12.7 4.76 5.16 | 0.4 - 1.00-4.50  0.15-0.25
7 DNMG150404R-S | 15.5 | 12.7 | 4.76 | 5.16 | 0.8 e |e 0.50-4.00 0.05-0.25 SNMA120408 | 12.7 | 12.7 | 4.76 | 5.16 | 0.8 . 1.00-4.50  0.15-0.40
| DNMG150408R-5 [ 15.5 . 12.7 . 4.76 . 5.16 1.2 ... lo] 0.50=4.00 0.05-0.35 SMNMATZ0412 . 12.7 | 12.7 . 4.76 | 5.16 1.2 -.. 1.00-4.50 0.15-0.55
DNMG150804R-S | 15.5 | 12.7 | 6.35 | 5.16 | 0.4 | o 0.50-4.00 | 0.05-0.25 n SNMA150608 | 15.87515.875 6.35 | 6.35 | 0.8 ‘el 2.00-6.00  0.15-0.40
| onme1s0s08R-S | 15.5 | 12.7 6.35 | 5.16 | 0.8 | le| |o| 0.50-0.00 | 0.05-0.35 SNMATS0612  16.875/15.675| 6.35 | 6.35 | 1.2 o] 2.00-6.00 | 0.15-0.55
. . . . o SNMA150616 .15.875515.875. 6.35 | 6.35 1.6 -.. 2.00-6.00 0.15=0.70 o
SMNMA190612 . 19,05.19.05 . 6.35 | 6.36 1.2 -.. 3.00-8.00 0.15-0.55 .t'ﬂ
SNMA1S0816 19.05:19.05 6.35 T84 18 c 3.00-8.00  0.15-0.80 TE]
SMMG120404 12.7 | 12.7 | 4.76 | 7.94 0.4 L 1.00-4.50 0.15-0.25
SNMG120408 2.7 | 12.7 I 4,78 | 5.16 0.8 -.I 1.00-4.50 0.15=0.40
SNMG120412 12.7 | 12.7 . 4.76 | 5.18 1.2 -.. 1.00-4.50 0.15-0.55
) SNMG150608 | 15.87515.675 6.35 | 6.35 | 0.8 ‘ol 2.00-6.00 | 0.15-0.40 .
j; SNMG150612 .15.375:15.575. 6.35 [ 6.35 | 1.2 o 2.00-6.00 | 0.15-0.55 :‘
E 7 SNMG150616 .15.375:15,575. 6.35 | 6.35 1.8 -.. 2.00-6.00 0.15=0.70 . T‘I
SNMG190612 | 19.05|19.05| 6.35 | 7.94 | 1.2 N 3.00-8.00 | 0.15-0.55 a
f:"‘ SNMG130616 I t9.05: 1B.D5I 6.35 | 7.94 1.6 -.I 3.00-8.00 0.15-0.80 m
r']:] - SNMG120404-BF . 12.7 E 12.7 . 4.76 | 5.16 0.4 1 .l. 0.10=-2.00 0.08=0.18
g - SNMG120408-BF . 12.7 12.7 . 4.7T8 | 5.18 0.8 . ... 0.10=2.00 0.08=0.18
' SNMG120404-BM | 12.7 127 476 515 | 0.4 o [o] 0.40-5.50  0.10-0.25
SNMG120408-BM I 2.7 I 12.7 I 4,76 I 5.16 0.8 I.I I.I 0.50~-5.50 0.10-0.40
SNMG120412-BM . 12.7 : 12.7 . 4.T8 | 5.16 1.2 ... ... 0.80-5.50 0.10=0.55




o
< ’3 GRAND TOOLS | @BES &K BES®IN { GRAND TOOLS
UILD IT SMARTER 2, a BUILD IT SMARTER
Cemented Carbide Inserts Cemented Carbide Inserts
RAFEHID R RAFHRA
Negative Angle Turning Inserts Negative Angle Turning Inserts
SNLI[] TN O[O A
g | I
N3;] %90“ ﬁ;l. Square 90° With holes EEEBO“ ﬁﬂ Triangle 60° With hales r, B
5
<
R CVD# B PVDEE & IR 3 R+t CVDAE PVD%E & IHI £ %
F Size GO Caating FVO Coating E CLGEL ool el Size VD Caaling PVD Gaaling E cialhy L Dl
s AR | | bic2 s I I | | &
B Shape Specification 0w wle @ e e e e Shage Saedilicalion s e i 5 %
s 2olnidiam e S g s ; e SEZ2R8 s " =
71 t |uc | s | # | Re §:=E-5'5§;2§§isi§§§ gl it L |ic| s | ¢ | Re | [ i Eig!:“j E|§§% J# bk N
& & g 5 ;*‘,:?'.?? o §;§,>:§ N apmm thlmmir n NNNN N &% apimm) Taimae) @
l - | ] _ _ _ _ P |~ I SRE _ L.
SNMG120404L-S | 12.7 | 12.7 | 4.76 | 5.16 | 0.4 .o 0.50-4.00 | 0.05-0.25 TNMG160404-GT | 16.5 9.525 4.76 | 3.81 | 0.4 e|@ 1.00-5.00 | 0.20-0.40 "
. SNMG120408L-5 | 12.7 | 12.7 | 4.76 | 5.16 | 0.8 oo 0.50-4.50 | D.05-0.35 A TNMG160408-GT | 16.5 | 9.525 4.76 | 3.81 | 0.8 e|e 1.00-5.00 | 0.20-0.50
I SNMG120404R-5 | 12.7  12.7 | 4.76 | 5.16 0.4 .. 0.50-4.00 | 0.05-0.25 TNMG160412-GT | 16.5  9.525 4.76 | 3.81 | 1.2 e|e 1.00-4,50 | 0.15-0.25 ER
i | ! 4 4 4 4 - 4 ‘ 4 | 4 . 4 } i i " 4 . 4 4 + : + " . " 4 4 4 4 ‘ 4 4 4 4 4 + . 4 =
= -
o SNMG120408R-S | 12.7 | 12.7 | 4.76 | 5.16 | 0.8 . e 0.50-4.50 | 0.06-0.35 TNMA160404 | 16.5 9.525 4.76 | 3.81 0.4 . 1.00-4.50 | 0.15-0.40 %
7 - SNMG120404-MA | 12.7 | 12.7 | 4.76 | 5.16 | 0.4 . 0.80-4.00 | 0.05-0.25 TNMA160408 16.5 |9.525| 4.76 | 3.81 | 0.8 . 1.00-4,50 | 0.15-0.55 n
SNMG120408-MA | 12.7 | 12.7 | 4.76 | 5.16 | 0.8 . 0.80-5.00 | D.20-0.50 TNMA160412 16.5 | 9.525 4.76 | 3.81 | 1.2 . 2.00-6.00 | D.15-0.40
TNMA220408 22 | 12.7 | 4.76 | 5.16 | 0.8 . 2.00-6.00 | 0,15-0.56
SNMG120408-MS | 12.7 | 12.7 | 4.76 | 5.16 | 0.4 .o 0.50-5.00 | D.10-0.40 I I I I 180 0 R 41 % O S I
TNMAZ20412 22 | 12.7 | 4.76 | 5.18 | 1.2 . 2.00-6.00 | 0.15=0.70
TNMA220416 22 | 12.7 | 4.76 | 5.16 | 1.6 . 3.00-8.00 | 0.15-0.55
TNMG1604D4 | 16.5 | 9.525 4.76 | 3.81 | 0.4 » 3.00-8.00 | 0.15-0.80
i I I I I 10 0 S P T O O R 1 S 00 | O I
v TNMG160408 | 16.5 9.525 4.76 | 3.81 | 0.8 . 1.00-4,80 | 9-1570.25
— TNMG160412 16.5 9.525 4.76 3.8 1.2 . 1.00=4.50 0.15=-0.40
TNMG220408 22 | 127 4.76 | 5.16 | 0.8 . 1.00-4,50 | 0.15-0,55
v: I‘J TNMG220412 22 12.7 | 4.76 | 5.16 | 1.2 . 2.00-6.00 | D.15-0.40
- I | I I L LIRS ) R ] L I
TN |:| |:| TNMG220416 22 | 12.7 | 4.76 | 5.16 | 1.6 . 2.00-6.00 | 0.15-0.56
=RAB60° B range 60 withholes AP TNMG160404-BF | 16.5 9,525 4.76 | 3.81 | 0.4 .e 2.00-6.00 | 0.15-0.70
> TNMG160408-BF | 16.5 9.525 4.76 | 3.81 | 0.8 oo 3.00-8.00 | p.15-0.55
% TNMG160404-BM | 16.5 9.525 4.76 | 3.81 | 0.4 » . 3.00-8.00 | 0.15-0.80
Rt CVDi# B FPVDiE R E YIRS H P % TNMG160406-BM | 16.5 9.525| 4.76 | 3.81 | 0.8 . . 0.10-2,00 | 0.08-0.18
Size VD Canling PVD Coating 'E CRINNG phramEbarE = | I ! I ] | N | | 2 R Uy i B 0 )
i i TNMG160412-BM | 16.5 | 9.525| 4.76 | 3.81 | 1.2 . . 0.10-2.00 | D.08-0.18
sns?} Spacitication wwne w _ TNMA160404 | 16.5 9.525| 4.76 | 3.81 | 0.4 ® |® 0.40-5.50 | 0.10-0.25
Cdlad foti= : _ I | I I 5 D O O O 2 8 0 S I
L Ic s | od | Re [Sf=ists 2= n& it 4 TNMA160408 | 16.5 9.525 4.76 | 3.81 | 0.8 ® @ 0.50-5.50 | 0.10-0.40
SRAR Y apmm Toimir} | | | | S R (0 et S |
x >|: i o TNMA160412 16.5 |9.525 4.76 | 3.81 | 0.4 ® & 0.80-5.50 | 0.10-0.55
TNMG160404-MT | 16.5 |9.525 | 4.76 | 3.81 | 0.4 e|e 0.80-5.00 | D.15-0.25 TNMG160408-GR | 16.5 9.525 4.76 | 3.81 | 0.8 O 2.00-6.50 | 0.28-0.50
TNMG160408-MT | 16.5 |9.525 | 4.76 | 3.81 | 0.8 *|e 1.00-5.00 | 0.20-0.40 TNMG160412-GR | 16.5 | 9.525 | 4.76 | 3.81 | 1.2 o 0.00-6.50 | 0.28-0.63
TNMG160412-MT | 16.5 |9.525 | 4.76 | 3.81 | 1.2 e|e 0.80-5.00 | D.20-0.50
TNMG160404R-M | 16.5 9.525 4.76 | 3.81 | 0.4 (@@ 1.00-5.00 | 0.25-0.50
TNMG160408R-M | 16.5 |9.525| 4.76 | 3.81| 0.8 o|e 0.80-5.00 | D.20-0.50
TNMG160404L-M | 16.5 |9.525 4,76 | 3.81 0.4 (@@ 1.00-5.00 | 0.25-0.50
TNMG160408L-M | 16.5 |9.525 | 4.76 | 3.81) 0.8 *|e 0.80-5.00 | 0.20-0.25

HO11 HO12




{ '3 GRAND TOOLS EBESLTIN BRES®TIN { GRAND TOOLS
BUILD IT SMARTER 3 2 BUILD IT SMARTER
Cemented Carbide Inserts Cemented Carbide Inserts
Negative Angle Turning Inserts ) w Negative Angle Turning Inserts
®D > p— ) I {
L o
5 { %
ATEY A 7 g
VN N, WN i
%, 1 "
r : S | . o Ei
ZRH35° B rrombus 35 with holes L S TUARE80° B Hexagon s0° withnoles L S
< > [ >
<
Rt CVD#E PVDEE E IR 3 R+t CVDi% 2 PVDZE & £ 5%
T Sizw ©VD Coating VD Caating E QUG pEEMY N Size ©VD Coating PVD Costing | £ QU pSrRTeR
X | £
= biod R4k | H [ | | | [ | i
Bt Shape Specication o Shape Spacification Clolol=! i | 7
: £E wm | e ' £ 5888288 wx  ma
] L Ic s @d Re B Loe s od Re 2 n!n_ﬁgg_ﬁi =
il apirmim| n(mmir) i~ g IR > | apirm) Tn{mmir}
| = :-‘ 1 | |‘r |
1 1 1 1 1 ! ¥ 1 1 1 1 1 1 L L i 1 4 ¥ 1
VNMG160404-MT | 16.6 (9,525 4.76 | .81 | 0.4 o @ 0.80-3,00 | 0.15-0.25 WNMGDB0404R-M | 8.7 | 12.7 | 4.76 | 5.16 | 0.4 |e|® 0.80-5.00 | 0.20-0.50
YHMG180408-MT 16.6 |9.525 | 4.76 | 3.81 0L.E = @ 1.00-3.00 0.20=0.40 WHNMG0B0408R-M a.7 12.7 | 4.76 | 5.18 0.E e e 1.00-5.00 0.25=-0.50
VNMG160412-MT | 16.6 (9.525 4.76 | 3.81 | 1.2 e ® 1.00-3.00 | 0.25-0.50 WNMG0B0404L-M | 8.7 | 12.7 | 4.76 | 5.16 | 0.4 (e ® 0.80-5.00 | 0.20-0.50
VNMG160404-GT | 16.6 |9.525 4.76 | 3.81 | 0.4 @ @ 0.80-4.00 | 0.20-0.25 WNMGDEDADEL-M | 8.7 | 12.7 | 4,76 | 5.16 | 0.8 (e ® 1.00-5.00 | 0.25-0.50
VNMG160408-GT | 16.6 [9.525 4.76 | 3.81 | 0.8 @ @ 1.00-4,00 | 0.20-0.40 WNMGOB0D408-GT | B.7 |9.526 4.76 | 3.81 | 0.8 (@@ 1.00-3.00 | 0.20-0.40
YNMG1B0412-GT | 16.6 | 9.525 4.76 | 3.1 | 1.2 e @ 1.00-4.00 | 0.20-0.50 WNMG080404-GT | 8.7 | 12.7 | 4.76 | 5.16 | 0.4 |®|® 0.80-5.00 | 0.20-0.25
VNMA1B04D4 | 16.6 |9.525 4.76 | 3.81 | 0.4 . 1.00-4.50 | 0.15-0.25 WNMGOB0408-GT | 8.7 | 12.7 | 476 | 5.16 | 0.3 e|® 1.00-5.00 | 0.20-0.40
VNMATED408 168.8 |9.525| 4.78 | 3.1 0.8 - 1.00-4.50 0.15=0.40 WHNMGDBD412-GT a.T 12.7 | 4.76 | 5.186 1.2 e @ 1.00-5.00 0.20-0.50
VNMG160404 16.6 |9.525 | 4.76 | 3.81 0.4 . 1.00-4.50 0.15-0.25 WHMADER404 8.7 [9.525| 4.76 | 3.81 0.4 L] 0.50-3.00 0.15-0.25
VNMG160408 | 16.6 |9.525 4.76 | 3.81 | 0.8 . 1.00-4.50 | 0.15-0.40 WNMAOB0402 | 8.7 [9.525| 4.76 | 3.81 | 0.8 . 0.50-3.00 | 0.15-0.40
YNMG160404-BF | 16.6 |9.525 4.76 | 3.81 | 0.4 . 0.10-2.00 | 0,08-0.18 WNMAOB04Dd | B.7 | 12.7 | 476 | 5.16 | 0.4 . 1.00-2.50 | 0.15-0.25
WNMG160408-BF 16.6 9.525 4.76 3.81 0.8 - 0.10-2.00 0.08-0.18 WNMADSD40E 8.7 12.7 | 4.76 | 5.16 0.8 . 1.00~4.50 0.15=0.40
VNMG160404-BM | 16.6 |9.525 4.76 | 3.81 | 0.4 . . 0.40-5,50 | 0,10-0.25 WNMAOB0412 | 8.7 | 12,7 | 4.76 | 5.16 | 1.2 . 1.00-4.50 | 0.15-0.55
VNMG160408-BM | 16.6 [9.525 4.76 | 3.81 | 0.8 . . 0.50-5.50 | 0.10-0.40 WNMADB041E | 8.7 | 12.7 | 4.76 | 5.16 | 1.6 . 1.00-4.50 | 0.15-0.60
VNMG160412-BM | 16.6 | 9.525 4.76 | 3.81 1.2 L] . 0.80-5.50 0.10-0.55 WHNMGDBD404 8.7 12.7 | 4.76 | 5.18 0.4 - 1.00~4.50 0.15=-0.25
‘ WNMGOB0408 8.7 12.7 | 4.76 | 5.16 0.8 - 1.00-4.50 0.15=0.40
WNMGDED412 | 8.7 | 12,7 | 4.76 | 5.16 | 1.2 - 1.00-4.50 | 0.15-0.55
H WHNMGOB0408-GH 8.7 12.7 | 4.76 | 5.16 0.8 - 1.00-4,50 0.15-0.40
WHMEB080412-GH 8.7 12.7 | 4.76 | 5.18 1.2 L] 1.00-4.50 0.15-0.53
= WHMG0B0404-BF 8.7 12.7 | 4.76 | 5.18 0.4 L] 0.10-2.00 0.08-0.18
WN |:| D WNMB080408-BF | 8.7 | 12.7 | 4.76 | 5.16 | 0.8 ® 0.10-2.00 | 0.08-0.18
ﬁmmsoo ﬁﬂ Hexagon BO® With holes |§| WNMGDET312-BM | B.T .9.525. 3.97 | 3.8 | 1.2 [ ] || -.. L] .I. || 0.80=-3.00 | 0.10-0.55
i WHMG0E0412-EM B.7 (9.525( 4.78 | 3.81 1.2 - L] 0.80-3.00 0.10-0.55
Rt CVD%E PVD%E B RULUE -3 WHMGDB04D4-BM | B.7 | 12,7 | 4.76 | 5.16 | 0.4 . . 0.80-3.00 | 0.10-0.25
. Size VD Gosting PVD Costing g Culting parameiers 4 { 4 i 4 4 . ) D WS RN D N G |
in £ WHNME0B040E-BM a.T 12.7 | 4.76 | 5.16 o.a L] - 0.40-5.50 0.10=0.40
ﬁ = *gﬁ ﬂﬁ w WHNMGD80412-BM a.T 12.7¥ | 4.76 | 5.16 12 L] L] 0.80-5.50 0.10-0.55
L Shaps. Sosciication 8= . | | | | | | S a1 |
' L 1 s &d Re 108 | ﬂjﬁ JE% WNMGOB0404-MA | B.T 12.7 | 4.76 | 5.16 0.4 L 0.80=-4.00 0.15=0.25
BB anmm nimmie) = . | B0 | |
> _— WNMGOB0406-MA | 8.7 | 12.7 | 4.76 | 5.16 | 0.8 . 0.80-5.00 | 0.20-0.50
WNMG080404-MT | 8.7 | 12,7 | 4.76 | 5.16 | 0.4 @ @ 0.80-5.00 | 0,15-0.25 A WHMEHRCAGHHIE G [H2ar:| i) jaetl | B | ) (V) ) | ] f ) | || eensee) mdneian
WHNMGOB0408-MT | 8.7 | 12.7 4.76  5.16 | 0.6 o @ 1.00-5.00 | 0.20-0.40 —_— WNMGO80408-MS | B.7 | 12,7 | 4.76 | 5.16 | 0.8 ® |® 0.50-5.00 | 0.10-0.40
WHNMGOB0412-MT 8.7 12.7 | 4.76 | 5.18 1.2 & » 1.00-5.00 0.25-0.50

HO13 HO14




GRAND TOOLS

BUILD IT SMARTER

BESE7IA
Cemented Carbide Inserts

BRSRTIA

Cemented Carbide Inserts

=

ERFHNR

| C.j GRAND TOOLS

ERFHNR

e
S

Paositive Angle Turning Inserts Positive Angle Turning Inserts 7"
S @D
e g7 " ~
T - \
= s
DC Sl ccul \ i
“ ol ot
a . .
ZHES55° Bl rhombus 55° With holes BIB80° B FL Rhombus 50° With holes i i
« = s
i A
R CVDA R PVD#E |E THIE % Rt CVD# B PVD#RE B HIHI 2 8
P Size VD Goating PVD Goating 5 CIRER R pe R Size oV Coating PVD Costing | £/ ot s
* 5 i ¥
2 Motk mig ] AN Rtk P e
¥ Shape Specification Claa o il Shape Spacification § i d 5
— = |G e e a | _
7 L | e | 8 | 4 gigigisimais ¥ WIR b Ll s | e R |E g ox it N
= NN NN N apimm) fnjmm/r} i | apimm) Anjimm/ry
NS N > >
o5 :-.‘)« }rer— > ? 1
DCMTO70204-TM | 7.8 | 6.35 | 2.38 | 2.8 0.20-2.00 | 0.06-0.20 CCMT060204-TM | 6.4 | 6.35 | 2,38 | 2.8 | 0.4 |@ 0.20-2,00 | 0.06-0.20
DCMTO70208-TM | 7.8 | 6.35 | 2.38 | 2.8 0.8 . . 0.20-2.00 | 0.08-0.30 CCMT060208-TM | 6.4 | 6.35 | 2,38 | 2.8 | 0.8 |e 0.20-2.00 | 0.08-0.30
DCMT11T304-TM | 11.6 |0.525| 3.07 | 4.4 0.4 . . 0.30-3.00 | 0.08-0.25 COMTOSTI04-TM | 9.7 | 9.525| 3.97 | 4.4 | 0.4 |e 0.30-3.00 | 0.08-0.25 51
DCMT11T308-TM | 11.6 | 9.526| 3.87 | 4.4 | 0.8 . . 0.30-3.00 | 0.10-0.30 CCMT09T308-TM | 9.7 |9.525 3.97 | 4.4 | 0.8 |e 0.30-3.00 | 0.10-0.30 ”E
i 1 | ! | I | s il o
DOMT11T312-TM | 11.6 | 9.525| 3.97 | 4.4 | 1.2 . . 0.30-3.50 | 0.10-0.40 VOMTLZ0ANE TH | £5 | "Rn:| worst] 230 M e DEResa | Ssiem e 7
| i | | i —
DCGTOT0202-AK | 7.8 | 6.35 | 2.38 | 2.8 | 0.2 5.30-3.00 | 0.08-0.25 CCMT120408-TM | 12.9 | 12.7 | 4.76 | 5.56 | 0.8 | 0.30-3.50 | 0.20-0.40
DCGTO70204-AK | 7.8 | 6.35 | 2.38 | 2.8 | 0.4 0.30-3.00 | 0.10-0.30 | B e B e IR g | Tesdesoet st S
1 I I T ~AK 4 2 4 3 05-3. L0101
DCGTIITI0Z-AK | 11.6 | 9.525| 3.97 | 4.4 | 0.2 0.30-3.50 | 0.10-0.40 e | B |oRal| g ) Aeue) | Has ) Meimsacdy, || sl
DCGT11T304-AK | 11.6 | 9.525| 3.97 | 4.4 | 0.4 0.30-3.50 | 0.10-0.40 r" M_._ ﬂ_ 6.36 | 238 | 2 0.4 Bl Al . 0.10-3.00 | 0.02-0.20
1 - : : 7 CCGTO9T302-AK | 9.7 |9.525| 3.87 | 4.4 | 0.2 ® 0.10-5.00 0.02-0.15
CCGTOSTI0N-AK | a.7 |9.525 3.87 | 4.4 | 0.4 ® 0.10-5.00 | 0.02-0.25
CCGT120404-AK | 12.0 | 12.7 | 4.76 | 5.56 | 0.4 e 0.10-5.00 | 0.02-0.40
CCGT1Z0408-AK 12.9 | 12.7 | 4.76 5.96 0.8 ® 0.10-5.00 0.02-0.60 B
B ]
:T1E

" o
e g
B3 %
7] 7
3]
=
L =
e E
7: N
e 3
iz I
e -
75
e

HO15




HO17

© )GRAND TOOLS = o GRAND TOOLS
C BUILD IT SMARTER EE nﬁnm_ EE_Dﬁnm BUILD IT SMARTER
Cemented Carbide Inserts Cemented Carbide Inserts
Positive Angle Turning Inserts Positive Angle Turning Inserts
%, a
- "
SCLIL] : vB[l[ll vClll
@
IERAEI0° FIL square 50 withholes ” EMH35° BIL rhombus 35° With hales
5
R+ CVDi B | I 2 & R+t CVD#& B PVD#E & CIEIE S
T Size VD Goating !% | A Bl Size ©vD Coating VD Coating ; ot s o
= 7 : 2
£ Rtk . Rk | &
B Shape Specification g g Shape Spacificalion ‘ E =3 g e B
3 - M oo -
7 L | e | & | ¢ | Re E T VIR it L | e | 8 | @ | Re |B 2 sg U= itk 4 2
1 apimm) fAiemmir) N i > apimm) injmm/r}
& e | B I = &
L 1 ! ! : ! 1 | 5]
EN SCMTO9TI04-TM | 9.525 | 9,525 | 3.97 | 4.4 0.4 e ® L] . e 0.30-3.00 0.08-0.25 VBMT110304-TM | 11.0 | 6.35 | 3.18 | 2.8 0.4 . 0.20-2.00 0.06-0.20 TIEE
I SCMTOSTI0B-TM | 9.525 | 9.5256 | 3.87 | 4.4 | D.B . . oo 0.30-3.00 | 0.10-0.30 VBMT110308-TM | 11.0 | 6.35 | 3.18 | 2.8 | 0.8 |e|e@ . o . 0.20-2.00 | 0.08-0.30 | &€
SCMT120404-TM | 12.7 | 12.7 | 4.76 | 5.56 | D.4 |& @ . LN ] 0.30-3.50 0.10-0.25 VBMT160404-TM | 16.5 | 9.525 | 4.76 | 4.4 0.4 e|e . L] 0.30-3.00 0.08-0.25 ER
SCMT120408-TM | 12.7 | 12,7 | 4.76 | 5.56 | 0.B @ | @ . LN ) 0.30-3.50 0.20-0.40 VEMT160408-TM | 16.5 | 9.525 | 4.76 | 4.4 0.8 o|le . . e 0.30-3.00 0.10-0.30 %
SCMTI20412-TM | 12.7 | 12,7 | 4.76 1.2 o e . 0.30-3.50 | 0.20-0.50 VBMT160412-TM | 16.5 |9.525| 4.76 | 4.4 | 1.2 |@ . . 0.30-3.00 | 0.10-0.40 n
" ’ VEMT110304-TM | 11.0 | 6.35 | 3.18 | 2.8 | 0.4 |® . . 0.20-2.00 | 0.06-0.20
VCMT110308-TM | 11.0 | 6.35 | 3.18 | 2.8 0.8 | . 0.20-2.00 0.08-0.30
VCMT160404-TM | 16.5 | 9.525 | 4.76 | 4.4 | 0.4 . o 0.30-3.00 | 0.08-0.25
] VCMT160408-TM = 16.5 |9.525 | 4.76 | 4.4 | 0.8 . o 0.30-3.00 | 0.10-0.30
= T T T T T T==F
",E VOMT160412-TM | 16.5 | 9.525| 4.76 | 4.4 | 1.2 ® . 0.30-3.00 | 0.10-0.40
7] VBGT160402-AK 16.5 | 9.525| 4.76 | 4.4 0.2 e 0.05-4.00 0.06-0.20
TC D D VBGT160404-AK | 16.5 |9.525 | 4.76 | 4.4 | 0.4 e 0.10-5.00 | 0.03-0.15
VBGT160408-AK | 16.5 | 9.525| 4.76 | 4.4 0.8 e 0.10-5.00 0.03-0.25
=AE60° BIL Tienge to' withhokes | | ! ! | | | |
VCGT110302-AK | 11.0 | 6.35 | 3.18 | 2.8 0.2 e 0.05-3.00 0.03-0.50
w 5 @ VCGT110304-AK | 11.0 | 6.35 | 3.18 | 2.8 | 0.4 e 0.05-3.00 | 0.02-0.15 -
_ﬁ R+ CVDERB PVDE & cﬂ]ﬁljgg}k VCGT160402-AK | 16.5 | 9.525 4.?5. 44 | 0.2 | LU | ][] Bes-4.00 0.03-0.15 &
it Size VD Caating PAD Caating i g %
i VCGTI160404-AK | 16.5 | 9.525 | 4.76 | 4.4 0.4 e 0.10-5.00 0.03-0.25 n
R : m | VCGT160408-AK | 16.5 |9.525| 4.76 | 4.4 | 0.8 ®| 0.10-5.00 | 0.03-0.50
Shaps Spacification n :Q g slga g 5 o Rg o I | (- 1 L1 )
— — | = | T =N oo s
Ll | s |« re EEEEEECRRESISESE MR | %
§§§ .".i§;>>>>*§'§)‘ apimm] fnimmir
L . | . | | || _IL :
= TCMT110204-TM | 11.0 | 6.35 | 2.38 0.4 ® @ . . 0.30-3.00 | 0.08-0.25 ™
- TCMT110208-TM | 11.0 | 6.35 | 2.38 0.8 e e . . 0.30-3.00 | 0.10-0.30 E
7 | I | ! il n
3 TCMTI6TI04-TM | 16.5 9.525 3.97 0.4 @ @ . 0.30-3.00 0.08-0.25 3
TCMT16T308-TM | 16.5 | 9.525| 3.07 0.8 @ @ . 0.30-3.00 0.10-0.30
i | I I I 1 i
= TCMT16T312-TM | 16.5 |9.525| 3.97 1.2 e @ . 0.30-3.50 | 0.10-0.40 =
TCETO90204-AK BT | 5.56 | 2.38 0.4 0.05-3.00 0.01-0.12
TCGTI0204-AK | 11.0 | 6.35 | 2.38 0.4 0.10-4.00 | 0.03-0.20
TCGT16TI04-AK | 16.5 9.525 3.97 0.4 0.10-5.00 0.02-0.25




GRAND TOOLS & - RA
C RS ®EIN BES® GRAND TOOLS
Cemented Carbide Inserts Cemented Carbide Inserts
BYEHTI R BYEHNRH
Thread Turning Inserts Thread Turning Inserts
T, T,
CIOER  OIR °E LIOER  OOIR ]
& &
% 3
& k5
i R CVDikE PVDE & R CVD% 2 PVD#E E
iE Tookh pHch Siza CVD Coating FYD Caating % Tacth piteh Size VD Goating VD Coating § 3
| |3 |3 &
o feik ik [ 35
B Shaga Spastiication | Shapa Specifcation feog=-wnf_ i
B TER 825
5:0;!1 6 s T | Re | % | @ g2 ﬂ:o? c s T | Re | %d | B %E % g5 g g3 n
& g)‘ >'-9-->§‘-';§ - g:?
mik I | — ! y : 1 2| S ). | |
EN 16ER100ISO 1 |e.525 0.7 | 3.52 013 4 60" 16ERAGSS 0.5-3.0|9.525| 1.7 | 3.52 | 0.06 | 4 85" .
& 16ER125IS0 1.25 | 9.525 0.9 | 3.52 | 0.16 4 60° 16ERASS 0.5-1.5|9.525| 0.9 | 3.52 | 0.05 | 4 g6 . |
B 16ER1S0ISO 1.5 |9.525. 1 |3.52| 01| 4 | so° 16ERGSS 1.75-3.0 9.525 1.7 | 3.52 | 0.23 | 4  s5° [ I ER
o 16ER17EISO 1.75 |o.s25| 1.2 | a.83 | 022 | 4 80° 1BERAGED 0.5-3.0| 0.525| 1.7 | 3.52 | 0.07 | 4 60° . %
7 16ER200150 2 |o.525| 1,3 [ 352|026 4 80" | 0 16ERABO 0,5-1.5|9.525| 0.9 | 3.52 | 0.06 | 4 60” | . 7
16ERZ501S0 2.5 | 9.525 1.5 | 3.52 | 0.33 | 4 80" | . 16ERGED 1.75-3.0 9.525 1.7 | 5.52 | 0.18 4 60" o K
i
16ER3INOISO 3 o525 1.6 | 3.52 | 0.4 | 4 60" | 16IRAGSS 0.5-3.0|9.525| 1.7 | 3.52 | 0.06 | 4 56° . J‘f];j
11IR100150 1 6.35 | 0.7 | 3.0 | 0.06 | 3.2 | g&0° | | e 1GIRASS 0.5-1.5|0.525 0.9 | 3.52 | 0.05 | 4 65° .
11IR1251S0 1.25 | 6.35 | 0.9 | 3.05 | 0.08 | 3.2 | 80 | | » 16IRGES 1.75-3.0/0.626| 1.7 | 3.62 | 0.21 | 4 55" .
F;E 1IR150150 1.5 |ea35| 1 |2.08| 04| 32| &0° | | e 1BIRAGE0 0.5-3.0 | 9.525 1.7 | 3.52 [0.076| 4 &0° .
n 11IR250150 2.5 |6.35| 1.5 | 3.05 | 0.08 | 3.2 | go° | | e 1BIRABD 0.5-1.5 09.525 0.9 | 3.52  0.05 4 80" .
16IR100ISO 1 |o.525 0.7 | 3.52 | 0.06 | 4 80° | | I 16IRGED 1.75-3.0/0.525| 1.7 | 3.52 | 0.1 4 60° . <
I | I I I I I i W | | | I || |1 | 17 | B
16IR126150 1.25 |e.525! 0.8 | 8.52 | 0.08| 4 | &g° | | e ;’J%
16IR1501S0 1.5 |9.525) 1 | 3.52| 0.1 | 4 60" | | . B
16IR1TSISO 1.75 | 9.525 1.2 | 3.52 | 0.11| 4 80" | | e : T TE o
16IR2001ST 2 |o.625) 1.3 | 3.52 | 0.13| 4 $ ) . . | Ly
| 2 |eszs 13 as2| 03] 4 | 60 | [ e[ T e Rt CVDRE  PVDARE % o
16IR2501S0 2.6 | 9.525 1.5 | 3.52 | 0.17 | 4 &0° | | . *“'"P"‘"i o L] L £ Tl
1BIR3DOISO 3 |9.525 1.5 | 3.52 | 0.22 | 4 &0° | | . 4k |
1 L L L l L - e Shaps Spacification B o w8 -
33 v el el O | o £k
oy FH ¢ s | T | Re | oda 8 |5 sisisislols| 2 i
e NOF EHNNNNNZS L1
- :g,-gkx-avﬁg:*
. 1BERTIW 0.5-3.0 9.525 1.7 | 3.52 | 0.06 4 55" o
;? | 1BER14W 0.5-1.5|9.525| 0.9 | 3.62 | 0.06 | & 55" .
E8 1GER1DW 1.76-3.0)9.525| 1.7 | 3.62 | 0.23 | 4 55° .
| 1BIRTIW 0.5-3.0(9.525| 1.7 | 3.52 | 0.07 | 4 80" .
| | I ] I I I | L N A il
P 16IRT2W 0.5-1.5|9.525 0.9 | 3.52 | 0.06 | 4 80" .
@ 16IR14W 1,75-3.0, 9.525 | 1.7 | 3.52 | 0.18 4 g0 .
1BIRTIW 0.5-3.0|0.525| 1.7 | 3.52 | 0.0B | 4 56° .

HO19 HO20



{ GRAND TOOLS EESE N BESEIN { GRAND TOOLS
BUILD IT SMARTER . . BUILD IT SMARTER
Cemented Carbide Inserts Cemented Carbide Inserts
Thread Turning Inserts U Drill Inserts
T,
Ic L
OOER  OOIR SP[]L] =
o o
- -1
g
Re 4 | .
mE R+t CVDit B PVD#E B Rt CVD%E PVDiEE |B Il £ 5
3 3| Culling parametars
q.: Tooth pich Siza CVD Coating PVD Coating H Size CVD Coating PVD Coating § '
. 5 1
JEE T T T J T = i
Bt is‘%-‘n{: Spactlication oo Lﬂlﬁ 2 Blolei-a n!ﬁ = Eiﬁ Spacification i ol &%
| v [ =l p ool 3
7 FH | 6| s | T |Re | et | 0 [FESE §~:ss§2§i§§ e [ | v |ee| w B sg BR it 4 N
NOF i Eg NiNINNE & 28 apimm faimmir)
Q_f,‘!_:'}-,_ - §>' |> i = | K
| | | | | ¥ I | | | | | | ¥ B
16ER11BSPT 11 [9.525) 1.5 [3.52 (032 | 4 55° ] SPMG0S50204DG | 11.5 | 6.35 | 0.8 | 4.5 |16.5" . 0.04-0,15 T
p 16ER14BSPT 14 |9.525| 1.2 [ 3.52 [ 0.23| 4 55° ) SPMGUB0204DG | 9.8 | 6.35 | 0.B | 4.05 | 17.5° . 0.04-0.16 | Jee
‘f'r- 16ER19BSPT 19 |9.525 0.9 | 3.52 |0.19 | 4 55 . SPMGO7T308DG | 7.94 (9.525| 0.8 | 2.85 | 15.5° . .o 0.04-0.20
: =3 1GRMBSPT | 11 |e.525 1.5 | 3.52 | 032 4 | 55“. T [ . [ SPMGIS0408DG I & .9_525. 0.4 I2.61I 14° I (1T Iol [ Tols I I 0.06-0.25
71 a‘?f: 16IR14BSPT 14 o525 1.2 |3.52 023 4 | s5° | . SPMG110408DG | & |9.525 0.4 | 2.25 | 14° . 0.06-0.28
16IR19BSPT 19 |9.525| 0.9 | 3.52 | 0.19 | 4 55" .
| |
g §
o
-
&
5 1
OOER [OOIR & WCLIL]
-
E ; *
- 5 :-$ 5 = t t
4855 R+t CVDi&E PVDiRE E R+ CVD# B PVDiRE |E YIHI£ 8 P
:']- Toath pitch Slze VD Costing PVD Costing i Siza D Caating PVO Coating g | L T L Tl
7 £ |
_S 2|
EH ] wit s : N,
Shapa Spacification Blelal=lnw & - Shaps Spacification w Lol 51
55 wl=isiaisiol 5 | o = Eciib 2 :
i 5:31 e | s T | Ra| 9d | '@ g;E|° E'Elﬁgf‘ e | T r 2d o F '°|§|§.ﬁ IR i
= §i§|E|>— >|> B - ; E|>iﬁi* aplmm) Injmm/e}
- i 16ER14NPT 14 | 9.525| 1.2 | 3.52 |0.07 | 4 60° | | ' WEMX030204 5.56 | 2.38 | 0.8 | 2.8 7 . . 0.04-0.15 ®
_J'\; P, 16ER1SNPT 11.5 |9.526| 1.5 | 3.52 | 0.08 | 4 80" | . WCMX020208 | 5.56 | 2.38 | 0.8 | 2.8 g . ey 0.04-0.15 n
% 16ER18NPT 18 |9.525| 1 | 3.52 | 0.06| 4 60 | |® WOMXD40204 | 6.35 | 2.38 | 0.8 3 v . 0.04-0.186 2
16IR14NPT 14 9.525| 1.2 | 3.52 | 0.07 4 60" | . WCMX040208 6.35 | 2.38 | 0.8 3 T . 0.04-0.16 [
in P | I | | } } } fooc 1 I I I ) I A K I I
= Eﬁ’ 1BIR15NPT 11.5 |9.526| 1.5 | 3.52 | 0.08 | 4 60" . WCMX050308 | 7.94 | 3,18 | 0.8 | 3.4 7 . o0 0.04-0,20
J_,] : 16IR18NPT 18 | 9.525| 1 | 3.52 | 0.06| 4 60° . WCMXDET308 | 0.525 3.97 | 0.8 | 3.8 o . 0.06-0.25
il 1 ] 1 1 { { 1 4 { i
WECMX080412 12,7 | 4.76 | 1.2 | 4.4 & . 0.06-0,28h

HO21 HO22




(’j; GRANDTOOLS | BES®TIN BESR T | {‘:}; GRAND. TOOLS

Cemented Carbide Inserts Cemented Carbide Inserts

HBHEI A } i iR vEHI A

Square Shoulder Milling Inserts 'y 1 Square Shoulder Milling Inserts s 1
| |0 =B
h 4 I = |
' | ' i
AP 0] u = MP 3l

=

&
A
h
e

i E
i

R+ CVD&E PVDi& B & Rt CVDi% B PVDi% 2 =
? Size CVD Coating PYD Costing ‘§ Siza VD Coating PVD Coating % T
Z v
g ] = .
s Ak T m ik {4 =
= e ol o
I_g Shape Spenification g E ‘:(2: E g E E w g as 3!§ s Shaps Spacification :{_; ﬁ E .E ; 2.|§ § g‘ s § = ;
L1 L2 T sz | Re |SIEISISIBIBIS RIRIRIRIBI S " L2 T o2 | Re [E|TIE|TIR EIRIR(RIS 8 = ]
FEEEESEDEENEED IS I O .
155 B e =Sl > |> B | - e
Mk 2 i i t i p— — T T ; - T " 1 — (]
ET] 4 APMT1135FPDER—GM 11.25 6.20 3.5 2.8 0.8 L] LA B - MPHWOGI304ZEL 11.25 6.20 3.5 2.8 0.8 . . TIEE
I APMT1604PDER-GM | 17.06 | 9.28 | 4.76 4.4 0.4 . ° e e MPHWOS0308ZEL 17.06 | 9.28 | 4.76 4.4 0.4 . [N | IE€
& APMT1135PDERTH2 11.258 | 8.20 3.5 2.8 0.8 . AR AN} MBHWOB0304ZEL-0.5 | 11.25 | 6.20 3.5 2.8 0.8 . s e ER
% APMT1604PDER™H2 17.26 | 9.25 | 4.78 4.4 0.8 | . o o0 MPHWOB03D4ZEL-1.5 | 17.25 | 9.25 | 4.76 4.4 0.8 . LR %
7 v APMT1135PDER—M2 11.25 | 6.20 3.5 2.8 0.8 . o oo 7

APMT1604FPDER— M2 17.25 9.25 4.76 4.4 0.8 L] e @ @

v\gw Re
a N iy

[ m
"~
3P L[] JD L0 T
t a r& A T
2 . TT
% % % ]
] . 3 . . & ¥y
o Rt PVDi&E = Rt CVD&E PVDi%E B o
B Size PVD Coaling 2 Size CVD Coating FVD Coaling § ics
71 H H 3]
Wik s _ ‘ Wk W5 1) [ ‘
& Shaps Specification .2. E w2 I:g 0 2 E = Shapa Spacificasion g E g § «E s 'g_ ®le ole gg - 32
o d ' ap a r o e ] o | A B Re T o [nlElElElcll 2 el ElrlRls 25 w
g Eg,,.lﬁ ERzH _ﬁ_é.ﬁn% EREEEEED 3
. y N >-|- = = N 12l saial ¢ B >i. >|l > N
[ IPKTO0304R-M 5.3 2.8 4.7 1.0 0.4 . A JDMTOT0204R 6.4 4.30 | 0.40 | 2.45 | 2.15 | . K o
xﬁ SPKT100408R-M 6.9 4.0 7.0 1.2 0.8 . . e JDMTO70208R 6.4 4,30 | 0.80 | 2.45 | 2.15 | ) ]%
4 IPKT150508R-M 10.7 5.0 1.0 1.8 0.8 . . o 3%
7 IPKT19060BR-M 13.5 6.0 15.0 2.0 0.8 . s e ;
i | | | il
=
71
H
7
w




{j; GRANDTOOLS | @EA®7IN BESRTIN | (‘j); GRAND TOOLS

Cemented Carbide Inserts Cemented Carbide Inserts

RR#%AN R TEHEN R

Square Shoulder Milling Inserts BS Plane Milling Inserts

r_.l._ Ty
W —| =
LN RD RP 41
> Re
L1 5 = —#
I et
s ‘ 3 = 3
Rt CVDi%E PVDRE | E R+ CVDikE PVDRE  E
Size CVD Coating PVD Casling H Bize VD Coating BVD Coaling % T
i 5 T
Ik STl | . Fo i mimee I " i
Shaps Specification Ez:; g 2 .Ii'_z o _‘L_;. g . 3|2 g s 8 ¢ Shapa Spacification 2; 5'% » g J& B 8l eas w9 % = B
e =i S e e = : { N olels 71
(] s w Bs Re ﬁ'-hﬁé-gggﬁﬁlﬁﬁ'ﬁgé D1 T @d2 a -E-EEE-%%.%'E;RREEsﬁ ]
PR E .'_as"-?*"| e O Bk e ;‘_:r"gﬁ*i***"ﬁ’h
LNGU110408-PR 11.25 6.20 3.5 2.8 0.8 L] L N RDMTOBOZMOTN 8.00 2.58 3.4 16 L . @
LNGU15TB08-PR 17.06 | 9.28 | 4.76 4.4 0.4 . o e z ROMT10T3MOTN 10.00 3.97 4.4 15 . .|
R ROMT12048MOTN 12.00 4.76 4.4 15 . e o @ 51
3% %
o RDMT1604MOTN 16.00 4.76 5.5 15 L] LR BN ) %
7 e RPMTO8T2MOE-JS 8.00 2.58 3.4 1 o e/ e e n
e RPMT10TIMOE-JS 10.00 3.97 4.4 11 . K]
RPMT1Z04MOE-J5 12.00 4.76 4.4 1 . LR BE
T RPMW1003MO-T 10.00 3.18 4.4 11 - . & @
B RPMT1204MOE-T 12.00 4.76 4.4 1 . IR
_. \ RPMW1003MO-N 10.00 3.18 4.4 n . (R BE J
129 1 1 it ! 1 1 it 1 it { 4 { { { { { {
73 | o ROMT1Z04MO-N 12.00 4.76 4.4 15 L . & @
WN D D e RDMT1604MO-N 16.00 4.76 5.5 15 L] LB BE J
RDMT1204MOE-D 12.00 4.76 4.4 15 . LN e
ROMT1604MOE-D 16.00 4.76 5.5 15 L] LR BN
§ RPMWOBTZMOE-P 8.00 2.78 3.4 1" . (A AR | -
‘ 4 + . ' 4 4 . + 4 4+ | 4 ' " " " 4. iR
o - RPMW1003MOE-P 10.00 3.18 4.4 1 | e ® 474
R+t CVDAE PVDRE & ! | | . S D o B N e
size VD Gating P Conting ] RPMWA0TIMOE-P 10.00 3.97 4.4 1 . Dl 7
Rtk 5 ol g! 5 ‘n'""' ROMW10T2MOE-P 10.00 3.97 4.4 15 . o o @
Shape Specificatian w w2 2 wlolelele g 1 I I | R =l = 5 0 ) S S ) i ey il
| n =y - a i %
SRNENERES - H i HE RowizouMOEP | 000 | 478 | 44 | 18 | [ L[ 1| ]| [e] |elele]
i E of E | ig SRR EE Y ROMW1B04MOE-2 16.00 | 4.76 5.5 15 | s sle e
WNMUD40304EN-R 6.75 3.18 3.18 0.6 0.4 L ] . ®
WHNMLUIDEOEDAEN-R 14.02 B.65 6.2 1.3 0.8 . - ®
3k WHNMUDBDGDAEMN-GH 14.02 6.65 8.2 1.3 0.8 L] LN ]
n n
i =
_T]
L8]
7
wy




(:. GRANDTOOLS | R &7 BESRTIA | (je%g«bgs;ggs

Cemented Carbide Inserts Cemented Carbide Inserts

TEHEN R

r_.._..l Plane Milling Inserts
g

SO

F@Eeibl N kA

Plane Milling Inserts

PNLIC]

5 #* ; 4y
R+ PVDitE B R+t CVDit B PVD#E B
- Siza BVD Caating i Siza CVD Coaling PYD Caating § 7
i s 5 s
o T4k g M T I i [ RIS I I | [ [ &
it Shane Spacification oo E 2 2 alg g § = Shapa Spacification o oo e L gg © g o oela § = 54
7 A T o | BS | Re |T & §8leielsls § 2 A T o | Re « [FIEEIEIEB S|RIRISIRIR S € 7]
s ENQNNNEQ %,ﬁﬁhg 'EuN-N mifa] = | N
s S B SRR R el R [ S > ;wl>—' = o | e K
f!-"ﬁ { { { { | ! { { ! — 1 1 { { { 4 § ¥ iR
ET SOMT100420ER-GM 10.30 | 4.58 4.80 2.0 16 ™ o0 TIE
= PNMUOSOSGNEN-MJ 8.90 | 6.00 | 12,20 | 1.4 0.8 . * e - : + t : i i
s | ) SOMT140520ER-GM | 14.14 | 5,56 | 5.80 2.0 18 . .. -
= | | | ! =
=3
%
n
¢ S
E L}
% A %
7 ]
« . SNOLO ONLI[] K
L ap o
En T8
1 ; g ; ; 2 i
o R CVD#E PVDik R B R+ CVDi & PVDif B B o
.J!I Size CvD Coating PVD Coating _§ Size CVD Coaling PYD Coating E _}
J
Mtk AR | 3 |
Shape Specification GRS - A el | - ):EIE Enﬂﬁbn n oo ) g B 0 slolnlelal g
£ =l o | el R S RS =ais|sinla -2 200088 S o .
% “ * s . ! g E & EI g g e E E N E E s & di ap s 3 ' ﬁ EEE bl [ b2l e gig 8|8 i
o &réh:w-rﬁ*"‘"""ﬁ> .ﬁ?ﬁg*§§§§§¥|§§" *
1% o
W SNMU1305ANR-MT 13.00 | 6.00 | 6.5 3.0 0.8 . . e ONMUOS0505-MT 13.00 | 3.50 | 5.25 | 5.0 0.5 . . w
il — 2
3 &
Wi i
iz
_r_]
H
:
w




C yCRAND.TOOLS | BEm&RIN BES &% | Cj GRAND TOOLS

TEHEN A

Plane Milling Inserts

SE[1[]

: RS BEEI T A

Fast Forward to Milling Inserts

LO L]

2

o
e
I
|
I

ax

Cemented Carbide Inserts Cemented Carbide Inserts
s

x X
5 " i : . i
R CVDE PVD#E = Rt CVD&E PVDi% 2B =
T Size CVD Geating PVD Coating i Size CVD Coating PYD Coating E T
£ F
el |5 2 i
e . =S e e T &
iLT-‘l’ R 0w | o | @ R kil ]ib |m w0 o %
Sl ’ 4 ¥
> Shape Specification E} glg g &8 8 ©le aeo 8 = Shape Sowcificatian _g & 3 g:.s! 8| a w2 n e s 8= 1
L oI s ad Bs [imlicet=l=lioli gl O | BIRIRIE IR S | 2 A i od W Re [el=rto s fonlien o | B IRIR o | = )
SRRl T R & E&EEE SN NNNEDY
K > > > >->'*‘>'>">> S SR B BleE B S o | B
TWEE | 1 1 1 1 1 ! — ! | 1 | | ' J =t
71
e SEMT13TIAGSN—GM 13.40 | 13.40 | 3.97 4.30 2.45 . L LOGUO30310ER-GM 6.20 3.98 3.45 | 11.80 | 1.00 . L]
t N i 1 il | I S 1 1 1 1 1 1

== " 1 1 1 1 1 1 1 1 1 1 1 1 I =
¥

% a SEKT1204AFTN 12,70 | 12.70 | 4.76 | 5.16 | 2.00 . . e 5L
i .

RS TEEI 7] A

Fast Forward to Milling Inserts

EN

L)
. LNOO -+ EE JD OO y

E7 R}/

—
w

i 3
i
R~ CVD#E PVDi% E % R~ CVDi%E PVDi% E %
Size CVD Coating PVD Coating E Size CVD Coating PYD Coating g
H s
7k s - | R R Rk oRE ] g
Shage Specification W e e o n I | - Shage Spealication w| wla | " in —
% e ootaie | it ;ﬁig Eiﬁg = oS E e D ;_.§§ ggg =
e A T od w Re |"_E'—.EQ'-‘£'§P¢?-;)-FD~§§ Lol S BS Re AN PRSI ElE 2GS IR IElEIE S S
33 e T Ll it Q'y N> BE&&S SRR S
‘>->->-J->>-> | i > || F =] > | >
[ - LNMUO303ZER-MJ 6.00 3.75 2.85 11.90 1.20 I . L JOMWOSTI20SR-FT 8.53 3.97 1.80 2.00 15 | ] . "
;‘;] LNMUD303ZER-ML 6.00 | 3.75 | 2.85 | 11.90 | 1.20 | . .. JOMW1204208R-FT 12,00 | 4.76 | 2.50 | 2.00 15 | . .
3 JOMW1405208R-FT 14.00 | 5.56  2.80 | 2.00 15 | . ..
in il
= =
71
H
o
N
j




{7y oranp oot

BERE&N

Cemented Carbide Inserts

BESRTI | Cj GRAND TOOLS

Cemented Carbide Inserts

HO31

RIS TEEI T A

Fast Forward to Milling Inserts

WD L[]

Rt
Siza
HAR FltE
Shape Specificatian
8 BS Re AN
WOMWOSTI20ZTR 10.00 3.97 1.20 2.00
WDMWOBOS20ZTR 13.00 5.50 1.50 2.00
WOMWI0xE20ZTR 16.00 6.00 2.00 2.00
R
Size
HoAR Aig ' I
Shape Specificatsan
R T w od Re
SDMT120512-GH 15.00 5.56 12.7 4.40 1.20
SDMT150512-GH 15.00 5.56 15.875 5.50 1.20

An

o

s
-
CVD# R PVDRE &
VD Coating PVD Coating g
_ | L5
2882888 0zza88s8.
() ) i = [ 22
-xgaxﬁ;.%ﬁﬁ"ﬁ%ﬁg g
RN S >i>>>¥*
. .
. .
L] L]
.
R —
=
2e
CVD&E PVDk B =
VD Comting PVD Coating "E
Et,'::‘—_g:-;'fg?;aigab'ﬁg
110 K e
>->>':—>:>->.?-*i-* | o
° e
. e

R L8 BEEI 7D

Fast Forward to Milling Inserts
g (_

EPLIL] T

Lc

—

%=
i
R CVD& B PVD%E E
Size ©V0 Coating PYD Coating H =z
g -
E| :
A ok e P w s
Sha Spacificath o ¥ 4 B 4 v
" et 2|8 8/38/85 282888 -
R L % W Re FElEimlamigl e O [einlslRie| o =
& E & E Egl L S S T S e
]
TIE
EPMT0603TN 8.00 | 10,00 3.18 | 6.35 | 2.80 B . e
- EFNWOBD3ITN-8 B.00 10.00 3.18 6.35 2.80 L] L] i
N
1]
5
3 S &
P
]
T
& %
b 4 iy
S - 474
Rt CVDi# PVD#E E o
Size CVD Coalirg PYD Costing g ics
5 71
i i o L | »
hape Spacification 3 : -
2882158 8lo2inigs s c
R L T d1 ap [ElsislclelE]l S 2 el oisl S| ¥ 5
= o R AR =3
s f ':?5'-| > [ ‘* 2 >
BLMPOBOIR—M 6.00 9.00 3,73 G.40 1.00 - [ L e
BLMPO204R—M 8.00 11.80 4.80 g.18 1.80 - LR ;-_l
3]




